As of 2/28/2019

RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
10000 MICRO-D DUST CAPSGLENAIR 000-01-09-163 2 EA
10001 MICRO-D DUST CAPSGLENAIR 000-01-15-162 2 EA
10002 MICRO-D DUST CAPSGLENAIR 000-01-15-163 4 EA
10003 CONDUCTIVE DUST CAP 000-01-21-162 4 EA
10004 CONDUCTIVE DUST CAP 000-01-21-163 3 EA
10005 CONDUCTIVE DUST CAP 000-01-25-162 4 EA
10006 MICRO-D DUST CAPSGLENAIR 000-01-25-163 1 EA
10007 MICRO-D DUST CAPSGLENAIR 000-01-31-163 2 EA
10008 CONDUCTIVE DUST CAP 000-01-37-162 10 EA
10009 CONDUCTIVE DUST CAP 000-01-37-163 5 EA
10010 CONDUCTIVE DUST CAP 000-01-51-162 4 EA
10011 CONDUCTIVE DUST CAP 000-01-51-163 3 EA
10012 RECEPTACLE PROTECTIONCAP SIZE 17 10-553120-17G 5 EA
10013 PLUG PROTECTION CAP 10-55399813G 7 EA
10014 PLUG PROTECTION CAP SIZE 17 10-55399817G 10 EA
10015 PLUG PROTECTION CAP SIZE 19 10-55399819G 3 EA
10016 TAPE, KAPTON 146391-004 5 RL
10017 WIRE 3053-WHO005 276 FT
10018 KEYING PIN KIT 310113461 13 EA
10019 BACKSHELL, CIR, STRAIGHT,SIZE 13 (P1) 380HS115M1312M4 4 EA
10020 BACKSHELL, CIR, STRAIGHTSIZE 13(P1) 380HS115M1712M4 4 EA
10021 CAPS AND PLUGS, CONDUCTIVE,ESD PROTECTIVE 419-167-303 20 EA
10022 WIRE, SOLID COPPER, 26AWG, UNINSULATED,SILVER PLATED ANNEAL 423-0200-102-A 500 FT
10023 EMI BAND 500-047M31HB 1 EA
10024 EMI BAND 500-047M37HB 6 EA
10025 BACKSHELL 507-198M69 10 EA
10026 BACKSHELL, 51-POS DSUB, WITHMOUNTING HARDWARE 5748676-5 2 EA
10027 ITA QUADRAPADDLE CONTACTS 610138109 298 EA
10028 PLUG RED 6721-2 4 EA
10029 SCREW1 PK =100 EA 90190A146 86 EA
10030 CONNECTOR SAVER 942-005MC-35SA-186M 3 EA
10031 CONNECTOR SAVER 942-005MC-35SN-186M 3 EA
10032 CONNECTOR SAVER 942-005ME-35SB-186M 3 EA
10033 CONNECTOR SAVER 942-005ME-35SC-186M 3 EA
10034 COMMERCIAL FPGA AX2000-1FG896 8 EA
10035 CONNECTOR, BANANA, M/M RED 12" B-12-2 1 EA
10036 CONNECTOR, BANANA, M/M BLACK48" B-48-0 3 EA
10037 COUPLER, BNC F/F BIF-CB 14 EA
10038 WIRE TIEPK=1000 CBR2M-M 1 EA
10039 CABLE, INSULATED BNC, M/M, 25' CCTN58-258B 1 EA
10040 CONNECTOR, INSULATED BNC M TO10" PIGTAIL CT3255 16 EA
10041 LABEL PLATEPK=100 MP175-C 102 EA
10042 MARKING PLATENEWAR # 94F3108 MP200-C 4 EA
10043 SAVER, CONNECTOR, 15 PIN, MICRO D, GLENAIR MWDM2L-15USP1 3 EA
10044 MICRO-D CONNECTOR SAVERGLENAIR MWDM2L-21USP1 2 EA
10045 MICRO-D CONNECTOR SAVERGLENAIR MWDM2L-37USP1 2 EA
10046 MICRO-D CONNECTOR SAVERGLENAIR MWDM2L-37USP1 13 EA
10047 CONNECTOR MWDM2L-51USP1 5 EA
10048 SCREW, CAP, HEXAGON SOCKET HEAD (MJ2.5 X 0.45 X 8 LG) NA0069-025008 8 EA
10049 CABLE PTNO0.63BK100 1 RL
10050 CONNECTOR SD50P 1 EA
10051 BACKSHELL SDC50AG 1 EA
10052 BUSHING, SLIP/FIXED SF-32-22-.332 1 EA
10053 BUSHING SF-48-22-.398 18 EA
10054 BUSHING SF-64-22-.5029 2 EA
10055 BUSHING, SLIP/FIXED SF-64-22-.5089 1 EA
10056 TRANSIT CASE 8259669 1 EA
10057 UNIVERSAL MOUNTING PLATE 8259658G1 1 EA
10058 CONTAMINATION COVER 8259662G1 1 EA
10059 DATA RECORDER EDR-3C 1 EA
10060 SOLAR CAL PORT COVER 8259967G1 1 EA
10061 OPTICAL PORT COVER 8259962G1 1 EA
10062 RBI EDU Instrument 8258600G2 1 EA
10063 UNIVERSAL MOUNTING PLATE 8259658G1 1 EA
10064 MASS SIMULATER ASSEMBLY 8259674G2 1 EA
10065 TRANSIT CASE 8262984 1 EA
10066 RBI PURGE CART 8262984G1 1 EA
10067 FOLD MIRROR FIXTURE 8259525G1 1 EA
10068 RBI OVERHEAD LIFT 8259680G1 1 EA
10069 ADAPTER PLATE 8259695G1 1 EA
10070 INTEGRATION FLIP CART 8259577G1 1 EA
10071 MAGNET STEPPER MOTOR 132-114420 1 EA
10072 UV LASER DIODE NDU7216 2 EA
10073 VOILET LASER DIODE NDV7375 2 EA
10074 BLUE LASER DIODE NDB7K75 2 EA
10075 RED LASER DIODE LDX-3115-690 2 EA
10076 NEAR IR LASER DIODE LDX-3515-915 2 EA
10077 NEAR IR LASER DIODE LDX-3509-1470 2 EA
10078 BALANCED MODULATOR/DEMODULATOR 5962-89807012A 4 EA
10079 CAPACITOR, CERAMIC, CHIP, 100 CDR31BP101BFUS 10 EA
10080 CAPACITOR CDR31BP271BFUS 16 EA
10081 CAPACITOR CDR31BP330BFUS 2 EA
10082 CAPACITOR CDR31BP6R8BBUS 4 EA
10083 CAPACITOR CDR31BX103AKUS 24 EA
10084 CAPACITOR CDR32BP102BFUS 6 EA
10085 CAPACITOR CDR33BX104AKUS 140 EA
10086 CAPACITOR CDR35BX224AKUS 20 EA
10087 CAPACITOR CWR19JCA76KBHB 4 EA
10088 CAPACITOR CWR29MC106KBHB 16 EA
10089 RESISTOR D55342E07B1FOOR 2 EA
10090 PHOTODIODE G12180-030A 1 EA
10091 SWITCH HS9-303BRH/PROTO 4 EA
10092 OP-AMP ISL70218SEHF/PROTO 2 EA
10093 OP-AMP ISL70227SEHF/PROTO 28 EA
10094 OP-AMP ISL70417SEHF/PROTO 9 EA
10095 SUPERVISORY CIRCUIT ISL705ARHF/PROTO 2 EA
10096 ULTRA PRECISION REFERENCE LTZ1000ACH 2 EA
10097 RESISTOR M55342E06B1BO0OR 6 EA
10098 RESISTOR M55342E06B10BOR 26 EA
10099 RESISTOR M55342E06B107BR 2 EA
10100 RESISTOR M55342E06B113BR 2 EA
10101 RESISTOR M55342E06B130BR 2 EA
10102 RESISTOR M55342E06B20BOR 4 EA
10103 RESISTOR M55342E06B243BR 2 EA
10104 RESISTOR M55342E06B51B1R 4 EA
10105 RESISTOR M55342E06B75BOR 2 EA
10106 RESISTOR M55342K06B100DR 32 EA
10107 RESISTOR M55342K06B15E8R 4 EA
10108 RESISTOR M55342K06B2EOSR 2 EA
10109 RESISTOR M55342K06B243DR 6 EA
10110 RESISTOR M55342K06B715DR 4 EA
10111 RESISTOR RER50F18R7RC02 3 EA
10112 RESISTOR RER50F8R45RCSL 4 EA
10113 SI PHOTODIODE $1336-44BQ 3 EA
10114 ACMOS HEX 5962R9652403VXA 8 EA
10115 ACMOS 5962R9655603VXA 8 EA
10116 LVDS DRIVER UT54LVDS031UCA 2 EA
10117 LVDS RECEIVER UT54LVDS032UCA 8 EA

1of63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
10118 REGULATOR VRG8661-901-2S 2 EA
10119 REGULATOR VRG8662-901-2S 2 EA
10120 RESISTOR Y16251K00000TOW 2 EA
10121 RESISTOR Y162510K0000TOW 62 EA
10122 RESISTOR Y1625120R000A0W 2 EA
10123 RESISTOR Y¥162513K0000TOW 2 EA
10124 RESISTOR Y16252K0000TOW 4 EA
10125 RESISTOR, 2.5K Ohm Y16252K50000TOW 6 EA
10126 RESISTOR Y16256K94000TOW 1 EA
10127 RESISTOR Y162720K0000TOW 8 EA
10128 RESISTOR Y162725K000TOR 2 EA
10129 RESISTOR Y162850K0000TOW 20 EA
10130 RESISTOR Y162870K0000TOW 16 EA
10131 RESISTOR Y162875K0000TOW 52 EA
10132 DIODE 1IN6642US 4 EA
10133 TRANSISTOR JANTX2N2222AUB 6 EA
10134 THERMISTOR 311P18-08S7R6 4 EA
10135 MICROCIRCUIT 7846BRPFE 4 EA
10136 RESISTOR M55342K06B1EOOR 4 EA
10137 RESISTOR M55342K06B31E6R 4 EA
10138 RESISTOR M55342K06B49E9R 2 EA
10139 RESISTOR RER45F75R0RC02 2 EA
10140 Thermistor QTl PROTO-901 4 EA
10141 RESISTOR, 5K Ohm Y16255K00000TOW 4 EA
10142 Scrap RBI Fiber Optic Cable 8258360G9 1 EA
10143 Connector Saver 570622-78HD 1 EA
10144 Connector Saver 570622-26HD 1 EA
10145 Connector Saver 570622-9ND 1 EA
10146 VisCal Brassboard Chassis 8264634G1 1 EA
10147 Prototype Stepper Motor P15-006-0311 1 EA
10148 IS FLIGHT TOP 132-111118 1 EA
10149 IS FLIGHT BOTTOM 132-111119 1 EA
10150 Intermediate Fiber Support One 132-113101 1 EA
10151 ESR Detector Board Assembly 132-111281 1 EA
10152 ESR Analog Board Assembly 132-112180 1 EA
10153 ESR Analog Board Assembly 132-112180 1 EA
10154 Hall Sensor Board Assembly 132-114180 1 EA
10155 Hall Sensor Board Assembly 132-114180 1 EA
10156 LD Block Assembly 132-114060 1 EA
10157 Fiber Coupling Lens (Uncoated) 132-114102 31 EA
10158 Hall Sensor Board 132-114181 4 EA
10159 ESR Analog Board 132-112181 6 EA
10160 Hall Sensor Board 132-114181 11 EA
10161 ESR Analog Board 132-112181 9 EA
10162 ESR Analog Board 132-112181 9 EA
10163 ESR Analog Board 132-112181 9 EA
10164 ESR Analog Board 132-112181 9 EA
10165 ESR Detector Board 132-111280 5 EA
10166 ESR Detector Board 132-111280 27 EA
10167 ESR Detector Board 132-111280 7 EA
10168 ESR Detector Board 132-111280 26 EA
10169 InGaAs Photodiode SN 20, 27, 30, 32 132-111308 4 EA
10170 InGaAs Photodiode SN 43 132-111308 1 EA
10171 Si Photodiode 132-111309 2 EA
10172 Balanced Modulator/Demodulator 132-112112 8 EA
10173 Ultra Precision Reference 132-112113 4 EA
10174 Stepper Motor 132-114420 1 EA
10175 375nm UV LASER DIODE 132-114430 2 EA
10176 405nm VIOLET LASER DIODE 132-114431 1 EA
10177 445nm BLUE LASER DIODE 132-114432 1 EA
10178 915nm NEAR IR LASER DIODE 132-114434 2 EA
10179 1470nm NEAR IR LASER DIODE - SN 24, 38 132-114435 2 EA
10180 683nm RED LASER DIODE - SN 52, 37 132-114438 2 EA
10181 Resistor 303135-10K000TBW 108 EA
10182 Resistor 303135-120R00ABW 4 EA
10183 Resistor 303135-13K000TBW 4 EA
10184 Resistor 303135-1K0000TBW 6 EA
10185 Resistor 303135-2K0000TBW 8 EA
10186 Resistor 303135-2K5000TBW 4 EA
10187 Resistor 303135-5K0000TBW 8 EA
10188 Resistor 303135-6K9400TBW 2 EA
10189 Resistor 303137-20K000TBW 6 EA
10190 Resistor 303137-25K000TBW 6 EA
10191 Resistor 303138-50K000TBW 40 EA
10192 Resistor 303138-70K000TBW 32 EA
10193 Resistor 303138-75K000TBW 102 EA
10194 Thermistor - LOT 1504843 311P18-08S7R6 24 EA
10195 Op-Amp 5962F1222801VXC 20 EA
10196 Dual SPDT Analog Switch 5962F9581307VXC 7 EA
10197 ACMOS Hex Inverting Schmitt Trigger 5962G9652403VXA 16 EA
10198 ACMOS 8-bit shift register 5962G9655603VXA 16 EA
10199 LVDS Driver, Quad 5962H9583302VXA 4 EA
10200 LVDS Receiver, Quad 5962H9583402VXA 16 EA
10201 Ultrafast Comparator 5962L0051502VHA 16 EA
10202 Low Dropout, Pos Adj Volt Reg 5962R0920602KXA 4 EA
10203 Low Dropout, Pos Adj Volt Reg 5962R0920701KXA 8 EA
10204 Supervisory Circuit, 5.0V 5962R1121307VXC 4 EA
10205 Op-Amp, Dual Precision 5962R1222201VXC 4 EA
10206 Op-Amp, Dual Precision 5962R1222301VXC 14 EA
10207 Op-Amp, JFET, Dual Low Noise, Rail-Rail 5962R1420701VXA 4 EA
10208 DAC 16-Bit Voltage Output, Parallel 7846BRPFS 8 EA
10209 Capacitor - LOT 1621 CDR31BP101BFUS 43 EA
10210 Capacitor CDR31BP271BFUS 32 EA
10211 Capacitor CDR31BP330BFUS 4 EA
10212 Capacitor CDR31BP6R8BBUS 8 EA
10213 Capacitor CDR32BP102BFUS 4 EA
10214 Capacitor CWR19JC476KBHB 8 EA
10215 Capacitor - LOT 1641 CWR29MC106KBHB 13 EA
10216 Capacitor - LOT 1619 CWR29MC106KBHB 19 EA
10217 Resistor D55342E07B1FOOR 4 EA
10218 Diode JANSING6642US 8 EA
10219 Transistor JANSR2N2222AUA 4 EA
10220 Transistor JANSR2N2222AUB 4 EA
10221 Capacitor M123A10BXB103KS 49 EA
10222 Capacitor - LOT 1629 M123A11BXB104KS 4 EA
10223 Capacitor - LOT 1553 M123A11BXB104KS 280 EA
10224 Capacitor M123A23BXB224KS 40 EA
10225 Resistor M55342E06B107BR 4 EA
10226 Resistor M55342E06B10BOR 36 EA
10227 Resistor M55342E06B110BR 4 EA
10228 Resistor M55342E06B130BR 4 EA
10229 Resistor M55342E06B1BOOR 15 EA
10230 Resistor M55342E06B20BOR 8 EA
10231 Resistor M55342E06B243BR 4 EA
10232 Resistor M55342E06B31B6R 8 EA
10233 Resistor M55342E06B51B1R 8 EA
10234 Resistor M55342E06B75BOR 4 EA
10235 Resistor M55342E10B120AR 8 EA

20f63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
10236 Resistor M55342K06B243DR 12 EA
10237 Resistor M55342K06B2EOSR 4 EA
10238 Resistor M55342K06B49E9IR 4 EA
10239 Resistor M55342K06B715DR 8 EA
10240 Half-Effect Sensor OMH090S 4 EA
10241 Resistor RER45F73R2PCSL 4 EA
10242 Resistor RER50F23R2PCSL 4 EA
10243 Washer MA3453-040 6 EA
10244 Screw NA0069A040056 6 EA
10245 Washer MA3453-050 12 EA
10246 Lubed screw 570789-69A050018 12 EA
10247 Wassher MA3453-060 8 EA
10248 Screw NA0069A060022 8 EA
10249 Screw NAO069A030016 8 EA
10250 Washer MA3453-030 8 EA
10251 Jackscrew kit 570774-8 2 EA
10252 Jackscrew kit 570774-9 2 EA
10253 CONDUCTIVE DUST CAP 000-01-25-162 1 EA
10254 CONDUCTIVE DUST CAP 000-01-69-162 8 EA
10255 CONDUCTIVE DUST CAP 000-01-69-162 10 EA
10256 CONDUCTIVE DUST CAP 000-01-69-163 4 EA
10257 CONDUCTIVE DUST CAP 000-01-69-163 4 EA
10258 BRAID ARMORLITE 103-051-004 40 FT
10259 BRAID ARMORLITE 103-051-032 100 FT
10260 CONTACT, 20 PIN SGNEWARK: 97J3694 10-497362-205 174 EA
10261 PINSNEWARK: 88W4553 10-497362-725 71 EA
10262 RECEPTACLE PROTECTIONCAP SIZE 13 10-553120-13G 5 EA
10263 PLUG PROTECTION CAP 10-55399813G 1 EA
10264 PLUG PROTECTION CAP SIZE 19 10-55399819G 2 EA
10265 PLUG PROTECTION CAP SIZE 21 10-55399821G 5 EA
10266 RUBBER FEET, BLACK 142173 118 EA
10267 THREADED STANDOFFASMCO 14260-H-A-.500-5 23 EA
10268 STANDOFFACCURATE SCREW 14290-H-A-750-5 14 EA
10269 SHOULDER WASHERASMCO 15042.086.050 21 EA
10270 SHOULDER WASHERASMCO 15322.031.115 11 EA
10271 SHOULDER WASHERASMCO 15540-.062-.125-GE1 11 EA
10272 MERCURY VACUUM SENSORMICROE SYSTEMS 195-00338 1 EA
10273 CABLE CLAMP, CIRCULAR 206138-8 9 EA
10274 CONNECTOR, CIRCULAR, PLUG,SIZE 23, 37POS, FREE HANGING 206305-1 9 EA
10275 OVERBRAID, TINNED COPPER,0.281" 2171/1 44 FT
10276 BRAID, TUBULAR, TINNED, COPPERSIZE 3/8 (NEWARK: 02F7923) 2172 3 SP
10277 OVERBRAID,TINNED COPPER 0.437 2173 25 FT
10278 OVERBRAID, TINNED COPPER 0.500 2174 100 FT
10279 OVERBRAID,TINNED COPPER 0.656" 2175/1 100 FT
10280 OVERBRAID, TINNED COPPER 0.656" 2175/1 100 FT
10281 OVERBRAID,TINNED COPPER 0.462 2175 30 FT
10282 OVERBRAID,TINNED COPPER 0.781 2176 100 FT
10283 OVERBRAID, TINNED COPPER,1.375" 2181 100 FT
10284 WIRE 3231 100 FT
10285 WIRE 3233 100 FT
10286 CCI STATIC PROTECTIVE PACKAGE 3600-11 5 EA
10287 SOLDER, SN60/PB40, 3% CORE,26 AWG 389261 6 EA
10288 CONDUCTIVE DUST CAP 410112864 12 EA
10289 BACKSHELL 507-198M37 12 EA
10290 STANDED WIRE 55A0111-24-9 4550 FT
10291 STANDED WIRE 55A0111-26-9 5000 FT
10292 CABLE 55A0121-24-0/9 728 FT
10293 CABLE 55A0121-26-0/9 1970 FT
10294 CABLE 55A0131-24-0/2/9 4730 FT
10295 CABLE 55A1121-24-0/9-9 20 FT
10296 CABLE 55A1121-26-0/9-9 1608 FT
10297 CABLE, SPEC 55, SHLD, 2 CONDTW 22 AWG 55A1122-22-0/9-9 1906 FT
10298 WASHER 56-032-GE-1 42 EA
10299 CLAMP - CABLE TIE 561303-1 1 EA
10300 TIES, CABLE AND WIRE 561306-1 61 EA
10301 TIES, CABLE AND WIRE 561306-4 152 EA
10302 COVER, CONNECTOR, ESD 561520-8 3 EA
10303 CONNECTOR, D-SUBMINIATURE -SAVER-GROUP TEST SAMPLES 570622-15HD-GT 2 EA
10304 CONNECTOR, D-SUBMINIATURE -SAVER 570622-15HD 7 EA
10305 CONNECTOR, D-SUBMINIATURE -SAVER-GROUP TEST SAMPLES 570622-15ND-GT 2 EA
10306 CONNECTOR, D-SUBMINIATURE -SAVER 570622-15ND 8 EA
10307 CONNECTOR, D-SUBMINIATURE -SAVER-GROUP TEST SAMPLES 570622-26HD-GT 2 EA
10308 CONNECTOR, D-SUBMINIATURE -SAVER 570622-26HD 11 EA
10309 CONNECTOR, D-SUBMINIATURE,SAVER-GROUP TEST SAMPLES 570622-37ND-GT 2 EA
10310 CONNECTOR, D-SUBMINIATURE,SAVER 570622-37ND 8 EA
10311 CONNECTOR, D-SUBMINIATURE -SAVER-GROUP TEST SAMPLES 570622-44HD-GT 2 EA
10312 CONNECTOR, D-SUBMINIATURE -SAVER 570622-44HD 4 EA
10313 CONNECTOR, D-SUBMINIATURE,SAVER-GROUP TEST SAMPLES 570622-62HD-GT 2 EA
10314 CONNECTOR, D-SUBMINIATURE,SAVER 570622-62HD 3 EA
10315 CONNECTOR, D-SUBMINIATURE,SAVER-GROUP TEST SAMPLES 570622-78HD-GT 2 EA
10316 CONNECTOR SAVER-GROUP TEST SAMPLES 570622-9ND-GT 2 EA
10317 CONNECTOR, D-SUBMINIATURE -SAVER 570622-9ND 2 EA
10318 CONNECTOR,DUST CAP 570667-12 2 EA
10319 CONNECTOR,DUST CAP 570667-13 2 EA
10320 CONNECTOR,DUST CAP 570667-14 2 EA
10321 CONNECTOR,DUST CAP 570667-15 2 EA
10322 CONNECTOR,DUST CAP 570667-16 8 EA
10323 CONNECTOR,DUST CAP 570667-17 5 EA
10324 CONNECTOR,DUST CAP 570667-2 2 EA
10325 CONNECTOR,DUST CAP 570667-6 11 EA
10326 CONNECTOR,DUST CAP 570667-7 5 EA
10327 FILM MESH PEEK 570682-1 2 PK
10328 DOWEL PIN M2 X 5 570741-020005 3 EA
10329 PIN, DOWEL, METRIC, SPECIAL 570741-030008 2 EA
10330 ITA QUADRAPADDLE CONTACTS 610138112 43 EA
10331 LUG, TERMINAL PANDUIT 70044363 100 EA
10332 SOLDER SN63 7659A64 3 EA
10333 SOLDER SN63 7659A64 2 EA
10334 TEMPERATURE SENSOR 8201523-2 11 EA
10335 INSERT, SCREW THREAD, HELICALCOIL, METRIC - M2X0.4, 2MM LON 8201555-140 91 EA
10336 THERMAL ISOLATOR 8243486-8 16 EA
10337 SCREW, MODIFIED CAP HEXAGONM/F NA0069-030012 8247345-1 22 EA
10338 G10 ISOLATION WASHER 8258011-1 6 EA
10339 COVER, PROTECTIVE, SHAFTEXTENSION 8258250-1 1 EA
10340 FILTER, SHORTWAVE, 1IMM THICK 8258497-1 4 EA
10341 FILTER, SHORTWAVE, 1MM THICK 8258497-1 2 EA
10342 FILTER, SHORTWAVE, 1.5MM THK 8258497-2 7 EA
10343 TEMP SENSOR HOUSING, ICT- RTM 8258505-1 6 EA
10344 TEMP SENSOR HOUSING, ICT- RTM 8258505-2 6 EA
10345 TEMP SENSOR HOUSING, ICT- RTM 8258505-3 3 EA
10346 TEMP SENSOR HOUSING, ICT- RTM 8258505-4 3 EA
10347 PLATE 8258532-9 3 EA
10348 MOUNT, FILTER 8258534-1 1 EA
10349 PLATE 8258537-8 3 EA
10350 PLATE 8258537-9 1 EA
10351 COOLING LINE CLAMP 8258546-2 1 EA
10352 BRACKET, MECHNICAL STOPTWIST CAPSULE ROTOR 8258778-1 1 EA
10353 FOCAL PLANE ASSEMBLYDOWNGRADED PER DV45188 8258805G1 1 EA

30f63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
10354 RBI RTM TELESCOPE ASSEMBLYGROUP TESTING 8258818G2GT 6 EA
10355 WIRE, WHITE, 24AWG 83004 400 EA
10356 WIRE, 20 AWG, BLACK100' SPOOL 83007 100 FT
10357 CABLE,RG-178B/U NEWARK 87K6276 83265 125 FT
10358 CLAMP 8863753 5 EA
10359 CONTACTDIGIKEY# WM3629CT-ND 90119-0121 78 EA
10360 NUT1 90257A009 95 EA
10361 NUT1 90762A112 3 EA
10362 WASHER1 90945A705 488 EA
10363 WASHER1 90945A726 243 EA
10364 WASHER 90945A761 51 EA
10365 WASHER 90945A761 100 EA
10366 WASHER, FLAT (M2)1 90965A110 86 EA
10367 WASHER, FLAT1 90965A115 180 EA
10368 WASHER, FLAT1 90965A115 80 EA
10369 WASHER, FLAT 90965A130 31 EA
10370 WASHER 90965A150 40 EA
10371 SOCKET HEAD CAP SCREW1 91292A005 88 EA
10372 SCREW1 91292A012 83 EA
10373 SCREW1 91292A016 73 EA
10374 SCREW1 91292A835 47 EA
10375 DOWEL PIN 91585A907 88 EA
10376 SCREW1 91801A109 21 EA
10377 WASHER 91950A043 183 EA
10378 INSERT, SCREW THREAD 91990A231 8 EA
10379 INSERT, SCREW THREAD 91990A231 20 EA
10380 INSERT, SCREW 91990A258 1 EA
10381 INSERT, SCREW THREAD 91990A401 10 EA
10382 INSERT, SCREW THREAD 91990A408 12 EA
10383 INSERT, SCREW THREAD 91990A410 6 EA
10384 INSERT, WITHOUT TANG1 91990A413 10 EA
10385 INSERT, SCREW THREAD1 91990A416 24 EA
10386 WASHER, #21 92141A003 97 EA
10387 WASHER, #41 92141A005 81 EA
10388 WASHER, #61 92141A008 92 EA
10389 WASHER, #81 92141A009 88 EA
10390 WASHER, 1/4"1 92141A029 87 EA
10391 NUT1 92174A470 1 EA
10392 NUT, HEX, 1"-14 THREAD SIZE1-1/2" WIDE, 35/64" HIGH 92174A675 1 EA
10393 SCREW 92185A079 23 EA
10394 SCREW 92185A105 47 EA
10395 SCREW 92185A108 38 EA
10396 SOCKET HEAD CAP SCREW1 92185A109 50 EA
10397 SCREW 92185A147 14 EA
10398 SOCKET HEAD CAP SCREW1 92185A148 19 EA
10399 SOCKET HEAD CAP SCREW1 92185A196 23 EA
10400 SOCKET HEAD CAP SCREW1 92185A198 20 EA
10401 SCREW1 92185A505 20 EA
10402 SCREW1 92185A516 3 EA
10403 SCREW1 92185A516 4 EA
10404 SCREW, SHC 1/4-20 X .500 LG 92185A537 14 EA
10405 SCREW, SHC 1/4-20 X .625 LG1 92185A539 4 EA
10406 SCREW1 92185A540 4 EA
10407 SCREW1 92185A540 1 EA
10408 SOCKET HEAD CAP SCREW1 92185A542 32 EA
10409 SOCKET HEAD CAP SCREW1 92185A542 23 EA
10410 SCREW 92185A989 21 EA
10411 SCREW, #2-56 X .1875" LG1 92196A076 97 EA
10412 SCREW, #2-56 X .25" LG1 92196A077 98 EA
10413 SCREW, #2-56 X .5" LG1 92196A081 103 EA
10414 SCREW, #2-56 X .5625" LG1 92196A085 97 EA
10415 SCREW, #2-56 X .625" LG1 92196A086 96 EA
10416 SCREW, #4-40 X .25" LG.1 92196A106 179 EA
10417 SCREW, #4-40 X .4375" LG.1 92196A109 96 EA
10418 SCREW, #4-40 X .5" LG.1 92196A110 98 EA
10419 SCREW, #4-40 X .75" LG.1 92196A113 96 EA
10420 SCREW, #4-40 X .875" LG.1 92196A114 96 EA
10421 SCREW1 92196A144 93 EA
10422 SCREW, #6-32 X .3125" LG.1 92196A145 111 EA
10423 SCREW, #6-32 X .375" LG..1 92196A146 88 EA
10424 SCREW1 92196A147 84 EA
10425 SCREW1 92196A148 92 EA
10426 SCREW, #6-32 X .5625" LG.1 92196A149 46 EA
10427 SCREW1 92196A150 75 EA
10428 SCREW1 92196A151 75 EA
10429 SCREW, #8-32 X .4375" LG.1 92196A193 92 EA
10430 SCREW1 92196A194 94 EA
10431 SCREW, #8-32 X .75" LG.1 92196A197 98 EA
10432 SCREW, 1/4-20 X .625" LG.1 92196A539 21 EA
10433 SCREW, 1/4-20 X .75" LG.1 92196A540 36 EA
10434 SCREW1 92200A542 2 EA
10435 SCREW 92200A680 2 EA
10436 SPACER 92273A124 1 EA
10437 SPACER 92273A128 3 EA
10438 SPACERMCMASTER 92273A132 1 EA
10439 SCREW1 92290A015 25 EA
10440 SCREW, M2.5 92290A058 25 EA
10441 SCREW1 92290A060 34 EA
10442 SCREW, M3 92290A115 30 EA
10443 SCREW, M3 92290A115 10 EA
10444 SCREW 92290A139 20 EA
10445 SCREW1 92290A144 42 EA
10446 SCREW1 92290A148 6 EA
10447 SCREW1 92290A150 21 EA
10448 SCREW, M4 92290A161 25 EA
10449 SCREW1 92290A746 47 EA
10450 SCREW, CAP 92290A751 50 EA
10451 SCREW 92290A752 23 EA
10452 SCREW 92423A439 40 EA
10453 SCREW 92423A536 20 EA
10454 SCREW, CAP, SOCKET HEAD, CRES 92423A539 40 EA
10455 STANDOFFMCMASTER 93505A853 5 EA
10456 DOWEL PIN1 93600A050 50 EA
10457 M3 METRIC DOWEL PIN 93600A114 25 EA
10458 SHOULDER SCREW, 3/8 SHOULDER X 1/2, 1/4-20 THREADS X .44 LG. 93985A309 2 EA
10459 BLACK OXIDE SOCKET HEAD SCREW1 96006A703 25 EA
10460 BLACK OXIDE SOCKET HEAD SCREW1 96006A703 21 EA
10461 FERRULE 9703K15 92 EA
10462 FERRULE 9703K16 91 EA
10463 WASHER, FLAT 3/81 98019A399 34 EA
10464 WASHER 98125A036 2 EA
10465 WASHER 98125A038 2 EA
10466 SIDE-MOUNT EXTERNAL RETAININGRING, DIN 98317A204 55 EA
10467 BACK SHELL €3080-17-03-2) 5 EA
10468 WIRE TIE CBR2M-M 3 EA
10469 CONTACT, SOCKETSAMTEC CC79L-2630-01-L 52 EA
10470 CABLE, INSULATED BNC, M/M, 15' CCTN58-158 1 EA
10471 CABLE, INSULATED BNC, M/M, 25' CCTN58-25B 4 EA

40f 63



As of 2/28/2019

RBI Government Furnished Equipment (GFE) List

Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
10472 CRIMP TOOL CDG4601 1 EA
10473 POSITIONER CDG4602 1 EA
10474 CRIMP REMOVAL TOOL CDG8161 1 EA
10475 CONNECTOR, INSULATED BNC M TO10" PIGTAIL CT3255 2 EA
10476 DUST CAP CVR50M 19 EA
10477 SHRINK TUBE, BLACK, 0.250" FIT-105-1/4 20 FT
10478 SHRINK TUBE, BLACK, 0.046" FIT-105-3/64 19 FT
10479 SLEEVE, GENERAL PURPOSEPOLYESTER, 0.750" GRP-110-1-1/4 50 FT
10480 SLEEVE BRAIDED PE, .1251D,0.375 OD,-70 TO 125, GRP-110-1/4 100 FT
10481 SLEEVE, GENERAL PURPOSEPOLYESTER, 1.500" GRP-110-2IN 50 FT
10482 SLEEVE, GENERAL PURPOSEPOLYESTER, 0.500" GRP-110-3/4 198 FT
10483 SPACEWIRE CABLE GROUND GSC-05-82963 325 EA
10484 SPACEWIRE CABLE GROUND GSC-05-82963 63 EA
10485 FOIL HEATER HK5160R157L12A 5 EA
10486 FOIL HEATERMINCO HK5539R35.2L12A 1 EA
10487 TAG, IDENTIFICATION, SIZE 1/2, WHT HTCM-SCE-TP-1/2-4H-9 1 EA
10488 TAG HTCM-SCE-TP-1/2-4H-9 184 EA
10489 CONNECTORSAMTEC IDP1-05-D-K-M 5 EA
10490 SCREW, LOCKING, BUSHING LS-1 2 EA
10491 SCREW, LOCKING, BUSHING LS-2 1 EA
10492 WIRE, 22 AWG, WHITE, ETFEINSULATION, 600V M22759/33-22-9 300 FT
10493 HEATSHRINK M?23053/8-001-C 25 FT
10494 SLEEVING, HEAT SHRINKABLE M23053/8-002-C 2 FT
10495 SLEEVING, HEAT SHRINK M?23053/8-004-C 3 FT
10496 HEAT SHRINK TUBING M23053/8-005-C 1 FT
10497 CONTACTS, ELECTRICAL CONNECTORPIN, CRIMP, REMOVEABLE M39029/4-110 330 EA
10498 SPARE PINS FOR MIL-C-26482 M39029/5-115 18 EA
10499 CONTACT SOCKET CRIMP M39029/56-348 200 EA
10500 CONTACT, CRIMP SKT M39029/56-352 45 EA
10501 PIN, CONTACT, MALE M39029/58-360 100 EA
10502 BACKSHELL M85049/52-1-22N 1 EA
10503 WASHER, FLAT MA3453-100 101 EA
10504 LABEL PLATE MP175-C 318 EA
10505 WASHER, FLAT-METAL, ROUND GENERAL PURPOSE MS15795-806 2 EA
10506 CONNECTOR MS3476L22-55P 5 EA
10507 CONNECTOR MS3476L22-55P 1 EA
10508 CONNECTOR MS3476L22-555 1 EA
10509 WASHER, LOCK, SPRING, HELICAL( NO. 4) MS35338-135 2 EA
10510 GROMMET MS35489-13 3 EA
10511 NUT, PLAIN HEXAGON, MACHINE SCREW UNC-2B MS35649-244 3 EA
10512 NUT MS35649-264 3 EA
10513 SCREW, MACHINE, PANHEAD, CROSS RECESSED, 300 CRES MS51957-13 1 EA
10514 SCREW, MACHINE, PANHEAD, CROSS RECESSED, 300 CRES MS51957-13 5 EA
10515 SCREW PAN HDCR2 MS51957-31 5 EA
10516 SCREW, MACHINE-PAN HD. -CR2 MS51957-34 3 EA
10517 SCREW MS51959-17 3 EA
10518 KNOB MS91528-1F2B 1 EA
10519 PIGTAIL CONN MWDM2L-37P-6K7-18B 5 EA
10520 PIGTAIL CONN MWDM2L-37S-6K7-18B 5 EA
10521 PIGTAIL CONN MWDM2L-69P-6K7-18B 2 EA
10522 PIGTAIL CONN MWDM2L-69S-6K7-18B 3 EA
10523 MICRO-D CONNECTOR SAVERGLENAIR MWDM2L-69USP1 9 EA
10524 SAVER, CONNECTOR, 9 PIN, MICRO MWDM2L-9USP1 1 EA
10525 SCREW, SOCKET HEAD CAP - M8 X30MM LONG NA0069-080030 4 EA
10526 SHCS M2.5 X 8MM NA0069A025008 44 EA
10527 SHCS M2.5 X 10MM NA0069A025010 45 EA
10528 SCREW NAS1352N4-20S 10 EA
10529 FLAT WASHER NAS549GL3 3 EA
10530 WASHER NAS549GL8 15 EA
10531 FLAT WASHER NAS620C10 2 EA
10532 WASHER, FLAT.089 ID, .149 OD, .016 THICK NAS620C2 3 EA
10533 FLAT WASHER NAS620C416 6 EA
10534 WASHER, FLAT, REDUCED O.D. NAS620C4 39 EA
10535 WASHER NAS620C6 1 EA
10536 WASHER NAS620C6 4 EA
10537 LUG PANDUIT P18-10RHT6-C 100 EA
10538 STRAP, CABLE TIE, NYLONNEWARK: 89F228 PLT1.51-C 100 EA
10539 TEMP SENSOR, UNCALIBRATEDCRYOGENIC PT-103 13 EA
10540 TUBING, SHRINK, POLY, SIZE 1/2CLEAR, NEWARK: 610695 RNF-100-1/2-CL 600 FT
10541 TUBING SHRINK, KYNAR, TRANSLUCENT SIZE 1/4 RW-175-1/4-X-STK 32 FT
10542 SHRINK TUBE, 3/16 IN RW-175-3/16-X-STK 7 FT
10543 SHRINK TUBING RW-200-3/4-0 34 FT
10544 SOLDERSLEEVE, W/INSUL, CAL 0D0.105-0.145, W/ LEAD S063-2-55-22-90 4 EA
10545 CONNECTOR SD25P 1 EA
10546 CONNECTOR, 51-POS DSUB, F,SOLDER CUP SD50S 2 EA
10547 CONNECTOR, 9-POS DSUB, F,SOLDER CUP SD9S 1 EA
10548 BACKSHELL, 9-POS DSUB, WITHHARDWARE SDC9AG 1 EA
10549 SLEEVING, EXPANDABLE, BLACK SE50P-DRO 500 FT
10550 SLEEVING, EXPANDABLE, BLACK SE50P-DRO 41 FT
10551 SOCKET TOP & IMTERPOSER SK-AX1-AX2-KITTOP 15 EA
10552 STRAIGHT PLUG (AMPHENOL) TVSO6RF-17-35PB(453) 3 EA
10553 CONNECTOR, JAM NUT POL. B (AMPHENOL) (J4) TVSO7RF-17-35SB(453) 2 EA
10554 VACUUM, SZ 34, LAB GRADE VX-U33 1 EA
10555 CONNECTOR HOUSING, 10POS,.100" DUAL WM8037 5 EA
10556 WIRE, QUAD TWIST WIRE WQT-32-100 50 EA
10557 NETWORK SWITCH, CISCO WS-C3560X-24T-S 1 EA
10558 STRAY LIGHT TEST SET 2 EA
10559 1/4-20 x .375" Flanged Button Head Socket Cap Screw 3601 3 EA
10560 1/4-20 Roll-In T-Nut with Ball Spring 3670 7 EA
10561 1/4-20 Slide-In Economy T-Nut - Centered Thread 3675 120 EA
10562 FIVE-AXIS ALIGNER, 3 MM TRAVEL 9081 1 EA
10563 WIDE FIVE-AXIS ALIGNER, 3 MM TRAVEL 9082 1 EA
10564 PEDESTAL BASE CLAMPING FORK 9909 30 EA
10565 DOUBLE-ENDED SET SCREW 8-32 THREAD 9923 4 PK
10566 LASER OUTPUT COLLIMATING LENS (UNCOATED) 132-114107 17 EA
10567 STAINLESS STEEL OPTICAL PEDESTAL, 0.50 IN. LONG, @1.0 IN., 8-32 END THREADS 9951 5 EA
10568 STAINLESS STEEL OPTICAL PEDESTAL, 1.0 IN. LONG, @1.0 IN., 8-32 END THREAD 9952 6 EA
10569 STAINLESS STEEL OPTICAL PEDESTAL, 1.50 IN. LONG, @1.0 IN., 8-32 END THREADS 9953 2 EA
10570 STAINLESS STEEL OPTICAL PEDESTAL, 2.0 IN. LONG, @1.0 IN., 8-32 END THREADS 9954 6 EA
10571 STAINLESS STEEL OPTICAL PEDESTAL, 3.0 IN. LONG, @#1.0 IN., 8-32 END THREADS 9956 3 EA
10572 STAINLESS STEEL OPTICAL PEDESTAL, 4.0 IN. LONG, $1.0 IN., 8-32 END THREAD 9961 12 EA
10573 STAINLESS STEEL OPTICAL PEDESTAL, 6.0 IN. LONG, @1.0 IN., 8-32 END THREADS 9962 4 EA
10574 1.00” X 1.00” T-Slot Profile, 12” Length 1010-Black 3 EA
10575 1.00” X 1.00” T-Slot Profile, 13” Length 1010-Black 5 EA
10576 1.00” X 1.00” T-Slot Profile, %4-20 End Tap one side, 14” length 1010-Black 6 EA
10577 1.00” X 1.00” T-Slot Profile, 14” length 1010-Black 1 EA
10578 1.00” X 1.00” T-Slot Profile, 18” Length 1010-Black 3 EA
10579 1.00” X 1.00” T-Slot Profile, %4-20 End Tap one side, 19” length 1010-Black 4 EA
10580 1.00” X 1.00” T-Slot Profile, 20” Length 1010-Black 2 EA
10581 1.00” X 1.00” T-Slot Profile, 22” Length 1010-Black 3 EA
10582 1.00” X 1.00” T-Slot Profile, 34” Length 1010-Black 1 EA
10583 1.00” X 1.00” T-Slot Profile, 35” Length 1010-Black 2 EA
10584 YAG HARMONIC BEAMSPLITTER, 25.4 MM DIAMETER 10QM20HB.21 1 EA
10585 1" ZnSe optical window - 2 mm thickness 10ZS20 1 EA
10586 1" ZnSe optical window - 3 mm thickness 10ZS30 1 EA
10587 Pull Handle with Unthreaded Holes 11945A21 6 EA
10588 Micrometer - 0.5" Travel 13300-01 2 EA
10589 Micrometer Support 18702-01 1 EA

5 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
10590 10MM DIA PROTECTED SILVER, Lambda/20 MIRROR 34-386 1 EA
10591 25MM DIA PROTECTED SILVER, Lambda/20 MIRROR 34-392 2 EA
10592 50MM DIA PROTECTED SILVER, LAMBDA/20 34-398_EDMUNDS 1 EA
10593 75MM DIA PROTECTED SILVER, LAMBDA/20 34-400_EDMUNDS 1 EA
10594 Magnet 38307-04 1 EA
10595 Stainless Steel Screw 3863-BA-645 2 EA
10596 10 Series 2 Hole - Inside Corner Bracket 4119-Black 35 EA
10597 2" DIA. PROTECTED SILVER, Lambda/20 FLAT FUSED SILICA 43-416-577 1 EA
10598 ULTRALIGN PRECISION XYZ LINEAR STAGE 562-XYZ 1 EA
10599 Cable Tie Mount, Fastener Mount, Two Way, 0.21" Maximum Tie Width, White 7566K13 1 PK
10600 ADAPTER PLATE, BEO4R, SLT 8258658-1 1 EA
10601 ADAPTER PLATE, FOCUSING OAP, SLT 8259497-1 1 EA
10602 ADAPTER PLATE, PINHOLE, SLT 8259499-1 1 EA
10603 ADAPTER PLATE, COLLIMATING OAP, SLT 8259500-1 1 EA
10604 ADAPTER PLATE, ROTARY PLATE, SLT 8259502G1 1 EA
10605 Bottom Panel, Telescope Mount 8259638G1 1 EA
10606 Front Panel, Telescope Mount 8259639G2 2 EA
10607 Side Panel, Telescope Mount 8259640G1 2 EA
10608 Rear Panel, Telescope Mount 8259641G1 1 EA
10609 Top Panel, Telescope Mount 8259642G1 2 EA
10610 Pedestal, Telescope Mount 8259643G1 1 EA
10611 Circular Adapter, Telescope Mount 8259644G1 1 EA
10612 SHIM, G10 (LARGE), SLT MOUNT 8259645-1 1 EA
10613 SHIM, G10 (SMALL), SLT MOUNT 8259645-2 3 EA
10614 ADAPTER PLATE, M-UMRS8.25, SLT 8259869-1 1 EA
10615 RBI, SLT - ENCLOSURE PANEL, TARGET ENTRANCE 8265508-1 1 EA
10616 RBI, SLT - ENCLOSURE PANEL, TARGET REAR 8265509-1 1 EA
10617 RBI, SLT - ENCLOSURE PANEL, TARGET RIGHT 8265510-1 1 EA
10618 RBI, SLT - ENCLOSURE PANEL, COLLIMATOR ENTRANCE 8265511-1 1 EA
10619 RBI, SLT - ENCLOSURE PANEL, TARGET TOP 8265512-1 1 EA
10620 RBI, SLT - ENCLOSURE PANEL, SOURCE FRONT 8265513-1 1 EA
10621 RBI, SLT - ENCLOSURE PANEL, SOURCE REAR 8265514-1 1 EA
10622 RBI, SLT - ENCLOSURE PANEL, SOURCE COLLIMATOR LEFT 8265515-1 1 EA
10623 RBI, SLT - ENCLOSURE PANEL, SOURCE RIGHT 8265516-1 1 EA
10624 RBI, SLT - ENCLOSURE PANEL, SOURCE TOP - 1 8265517-1 1 EA
10625 RBI, SLT - ENCLOSURE PANEL, SOURCE TOP - 2 8265518-1 1 EA
10626 RBI, SLT - ENCLOSURE PANEL, COLLIMATOR TOP 8265519-1 1 EA
10627 RBI, SLT - ENCLOSURE PANEL, COLLIMATOR FRONT 8265520-1 1 EA
10628 RBI, SLT - ENCLOSURE PANEL, TARGET FRONT 8265521-1 1 EA
10629 RBI, SLT — ENCLOSURE PANEL, TARGET LEFT 8265524-1 1 EA
10630 RBI - SLT BAFFLE 8265526G1 3 EA
10631 RBI - SLT BAFFLE 8265526G2 3 EA
10632 RBI - SLT BAFFLE 8265526G3 3 EA
10633 RBI, SLT BEAM APERTURE 8265527G1 1 EA
10634 RBI, SLT BEAM APERTURE 8265527G2 1 EA
10635 RBI, SLT BEAM APERTURE 8265527G3 1 EA
10636 RBI, SLT BEAM APERTURE 8265527G4 1 EA
10637 RBI, SLT BEAM APERTURE 8265527G5 1 EA
10638 RBI, SLT BEAM APERTURE 8265527G6 1 EA
10639 RBI, SLT BEAM APERTURE 8265527G7 1 EA
10640 RBI, SLT BEAM APERTURE 8265527G8 1 EA
10641 High Energy Pinhole - 1 um Diameter 900PH-1 1 EA
10642 High Energy Pinhole - 10 um Diameter 900PH-10 1 EA
10643 High Energy Pinhole - 100 um Diameter 900PH-100 1 EA
10644 High Energy Pinhole - 1000 um Diameter 900PH-1000 2 EA
10645 High Energy Pinhole - 20 um Diameter 900PH-20 1 EA
10646 High Energy Pinhole - 50 um Diameter 900PH-50 1 EA
10647 High Energy Pinhole - 500 um Diameter 900PH-500 2 EA
10648 Blank Pinhole Mount 900P-MNT 2 EA
10649 SS CROSSED-ROLLER BEARING TRANSLATIO NSTAGE 9066-X 1 EA
10650 Newport 100um pinhole 910PH-100 1 EA
10651 18-8 Stainless Steel Socket Head Screw, M6 x 1 mm Thread, 14 mm Long 91292A070 50 EA
10652 18-8 Stainless Steel Socket Head Screw, M4 x 0.7 mm Thread, 8 mm Long 91292A108 100 EA
10653 18-8 Stainless Steel Socket Head Screw, M3 x 0.5 mm Thread, 12 mm Long 91292A114 100 EA
10654 18-8 Stainless Steel Socket Head Screw, M4 x 0.7 mm Thread, 10 mm Long 91292A116 100 EA
10655 18-8 Stainless Steel Socket Head Screw, M4 x 0.7 mm Thread, 12 mm Long 91292A117 100 EA
10656 18-8 Stainless Steel Socket Head Screw, M6 x 1 mm Thread, 10 mm Long 91292A441 46 EA
10657 Mil. Spec. Low-Strength Steel Hex Nut, 8-32 Thread Size, MS-35649-282 91813A140 50 EA
10658 Washer, Number 6 Screw Size, 0.156" ID, 0.312" OD 92141A008 100 EA
10659 Washer, Number 8 Screw Size, 0.172" ID, 0.375" OD 92141A009 100 EA
10660 Washer, 1/4" Screw Size, 0.281" ID, 0.625" OD 92141A029 100 EA
10661 18-8 Stainless Steel Socket Head Screw, 2-56 Thread Size, 3/8" Long 92196A079 100 EA
10662 18-8 Stainless Steel Socket Head Screw, 2-56 Thread Size, 1/2" Long 92196A081 100 EA
10663 18-8 Stainless Steel Socket Head Screw, 6-32 Thread Size, 3/8" Long 92196A146 100 EA
10664 18-8 Stainless Steel Socket Head Screw, 6-32 Thread Size, 1/2" Long 92196A148 100 EA
10665 18-8 Stainless Steel Socket Head Screw, 8-32 Thread Size, 3/8" Long 92196A192 100 EA
10666 18-8 Stainless Steel Socket Head Screw, 8-32 Thread Size, 1/2" Long 92196A194 100 EA
10667 18-8 Stainless Steel Socket Head Screw, 8-32 Thread Size, 5/8" Long 92196A196 100 EA
10668 18-8 Stainless Steel Socket Head Screw, 8-32 Thread Size, 3/4" Long 92196A197 100 EA
10669 18-8 Stainless Steel Socket Head Screw, 8-32 Thread Size, 1" Long 92196A199 100 EA
10670 18-8 Stainless Steel Socket Head Screw, 1/4"-20 Thread Size, 3/8" Long 92196A535 50 EA
10671 18-8 Stainless Steel Socket Head Screw, 1/4"-20 Thread Size, 1/2" Long 92196A537 29 EA
10672 18-8 Stainless Steel Socket Head Screw, 1/4"-20 Thread Size, 5/8" Long 92196A539 50 EA
10673 18-8 Stainless Steel Socket Head Screw, 1/4"-20 Thread Size, 7/8" Long 92196A541 50 EA
10674 18-8 Stainless Steel Socket Head Screw, 1/4"-20 Thread Size, 1-1/4" Long 92196A544 25 EA
10675 18-8 Stainless Steel Socket Head Screw, 1/4"-20 Thread Size, 1-1/2" Long, Fully Threaded 92196A706 25 EA
10676 18-8 Stainless Steel Socket Head Screw, 1/4"-20 Thread Size, 1-3/4" Long, Fully Threaded 92196A707 25 EA
10677 $4.00" BEAM DUMP, WATER COOLED ABD-4C_KENTEK 1 EA
10678 SPECTRALON Sphere 1.00 ENTRANCE, 0.50 EXIT [0.50 PORT ON TOP] AS-02282-020 1 EA
10679 INFRAGOLD Sphere 1.00 ENTRANCE, 0.50 EXIT [0.50 PORT ON TOP] AS-02302-020 1 EA
10680 BASE PLATE, SLOTTED FOR NEWPORT DS40-XYZ B-2B 2 EA
10681 ADJUSTABLE-HEIGHT BASE CLAMP, SHORT, 1/4-20 TAPPED HOLES BC-5 3 EA
10682 Beam Expander BEO4R 2 EA
10683 BOTTOM PLATE, FOR BK-3A KINEMATIC BASE BK-3A-B 1 EA
10684 TOP PLATE, FOR BK-3A KINEMATIC BASE BK-3A-T 4 EA
10685 Matte Black Aluminum Foil BKF12 3 EA
10686 STANDARD RESOLUTION MICROMETER BM17-25 1 EA
10687 Magnetic-Base Optical Post Holder, 2.0 in. Height BPH-2Z 7 EA
10688 Indexing Post Collar, For 0.5 in. Optical Posts, BPH-C-5 10 EA
10689 MOUNTING BRIDLE, UTR46 TO MVN50 BR32 12 EA
10690 MOUNTING BRIDLE, PHOTOMETER STAGES BR-4 4 EA
10691 Beam Trap, 80 W CW, 200 nm to 3 um BT600 1 EA
10692 Beam Trap, 50 W CW, 1 to 12 um BT620 1 EA
10693 30 MM CAGE SYSTEM REMOVABLE FILTER CFH2 1 EA
10694 30 mm Cage Alignment Plate CPA1l 1 EA
10695 30 mm cage plate alignment target with 0.5 mm hole CPA2 1 EA
10696 Compact Dovetail Three-Axis Linear Stage - 14 mm Travel DS40-XYZ 1 EA
10697 ANGLE BRACKET FOR UTS100CC STAGES EQ100-L 2 EA
10698 CAGE ASSEMBLY ROD, 1.5" LONG ER1.5-P4 1 PK
10699 Calibrated Si Photodiode FDS1010-CAL 2 EA
10700 Flip mount Adapter FM90 2 EA
10701 Fixed Optical Mount - 1" FMP1 2 EA
10702 KINEMATIC MIRROR MOUNT FOR @2" Optics KM200CP 1 EA
10703 Kinematic Nudger KN-1 6 EA
10704 Heavy Duty Lab Jack L490 2 EA
10705 BEAM BLOCK, 400 - 700 NM, 10 W LB1 1 EA
10706 1/4"-80 LOCKING NUT LN2580 4 EA
10707 Airborn Connector Saver MM-212-025-143-2200-93A 3 EA

60f63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List

Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
10708 OAP #2 Mount MMOA-02 1 EA
10709 BASE PLATE, USED WITH UMR12 SERIES STAGE M-PBN12 1 EA
10710 BASE PLATE, USED WITH UMRS SERIES M-PBN8 1 EA
10711 OAP #1 (Smaller OAP) MPD01M9-P01 1 EA
10712 MODULAR RISER PLATES, 3 IN. X 3 IN. X 0.125 IN. MRP3-0.125 3 EA
10713 MODULAR RISER PLATES, 3 IN. X 3 IN. X 1 IN. MRP3-1 4 EA
10714 MINI-SERIES POST HOLDER MSL3 1 EA
10715 One-Axis Linear Translation Stage - 0.98" Travel M-UMR8.25 1 EA
10716 PRECISION ROTATION STAGE, LOW-PROFILE M-UTR80S 2 EA
10717 Port Plug — Infragold —0.50 inch AS-02360-004 1 EA
10718 Port Plug — Spectralon — 0.5 inch AS-02350-004 1 EA
10719 Port Reducer — 1.0” to 0.25” — Infragold AS-02360-008 1 EA
10720 Port Reducer — 1.0” to 0.25” - Spectraflect AS-02350-008 1 EA
10721 @1" YAG LASER LINE MIRROR NB1-K13 2 EA
10722 @1" CO2 LASER LINE MIRROR NB1-L01 3 EA
10723 OAP #2 (Larger OAP) OAP-06-03-02 1 EA
10724 Thorlabs 150um Pinhole P150S 1 EA
10725 Newport 100um pinhole, unmounted PH-100 1 EA
10726 Pinhole Wheel PHWM16 1 EA
10727 OAP #1 Mount POLARIS-K05S2 1 EA
10728 Polarizer Mount PRM1GL10 1 EA
10729 OPTICAL PEDESTAL SPACER, 0.03125 IN. LONG, @#1.0 IN., 8-32 CLR PS-0_031 15 EA
10730 OPTICAL PEDESTAL SPACER, 0.03125 IN. LONG, @1.0 IN., 1/4-20 CLR PS-0_031-T 5 EA
10731 OPTICAL PEDESTAL SPACER, 0.0625 IN. LONG, @1.0 IN., 8-32 CLR PS-0_063 10 EA
10732 OPTICAL PEDESTAL SPACER, 0.0625 IN. LONG, #1.0 IN., 1/4-20 CLR PS-0_063-T 4 EA
10733 OPTICAL PEDESTAL SPACER, 0.125 IN. LONG, #1.0 IN., 8-32 CLR PS-0_125 23 EA
10734 OPTICAL PEDESTAL SPACER, 0.125 IN. LONG, #1.0IN., 1/4-20 CLR PS-0_125-T 18 EA
10735 OPTICAL PEDESTAL SPACER, 0.250 IN. LONG, #1.0 IN., 8-32 CLR PS-0_25 15 EA
10736 OPTICAL PEDESTAL SPACER, 0.250 IN. LONG, #1.0IN., 1/4-20 CLR PS-0_25-T 7 EA
10737 OPTICAL PEDESTAL POST EXTENSION, 0.50 IN. LONG, @#1.0 IN., 8-32 END THREADS PS-0_5E 7 EA
10738 OPTICAL PEDESTAL POST EXTENSION, 0.50 IN. LONG, #1.0 IN., 1/4-20 CLR PS-0_5E-T 3 EA
10739 OPTICAL PEDESTAL POST EXTENSION, 1.0 IN. LONG, #1.0 IN., 8-32 END THREADS PS-1E 5 EA
10740 OPTICAL PEDESTAL POST EXTENSION, 1 IN. LONG, @1.0 IN., 1/4-20 END THREADS PS-1E-T 4 EA
10741 TABLE MOUNT ADAPTOR, 8-32 TO 1/4-20 PS-1T 10 EA
10742 OPTICAL PEDESTAL POST EXTENSION, 2.0 IN. LONG, 1.0 IN., 8-32 END THREADS PS-2E 1 EA
10743 OPTICAL PEDESTAL POST EXTENSION, 2.0 IN. LONG, 1.0 IN., 1/4-20 END THREADS PS-2E-T 4 EA
10744 OPTICAL PEDESTAL POST EXTENSION, 4 IN. LONG, @#1.0 IN., 1/4-20 END THREADS PS-4E-T 4 EA
10745 OPTICAL PEDESTAL POST EXTENSION, 6IN. LONG, #1.0 IN., 1/4-20 END THREADS PS-6E-T 4 EA
10746 KINEMATIC FLIP BASE, THREADED 8-32 PS-KF 1 EA
10747 CONSTRUCTION CUBE FOR PEDESTALS PS-Q 2 EA
10748 FORKLESS OPTICAL PEDESTAL, STAINLESS STEEL, 2.0 IN, 8-32 END THREAD PX-2F 1 EA
10749 FORKLESS OPTICAL PEDESTAL, STAINLESS STEEL, 3.0 IN, 8-32 END THREAD PX-3F 1 EA
10750 Negative Reticle - 1" R1DS3N 2 EA
10751 Dovetail Optical Rail - 6" Travel RLA0600 2 EA
10752 RTD ELEMENT SENSOR PROBE RTD-2-F3105-36-T 4 EA
10753 12"x24" OPTICAL Breadboard SA2-12 1 EA
10754 18"x18" OPTICAL Breadboard SA2-18X18 1 EA
10755 16 mm Cage Alignment Plate SCPA1 1 EA
10756 Shear plate for 2.5 to 5 mm beam SI050P 1 EA
10757 Shearing interferometer (5 to 10 mm beam) SI1100 1 EA
10758 Shear-Plate S1100P-1IN-SP 2 EA
10759 Shear-Plate SI1500 1 EA
10760 30 mm cage plate adapter for shearing interferometer SICP 1 EA
10761 Shearing interferometer viewing magnifier SIVS 1 EA
10762 Gimballed Low Wave front Distortion Mirror Mount - 3" SL76.2BM 1 EA
10763 VERNIER MICROMETER, 13 MM TRAVEL SM-13 4 EA
10764 16 MM CAGE PLATE FOR @10 MM OPTICS SP12 1 EA
10765 $0.50" DIAMETER X 2.0" LONG OPTICAL POST, 8-32 END THREADS SP-2 2 EA
10766 COMPACT CAGE ASSEMBLY ROD, 1.5" LONG SR1.5 4 EA
10767 SUPREMA MIRROR MOUNT, 0.5 IN. SS050-F3 1 EA
10768 SUPREMA STAINLESS STEEL MIRROR MOUNT SU100-F3K 7 EA
10769 Aluminum Foil Tape 1" thick T205-1.0 3 RL
10770 Aluminum Foil Tape 2" thick T205-2.0 2 RL
10771 THREAD ADAPTOR, 8-32 MALE TO 1/4 MALE TA-8Q20-10 16 EA
10772 01/2" OPTICAL CONSTRUCTION TR3T 5 EA
10773 THREAD ADAPTOR, 1/4-20 MALE TO 8-32 FEMALE, TR-8Q20-10 1 PK
10774 Thread Adapter, 8-32 Male to 2-56 Female TR-E2E8-10 9 EA
10775 SOLID TOP MOUNTING PLATE, URS150 URS150TP 1 EA
10776 PRECISION ROTATION STAGE, LOW-PROFILE UTR46S 1 EA
10777 TOP PLATE, UTS STAGES WITH ENGLISH HOLES UTS-TP 1 EA
10778 IR Viewing Card, 1.5 to 13.2 um VRC6S 1 EA
10779 30 mm Cage IR Alignment Plate VRC6SCPT 1 EA
10780 APERTURE, OP2-VIS, SLT - ASSY OF 8258645G1 1 EA
10781 APERTURE, OP2-VIS, SLT - ASSY OF 8258645G2 1 EA
10782 APERTURE, OP2-VIS, SLT - ASSY OF 8258645G3 1 EA
10783 APERTURE, PS10, SLT - ASSY OF 8259913G1 1 EA
10784 APERTURE, PS10, SLT - ASSY OF 8259913G2 1 EA
10785 APERTURE, PS10, SLT - ASSY OF 8259913G3 1 EA
10789 Stray light cable 8264640 1 EA
10790 ISOSTATION VIS3672-SG4-325A 1 EA
10791 TRANSLATION STAGE UTS100CC 1 EA
10792 TRANSLATION STAGE UTS100CC 1 EA
10793 ROTARY STAGE URS150BCC 1 EA
10794 DATA ACQUISITION BOX USB-6255 1 EA
10795 AMPLIFIER SR650 1 EA
10796 SHUTTER 76994 1 EA
10797 SHUTTER 76994 1 EA
10798 SHUTTER DRIVER 76995 1 EA
10799 LASER POWER METER 1104620 1 EA
10800 THERMOPILE SENSOR HEAD LM2-VIS 1 EA
10801 POWER METER HEAD PS-10 1 EA
10802 POWER METER HEAD PS-10 1 EA
10803 LASER MILLENIA EV20 1 EA
10804 CO2 20W LASER L20S 1 EA
10805 LASER GOGGLES LG10 4 EA
10806 PCOIP V1200-QPD 4 EA
10807 LAN cabling misc COTS 1 SE
10808 UL LISTED L6-30P TO L6-30R POWER CABLE IBX-5803-15 1 EA
10809 Accessories: Keyboards, Mouse, monitor stand misc COTS 1 SE
10810 RBITES 1 8260323G1 1 EA
10815 NI-PXIE-1065 CCA 779730-01 1 EA
10816 NI PX1-4071 CCA 778271-01 1 EA
10817 FIREWALL PA-200 1 EA
10818 NI PXI-6509 CCA 778858-01 1 EA
10819 NI 6584 CCA 781290-02 1 EA
10820 NI PXIE-7966R CCA 781805-01 1 EA
10821 NI PXIE-7966R CCA 781805-01 1 EA
10822 CPCI MIL-STD-1553 CCA QCP-1553C-G2-4MA 1 EA
10823 MULTIPLEXER, 32 CH 40-682-002 1 EA
10824 SMART UPS SRTSKRMXLT 1 EA
10825 RACK, PRECISION 210-ACZY 1 EA
10826 POWEREDGE M630 RACK 723056259 1 EA
10827 FIREWALL SERVER PA-200 1 EA
10828 TELEMETRY INTERFACE BOX 8261148G1 1 EA
10829 POWER INTERFACE BOX 8261144G2 1 EA
10830 NI PXIE-8360 779702-03 1 EA
10831 PXI-6254 CCA 779118-01 1 EA
10832 GPS NETWORK S600 1 EA

7 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
10833 NI 6584 CCA 781290-02 1 EA
10834 POWER SUPPLY, LOW N6702A 1 EA
10835 POWER SUPPLY, LOW N6702A 1 EA
10836 POWER SUPPLY, LOW N6702A 1 EA
10837 POWER SUPPLY, LOW N6702A 1 EA
10838 POWER MODULE, DC N6756A 1 EA
10839 POWER MODULE, DC 33 1 EA
10840 POWER MODULE, DC N6756A 1 EA
10841 POWER MODULE, DC N6756A 1 EA
10842 POWER MODULE, DC N6756A 1 EA
10843 POWER MODULE, DC N6756A 1 EA
10844 RTM VCT LASER RACK 8259123-2 1 EA
10845 RTM LS LASER RACK 8259123-2 1 EA
10846 RTM VCT ELECTRICAL RACK 8259123-2 1 EA
10847 RTM LS ELECTRICAL RACK 8259123-2 1 EA
10848 CSM TEST ENABLE CABLE 8259774 1 EA
10850 DELL 24" MONITOR P2414H 1 EA
10851 DELL 24" MONITOR P2414H 1 EA
10852 DELL 24" MONITOR P2414H 1 EA
10853 DELL 24" MONITOR P2414H 1 EA
10854 DELL 24" MONITOR P2414H 1 EA
10855 DELL 24" MONITOR P2414H 1 EA
10856 DELL 24" MONITOR P2414H 1 EA
10857 DELL 24" MONITOR P2414H 1 EA
10858 CABLE, PRI PWR & SURYV, 8262805G1 1 EA
10859 CABLE, PWR BUS, TVAC 8262739G2 1 EA
10860 CABLE, SURV & TELEM 8262740G2 1 EA
10861 1553 TWINAX CABLE NH17011CP 1 EA
10862 CABLE ASSY, ADAPTER, 8262741G1 1 EA
10863 CABLE ASSY, ADAPTER, 8262741G2 1 EA
10864 CABLE ASSY, ADAPTER, 8262742G1 1 EA
10865 CABLE ASSY, ADAPTER, 8262742G2 1 EA
10866 CABLE ASSY, ADAPTER, 8262769G1 1 EA
10867 1553 TWINAX CABLE NH17011CP 1 EA
10868 1553 TWINAX CABLE NH17011CP 1 EA
10869 1553 TWINAX CABLE NH17011CP 1 EA
10870 Fiber microscope FT140 1 EA
10871 UNIVERSAL MOUNTING PLATE 8259658G1 1 EA
10872 CONTAMINATION COVER 8259662G1 1 EA
10873 DESICCATOR CABINET 1610-97A-2 1 EA
10874 FIXTURE, VIBE, XY AXIS 8250643G1 1 EA
10875 POWER SUPPLY 2220-30-1 1 EA
10876 POWER SUPPLY 2220-30-1 1 EA
10877 POWER SUPPLY 2220-30-1 1 EA
10878 TEMPERATURE SCANNER 1586A 1 EA
10879 TEMPERATURE SCANNER 1586A 1 EA
10880 MULTIPLEXER 1586-2588 1 EA
10881 MULTIPLEXER 1586-2588 1 EA
10882 MULTIPLEXER 1586-2588 1 EA
10883 MULTIPLEXER 1586-2588 1 EA
10884 TEMPERATURE SCANNER 1586A 1 EA
10885 TEMPERATURE SCANNER 1586A 1 EA
10886 PLATE, ADAPTER, Z-AXIS 8254820G1 1 EA
10887 Crate, Miscellaneous, Quickcrate 30 x 22 x 23 30x22x23 1 EA
10888 Crate, Miscellaneous, Quickcrate 46 x 30 x 23 46x30x23 1 EA
10889 Crate, Stray Light, Quickcrate 40 x 76 HAR-318-C 1 EA
10890 RTM TVAC BENCH ASSY 8257998G1 1 EA
10891 RTM VCT SPHERE VCT 1 EA
10892 RTM LS SPHERE LS 1 EA
10893 ROTATIONAL STAGE, PLATFORM 8258531G2 1 EA
10894 TARGET ASSEMBLY & PLATE 8258553G1 1 EA
10895 TARGET ASSEMBLY & PLATE 8258553G1 1 EA
10896 TARGET ASSEMBLY & PLATE 8258553G1 1 EA
10897 STRAY LIGHT BLOCKER 8258522G1 1 EA
10898 RTM WOODEN CRATE NA 1 EA
10899 RTM ramp 8258009G2 1 EA
10900 RTM ramp 8258009G1 1 EA
10901 TEST SETUP - SCT FIXTURE- PARTS LISTED BELOW: 8258359 1 EA
10902 FEL Lamp with NIST calibration and IR measurements OL-FEL-IR 3 EA
10903 FEL Lamp (uncalibrated but stable) OL FEL-U 9 EA
10904 AKTAR foil spectral black 3 RL
10905 BK7 Glass 3" Q930375 3 EA
10906 Lamp Holder 5000-18 1 EA
10907 Lamp Holder 5000-18 1 EA
10908 5-Axis Stage PY005 1 EA
10909 Protective goggles LG3 2 EA
10910 Construction Post TR3T 2 EA
10911 Alignment Plate SMO5A7 1 EA
10912 Alignment Plate Holder SMRO5 1 EA
10913 Low Profile 8-32x0.50" Socket Head Screw 93615A320 1 PK
10914 6-32x0.500" Socket Head Screw 92196A148 1 PK
10915 M5x130 socket screw 91290A141 1 PK
10916 M4x6 socket screw 91290A139 1 PK
10917 BK7 Glass 4" Q940375 3 EA
10918 RBI, SCTT, LIFT FORK BRACKET - ASSY OF 8259912G1 4 EA
10919 RBI, SCTT, BAFFLE 8259910-1 2 EA
10920 RBI, SCTT, LAMP SHUTTER 8259909-1 1 EA
10921 RBI, SCTT, BAFFLE 8259910-2 1 EA
10923 Chopper controller and head 75160NF 1 EA
10924 Manual Linear Translation stages 462-X-M 3 EA
10925 HeNe 633 nm, 0.5mW Laser R-31008 1 EA
10927 Rail Carriers CXL95-120 3 EA
10929 Support Post Platform 300-P 2 EA
10930 Vernier Micrometer SM-25 3 EA
10931 Laser Mount ULM-Tilt 1 EA
10932 X95 Structural Rail X95-0.75 1 EA
10933 Kinematic Nudger KN-1 4 EA
10934 Right Angle Rail Joint CX95AS 1 EA
10935 1'x1'x0.50" Breadboard SA2-11 1 EA
10936 3" Pedestal 9955 4 EA
10937 Baseplate M-PBN12 1 EA
10938 Glass Filter Holder M-PPL17 1 EA
10939 English Stainless Steel Screw Kit SK-A 1 EA
10940 1" x3"x3" Riser Plate MRP3-1 1 EA
10941 Ball Drivers BDHK-1 1 EA
10942 0.25"x4"x4" Riser Plate MRP4-0.25 1 EA
10943 Pedestal Clamp 9909 4 EA
10944 Photodiode Holder FH-1S 1 EA
10945 Manual Iris ID-1.0 1 EA
10946 0.125"x3"x3" Riser Plate MRP3-0.125 1 EA
10947 Thread Adapter tr-8m6-10 1 EA
10948 3-Axs Stage Base B-2B 1 EA
10949 Long Arm Base Clamp BC-6 3 EA
10950 3" Post Holder VPH-3 2 EA
10951 2" Post Holder VPH-2 2 EA
10952 Short Base Clamp BC-5 3 EA
10953 Right Angle Optical Post Clamp CA-1 2 EA
10954 6" Optical Post SP-6 2 EA

80of63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
10955 2" Optical Post SP-2 2 EA
10956 4" Optical Post SP-4 1 EA
10957 3" Optical Post SP-3 1 EA
10958 Spring Clamp 50065A22 4 EA
10959 RBI, SCTT, BASEPLATE - ASSY OF (Piece-parts of assembly shipped, 8259911-1 not completed due to order cancellation) 8259911G1 1 EA
10960 AB-180 XXL Z Bracket 20" / 24" 6100500031 1 EA
10961 EFM BLACK TOTE-HOUSING LINE ITEM #73 NONE 1 EA
10962 EFM - FLIGHT 8258921G1 1 EA
10963 MOOG SCT CARTS STEPPER MOTOR AUTOMATED ROVING TEST SYSTEM-Parts Listed Below with Rolled Up Cost: 8265503 1 EA
10964 UPS 1350PFCLCO 1 EA
10965 DC POWER SUPPLY E3617A 1 EA
10966 AUX DATA ACQUISITION T123226-2 1 EA
10967 SMARTS UUT INTERFACE BOX T123226-1 1 EA
10968 SYSTEM CONTROLLER NONE 1 EA
10969 19" MONITOR P19A 1 EA
10970 CSM TEST FIXTURE 8261852 1 EA
10971 TEST ADAPTER, CSM 8262894 1 EA
10972 CABLE ASSY, CSM MOD TEST 8262341G1 1 EA
10973 CABLE, PWR BUS, TVAC 8262739G4 1 EA
10974 CABLE ASSY, CSM MOD TEST 8262342G1 1 EA
10975 CABLE ASSY, CSM MOD TEST 8262340G1 1 EA
10976 CABLE ASSY, CSM MOD TEST 8262340G3 1 EA
10977 CABLE ASSY, CSM MOD TEST 8262340G5 1 EA
10978 DB15HD MALE BREAKOUT BRK15HDMV2-R-F 1 EA
10979 DB15HD FEMALE BREAKOUT BRK15HDF-R-FT 1 EA
10980 DB26HD MALE BREAKOUT BRKDD26HDM-R-FT 1 EA
10981 DB26HD FEMALE BREAKOUT BRKDD26HDFV2-R-FT 1 EA
10982 DB44HD MALE BREAKOUT BRKDD44HDMV2-R-FT 1 EA
10983 DB44HD FEMALE BREAKOUT BRKDD44HDFV2-R-FT 1 EA
10984 CABLE ASSY, CSM MOD TEST 8262341G2 1 EA
10985 CABLE ASSY, CSM MDD TEST 8262340G2 1 EA
10986 CABLE ASSY, CSM MOD TEST 8262340G4 1 EA
10987 CABLE ASSY, CSM MOD 8262340G6 1 EA
10988 BREAKOUT CABLE, 26 SOCKET D-SUB 8262632G1 1 EA
10989 BREAKOUT CABLE, 26 PIN D-SUB 8262632G2 1 EA
10990 SINGLE BOARD COMPUTER SCS750P-1553 1 EA
10991 POWER SUPPLY 2220-30-1 1 EA
10992 POWER SUPPLY 2220-30-1 1 EA
10993 TEMPERATURE SCANNER 1586A 1 EA
10994 MULTIPLEXER 1586-2588 1 EA
10995 MONITOR, 24" E2416H 1 EA
10996 MONITOR, 24" E2416H 1 EA
10997 MONITOR, 24" E2416H 1 EA
10998 MONITOR, 24" E2416H 1 EA
10999 MONITOR, 24" E2416H 1 EA
11000 RACK MOUNT PC PRECISION 7910 1 EA
11001 WORKSTATION PRECISION 7910 1 EA
11002 WORKSTATION PRECISION 7910 1 EA
11003 WORKSTATION, ZERO CLIENT V1200-QP 1 EA
11004 WORKSTATION PRECISION 7910 1 EA
11005 WORKSTATION PRECISION 7910 1 EA
11006 WORKSTATION PRECISION 7910 1 EA
11007 MONITOR, 24" E2416H 1 EA
11008 MONITOR, 24" E2416H 1 EA
11009 MONITOR, 24" E2416H 1 EA
11010 MONITOR, 24" E2416H 1 EA
11011 MONITOR, 24" E2416H 1 EA
11012 MONITOR, 24" E2416H 1 EA
11013 COREG BLUE CONTAINER NA 1 EA
11014 SHUTTER DRIVER VCM-D1 1 EA
11015 MOTION CONTROLLER/DRIVER ESP301-3G 1 EA
11016 ANALOG FILTER 3384 1 EA
11017 ANALOG FILTER 3384 1 EA
11018 SHUTTER CONTROLLER CSR65S370 1 EA
11019 HORIZONTAL ASSY, TARGET 023-0301-002 1 EA
11020 VERTICAL ASSY, TARGET 023-0302-002 1 EA
11021 CABLE, RBI COREG PRT 8262514G1 1 EA
11022 CABLE, RBI COREG PRT 8262514G1 1 EA
11023 CABLE, RBI COREG PRT 8262514G1 1 EA
11024 CABLE, RBI COREG TL SCP 8262535G1 1 EA
11025 CABLE, RBI COREG FIXTURE 8262535G2 1 EA
11026 CABLE, RBI COREG FIXTURE 8262536G1 1 EA
11027 RBI COREG CABLE ASSY 8262496G1 1 EA
11028 KEYSIGHT DC POWER SUPPLY U8SOO01A 1 EA
11029 KEYSIGHT DC POWER SUPPLY U8001A 1 EA
11030 KEYSIGHT DC POWER SUPPLY U8SO01A 1 EA
11031 CABLE ASSY, COREG CCR 8262525 1 EA
11032 TELESCOPE ENCLOSURE 8258691G1 1 EA
11033 TELESCOPE OUTER 8258646G1 1 EA
11034 COREG SHUTTER CABLE 8265742 1 EA
11035 RBI COREG STORAGE CRATE 8262748G1 1 EA
11036 TELESCOPE ALIGNMENT ASSEMBLY 8258699G2 1 EA
11037 Thorlabs wrench SPW602 1 EA
11038 Thorlabs Lens mount SML10 1 EA
11039 Thorlabs Washers W255050 1 PK
11040 Thorlabs screws SH6MS20 1 PK
11041 Digikey Banana Adapter 1296 2 EA
11042 Digikey Banana Adapter 1894 5 EA
11043 IS SHELL TOP 132-111101 1 EA
11044 IS SHELL BOTTOM 132-111102 1 EA
11045 IS STANDOFF 1 132-111105 1 EA
11046 IS STANDOFF 2 132-111106 1 EA
11047 IS STANDOFF 3 132-111107 1 EA
11048 Ti WASHERS 132-111111 6 EA
11049 PORT REFLECTOR 132-111115 1 EA
11050 IS FLIGHT TOP 132-111118 1 EA
11051 IS FLIGHT BOTTOM 132-111119 1 EA
11052 PORT COVER 132-111120 1 EA
11053 FIBER RING 132-111122-02 1 EA
11054 IS ENGRAVE PLATE 132-111125 1 EA
11055 #2-56 X (.250") SHCS, A286 STEEL NAS1352N-02-4 7 EA
11056 #2-56 X (.313") CAPTIVE SCREW, 18-8 SS 41852195 2 EA
11057 #4-40 X (.375") SHCS, A286 STEEL NAS1352N-04-6 6 EA
11058 #6-32 X (.375") SHCS, A286 STEEL NAS1352N-06-6 20 EA
11059 #8-32 X (.625") SHCS, A286 STEEL NAS1352N-08-10 7 EA
11060 NO. 1 FLAT WASHER, 316 SS 90107A126 2 EA
11061 NO. 2 FLAT WASHER, 300 SERIES SS NAS620-C2 9 EA
11062 NO. 4 FLAT WASHER, 300 SERIES SS NAS620-C4 5 EA
11063 NO. 6 FLAT WASHER, LOW PROFILE, 300 SERIES SS NAS620-C6L 20 EA
11064 SPHERE LASER INPUT ASSEMBLY, SN: 001 132-111030 1 EA
11065 SPHERE LASER INPUT ASSEMBLY, SN: 002 132-111030 1 EA
11066 ESR BAFFLE APERTURE 1 132-111208 1 EA
11067 ESR BAFFLE APERTURE 2 132-111209 1 EA
11068 ESR CTE APERTURE 132-111217 1 EA
11069 ESR BAFFLE 132-111242 1 EA
11070 #0-80 X (.188") SHCS, A286 STEEL NAS1351N-00-3 5 EA
11071 NO. 0 FLAT WASHER, 300 SERIES SS NAS620-CO 5 EA
11072 ESR HEAT LINK CLAMP 132-111213 1 EA

90of63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure

11073 OPTICS BENCH HEAT LINK CLAMP 132-111214 1 EA
11074 ESR SPHERE STANDOFF, SN: 001 132-111221 1 EA
11075 ESR SPHERE STANDOFF, SN: 002 132-111221 1 EA
11076 ESR SPHERE STANDOFF, SN: 003 132-111221 1 EA
11077 ESR SPHERE STANDOFF, SN: 004 132-111221 1 EA
11078 IMOD AVIM-FIBER OPTIC MOUNT FOR INTEGRATING SPHERE 9705120 2 EA
11079 #0-80 X (.250") SHCS, A286 STEEL NAS1351N-00-4 2 EA
11080 #2-56 X (.250") SHCS, A286 STEEL NAS1352N-02-4 7 EA
11081 #2-56 X (.313") SHCS, A286 STEEL NAS1352N-02-5 10 EA
11082 #2-56 X (.438") SHCS, A286 STEEL NAS1352N-02-7 5 EA
11083 #4-40 X (.625") SHCS, A286 STEEL NAS1352N-04-10 5 EA
11084 NO. 0 FLAT WASHER, 300 SERIES SS NAS620-CO 1 EA
11085 NO. 2 FLAT WASHER, 300 SERIES SS NAS620-C2 21 EA
11086 NO. 4 FLAT WASHER, 300 SERIES SS NAS620-C4 6 EA
11087 SMA ADAPTOR ADASMA 1 EA
11088 EE HOUSING 132-112101-01 1 EA
11089 EE COVER TOP 132-112102 1 EA
11090 BOARD CLAMP ONE 132-112105 2 EA
11091 BOARD CLAMP TWO 132-112106 2 EA
11092 BOARD CLAMP THREE 132-112107 2 EA
11093 BOARD CLAMP FOUR 132-112108 2 EA
11094 BOARD CLAMP CENTER 132-112109 8 EA
11095 EE UPPER HOUSING 132-112110 1 EA
11096 EMI GASKET 78 D-SUB 132-112111 3 EA
11097 EMI GASKET 26 D-SUB 132-112112 3 EA
11098 EMI GASKET 9 D-SUB 132-112113 3 EA
11099 EMI VENT SCREEN CLAMP 132-112114 1 EA
11100 EMI EE VENT SCREEN 132-112115 1 EA
11101 #2-56 X (.313) PHILLIPS FHS, 18-8 SS MS-51959-4 10 EA
11102 #4-40 X (.250") SHCS, A286 STEEL NAS1352N-04-4 5 EA
11103 #4-40 X (.375") SHCS, A286 STEEL NAS1352N-04-6 62 EA
11104 #4-40 X (.500") SHCS, A286 STEEL NAS1352N-04-8 3 EA
11105 #10-32 X (.875") SHCS, A286 STEEL NAS1351N-3-14 2 EA
11106 NO. 2 FLAT WASHER, 300 SERIES SS NAS620-C2 9 EA
11107 NO. 4 FLAT WASHER, 300 SERIES SS NAS620-C4 50 EA
11109 #4-40 MALE JACKPOST KIT 570774-8 3 EA
11110 #4-40 FEMALE JACKPOST KIT 570774-9 3 EA
11111 #2-56 HEX NUT, LOW PROFILE NAS671C-2 9 EA
11112 HALL SENSOR NUT 132-114135 4 EA
11113 HALL SENSOR NUT 132-114135 4 EA
11114 FILTER WHEEL HUB 132-114103 1 EA
11115 LFW MOTOR 132-114137 1 EA
11116 FILTER WHEEL HUB 132-114103 1 EA
11117 LFW MOTOR 132-114137 1 EA
11118 #2-56 X (.250") SET SCREW, 304 SS MS51021-3 5 EA
11119 (.063") X (.500") SLOTTED SPRING PIN, 304 SS SPS3P-062-0500 2 EA
11120 FILTER WHEEL 132-114104 1 EA
11121 FILTER COVER 132-114105 9 EA
11122 FW MAGNET MOUNT 132-114116 1 EA
11123 HALL MAGNET 132-114125 2 EA

TAVE .95, TAVE .80,

TAVE .65, TAVE .50,

TAVE .35, TAVE .20,
11124 FILTER ONE THRU SEVEN TAVE .07 7 EA
11125 MIRROR 43319577 3 EA
11126 (.500") X (.433") X (.005") INDIUM GASKET 160815 20 EA
11127 FILTER WHEEL 132-114104 1 EA
11128 FILTER COVER 132-114105 9 EA
11129 FW MAGNET MOUNT 132-114116 1 EA
11130 HALL MAGNET 132-114125 2 EA

TAVE .95, TAVE .80,

TAVE .65, TAVE .50,

TAVE .35, TAVE .20,
11131 FILTER ONE THRU SEVEN TAVE .07 7 EA
11132 MIRROR 43319577 3 EA
11133 (.500") X (.433") X (.005") INDIUM GASKET 160815 20 EA
11134 #2-56 X (.250") SHCS, A286 STEEL NAS1352N-02-4 65 EA
11135 FIBER COUPLING LENS 132-114102-01 6 EA
11136 FIBER COUPLING LENS 132-114102-02 4 EA
11137 FIBER COUPLING LENS 132-114102-03 2 EA
11138 FIBER INPUT FLANGE 132-114142 14 EA
11139 FLIGHT MINI-AVIM ADAPTER 132-114143 12 EA
11140 LFW COUPLING LENS HOLDER 132-114145-01 6 EA
11141 LFW COUPLING LENS HOLDER 132-114145-02 6 EA
11142 #2-56 X (.125”) SET SCREW MS51021-2 14 EA
11143 #2-56 X (.250") SHCS, A286 STEEL NAS1352N-02-4 26 EA
11144 #2-56 X (.313”) SHCS, A286 STEEL NAS1352N-02-5 14 EA
11145 NO. 2 FLAT WASHER, 300 SERIES SS NAS620-C2 26 EA
11146 LASER OUTPUT COLLIMATING LENS 132-114107-01 6 EA
11147 LASER OUTPUT COLLIMATING LENS 132-114107-02 4 EA
11148 LASER OUTPUT COLLIMATING LENS 132-114107-03 2 EA
11149 LFW COLLIMATING LENS HOLDER 132-114144-01 6 EA
11150 LFW COLLIMATING LENS HOLDER 132-114144-02 2 EA
11151 LFW COLLIMATING LENS HOLDER 132-114144-03 4 EA
11152 MULTI DIODE CLAMP 132-114405 6 EA
11153 HEATER LINK 132-114408 2 EA
11154 LD BLOCK HEAT SPREADER 132-114413 2 EA
11155 915nm LASER DIODE, SN: 15, 47 132-114434 2 EA
11156 1470nm LASER DIODE, SN: 37, 39 132-114435 2 EA
11157 680nm LASER DIODE, SN: 33, 44 132-114438 2 EA
11158 #2-56 X (.313") SHCS, A286 STEEL NAS1352N-02-5 18 EA
11159 #2-56 X (.375”) SHCS, A286 STEEL NAS1352N-02-6 20 EA
11160 #4-40 X (.375") SHCS, A286 STEEL NAS1352N-04-6 5 EA
11161 #4-40 X (.438") SHCS, A286 STEEL NAS1352N-04-7 7 EA
11162 #4-40 X (.500") SHCS, A286 STEEL NAS1352N-04-8 14 EA
11163 NO. 2 FLAT WASHER, 300 SERIES SS NAS620-C2 41 EA
11164 NO. 4 FLAT WASHER, 300 SERIES SS NAS620-C4 18 EA
11165 NO. 4 FLAT WASHER, LOW PROFILE, 300 SERIES SS NAS620-C4L 7 EA
11166 RERS50 RESISTOR RER50F23R2PCSL 2 EA
11167 THERMISTOR, 10 KOHM, BARE LEADS 311P18-0857R6 6 EA
11168 THERMISTOR, 10 KOHM, LEADED QT06002-886-02 8 EA
11169 BOARD SPACER 132-114124 2 EA
11170 EMI GASKET 62 D-SUB 132-114136 3 EA
11171 LFW HOUSING 132-114301-01 1 EA
11172 LFW COVER 132-114302 1 EA
11173 EMI LFW VENT SCREEN 132-114304 4 EA
11174 SS WASHER 1 132-114305 52 EA
11175 LDB CORNER CLAMP 132-114406 4 EA
11176 LDB CORNER CLAMP 132-114406-01 4 EA
11177 LDB MIDDLE CLAMP 132-114407-01 2 EA
11178 LDB MIDDLE CLAMP 132-114407-03 2 EA
11179 62 PIN D-SUB CONNECTOR, GOLD PLATED 311P407-4P-B-12 2 EA
11180 #2-56 X (.250") SHCS, A286 STEEL NAS1352N-02-4 49 EA
11181 #2-56 X (.313") SHCS, A286 STEEL NAS1352N-02-5 18 EA
11182 #2-56 X (.375") SHCS, A286 STEEL NAS1352N-02-6 10 EA
11183 #4-40 X (.375") SHCS, A286 STEEL NAS1352N-04-6 9 EA
11184 #8-32 X (.625") SHCS, A286 STEEL NAS1352N-08-10 18 EA
11185 NO. 2 FLAT WASHER, 300 SERIES SS NAS620-C2 45 EA

10 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
11186 NO. 4 FLAT WASHER, 300 SERIES SS NAS620-C4 9 EA
11187 #4-40 MALE JACKPOST KIT 570774-8 1 EA
11188 #4-40 FEMALE JACKPOST KIT 570774-9 1 EA
11189 THERMISTOR, 10 KOHM, LEADED QT06002-886-02 2 EA
11190 MALE CRIMP CONTACT 204370-8 per G-08-P1 127 EA
11191 ESR CAVITY 132-111204 1 EA
11192 THERMISTOR, 10 KOHM QT06002-886-02 2 EA
11193 ESR HS APERTURE 132-111201 1 EA
11194 ESR HS BAFFLE 132-111202 1 EA
11195 ESR CAVITY COVER 132-111206 1 EA
11196 THERMISTOR, 10 KOHM QT06002-886-02 2 EA
11197 RESISTOR, 20.000K, 0.01%, 300mW, 3PPM, RM2010 303137-20K000TBW 2 EA
11198 #0-80 X (.188") SHCS, A286 STEEL NAS1351N-00-3 5 EA
11199 #1-64 X (.188") SHCS, A286 STEEL NAS1352N-01-3 4 EA
11200 NO. 0 FLAT WASHER, 300 SERIES SS NAS620-CO 5 EA
11201 ESR STANDOFF 132-111207 3 EA
11202 ESR REAR COVER 132-111222 1 EA
11203 HEATSINK STANDOFF STRONG 132-111228 1 EA
11204 ESR HTR SQUARE NUT 132-111229 4 EA
11205 EMI GASKET 21 MICRO-D 132-111231 2 EA
11206 EMI GASKET 25 MICRO-D 132-111232 4 EA
11207 PD THERMISTOR BLOCK 132-111233 1 EA
11208 PD EMI BRAID CLAMP 132-111234 1 EA
11209 ESR EMI BRAID CLAMP 132-111235 1 EA
11210 ESR ENGRAVE PLATE 132-111237 1 EA
11211 ESR HOUSING 132-111243 1 EA
11212 #2-56 X (.188") SHCS, A286 STEEL NAS1352N-02-3 5 EA
11213 #2-56 X (.250") SHCS, A286 STEEL NAS1352N-02-4 2 EA
11214 #2-56 X (.313") SHCS, A286 STEEL NAS1352N-02-5 7 EA
11215 #2-56 X (.563") SHCS, A286 STEEL NAS1352N-02-9 5 EA
11216 #2-56 X (.375") SHCS, A286 STEEL (rev H) NAS1352N-02-6 2 EA
11217 NO. 2 FLAT WASHER, 300 SERIES SS NAS620-C2 26 EA
11218 #2-56 HEX NUT, LOW PROFILE NAS671C-2 2 EA
11219 25 POSITION PIN MICRO-D CONNECTOR G583513/01-DN-429C 1 EA
11220 25 POSITION SOCKET MICRO-D CONNECTOR GS83513/02-DN-429C 1 EA
11221 21 POSITION PIN MICRO-D CONNECTOR GS83513/01-CN-429C 1 EA
11222 #2-56 X (.475") JACKPOST, HEX 080-00-00-100 3 EA
11223 RER45 HEATER RER45F73R2PCSL 2 EA
11224 THERMISTOR, 10 KOHM QT06002-886-02 4 EA
11225 PD MAIN HOUSING 132-111301 1 EA
11226 PD BAFFLE ONE 132-111302 4 EA
11227 PD BAFFLE TWO 132-111303 4 EA
11228 PD CLAMP 132-111305 4 EA
11229 InGaAs PHOTODIODE, SN: 19, 25 132-111308 2 EA
11230 Si PHOTODIODE, SN: 28, 45 132-111309 2 EA
11231 PD SLEEVE 132-111313 2 EA
11232 PD SLEEVE TOP 132-111314 2 EA
11233 PD BAFFLE FOUR 132-111315 3 EA
11234 PD BAFFLE FOUR 132-111315-01 2 EA
11235 #0-80 X (.125") SHCS, A286 STEEL NAS1351N-00-2 9 EA
11236 #2-56 X (.188") SHCS, A286 STEEL NAS1352N-02-3 5 EA
11237 #2-56 X (.313") SHCS, A286 STEEL NAS1352N-02-5 5 EA
11238 NO. 0 FLAT WASHER, 300 SERIES SS NAS620-CO 9 EA
11239 NO. 2 FLAT WASHER, 300 SERIES SS NAS620-C2 9 EA
11240 PD COVER 132-111307 1 EA
11241 EMI GASKET 15 MICRO-D 132-111312 2 EA
11242 #2-56 X (.250") SHCS, A286 STEEL NAS1352N-02-4 5 EA
11243 15 POSITION PIN MICRO-D CONNECTOR GS83513/01-BN-429C 1 EA
11244 #2-56 X (.475") JACKPOST KIT, HEX 080-00-00-100 1 EA
11245 CONTAINER ASSY ZRC3729-1704A3B 1 EA
11246 CABLE FIXTURE 8258708G1 1 EA
11247 CSM,SB, EU SURV HTR & TEMP SIDE2 8259871G1 1 EA
11248 CSM 30V AND UVLO SIDE 2 8259873G1 1 EA
11249 CSM LVDS DATA SIDE 2 8259875G1 1 EA
11250 LASER DIODE & FLTR WHL SIDE 2 8259877G1 1 EA
11251 EU PWR, SURV HTRS, ECU SIDE 2 8259884G1 1 EA
11252 1553, 1PPS SYNC/RSLVR SIDE 2 8259885G1 1 EA
11253 TWIST CAP INTRFC SIDE 2 8259887G1 1 EA
11254 CSM, SB, EU SURV HTR & TEMP SIDE1 8259870G1 1 EA
11255 CSM 30V AND UVLO SIDE 1 8259872G1 1 EA
11256 CSM LVDS DATA SIDE 1 8259874G1 1 EA
11257 LASER DIODE & FLTR WHL SIDE 1 8259876G1 1 EA
11258 EU PWR, SURV HTRS, ECU SIDE 1 8259882G1 1 EA
11259 1553, 1PPS SYNC/RSLVR SIDE 1 8259883G1 1 EA
11260 TWIST CAP INTRFC SIDE 1 8259886G1 1 EA
11261 ESR, PHOTODIODE & HTR SIDE 1&2 8259878G1 1 EA
11262 ESR CONTROL SIDE 2 8258946G1 1 EA
11263 ESR CONTROL SIDE 1 8258944G1 1 EA
11264 ESR ELECTRONICS TO PD SIDE 1&2 8258945G1 1 EA
11265 ARM ECU PWR & CNTL SIDE 2, SN: 02 8259896G1 1 EA
11266 ARM ECU PWR & CNTL SIDE 1, W21, SN: 01 8259890G1 1 EA
11267 ARM PWR, SURV HTR&LNCH LCK SIDE 1M, W22 8259891G1 1 EA
11268 1553, 1PPS, RSLVR SIDE 1, W23 8259892G1 1 EA
11269 TMP SIDE 1&ARM SURV HTR, W24 8259893G1 1 EA
11270 ARM PWR, SURV HTR&LNCH LCK SIDE 2, W28 8259897G1 1 EA
11271 1553, 1PPS, RSLVR SIDE 2, W29 8259898G1 1 EA
11272 WIRE, SPEC 55, 22 AWG 55A0112-22-0 5000 FT
11273 CABLE, SPEC 55, UNSHLD, 2 COND TW, 22 AWG 55A0122-22-0/9 1200 FT
11274 22 GAUGE CABLE 55A0121-22-6/9 20 FT
11275 WIRE, SPEC 55, 26 AWG 55A0111-26-0 5500 FT
11276 BRAID, TUBULAR, MICROFIL, NI-PLATED SS, SIZE 3/8 103-051-012 125 FT
11277 TAPE, GLASS/ACRYLIC 400-3226-105 2 RL
11278 FLUX CORED WIRE SOLDER 0.031 DIAMETER 570674-4 1 RL
11279 SOLDER 400-138-307 1 RL
11280 TAG HTCM-SCE-TP-1/2-4H-9 241 EA
11281 TAPE, GLASS CLOTH, SIZE 3/4 79-3/4 6 RL
11282 AMPHENOL 66 PIN CIRCULAR, PLUG, SOCKET CONTACTS TVSO6RF-19-355A(453) 1 EA
11283 AMPHENOL 55 PIN CIRCULAR, PLUG, SOCKET CONTACTS TVSO1RF-17-355B(453) 1 EA
11284 BRAID ARMORLITE 103-051-004 25 FT
11285 BRAID, ARMORLITE 103-051-016 125 FT
11286 BRAID ARMORLITE 103-051-024 75 FT
11287 SHRINK TUBING, FLUOROELASTOMER SIZE 3/16 BLK RW-200-3/16-0 40 FT
11288 TUBING, SHRINK, KYNAR, TRANSUCENT, SIZE 3/8 RW-175-3/8-X-STK 1000 FT
11289 TUBING, SHRINK, KYNAR, TRANSUCENT, SIZE 1/4 RW-175-1/4-X-STK 1000 FT
11290 INSERT, HELICAL, 4-40, 1.5, CRE 10053 17 EA
11291 SCREW, FLH, 4-40, 0.250, A286 10063 10 EA
11292 SCREW, FLH, 4-40, 0.250, A286 10063 9 EA
11293 SCREW, SHCS, .112-40, .250, A286 10066 12 EA
11294 SCREW, SHCS, .112-40, .250, A286 10066 25 EA
11295 SCREW, SHCS, .112-40, .313, A286 10068 20 EA
11296 SCREW, SHCS, .112-40, .500, A286 10069 24 EA
11297 WASHER, FLAT, .089, .149, .016, CRES 10072 50 EA
11298 WASHER, FLAT, .089, .149, .016, CRES 10072 65 EA
11299 WASHER, FLAT, .089, .149, .016, CRES 10072 11 EA
11300 WASHER, FLAT, .115, .209, .016, CRES 10073 1 EA
11301 WASHER, FLAT, .115, .209, .016, CRES 10073 12 EA
11302 WASHER, FLAT, .115, .209, .016, CRES 10073 3 EA
11303 WASHER, FLAT, .115, .209, .016, CRES 10073 40 EA

11 of 63



As of 2/28/2019

RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
11304 WASHER, FLAT, .115, .209, .016, CRES 10073 25 EA
11305 WASHER, FLAT, .115, .209, .016, CRES 10073 16 EA
11306 WASHER, FLAT, .115, .209, .016, CRES 10073 30 EA
11307 SCREW, SHCS, .190-32, .750, A286 10124 3 EA
11308 SCREW, SHCS, .190-32, .750, A286 10124 25 EA
11309 SCREW, SHCS, .164-32, .375, A286 10125 9 EA
11310 SCREW, SHCS, .112-40, .375, A286 10126 2 EA
11311 CAP, TANT, NON-SOLID, 22UF, 100V, 10% (CLR79-R) 10140 1 EA
11312 CAP, TANT, NON-SOLID, 22UF, 100V, 10% (CLR79-R) 10140 13 EA
11313 CAP, CERAMIC, CHIP, 68PF, 100V, 10% (CDR31-S) 10149 1 EA
11314 RES, FXD, FILM, CHIP, 4.99K, 1% (RM0705-R) 10193 12 EA
11315 RES, FXD, FILM, CHIP, 4.99K, 1% (RM0705-R) 10193 14 EA
11316 RES, FXD, FILM, CHIP, 10.0K, 1% (RMO0705-R) 10195 24 EA
11317 RES, FXD, FILM, CHIP, 20.0, 1% (RM1206-R) 10203 4 EA
11318 RES, FXD, FILM, CHIP, 100 OHM, 1% 10205 10 EA
11319 RES, FXD, FILM, CHIP, 1.0K, 1% (RMO0705-R) 10225 2 EA
11320 TEST POINT, SURFACE MOUNT, MINIATURE 10317 2 EA
11321 WASHER, FLAT, 1/4, 0.032, CRES 10398 1 EA
11322 WASHER, FLAT, .143, .267, .016, CRES 10401 EA
11323 WASHER, FLAT, .143, .267, .016, CRES 10401 50 EA
11324 SCREW, SHCS, .190-32, .375, A286 10403 21 EA
11325 SCREW, FLH, 2-56, 0.188, A286 10404 5 EA
11326 SCREW, FLH, 2-56, 0.188, A286 10404 35 EA
11327 SCREW, SHCS, 2-56, 0.375, A286 10410 1 EA
11328 SCREW, SHCS, 2-56, 0.375, A286 10410 12 EA
11329 SCREW, FLH, 2-56, 0.250, A286 10411 7 EA
11330 SWITCH, MICRO 10416 7 EA
11331 SCREW, SHCS, .086-56, .250, A286 10418 3 EA
11332 TUBE,SHRINK, 1/8 10456 47 FT
11333 TUBE,SHRINK, 1/8 10456 21 FT
11334 TUBE,SHRINK, 3/16 10457 18 FT
11335 TUBE,SHRINK, 1/4 10458 25 FT
11336 TUBE,SHRINK, 1/4 10458 16 FT
11337 TUBE,SHRINK, 3/8 10459 32 FT
11338 TUBE,SHRINK, 3/8 10459 10 FT
11339 BAND 10463 30 EA
11340 BAND 10463 18 EA
11341 SCREW, SHCS, .086-56, .250, CRES 10501 23 EA
11342 SCREW, FFILH, .086-56, .250, A286 10648 48 EA
11343 SCREW, FFILH, .086-56, .250, A286 10648 35 EA
11344 SCREW, FFILH, .086-56, .250, A286 10648 65 EA
11345 WASHER, FLAT, .195, .354, .032, CRES 10669 26 EA
11346 WASHER, FLAT, .143, .267, .032, CRES 10670 17 EA
11347 WASHER, FLAT, .169, .304, .032, CRES 10671 21 EA
11348 SCREW, FFILH, 4-40, 0.250, A286 10678 46 EA
11349 SCREW, FFILH, 4-40, 0.250, A286 10678 6 EA
11350 SCREW, FLH, 4-40, 0.313, A286 10679 2 EA
11351 SCREW, FLH, 4-40, 0.313, A286 10679 40 EA
11352 SCREW, SHCS, .250-28, 1.000, CRES 10711 5 EA
11353 SCREW, FFILH, 4-40, 0.313, A286 10738 16 EA
11354 SCREW, FFILH, 4-40, 0.313, A286 10738 40 EA
11355 SCREW, FFILH, .086-56, .188, A286 10789 70 EA
11356 SCREW, SHCS, 6-32, 2.00, CRES 10845 21 EA
11357 CONTACT, PIN, SIZE 22D 10877 96 EA
11358 CONTACT, SOCKET, SIZE 22D 10880 68 EA
11359 CONTACT, SOCKET, SIZE 22D 10880 45 EA
11360 SCREW, FFILH, .164-32, .438, A286 11011 10 EA
11361 SCREW, FFILH, .164-32, .438, A286 11011 10 EA
11362 WASHER, FLAT, .169, .304, .016, CRES 11018 27 EA
11363 WASHER, FLAT, .169, .304, .016, CRES 11018 3 EA
11364 WASHER, FLAT, .169, .304, .016, CRES 11018 40 EA
11365 INSERT, HELICAL, 0.086-56, CRES 11029 23 EA
11366 TUBE, SHRINK,18 AWG 11057 1149 IN
11367 WIRE, 26 AWG, WHT 11060 900 IN
11368 SCREW, FFILH, 4-40, 0.625, A286 11122 26 EA
11369 MOUNT, CABLE TIE 11125 50 EA
11370 MOUNT, CABLE TIE 11125 44 EA
11371 CABLE, 2 CONDUCTOR, 24 AWG, 1 SHIELD, 1 JACKET 11175 12 FT
11372 SCREW, SHCS, .164-32, .500, A286 11221 1 EA
11373 SCREW, SHCS, .164-32, .500, A286 11221 10 EA
11374 SCREW, SHCS, .164-32, .500, A286 11221 18 EA
11375 SCREW, SHCS, .164-32, .500, A286 11221 5 EA
11376 BRAIDED WIRE, ROUND, 36 AWG, SILVER, .25 ID 11223 84 FT
11377 BRAIDED WIRE, ROUND, 36 AWG, SILVER, .25 ID 11223 12 FT
11378 BRAIDED WIRE, ROUND, 36 AWG, SILVER, .078 ID 11224 399 FT
11379 BRAIDED WIRE, ROUND, 36 AWG, SILVER, .078 ID 11224 74 FT
11380 BRAIDED WIRE, ROUND, 36 AWG, SILVER, .156 ID 11226 24 FT
11381 ROLLER LEAF, ACTUATOR 11236 2 EA
11382 ROLLER LEAF, ACTUATOR 11236 EA
11383 CLAMP, CABLE 11238 30 EA
11384 CLAMP, CABLE 11238 16 EA
11385 TIE, CABLE, TEFZEL, 4.0" 11244 17 EA
11386 TIE, CABLE, TEFZEL, 4.0" 11244 3 EA
11387 TIE, CABLE, TEFZEL, 4.0" 11244 7 EA
11388 SAVER, CONNECTOR, HD, SIZE 2 11246 1 EA
11389 SCREW, FFILH, 6-32, 0.250, A286 11300 9 EA
11390 SCREW, SHCS, 8-32, 0.438, A286 11302 40 EA
11391 SAVER, CONNECTOR, HD, SIZE 1 11316 1 EA
11392 SAVER, CONNECTOR, HD, SIZE 1 11316 2 EA
11393 SCREW, SHCS, .112-40, .438, A286 11321 30 EA
11394 DIODE, RECTIFIER, ULTRA FAST, 2.5A, JANTXV1IN5806US 11524 1 EA
11395 DIODE, RECTIFIER, ULTRA FAST, 2.5A, JANTXV1IN5806US 11524 4 EA
11396 DIODE, RECTIFIER, ULTRA FAST, 2.5A, JANTXV1IN5806US 11524 3 EA
11397 DIODE, RECTIFIER, ULTRA FAST, 6A, JANTXV1IN5811US 11525 8 EA
11398 SCREW, FFILH, 10-32, 0.500, A286 11568 4 EA
11399 SCREW, SHCS, .250-28, .875, A286 11600 9 EA
11400 SCREW, SHCS, 6-32, 0.375, A286 11601 7 EA
11401 PIN, DOWEL, .2500, .750, CRES 11606 17 EA
11402 CONTACT, PIN, HIGH DENSITY, SERIES 90, 22-28 AWG 11626 4 EA
11403 WASHER, 0.390, 0.625, 0.057, CRES 11640 36 EA
11404 CONTACT, PIN 11658 10 EA
11405 TUBE, SHRINK, 0.093 ID 11675 16 FT
11406 TUBE, SHRINK, 0.188 ID 11676 6 FT
11407 SCREW, SHCS, 10-32, 3/4, CRES 11687 1 EA
11408 SCREW, SHCS, 3/8-16, 1.00, CRES 11798 4 EA
11409 WASHER, FLAT, 0.406, 0.812, 0.051, CRES 11800 44 EA
11410 SCREW, SHCS, 5/16-24, 1.000, CRES 11871 8 EA
11411 SCREW, SHCS, .190-32, .750, CRES 11916 6 EA
11412 TUBE, SHRINK, 0.063 ID 11937 1 FT
11413 TUBE, SHRINK, 0.063 ID 11937 17 FT
11414 BRAIDED WIRE, ROUND, 36 AWG, SILVER, 0.375 ID 12218 82 FT
11415 BRAIDED WIRE, ROUND, 36 AWG, SILVER, 0.375 ID 12218 12 FT
11416 INSERT, HELICAL, 5/16-24, 1.0, CRES 12223 8 EA
11417 TENSILE TEST COUPON 0001-55G193069 12265 1 EA
11418 TENSILE TEST COUPON 0001-55G193493 12265 1 EA
11419 TENSILE TEST COUPON 0002-55G193069 12265 1 EA
11420 TENSILE TEST COUPON 0002-55G193493 12265 1 EA
11421 TENSILE TEST COUPON 0003-55G193069 12265 1 EA

12 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
11422 TENSILE TEST COUPON 0003-55G193493 12265 1 EA
11423 TENSILE TEST COUPON 007-FP-L66561 12265 1 EA
11424 TENSILE TEST COUPON 008-FP-L66561 12265 1 EA
11425 TENSILE TEST COUPON 009-FP-L66561 12265 1 EA
11426 TENSILE TEST COUPON 100-55G190554 12265 1 EA
11427 TENSILE TEST COUPON 101-55G190554 12265 1 EA
11428 TENSILE TEST COUPON 102-55G190554 12265 1 EA
11429 TENSILE TEST COUPON 103-55G190559 12265 1 EA
11430 TENSILE TEST COUPON 104-55G190559 12265 1 EA
11431 TENSILE TEST COUPON 105-55G190559 12265 1 EA
11432 TENSILE TEST COUPON 106-55G190556 12265 1 EA
11433 TENSILE TEST COUPON 107-55G190556 12265 1 EA
11434 TENSILE TEST COUPON 108-55G190556 12265 1 EA
11435 TENSILE TEST COUPON 109-55G190174 12265 1 EA
11436 TENSILE TEST COUPON 110-55G190174 12265 1 EA
11437 TENSILE TEST COUPON 111-55G190174 12265 1 EA
11438 TENSILE TEST COUPON 112-55G190174 12265 1 EA
11439 TENSILE TEST COUPON 113-55G190174 12265 1 EA
11440 TENSILE TEST COUPON 114-55G190174 12265 1 EA
11441 TENSILE TEST COUPON 1-55G190610 12265 1 EA
11442 TENSILE TEST COUPON 1-55G192953 12265 1 EA
11443 TENSILE TEST COUPON 1-55G193073 12265 1 EA
11444 TENSILE TEST COUPON 1-55G193075 12265 1 EA
11445 TENSILE TEST COUPON 1-55G193093 12265 1 EA
11446 TENSILE TEST COUPON 1-55G193096 12265 1 EA
11447 TENSILE TEST COUPON 1-55G193097 12265 1 EA
11448 TENSILE TEST COUPON 1-55G193672 12265 1 EA
11449 TENSILE TEST COUPON 1-55G193673 12265 1 EA
11450 TENSILE TEST COUPON 1-55G193674 12265 1 EA
11451 TENSILE TEST COUPON 1-55G19598/55G190599 12265 1 EA
11452 TENSILE TEST COUPON 1-55G198063 12265 1 EA
11453 TENSILE TEST COUPON 2-55G190610 12265 1 EA
11454 TENSILE TEST COUPON 2-55G192953 12265 1 EA
11455 TENSILE TEST COUPON 2-55G193073 12265 1 EA
11456 TENSILE TEST COUPON 2-55G193075 12265 1 EA
11457 TENSILE TEST COUPON 2-55G193093 12265 1 EA
11458 TENSILE TEST COUPON 2-55G193096 12265 1 EA
11459 TENSILE TEST COUPON 2-55G193097 12265 1 EA
11460 TENSILE TEST COUPON 2-55G193672 12265 1 EA
11461 TENSILE TEST COUPON 2-55G193673 12265 1 EA
11462 TENSILE TEST COUPON 2-55G193674 12265 1 EA
11463 TENSILE TEST COUPON 2-55G19598/55G190599 12265 1 EA
11464 TENSILE TEST COUPON 2-55G198063 12265 1 EA
11465 TENSILE TEST COUPON 3-55G190610 12265 1 EA
11466 TENSILE TEST COUPON 3-55G192953 12265 1 EA
11467 TENSILE TEST COUPON 3-55G193073 12265 1 EA
11468 TENSILE TEST COUPON 3-55G193075 12265 1 EA
11469 TENSILE TEST COUPON 3-55G193093 12265 1 EA
11470 TENSILE TEST COUPON 3-55G193096 12265 1 EA
11471 TENSILE TEST COUPON 3-55G193097 12265 1 EA
11472 TENSILE TEST COUPON 3-55G193672 12265 1 EA
11473 TENSILE TEST COUPON 3-55G193673 12265 1 EA
11474 TENSILE TEST COUPON 3-55G193674 12265 1 EA
11475 TENSILE TEST COUPON 3-55G19598/55G190599 12265 1 EA
11476 TENSILE TEST COUPON 3-55G198063 12265 1 EA
11477 TENSILE TEST COUPON 4-55G192952 12265 1 EA
11478 TENSILE TEST COUPON 5-55G192952 12265 1 EA
11479 TENSILE TEST COUPON 6-55G192952 12265 1 EA
11480 WIRE, 26 AWG, GRN 12311 37 FT
11481 WIRE, 26 AWG, GRN 12311 67 FT
11482 WASHER, #6, INSULATING 12353 13 EA
11483 WASHER, #6, INSULATING 12353 55 EA
11484 MICROCIRCUIT, PWM, CURRENT, RAD HARD, IS7-1845ASRH 12359 15 EA
11485 RING, RETAINING, .250 DIA. HOUSING 12410 4 EA
11486 SCREW, FLH, 4-40, 0.188, A286 12685 13 EA
11487 SCREW, SHCS, 1/4-20, 1.000, CRES 12754 4 EA
11488 SCREW, SHCS, 1/4-20, 1.000, CRES 12754 4 EA
11489 SCREW, SHCS, .138-32, .500, A286 12791 9 EA
11490 WIRE, 22 AWG, WHT 12872 75 FT
11491 WIRE, 22 AWG, WHT 12872 40 FT
11492 WIRE, 22 AWG, WHT 12872 10 FT
11493 INSERT, HELICAL, 1/4-28, 1.5, CRES 12953 8 EA
11494 SCREW, SET, 4-40, 0.187, CUP POINT, CRES 12956 24 EA
11495 SCREW, SHCS, .086-56, .500, CRES 13472 19 EA
11496 INSERT, HELICAL, 4-40, 2.0, CRES 13494 21 EA
11497 CLAMP, CABLE, 0.25 DIA, CRES 13517 30 EA
11498 CLAMP, CABLE, 0.25 DIA, CRES 13517 16 EA
11499 WASHER, SPHERICAL, #10, CRES 13587 1 EA
11500 NUT, HEX, 10-32, CRES 13598 6 EA
11501 SCREW, FFILH, 8-32, 0.500, A286 13642 3 EA
11502 SCREWLOCK, FEMALE, 4-40, 0.625, CRES 13802 1 EA
11503 PIN, DOWEL, .1250, .375, CRES 14067 23 EA
11504 SCREWLOCK, FEMALE, 4-40, 0.312, CRES 14069 1 EA
11505 SCREWLOCK, FEMALE, 4-40, 0.312, CRES 14069 12 EA
11506 SCREW, SHCS, 1/4-28, 1.250, CRES 14095 3 EA
11507 SCREW, SHCS, 3/8-24, 1.250, CRES 14096 4 EA
11508 SCREW, SHCS, .138-32, .750, CRES 14243 6 EA
11509 DIODE, SCHOTTKY, SILICON, 1.0A (JANTXVIN5819UR-1) 14253 1 EA
11510 WASHER, FLAT, 1/4", .04-.06" 14335 81 EA
11511 WASHER, SET, SPHERICAL, 3/8 14339 1 EA
11512 SCREW, SHCS, .112-40, .750, CRES 14404 23 EA
11513 SCREW, SHCS, .112-40, .625, A286 14534 25 EA
11514 INSERT, HELICAL, 1/4-20, 2.0, CRES 14539 4 EA
11515 SCREW, SHCS, 8-32, 0.625, CRES 14542 6 EA
11516 SCREW, FLH, 2-56, 0.750, A286 14726 20 EA
11517 SCREW, SHCS, .313-18, .875, CRES 14770 8 EA
11518 CONTACT, MALE, SIZE 20, DSUB 15113 12 EA
11519 CABLE, 2 CONDUCTOR, 26 AWG, 1 SHIELD, 1 JACKET 15561 75 FT
11520 SCREW, SHCS, .250-28, 2.000, CRES 15777 7 EA
11521 SCREW, SHCS, .250-28, .750, A286 15894 12 EA
11522 SCREW, SHCS, .250-28, .750, A286 15894 5 EA
11523 SCREW, SHCS, .250-28, 1.000, A286 15895 12 EA
11524 SCREW, SHCS, 3/8-24, 1.000, A286 15917 4 EA
11525 SCREW, SHCS, 3/8-24, 1.500, A286 15919 10 EA
11526 SCREW, SHCS, .313-18, 1.000, CRES 16010 16 EA
11527 SCREW, SHCS, .164-32, .625, A286 16110 17 EA
11528 SCREW, SHCS, .164-32, .625, A286 16110 40 EA
11529 SCREW, SHCS, .164-32, .625, A286 16110 25 EA
11530 SCREW, SHCS, .164-32, .750, A286 16111 13 EA
11531 MICROCIRCUIT, FPGA, 72K GATES, CMOS, 208 PINS SN 13239 16245 1 EA
11532 WASHER, FLAT, .174, .375, .016, CRES 16325 10 EA
11533 WASHER, FLAT, .328, .562, .032, CRES 16334 8 EA
11534 SCREW, FFILH, 2-56, 0.438, A286 16860 25 EA
11535 SCREW, FFILH, .086-56, .625, A286 16861 18 EA
11536 SCREW, FFILH, 4-40, 0.375, A286 16872 4 EA
11537 SCREW, FFILH, 4-40, 0.375, A286 16872 15 EA
11538 SCREW, FFILH, 4-40, 0.375, A286 16872 10 EA
11539 SCREW, FFILH, 4-40, 0.375, A286 16872 2 EA

13 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
11540 SCREW, FFILH, 4-40, 0.375, A286 16872 35 EA
11541 SCREW, FFILH, 6-32, 0.375, A286 16885 25 EA
11542 SCREW, FFILH, 6-32, 0.500, A286 16887 25 EA
11543 SCREW, FFILH, 6-32, 0.625, A286 16888 17 EA
11544 SCREW, FFILH, .164-32, .375, A286 16903 11 EA
11545 SCREW, FFILH, .164-32, .375, A286 16903 40 EA
11547 SCREW, FFILH, 10-32, 0.625, A286 16918 8 EA
11548 SCREW, FFILH, 10-32, 0.625, A286 16918 13 EA
11549 SCREW, FLH, 2-56, 0.438, A286 17163 6 EA
11550 SCREW, FLH, 2-56, 0.625, A286 17165 20 EA
11551 SCREW, FLH, 1/4-28, 0.625, A286 17245 8 EA
11552 SCREW, FLH, 1/4-28, 0.875, A286 17247 1 EA
11553 INSERT, HELICAL, 5/16-18, 1.5 D, LKG, CRES 17673 15 EA
11554 PIN, DOWEL, 0.31250, 0.625, CRES 18282 1 EA
11555 SCREW, SET, 4-40, 0.250, FLAT POINT, CRES 18641 8 EA
11556 SCREW, SET, 4-40, 0.250, FLAT POINT, CRES 18641 8 EA
11557 SCREW, SET, 2-56, 0.188, CRES 18961 22 EA
11558 SCREW, SHCS, 3/8-24, 1.500, CRES 19493 1 EA
11559 PIN, DOWEL, .0938, .500, CRES 19504 20 EA
11560 SCREW, SHCS, 2-56, 0.312, A286 20069 4 EA
11561 SCREW, SHCS, 2-56, 0.312, A286 20069 15 EA
11562 MICROCIRCUIT, COMPARATOR, ULTRAFAST, RH (AD8561AL) 20910 1 EA
11563 TRANSISTOR, MOSFET, N-CH, 130V, 10A, JANSR2N7497T2 20912 8 EA
11564 INSERT, HELICAL, 1/4-28, 1.0 D, CRES 21064 6 EA
11565 CAP, CERAMIC, CHIP, 0.015UF, 100V, 10% (CDR32-S) 21170 6 EA
11566 CAP, CERAMIC, CHIP, 0.015UF, 100V, 10% (CDR32-S) 21170 4 EA
11567 CAP, CERAMIC, CHIP, 0.047UF, 100V, 10% (CDR34-S) 21171 1 EA
11568 CAP, CERAMIC, CHIP, 1000PF, 100V, 1% (CDR32-S) 21174 1 EA
11569 CAP, CERAMIC, CHIP, 1000PF, 100V, 1% (CDR32-S) 21174 1 EA
11570 CAP, CERAMIC, CHIP, 0.1UF, 100V, 10% (CDR35-S) 21176 1 EA
11571 CAP, CERAMIC, CHIP, 0.1UF, 100V, 10% (CDR35-S) 21176 5 EA
11572 CONNECTOR, HD, 26 CONTACT, PLUG, PCB MOUNT 21250 4 EA
11573 CONNECTOR, HD, 15 CONTACT, SOCKET, PCB MOUNT 21251 5 EA
11574 NUT, HEX 2-56, CRES 21265 1 EA
11575 NUT, HEX 2-56, CRES 21265 6 EA
11576 CAP, CERAMIC, CHIP, 0.027UF, 100V, 10% (CDR33-S) 21462 1 EA
11577 CAP, CERAMIC, CHIP, 0.027UF, 100V, 10% (CDR33-S) 21462 31 EA
11578 CAP, CERAMIC, CHIP, 0.15UF, 100V, 10% (CDR35-S) 21463 4 EA
11579 CAP, CERAMIC, CHIP, 0.15UF, 100V, 10% (CDR35-S) 21463 6 EA
11580 CONTACTS, SOCKETS, CRIMP (FOR MIL-C-24308 CONN) 21653 36 EA
11581 SCREW, SHCS, 10-32, 3.000, A286 22419 25 EA
11582 SCREW, SHCS, 10-32, 0.875, CRES 22422 92 EA
11583 CIRCUIT, FLEXIBLE, EMI INPUT 22428 1 EA
11584 CIRCUIT, FLEXIBLE, EMI INPUT 22428 4 EA
11585 CIRCUIT, FLEXIBLE, DRIVER OUTPUT 22430 2 EA
11586 CIRCUIT, FLEXIBLE, DRIVER OUTPUT 22430 2 EA
11587 CIRCUIT, FLEXIBLE, DRIVER OUTPUT 22430 5 EA
11588 RES, FXD, FILM, CHIP, 1.0K OHM, 1%, 1/4W 22961 10 EA
11589 RES, FXD, FILM, CHIP, 499 OHM, 1%, 40V 22969 1 EA
11590 DIODE, SWITCHING, 300MA, JANS1IN6642US (D-5D) 23020 1 EA
11591 DIODE, SWITCHING, 300MA, JANSIN6642US (D-5D) 23020 6 EA
11592 CAP, CERAMIC, CHIP, 100PF, 100V, 1% (CDR32-S) 23068 2 EA
11593 CAP, CERAMIC, CHIP, 100PF, 100V, 1% (CDR32-S) 23068 8 EA
11594 CAP, CERAMIC, CHIP, 100PF, 100V, 1% (CDR31-S) 23071 5 EA
11595 RES, FXD, FILM, CHIP, 10.0, 1% (RMOQ705-S) 23108 1 EA
11596 RES, FXD, FILM, CHIP, 499, 1% (RM0705-S) 23109 1 EA
11597 RES, FXD, FILM, CHIP, 499, 1% (RM0705-S) 23109 1 EA
11598 RES, FXD, FILM, CHIP, 10.0K, 1% (RM0705-S) 23112 4 EA
11599 RES, FXD, FILM, CHIP, 100K, 1% (RM0705-S) 23114 2 EA
11600 RES, FXD, FILM, CHIP, 12.1K, 1% (RM0705-S) 23115 1 EA
11601 RES, FXD, FILM, CHIP, 12.1K, 1% (RM0705-S) 23115 1 EA
11602 RES, FXD, FILM, CHIP, 150K, 1% (RMO0705-S) 23116 1 EA
11603 RES, FXD, FILM, CHIP, 150K, 1% (RM0705-S) 23116 1 EA
11604 RES, FXD, FILM, CHIP, 20.0K, 1% (RM0705-S) 23119 3 EA
11605 RES, FXD, FILM, CHIP, 4.99K, 1% (RM0705-S) 23120 1 EA
11606 RES, FXD, FILM, CHIP, 4.99K, 1% (RM0705-S) 23120 2 EA
11607 RES, FXD, FILM, CHIP, 49.9K, 1%, (RM0705-S) 23121 1 EA
11608 RES, FXD, FILM, CHIP, 49.9K, 1%, (RM0705-S) 23121 2 EA
11609 RES, FXD, FILM, CHIP, 49.9K, 1%, (RM0705-S) 23121 4 EA
11610 RES, FXD, FILM, CHIP, 5.62, 1% (RM1206-S) 23125 1 EA
11611 RES, FXD, FILM, CHIP, 5.62, 1% (RM1206-S) 23125 2 EA
11612 RES, FXD, FILM, CHIP, 8.25K, 1% (RM1206-S) 23281 1 EA
11613 RES, FXD, FILM, CHIP, 8.25K, 1% (RM1206-S) 23281 1 EA
11614 WASHER, FLAT, #10, 0.031, CRES 23324 53 EA
11615 RES, FXD, FILM, CHIP, 1.15K, 1% (RM0705-R) 23331 1 EA
11616 RES, FXD, FILM, CHIP, 1.15K, 1% (RM0705-R) 23331 1 EA
11617 RES, FXD, FILM, CHIP, 1.15K, 1% (RMO0705-R) 23331 4 EA
11618 RES, FXD, FILM, CHIP, 2.0K, 1% (RM0705-S) 23332 1 EA
11619 RES, FXD, FILM, CHIP, 2.0K, 1% (RM0705-S) 23332 1 EA
11620 RES, FXD, FILM, CHIP, 2.0K, 1% (RM0705-S) 23332 4 EA
11621 RES, FXD, FILM, CHIP, 422, 1% (RM0705-S) 23337 1 EA
11622 RES, FXD, FILM, CHIP, 422, 1% (RM0705-S) 23337 1 EA
11623 RES, FXD, FILM, CHIP, 422, 1% (RM0705-S) 23337 4 EA
11624 SCREW, SHCS, 10-32, 0.625, CRES 23372 90 EA
11625 CONN., 3 ROW, B TO B, 59 CONTACT, SOLDER CUP, RECP 23393 1 EA
11626 CONN., 3 ROW, B TO B, 59 CONTACT, SOLDER CUP, PLUG 23394 2 EA
11627 SCREW, SHCS, 10-32, .375, CRES, DRILLED HEAD 23466 14 EA
11628 CAP, TANT, SOLID, CHIP, 3.3UF, 35V, 10% (CWR09-CB) 23482 4 EA
11629 INSERT, HELICAL, 5/16-24, 1.5D, CRES 23715 8 EA
11630 INSERT, HELICAL, M3, 0.5, 1.5 D, CRES 23886 19 EA
11631 RES, FXD, FILM, CHIP, 40.2K, 1% (RM0705-R) 23936 1 EA
11632 SCREW, SCH, 0.138-32, 0.500L, CRES 24011 94 EA
11633 SCREW, SCH, 0.138-32, 0.625L, CRES 24012 96 EA
11634 SCREW, SCH, 0.164-32, 0.375L, CRES 24013 96 EA
11635 SCREW, SCH, 0.164-32, 0.500L, CRES 24014 98 EA
11636 SCREW, SCH, 0.164-32, 0.750L, CRES 24015 40 EA
11637 CAP, CERAMIC, CHIP, 1500PF, 100V, 10% (CDR31-S) 24061 1 EA
11638 CAP, CERAMIC, CHIP, 1500PF, 100V, 10% (CDR31-S) 24061 1 EA
11639 CAP, CERAMIC, CHIP, 1500PF, 100V, 10% (CDR31-S) 24061 5 EA
11640 CABLE TIE, 7.4" LENGTH TEFZEL PAN-TY AQUABLUE 24089 85 EA
11641 SCREW, SHCS, 10-32, 0.500, CRES 24145 40 EA
11642 SCREW, SHCS, 10-32, 0.500, CRES 24145 2 EA
11643 SCREW, SHCS, 4-40, 0.375, CRES 24146 2 EA
11644 SCREW, SHCS, 4-40, 0.500, CRES 24147 4 EA
11645 WASHER, FLAT, .169ID, .3040D, .016T 24155 197 EA
11646 WASHER, FLAT, .195ID, .3540D, .032T 24157 243 EA
11647 WASHER, FLAT, 0.195ID, 0.3540D, 0.063T 24158 92 EA
11648 WASHER, FLAT, .255ID, .4680D, .032T 24159 72 EA
11649 WASHER, FLAT, .255ID, .4680D, .063T 24160 60 EA
11650 SCREW, SCH, 8-32, 0.50, BLACK-OXIDE ALLOY STEEL 24163 66 EA
11651 RES, FXD, FILM, CHIP, 2.32K, 1% (RMO0705-R) 24210 1 EA
11652 SCREW, SCH, 8-32, 0.625, BLACK-OXIDE ALLOY STEEL 24639 74 EA
11653 SCREW, SCH, 1/4-28, 1.00, BLACK-OXIDE ALLOY STEEL 24686 4 EA
11654 TAPE, KAPTON, 1/4" WIDE 24810 1 FT
11655 TAPE, KAPTON, 1" WIDE 24812 3 RL
11656 SCREW, SCH, 6-32, 0.500, BLACK-OXIDE ALLOY STEEL 24974 96 EA
11657 INSERT, HELICAL, .138-32, 1.5, TANGLESS, CRES 25016 2 EA
11658 SCREW, SCH, 4-40, 0.438, BLACK-OXIDE ALLOY STEEL 25160 43 EA

14 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
11659 SPRING, BELLEVILLE, 0.750 OD, 0.380 ID, CRES 25382 14 EA
11660 SPRING, BELLEVILLE, 0.750 OD, 0.380 ID, CRES 25382 25 EA
11661 SCREW, SCH, 4-40, 0.500, BLACK-OXIDE ALLOY STEEL 25504 92 EA
11662 SCREW, SHOULDER, 3/16, 0.75, 8-32, CRES 25525 1 EA
11663 CAP, CER, 10 PF, 100V, 10%, 0805 (CDR31) 25897 2 EA
11664 SCREW, BHCS, .250-28, 1.000, CRES 26092 9 EA
11665 INSERT, HELICAL, 3/8-16, 2 D 26130 4 EA
11666 WASHER, FLAT, 0.328, 0.562, 0.063, CRES 26455 92 EA
11667 RES, FXD, FILM, CHIP, 243, 1% (RM0705-R) 26743 2 EA
11668 RES, FXD, FILM, CHIP, 243, 1% (RM0705-R) 26743 1 EA
11669 SCREW, SCH, 4-40, 0.625, BLACK-OXIDE ALLOY STEEL 26894 97 EA
11670 INSERT, HELICAL, .086-56, 1.0, TANGLESS, CRES 27167 18 EA
11671 INSERT, HELICAL, .086-56, 1.0, TANGLESS, CRES 27167 50 EA
11672 INSERT, HELICAL, .086-56, 1.5, TANGLESS, CRES 27168 3 EA
11673 INSERT, HELICAL, .086-56, 1.5, TANGLESS, CRES 27168 2 EA
11674 INSERT, HELICAL, .086-56, 1.5, TANGLESS, CRES 27168 55 EA
11675 INSERT, HELICAL, .086-56, 1.5, TANGLESS, CRES 27168 50 EA
11676 INSERT, HELICAL, .112-40, 1.5, TANGLESS, CRES 27236 4 EA
11677 INSERT, HELICAL, .112-40, 1.5, TANGLESS, CRES 27236 5 EA
11678 INSERT, HELICAL, .112-40, 1.5, TANGLESS, CRES 27236 15 EA
11679 INSERT, HELICAL, .112-40, 1.5, TANGLESS, CRES 27236 1 EA
11680 INSERT, HELICAL, .112-40, 1.5, TANGLESS, CRES 27236 35 EA
11681 INSERT, HELICAL, .112-40, 1.5, TANGLESS, CRES 27236 12 EA
11682 INSERT, HELICAL, .164-32, 1.5, TANGLESS, CRES 27237 1 EA
11683 INSERT, HELICAL, .164-32, 1.5, TANGLESS, CRES 27237 28 EA
11684 INSERT, HELICAL, .164-32, 1.5, TANGLESS, CRES 27237 11 EA
11685 RES, FXD, FILM, CHIP, 274 OHM, 1% (RM2010) 27357 1 EA
11686 RES, FXD, FILM, CHIP, 274 OHM, 1% (RM2010) 27357 1 EA
11687 RES, H2010CKXOR2J60, 0.2 OHM, 5%, 600 PPM, GEC 072 27380 1 EA
11688 RES, H2010CKXOR2J60, 0.2 OHM, 5%, 600 PPM, GEC 072 27380 1 EA
11689 INSERT, HELICAL, .138-32, 1.0, TANGLESS, CRES 27400 2 EA
11690 INSERT, HELICAL, .112-40, 1.0, TANGLESS, CRES 27429 8 EA
11691 INSERT, HELICAL, .112-40, 1.0, TANGLESS, CRES 27429 25 EA
11692 DIODE, ZENER, 82V 27996 2 EA
11693 DIODE, ZENER, 82V 27996 2 EA
11694 DIODE, ZENER, 82V 27996 3 EA
11695 INSERT, HELICAL, .190-32, 1.5, TANGLESS, CRES 28015 2 EA
11696 INSERT, HELICAL, .190-32, 1.5, TANGLESS, CRES 28015 7 EA
11697 INSERT, HELICAL, .250-28, 1.5, TANGLESS, CRES 28029 2 EA
11698 INSERT, HELICAL, .250-28, 1.5, TANGLESS, CRES 28029 1 EA
11699 INSERT, HELICAL, .250-28, 1.5, TANGLESS, CRES 28029 3 EA
11700 INSERT, HELICAL, .250-28, 1.5, TANGLESS, CRES 28029 4 EA
11701 RES, FXD, FILM, CHIP, 221K OHM, 1%, 1/4W(RM1206) 28484 1 EA
11702 RES, FXD, FILM, CHIP, 221K OHM, 1%, 1/4W(RM1206) 28484 2 EA
11703 RES, FXD, FILM, CHIP, 221K OHM, 1%, 1/4W(RM1206) 28484 5 EA
11704 PIN, DOWEL, .0625, .375, CRES 28668 22 EA
11705 BEARING, THRUST, NEEDLE, ROLLER, 0.25ID, 0.6870D 29366 4 EA
11706 WASHER, THRUST, NEEDLE, ROLLER, 0.25ID, 0.6870D 29368 8 EA
11707 RING, RETAINING, SPIRAL, 0.75 DIA. HOUSING 29379 4 EA
11708 RING, RETAINING, SPIRAL, 0.75 DIA. HOUSING 29379 17 EA
11709 SCREW, SCH, .375-16, 1.00, BLACK-OXIDE ALLOY STEEL 29581 23 EA
11710 NUT, HEX, 0.375-24 29591 48 EA
11711 INSERT, HELICAL, 3/8-16, 1.5 D, CRES 30784 4 EA
11712 SCREW, SHCS, 3/8-16, 1.500, BLACK OXIDE 30785 7 EA
11713 E CLIP, .0.0938 SHAFT 32765 46 EA
11714 RESET TOOL, SCISSORS TYPE 34672 1 EA
11715 WASHER, FLAT, 0.195, 0.288, 0.015, DELRIN 36108 4 EA
11716 SPRING, COMP, .7200D, .063WD, 3.0FL, MUSIC WIRE 36118 1 EA
11717 RING, RETAINING, EXTERNAL, SPIRAL, 1.000, CRES 36369 3 EA
11718 RING, RETAINING, EXTERNAL, SPIRAL, .500, CRES 36377 9 EA
11719 SHCS, 10-32, 0.750, BLACK OXIDE 36581 94 EA
11720 CABLE, 2 CONDUCTOR, 22 AWG, NO SHIELD, 1 JACKET 36742 40 FT
11721 NUT, HEX, 1/4-28, 7/32H, CRES 36765 2 EA
11722 NUT, HEX, 1/4-28, 7/32H, CRES 36765 10 EA
11723 INSERT, HELICAL, 4-40, 1.5D, TANGLESS 38156 2 EA
11724 INSERT, HELICAL, .375-16, 1.0, CRES 38652 6 EA
11725 SCREW, SHCS, 8-32, 1.00, CRES 39453 12 EA
11726 NUT, 10-32, CRES 39761 6 EA
11727 INSERT, HELICAL, 1/4-28, 1.5D 39766 6 EA
11728 INSERT, HELICAL, 1/4-28, 1.5D 39766 2 EA
11729 INSERT, HELICAL, 1/4-28, 1.5D 39766 18 EA
11730 INSERT, HELICAL, 1/4-28, 1.5D 39766 20 EA
11731 INSERT, HELICAL, 10-32, 1.5D, NITRONIC 60 39767 10 EA
11732 DIODE SILICON SCHOTTKY, JANSIN6677UR-1 40144 16 EA
11733 SCREW, SHCS, .190-32, 1.125, CRES 40275 4 EA
11734 SCREW, SET .190-32 X .375, NYLON TIPPED 40455 18 EA
11735 PIN, PWB, 0.043/.024, SWAGE, 10 MICRO GOLD 40542 50 EA
11736 PIN, PWB, 0.043/.024, SWAGE, 10 MICRO GOLD 40542 50 EA
11737 PIN, PWB, 0.043/.024, SWAGE, 10 MICRO GOLD 40542 100 EA
11738 INSERT, HELICAL, 3/8-24, 2.0, CRES 40925 19 EA
11739 NUT, SELF-LOCKING, #10-32, RED HEX, CRES 52057 25 EA
11740 SCREW, FFILH, 4-40, 0.188, A286 55686 1 EA
11741 CAP, TANT, SOLID, CHIP, 4.7UF, 35V, 10% (CWR09-CB) 60839 1 EA
11742 CABLE, TRIAXIAL 72346 42 FT
11743 CONTACT, MALE, 22AWG, CRIMP (P229) 73375 67 EA
11744 SCREW, SHCS, 3/8-24, 1.25, BLACK-OXIDE ALLOY STEEL 80254 25 EA
11745 PIN, DOWEL, 0.0938, 0.375, CRES 80538 6 EA
11746 MOUNT, CABLE TIE, METAL, #10 SCREW (M5) 80674 94 EA
11747 GASKET, SHIELDING, ELECT, D-SUB, SIZE 5, FPM 80709 10 EA
11748 GASKET, SHIELDING, ELECT, D-SUB, SIZE 5, FPM 80709 90 EA
11749 CABLE, RJ-50, SHIELDED, 2M 80761 1 EA
11750 SCREW, SHCS, 3/8-24, 1.50, BLACK-OXIDE ALLOY STEEL 80861 s EA
11751 SCREW, SHCS, 3/8-24, 1.50, BLACK-OXIDE ALLOY STEEL 80861 9 EA
11752 SCREW, SHCS, 1/4-28, 1-1/4 BLACK-OXIDE ALLOY STEEL 80862 42 EA
11753 EXPANDABLE BRAID, HALAR 0.75 OD, WHITE 81184 72 FT
11754 JACK SCREW, HEX HEAD, 4-40 THREAD, 0.4 IN 81239 38 EA
11755 STANDOFF, HEX, 4-40, 0.232 IN. 81241 38 EA
11756 CONTACT, PIN, SIZE 22D, D38999 81544 4 EA
11757 SCREW, SHCS, 8-32, 0.625, CRES 81731 2 EA
11758 SHCS, 10-32, 0.625, BLACK OXIDE 82006 98 EA
11759 CONTACT,SOCKET,HIGH DENSITY,SERIES90,22-28 AWG 82201 5 EA
11760 CONTACT,SOCKET,HIGH DENSITY,SERIES90,22-28 AWG 82201 3 EA
11761 SCREW, SHCS, 5/16-18, .750, CRES316 82324 10 EA
11762 WIRE, 26 AWG, GREEN 10582-265 81 FT
11763 WIRE, 26 AWG, BLUE 10582-266 81 FT
11764 FILTER, DISC, 0.750 DIA, 0.063, 2 MICRONS 19933-20 4 EA
11765 FILTER, DISC, 0.750 DIA, 0.063, 2 MICRONS 19933-20 7 EA
11766 SHIM, 0.125ID X 0.2500D X 0.001 41097-1 9 EA
11767 SHIM, 0.125ID X 0.2500D X 0.010 41097-10 2 EA
11768 SHIM, 0.125ID X 0.2500D X 0.010 41097-10 10 EA
11769 SHIM, 0.125ID X 0.2500D X 0.002 41097-2 12 EA
11770 SHIM, 0.125ID X 0.2500D X 0.005 41097-5 10 EA
11771 HEATING ELEMENT STANDARD--SN 0086 EP-0013 1 EA
11772 BACK SEAL EP-0025 1 EA
11773 BACK SEAL EP-0025 4 EA
11774 FRONT SEAL EP-0026 1 EA
11775 FRONT SEAL EP-0026 4 EA
11776 END CAP EP-0029 1 EA

150f 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
11777 END CAP EP-0029 1 EA
11778 PIN, SPRING, 0.125, 0.500, CRES, PASSIVATED $5G104834 5 EA
11779 WIRE, 24 AWG, WHITE $5G165104 456 IN
11780 FPGA, RAD-TOL, 72K GATE, 208-PIN, FLAT PACK, UMC $5G165903 1 EA
11781 WIRE, SOLID, 26 AWG, PTFE, WHITE SSG165946 93 FT
11782 WIRE, 24 AWG, TWISTED SHIELDED PAIR $5G171353 15 FT
11783 LINEAR REGULATOR $5G171914 1 EA
11784 RES THICK FILM 0705 3.32K OHM $5G171927 7 EA
11785 BEARING, DUPLEX, DB, 9.000 ID, 10.000 OD, 1.000 W SN AE071051/AE071050 $5G182422 1 EA
11786 WASHER, FLAT, .174, .375, .031, CRES $5G182936 79 EA
11787 SCREW, BHCS, 5/16-18, .375, CRES $5G182958 6 EA
11788 Cl - GEARMOTOR, HYBRID, 1.8 DEG STEPPER SN003 $5G183085 1 EA
11789 PWB, CONTROL, ECU, FLIGHT $5G190042 3 EA
11790 PWB, POWER, ECU, FLIGHT SN 1-13 $5G190046 1 EA
11791 PWB, POWER, ECU, FLIGHT SN 1-14 $5G190046 1 EA
11792 PWB, POWER, ECU, FLIGHT SN 1-15 $5G190046 1 EA
11793 PWB, POWER, ECU, FLIGHT SN 1-3 $5G190046 1 EA
11794 PWB, POWER, ECU, FLIGHT SN 1-8 $5G190046 1 EA
11795 PWB, POWER, ECU, FLIGHT SN 1-9 $5G190046 1 EA
11796 PWB, POWER, ECU, FLIGHT SN 004 $5G190046 1 EA
11797 PWB, POWER, ECU, FLIGHT SN 005 $5G190046 1 EA
11798 PWB, POWER, ECU, FLIGHT SN 006 $5G190046 1 EA
11799 PWB, POWER, ECU, FLIGHT SN 009 $5G190046 1 EA
11800 PWB, POWER, ECU, FLIGHT SN 011 $5G190046 1 EA
11801 PWB, POWER, ECU, FLIGHT SN 012 $5G190046 1 EA
11802 RES, FXD, FILM, CHIP, 681, 1% (RM0705-R) $5G190086 6 EA
11803 MICROCIRCUIT, HYBRID, LINEAR, SINGLE CHANNEL, HIGH GAIN, OPt $5G190091 1 EA
11804 MICROCIRCUIT, HYBRID, VOLTAGE REGULATOR LOW DROPOUT, POSITI $5G190094 5 EA
11805 MICROCIRCUIT, DIGITAL, ADVANCED CMOS, RADIATION HARDENED, HE $5G190095 1 EA
11806 RES, 0.05 OHM, 2%, 600 PPM $5G190105 1 EA
11807 RES, FXD, FILM, CHIP, 14.3K, 1% (RM0705-S) $5G190107 1 EA
11808 RES, FXD, FILM, CHIP, 499K, 1% (RM0705-5) $5G190109 1 EA
11809 RES, FXD, FILM, CHIP, 20.0, 1% (RM1206-S), $5G190111 100 EA
11810 RESOLVER, PANCAKE, 1-32 SPEED SN 101 $5G190174 2 EA
11811 RESOLVER, PANCAKE, 1-32 SPEED SN 103 $5G190174 2 EA
11812 RESOLVER, PANCAKE, 1-32 SPEED SN 105 $5G190174 2 EA
11813 RESOLVER, PANCAKE, 1-32 SPEED SN 106 $5G190174 2 EA
11814 POWER SPRING, 7.40D, .094X.375, 100 LBF-IN SN 001 $5G190309 1 EA
11815 POWER SPRING, 7.40D, .094X.375, 100 LBF-IN_SN 002 $5G190309 1 EA
11816 POWER SPRING, 7.40D, .094X.375, 100 LBF-IN SN 004 $5G190309 1 EA
11817 POWER SPRING, 7.40D, .094X.375, 100 LBF-IN SN 006 $5G190309 1 EA
11818 POWER SPRING, 7.40D, .094X.375, 100 LBF-IN SN 007 $5G190309 1 EA
11819 POWER SPRING, 7.40D, .094X.375, 100 LBF-IN_SN 008 $5G190309 1 EA
11820 TLA, 2 PHASE, ELECTRONICS CONTROL UNIT (ECU), DEV SN 001 $5G190350 1 EA
11821 MICROCIRCUIT, HF HALF BRIDGE DRIVER $5G190371 1 EA
11822 MICROCIRCUIT, HF HALF BRIDGE DRIVER $5G190371 3 EA
11823 MICROCIRCUIT, HF HALF BRIDGE DRIVER $5G190371 2 EA
11824 FLEX CABLE, TWINAX, 26AWG $5G190389 2 EA
11825 FLEX CABLE, TWINAX, 26AWG $5G190389 2 EA
11826 FLEX CABLE, TWINAX, 26AWG $5G190389 2 EA
11827 FLEX CABLE, TWINAX, 26AWG $5G190389 1 EA
11828 FLEX CABLE, TWINAX, 26AWG $5G190389 1 EA
11829 FLEX CABLE, TWINAX, 26AWG $5G190389 4 EA
11830 DIODE, BIPOLAR, TRANSIENT V SUPPRESSOR, 500W $5G190496 3 EA
11831 PWB, MOTOR DRIVER, ECU, FLIGHT $5G190509 1 EA
11832 PWB, MOTOR DRIVER, ECU, FLIGHT $5G190509 6 EA
11833 PWB, MOTOR DRIVER, ECU, FLIGHT $5G190509 12 EA
11834 BEAM, TOP - UPPER LATCH $5G190598 1 EA
11835 BEAM, BOTTOM - UPPER LATCH $5G190599 1 EA
11836 CONE - UPPER LATCH SSG190606 1 EA
11837 GUIDE, SHAFT - UPPER LATCH $5G190607 1 EA
11838 SHAFT - UPPER LATCH SSG190608 1 EA
11839 SHAFT - UPPER LATCH $5G190608 1 EA
11840 CAP, SPRING - UPPER LATCH $5G190609 1 EA
11841 HOUSING - LOWER LATCH $5G190610 1 EA
11842 CUP, LOWER LATCH $5G190611 1 EA
11843 SLIDER - LOWER LATCH $5G190612 1 EA
11844 SLIDER - LOWER LATCH $5G190612 1 EA
11845 SLIDER - LOWER LATCH $5G190612 1 EA
11846 CAM - LOWER LATCH $SG190613 3 EA
11847 CAM - LOWER LATCH $5G190613 3 EA
11848 WASHER, PRELOAD, TOP - UPPER LATCH $SG190754 5 EA
11849 TLA, 2 PHASE, ELECTRONICS CONTOL UNIT (ECU), EDU SN 001 $5G190776 1 EA
11850 SCREW, SHCS, 8-32, 0.500, CRES $5G191293 10 EA
11851 MICROCIRCUIT, HYBRID, LINEAR, 4-CHANNEL, OPTICALLY COUPLED $5G192582 1 EA
11852 TRANSISTOR, NPN, 1A, 80V, TO-5, $5G192609 9 EA
11853 PLATE, LOWER, AL SN 0001 $5G193029 1 EA
11854 PLATE, LOWER, AL SN 0002 $5G193029 1 EA
11855 TWIST CAP HOUSING, INNER, SN 0002 $5G193034 1 EA
11856 BEARING HOUSING SN 0003 $5G193069 1 EA
11857 HARD STOP, RBI $5G193071 3 EA
11858 CLAMP, BEARING, INNER $5G193073 1 EA
11859 CLAMP, BEARING, OUTER $5G193074 1 EA
11860 OUTPUT FLANGE.SLDPRT SN 003 $5G193075 1 EA
11861 CABLE CLAMP, OUTER, TOP, ID.SLDPRT $5G193081 2 EA
11862 CABLE CLAMP, OUTER, TOP, ID.SLDPRT $5G193081 2 EA
11863 CABLE CLAMP, OUTER, BOTTOM, ID.SLDPRT $5G193082 2 EA
11864 CABLE CLAMP, OUTER, BOTTOM, ID.SLDPRT $5G193082 2 EA
11865 CABLE CLAMP, OUTER, TOP, OD.SLDPRT $5G193084 2 EA
11866 CABLE CLAMP, OUTER, TOP, OD.SLDPRT $5G193084 2 EA
11867 CABLE CLAMP, INNER, TOP, ID $5G193088 2 EA
11868 CABLE CLAMP, INNER, TOP, ID $5G193088 2 EA
11869 BRACKET, CONNECTOR $5G193089 1 EA
11870 BRACKET, CONNECTOR $5G193089 1 EA
11871 CABLE CLAMP, INNER, BOTTOM, OD.SLDPRT $5G193091 2 EA
11872 CABLE CLAMP, INNER, BOTTOM, OD.SLDPRT $5G193091 2 EA
11873 CABLE CLAMP, OUTER, BOTTOM, OD.SLDPRT $5G193092 2 EA
11874 CABLE CLAMP, OUTER, BOTTOM, OD.SLDPRT $5G193092 2 EA
11875 CABLE CLAMP, INNER, TOP, OD $5G193094 2 EA
11876 CABLE CLAMP, INNER, TOP, OD $5G193094 2 EA
11877 CABLE CLAMP, INNER, BOTTOM, ID.SLDPRT $5G193095 2 EA
11878 CABLE CLAMP, INNER, BOTTOM, ID.SLDPRT $5G193095 2 EA
11879 CABLE GUIDE, OUTER $5G193100 2 EA
11880 CABLE GUIDE, OUTER $5G193100 2 EA
11881 DIODE, ZENER, 68V, LEADED, JANTX1N4485 $5G193342 2 EA
11882 FLEX CIRCUIT, CHASSIS GROUND SN 0002 $5G193378 1 EA
11883 FLEX CIRCUIT, CHASSIS GROUND SN 0003 $5G193378 1 EA
11884 FLEX CIRCUIT, CHASSIS GROUND SN 0004 $5G193378 1 EA
11885 FLEX CIRCUIT, CHASSIS GROUND SN 0001 $5G193378 1 EA
11886 FLEX CIRCUIT, CHASSIS GROUND SN 0005 $5G193378 1 EA
11887 FLEX CIRCUIT, CHASSIS GROUND SN 0006 $5G193378 1 EA
11888 FLEX CIRCUIT, CHASSIS GROUND SN 0008 $5G193378 1 EA
11889 FLEX CIRCUIT, CHASSIS GROUND SN 0009 $5G193378 1 EA
11890 FLEX CIRCUIT, POWER RETURN SN 0003 $5G193380 1 EA
11891 FLEX CIRCUIT, POWER RETURN SN 0001 $5G193380 1 EA
11892 FLEX CIRCUIT, POWER RETURN SN 0002 $5G193380 1 EA
11893 FLEX CIRCUIT, POWER RETURN SN 0004 $5G193380 1 EA
11894 FLEX CIRCUIT, POWER RETURN SN 0005 $5G193380 1 EA

16 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
11895 FLEX CIRCUIT, POWER RETURN SN 0009 $5G193380 1 EA
11896 FLEX CIRCUIT, POWER RETURN SN 0012 $5G193380 1 EA
11897 FLEX CIRCUIT, POWER RETURN SN 0013 $5G193380 1 EA
11898 FLEX CIRCUIT, POWER SN 0001 $5G193381 1 EA
11899 FLEX CIRCUIT, POWER SN 0003 $5G193381 1 EA
11900 FLEX CIRCUIT, POWER SN 0004 $5G193381 1 EA
11901 FLEX CIRCUIT, POWER SN 0002 $5G193381 1 EA
11902 FLEX CIRCUIT, POWER SN 0005 $5G193381 1 EA
11903 FLEX CIRCUIT, POWER SN 0008 $5G193381 1 EA
11904 FLEX CIRCUIT, POWER SN 0013 $5G193381 1 EA
11905 FLEX CIRCUIT, POWER SN 0017 $5G193381 1 EA
11906 FLEX CIRCUIT, SIGNAL SN 0001 $5G193382 1 EA
11907 FLEX CIRCUIT, SIGNAL SN 0005 $5G193382 1 EA
11908 FLEX CIRCUIT, SIGNAL SN 0007 $5G193382 1 EA
11909 FLEX CIRCUIT, SIGNAL SN 0004 $5G193382 1 EA
11910 FLEX CIRCUIT, SIGNAL SN 0006 $5G193382 1 EA
11911 FLEX CIRCUIT, SIGNAL SN 0017 $5G193382 1 EA
11912 FLEX CIRCUIT, SIGNAL SN 0018 $5G193382 1 EA
11913 FLEX CIRCUIT, SIGNAL SN 0019 $5G193382 1 EA
11914 HOUSING, RESOLVER, INNER $5G193493 2 EA
11915 SPRING GUIDE, INNER $5G193497 1 EA
11916 MICROCIRCUIT, OP-AMP, DUAL, 36 V, RAD HARD $5G193615 1 EA
11917 SPRING GUIDE, OUTER $5G193671 1 EA
11918 HOUSING, RESOLVER, OUTER $5G193672 1 EA
11919 RESOLVER OUTPUT CLAMP $5G193673 2 EA
11920 INNER RESOLVER CLAMP $5G193674 2 EA
11921 TRANSISTOR, MOSFET, N-CH, 150 V, 10A, $5G193769 7 EA
11922 COVER, CONNECTOR $5G193857 2 EA
11923 RAW STK, AL 7075-T7351, 6.00, 6.00, 4.50 $5G194516 1 EA
11924 RAW STK, AL 7075-T7351, 6.00, 6.00, 4.50 $5G194516 2 EA
11925 RAW STK, AL 7075-T7351, 6.00, 6.00, 4.50 $5G194516 1 EA
11926 RAW STK, ALBEMET, 4.90, 7.90, .40 $5G194519 2 EA
11927 RAW STK, AL 7075-T7351, 12.00, 12.00, 2.00 $5G194522 2 EA
11928 RAW STK, AL 7075-T7351, 17.00, 17.00, 6.00 $5G194523 2 EA
11929 RAW STK, ALBEMET, 7.80, 10.70, 1.50 $5G194527 1 EA
11930 RAW STK, ALBEMET, 5.600D, 3.90 $5G194530 2 EA
11931 RAW STK, ALBEMET, 4.90, 7.90, 1.80 $5G194532 1 EA
11932 RAW STK, ALBEMET, 16.400D, 6.30 $5G194536 1 EA
11933 RAW STK, ALBEMET, 11.400D, 1.60 $5G194538 1 EA
11934 RAW STK, ALBEMET, 9.900D, .50 $5G194541 1 EA
11935 RAW STK, ALBEMET, 7.80, 11.40, 1.50 $5G194542 1 EA
11936 RAW STK, ALBEMET, 4.90, 7.90, 1.50 $5G194551 1 EA
11937 SCREW, SHCS, 4-40, 0.250, A286, GSFC AND XRF SCREENED $5G195098 8 EA
11938 SCREW, FFILH, 2-56, 0.250, A286, GSFC AND XRF SCREENED $5G195099 41 EA
11939 WASHER, FLAT, .323, .625, .030, CRES, PASSIVATED $5G195146 16 EA
11940 SCREW, SHCS, 1/4-28, 0.750, BLACK OXIDE $5G195373 50 EA
11941 OUTER HOUSING ASSEMBLY,AL SN 002 LTU $5G195471 1 EA
11942 TWIST CAPSULE ASSEMBLY, EDU, RBI $5G195473 1 EA
11943 INSERT, HELICAL, M2 X 0.4, 2D, CRES $5G195498 4 EA
11944 TRANSISTOR, NPN, 1A, 80V, TO-5, 2N3019 $SG195765 2 EA
11945 TWIST CAP RING, OUTER, AL $5G196370 1 EA
11946 TWIST CAP RING, OUTER, AL $5G196370 1 EA
11947 TWIST CAP RING, OUTER, LOWER, AL $5G196371 1 EA
11948 TWIST CAP RING, OUTER, LOWER, AL $5G196371 1 EA
11949 TWIST CAP RING, INNER, UPPER, AL $5G196372 1 EA
11950 TWIST CAP RING, INNER, UPPER, AL $5G196372 1 EA
11951 TWIST CAP CLAMP, INNER, AL $5G196373 1 EA
11952 TWIST CAP CLAMP, INNER, AL $5G196373 1 EA
11953 TWIST CAP RING, INNER, AL $5G196374 1 EA
11954 TWIST CAP RING, INNER, AL $5G196374 1 EA
11955 COVER, AL $5G196384 1 EA
11956 FLEX CABLE LIFE TEST ASSEMBLY $SG196569 1 EA
11957 KEYED SHAFT, 12MM X 300MM $5G196672 1 EA
11958 KEYED SHAFT, 12MM X 300MM $5G196672 1 EA
11959 FINGER DISC SPRING, .516" ID, 1.004" OD, .006" THICK $5G196716 5 EA
11960 BRACKET, CABLE SUPPORT $5G196759 4 EA
11961 SCREW, SHCS, 8-32, 0.500, A286, GSFC, XRF $5G196870 5 EA
11962 SCREW, FFILH, 8-32, 0.375, A286, GSFC, XRF $5G196872 31 EA
11963 CABLE GUIDE, TWIST CAP, INNER $5G196912 2 EA
11964 WASHER, PIN RETENTION - UPPER LATCH $5G197071 1 EA
11965 TWIST CAP CLAMP, OUTER $5G197231 8 EA
11966 TWIST CAP CLAMP, OUTER $5G197231 3 EA
11967 RETAINER, SPRING $5G197332 1 EA
11968 WIRE BUSHING $5G197779 1 EA
11969 WIRE BUSHING $5G197779 2 EA
11970 SPRING SHIM, LOWER, INNER $5G197997 3 EA
11971 SPRING SHIM, LOWER, OUTER $5G197998 2 EA
11972 SPRING SHIM, UPPER $5G197999 1 EA
11973 SPRING SHIM, UPPER $5G197999 3 EA
11974 SHEAR PIN, COVER $5G198000 4 EA
11975 SHEAR PIN, BASE PLATE $5G198006 4 EA
11976 CLAMP, WIRE, LOWER $5G198020 4 EA
11977 CLAMP, WIRE, LOWER $5G198020 3 EA
11978 BRACKET, CONNECTOR OUTPUT $5G198030 1 EA
11979 BRACKET, CONNECTOR OUTPUT $5G198030 1 EA
11980 BRACKET, CONNECTOR OUTPUT $5G198030 1 EA
11981 BRACKET, CONNECTOR OUTPUT $5G198030 1 EA
11982 MICROCIRCUIT, HF HALF BRIDGE DRIVER $5G198040 2 EA
11983 OUTPUT SHAFT $5G198063 1 EA
11984 OUTPUT SHAFT $5G198063 1 EA
11985 OLDHAM DISK--SN 001 $5G198064 1 EA
11986 OLDHAM DISK--SN 002 $5G198064 1 EA
11987 OLDHAM DISK--SN 004 $5G198064 1 EA
11988 ADAPTER, OLDHAM--SN 001 $5G198065 1 EA
11989 ADAPTER, OLDHAM--SN 002 $5G198065 1 EA
11990 ADAPTER, OLDHAM--SN 005 $5G198065 1 EA
11991 ADAPTER, OLDHAM--SN 006 $5G198065 1 EA
11992 ADAPTER, OLDHAM--SN 007 $5G198065 1 EA
11993 ADAPTER, OLDHAM--SN 008 $5G198065 1 EA
11994 ASSY, OUTPUT FLANGE SUPPORT $5G198569 1 EA
11995 Bearing Simulator, Output Assembly S$SG198570 1 EA
11996 OUTER HOUSING MACHINING SUPPORT $5G198571 1 EA
11997 Bearing Installation Tool, $S5G182422 S$5G198572 1 EA
11998 INSERT, HELICAL, 2-56, 1.5 D, CRES, TANGLESS, GSFC, XRF $5G198930 7 EA
11999 INSERT, HELICAL, 8-32, 1.5 D, CRES, TANGLESS, GSFC, XRF $5G198931 40 EA
12000 SCREW, FLH, 4-40, 0.250, A286, GSFC AND XRF SCREENED $5G198954 7 EA
12001 LOAD PLATE $5G198980 9 EA
12002 LOAD PLATE $5G198980 5 EA
12003 LOAD PLATE $5G198980 3 EA
12004 SHIM, CONE $5G198982 3 EA
12005 SHIM, CONE $5G198982 3 EA
12006 SHIM, CONE $5G198982 1 EA
12007 CONNECTOR, HD, 78 CONTACT, RECEPTACLE, SOLDER POST, GSFC $5G199501 1 EA
12008 CONNECTOR, HD, 78 CONTACT, RECEPTACLE, SOLDER POST, GSFC $5G199501 2 EA
12009 FRICTION DISK, ADAPTER $5G199535 4 EA
12010 FRICTION DISK, ADAPTER $5G199535 19 EA
12011 SPRING, WAVE, CREST-TO-CREST, 0.450 SHAFT, 0.625 BORE $5G199586 1 EA
12012 SPRING, WAVE, CREST-TO-CREST, 0.450 SHAFT, 0.625 BORE $5G199586 8 EA

17 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
12013 TEMPERATURE TRANSDUCER ASSEMBLY SN 001 $5G199691 1 EA
12014 TEMPERATURE TRANSDUCER ASSEMBLY SN 002 $5G199691 1 EA
12015 TEMPERATURE TRANSDUCER ASSEMBLY SN 005 $5G199691 1 EA
12016 TEMPERATURE TRANSDUCER ASSEMBLY SN 006 $5G199691 1 EA
12017 BASE, TRANSDUCER $5G199925 2 EA
12018 BASE, TRANSDUCER $5G199925 4 EA
12019 BRACKET, CONNECTOR, CLOSEOUT $5G199953 2 EA
12020 IC, BUFFER, CMOS, SINGLE $5G200805 4 EA
12021 DOWEL PIN, OD 8MM X 22MM $5G202314 2 EA
12022 PLATE, CLOSEOUT $5G202315 1 EA
12023 PLATE, CLOSEOUT $5G202315 1 EA
12024 SLEEVE, RESOLVER PIN, INNER $5G202319 4 EA
12025 SLEEVE, RESOLVER PIN, OUTER $5G202324 2 EA
12026 COVER, CONNECTOR, CLOSEOUT $5G202364 2 EA
12027 SCREW, FFILH, 4-40, 0.250, A286, GSFC, XRF $5G202376 29 EA
12028 BELLEVILLE SPRING RATE CHARACTERIZATION FIXTURE $5G202553 1 EA
12029 RBI LATCH FUNCTIONAL FIXTURE ASSEMBLY $5G202556 1 EA
12030 RBI LATCH RESET GO GAGE $5G202557 3 EA
12031 RBI LATCH RESET GO GAGE $5G202557 1 EA
12032 RBI LATCH RESET NO GO GAGE $5G202558 3 EA
12033 RBI LATCH RESET NO GO GAGE $5G202558 1 EA
12034 EMI GASKET, 15 PIN HD-SUB $5G202566 2 EA
12035 EMI GASKET, 26 PIN HD-SUB $5G202567 3 EA
12036 EMI GASKET, 26 PIN HD-SUB $5G202567 3 EA
12037 INSERT, PIN BLOCK $5G202574 6 EA
12038 SCREEN, VENT, MODIFIED $5G202575 9 EA
12039 WASHER, FLAT, #4, 0.016, CRES, REDUCED OD XRF SCREENED $5G202621 4 EA
12040 WASHER, FLAT, #4, 0.016, CRES, REDUCED OD XRF SCREENED $5G202621 61 EA
12041 MODIFIED - SCREW, FFILH, 0-80, 0.312, A286 AND XRF SCREENED $5G202623 4 EA
12042 MODIFIED - SCREW, FFILH, 0-80, 0.312, A286 AND XRF SCREENED $5G202623 57 EA
12043 WASHER, FLAT, #2, 0.016, CRES, REDUCED OD XRF SCREENED $5G202626 12 EA
12044 ASSY, PIN PRESS FIXTURE $5G202883 1 EA
12045 RES, FXD, FILM, CHIP, 23.7K OHM, 1% (RM0705) $5G202968 21 EA
12046 RES, FXD, FILM, CHIP, 26.1K OHM, 1% (RM0705) $5G202972 23 EA
12047 CABLE GUIDE, TWIST CAP, INNER $5G203171 2 EA
12048 WASHER, FLAT, #6, 0.016, CRES, REDUCED OD XRF SCREENED $5G203206 14 EA
12049 SCREW, FFILH, 6-32, 0.375, A286, GSFC AND XRF SCREENED $5G203208 17 EA
12050 SCREW, FFILH, 4-40, 0.625, A286, GSFC AND XRF SCREENED $5G203717 13 EA
12051 PIN, STRAIGHT, HEADLESS, .1250, .375, CRES, XRF $5G203731 23 EA
12052 DIODE, 16 A, 150 PIV $5G204013 1 EA
12053 DIODE, 16 A, 150 PIV $5G204013 3 EA
12054 FLEX CIRCUIT, LOW POWER SN 0002 $5G204942 1 EA
12055 FLEX CIRCUIT, LOW POWER SN 0003 $5G204942 1 EA
12056 FLEX CIRCUIT, LOW POWER SN 0005 $5G204942 1 EA
12057 FLEX CIRCUIT, LOW POWER SN 0006 $5G204942 1 EA
12058 FLEX CIRCUIT, LOW POWER SN 0008 $5G204942 1 EA
12059 FLEX CIRCUIT, LOW POWER SN 0013 $5G204942 1 EA
12060 FLEX CIRCUIT, LOW POWER SN 0017 $5G204942 1 EA
12061 SWITCH, MICRO, SCREENED $5G204949 1 EA
12062 SHIM, OUTPUT SHAFT, .0010 THK, S5 $5G205061 5 EA
12063 SHIM, OUTPUT SHAFT, .0010 THK, S$ $5G205061 14 EA
12064 SHIM, OUTPUT SHAFT, .0010 THK, S5 $5G205061 1 EA
12065 SHIM, OUTPUT SHAFT, .0020 THK, S$ $5G205062 10 EA
12066 SHIM, OUTPUT SHAFT, .0020 THK, S5 $5G205062 26 EA
12067 SHIM, OUTPUT SHAFT, .005 THK, SS $5G205063 5 EA
12068 SHIM, OUTPUT SHAFT, .005 THK, SS $5G205063 14 EA
12069 SHIM, OUTPUT SHAFT, .005 THK, SS $5G205063 1 EA
12070 SHIM, OUTPUT SHAFT, .010 THK, SS $5G205064 5 EA
12071 SHIM, OUTPUT SHAFT, .010 THK, SS $5G205064 15 EA
12072 SHIM, OUTPUT SHAFT, .020 THK, SS $5G205065 10 EA
12073 SHIM, OUTPUT SHAFT, .020 THK, SS $5G205065 26 EA
12074 OUTER RESOLVER HOUSING ALINGMENT FIXTURE $5G205744 1 EA
12075 OUTER RESOLVER HOUSING ALINGMENT FIXTURE $5G205744 1 EA
12076 CONNECTOR, HD, 78 CONTACT, PLUG, RT ANGLE BOARD MNT $5G206081 2 EA
12077 PIN, DOWEL, .0625 DIA, .25L, 3165ST $5G206141 21 EA
12078 CONNECTOR, HD, 26 CONTACT, PLUG, CRIMP, GSFC $5G206195 2 EA
12079 CONNECTOR, HD, 44 CONTACT, RECEPTACLE, CRIMP, GSFC $5G206205 2 EA
12080 CONNECTOR, HD, 15 CONTACT, PLUG, CRIMP, GSFC $5G206206 3 EA
12081 BACKSHELL, SIZE 1, 90 DEGREE, EMI RFI $5G206208 2 EA
12082 BACKSHELL, SIZE 1, 90 DEGREE, EMI RFI $5G206208 1 EA
12083 BACKSHELL, SIZE 1, SPLIT, EMI RFI $5G206240 1 EA
12084 BACKSHELL, SIZE 1, SPLIT, EMI RFI $5G206240 1 EA
12085 SHIM, SPRING CUP, .0010 THK, SS $5G206471 2 EA
12086 SHIM, SPRING CUP, .0010 THK, SS $5G206471 4 EA
12087 SHIM, SPRING CUP, .0020 THK, SS $5G206472 2 EA
12088 SHIM, SPRING CUP, .0020 THK, SS $5G206472 4 EA
12089 SHIM, SPRING CUP, .005 THK, SS $5G206473 2 EA
12090 SHIM, SPRING CUP, .005 THK, SS $5G206473 3 EA
12091 SHIM, SPRING CUP, .010 THK, SS $5G206474 2 EA
12092 SHIM, SPRING CUP, .010 THK, SS $5G206474 3 EA
12093 SHIM, SPRING CUP, .020 THK, SS $5G206475 2 EA
12094 SHIM, SPRING CUP, .020 THK, SS $5G206475 2 EA
12095 RETAINER, FLEX CIRCUIT $5G206531 2 EA
12096 RETAINER, FLEX CIRCUIT $5G206531 2 EA
12097 RETAINER, FLEX CIRCUIT $5G206531 10 EA
12098 SHIM, LAUNCH LOCK, UPPER $5G206905 1 EA
12099 OUTPUT ASSEMBLY, EDU, RBI SN 001 $5G206940 1 EA
12100 BUSHING INSTALLATION TOOL $5G207007 1 EA
12101 SET SCREW, .112-40 X .125, BRASS TIPPED $5G207013 9 EA
12102 SHIM, RESOLVER, ACTUATOR .0010 THK, SS $5G207195 16 EA
12103 SHIM, RESOLVER, ACTUATOR .0020 THK, SS $5G207196 40 EA
12104 SHIM, RESOLVER, ACTUATOR .005 THK, SS $5G207197 16 EA
12105 SHIM, RESOLVER, ACTUATOR .010 THK, SS $5G207198 16 EA
12106 SHIM, RESOLVER, ACTUATOR .020 THK, SS $5G207199 16 EA
12107 PIN PRESS TOOL, RESOLVER HOUSING $5G207208 1 EA
12108 BELLEVILLE SPRING, 0.093 X 0.187 X 0.007, SST $5G207230 6 EA
12109 LATCH ALIGNMENT ASSEMBLY $5G207241 1 EA
12110 PIN PRESS TOOL, BEARING HOUSING $5G207296 1 EA
12111 INSERT, KEENSERT, HD, .250-20 INT, .4375-14 EXT, .375L $5G207438 11 EA
12113 SPRING GUIDE 2, OUTER $5G207452 1 EA
12114 POWER SPRING HANDLING FIXTURE $5G207720 2 EA
12115 THERMAL MOUNTING FOOT, ARM-ASSY OF SN 01 $5G210669 1 EA
12116 THERMAL MOUNTING FOOT, ARM-ASSY OF SN 02 $5G210670 1 EA
12117 THERMAL MOUNTING FOOT, ARM-ASSY OF SN 03 $5G210671 1 EA
12118 THERMAL MOUNTING FOOT, ARM-ASSY OF SN 04 $5G210672 1 EA
12119 SCREW, CAP, HEXAGON SOCKET HEAD, LUBRICATED $5G210673 19 EA
12120 SHIM, ARM-RBI $5G210674 1 EA
12121 SHIM, ARM-RBI $5G210675 1 EA
12122 SHIM, ARM-RBI $5G210676 1 EA
12123 SHIM, ARM-RBI $5G210677 1 EA
12124 SHIM, ARM-RBI $5G210678 1 EA
12125 MASS SIMULATOR, RBI ECU $5G211241 1 EA
12126 SPACER, BOARD TO BOARD CONNECTOR, .020 $5G211316 7 EA
12127 SPACER, BOARD TO BOARD CONNECTOR, .010 $5G211416 1 EA
12128 COMPRESSION SPRING, .250 LENGTH, .36 OD, .011 WIRE $5G212021 1 EA
12129 WASHER, FLAT, .525 OD, .317 ID, .030 THICK $5G212023 2 EA
12130 CLAMP, WIRE, UPPER $5G212037 8 EA
12131 BRACKET, WIRE, RESOLVER $5G212040 1 EA

18 of 63



As of 2/28/2019

RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
12132 BRACKET, CABLE TIE 5$5G212043 4 EA
12133 TWIST CAPSULE ROTISSERIE $5G212050 1 EA
12134 SCREW, FH, M5 X 16 MM 5$5G212057 46 EA
12135 SCREW, SHCS, .250-28 X .625, CRES 55G212066 1 EA
12136 INSERT, HELICAL, .500-20, 1.0D, CRES 5$5G212074 6 EA
12137 SCREW, SHCS, .500-20 X 1.00, CRES 5$5G212078 1 EA
12138 SCREW, SHCS, .250-28 X .750, CRES 5$5G212079 2 EA
12139 SCREW, SHCS, .250-28 X .750, CRES 5$5G212079 4 EA
12140 WASHER, FLAT, 1.620 OD X 1.318 ID, AL 5$5G212088 8 EA
12141 THREADED STUD, .250-28 X 12.0, 316SS S$SG212416 1 EA
12142 HEX NUT, .250-28, THIN, LOCKING, 18-8 SS 55G212419 38 EA
12143 SCREW, SHCS. 086-56 X .438, 316SS 5$SG213512 22 EA
12144 PWA, CONTROL, 2 PHASE, RBI ERA ECU, DEV SN 001 55G213563 1 EA
12145 CABLE, TEST HARNESS, ARM, HD44 TO HD26 5$5G213962 1 EA
12146 CABLE, TEST HARNESS, 1553B SIGNAL, ARM 5$5G214057 1 EA
12147 CONNECTOR SAVER, HD, 26 CONTACT 5$5G214410 2 EA
12148 CONNECTOR SAVER, HD, 26 CONTACT 5$5G214410 1 EA
12149 CONNECTOR SAVER, HD, 78 CONTACT $5G214411 8 EA
12150 CONNECTOR SAVER, HD, 78 CONTACT 5$5G214413 2 EA
12151 CONNECTOR SAVER, HD, 78 CONTACT $5G214413 1 EA
12152 INSERT, SPRING GUIDE S5G214523 9 EA
12153 INSERT, SPRING GUIDE 5$5G214523 2 EA
12154 TORQUE FIXTURE, THERMAL, RBI 55G214620 1 EA
12155 LAUNCH LOCK ASSEMBLY, EDU, RBI SN 001 5$5G214670 1 EA
12156 COUPLER, FLANGE MOUNTED, 1.000, KEYED 55G214701 2 EA
12157 RETAINER, NUT S$SG214762 1 EA
12158 RETAINER, NUT SSG214762 1 EA
12159 OSCILLATOR, CLOCK, 5V, 10MHZ, HI-REL, 100KRAD 55G214824 2 EA
12160 OSCILLATOR, CLOCK, 5V, 10MHZ, HI-REL, 100KRAD 55G214824 5 EA
12161 NUT, HEX,.190-32, A286 5$5G214855 15 EA
12162 LAUNCH LOCK FLEXURE CHARACTERIZATION FIXTURE 55G214874 1 EA
12163 SHAFT COLLAR, CLAMPING, 1.000, ALUMINUM $5G214910 1 EA
12164 OPTOCOUPLER, 4 CHANNEL, HIGH SPEED, SPACE GRADE, 16 PIN FP S$SG214959 7 EA
12165 OPTOCOUPLER, 2 CHANNEL, HIGH SPEED, SPACE GRADE, 8 PIN DIP S$5G214960 7 EA
12166 MICROCIRCUIT, OP-AMP, DUAL, 36 V, RAD HARD 55G214983 6 EA
12167 TORQUE TOOL DRIVE $5G215040 1 EA
12168 TORQUE TOOL HUB S$5G215043 1 EA
12169 SCREW, SHCS, 6-32, 0.375, A286, GSFC, XRF 5$5G216215 184 EA
12170 SCREW, SHCS, 6-32, 0.500, A286, GSFC, XRF 55G216218 20 EA
12171 SHAFT, ADAPTER, TORQUE CELL 5$5G216219 1 EA
12172 SCREW, FLH, 2-56, 0.250, A286, GSFC, XRF 55G216220 9 EA
12173 SCREW, SHCS, 2-56, 0.312, A286, GSFC, XRF 5$5G216221 2 EA
12174 SCREW, SHCS, 2-56, 0.500, CRES, GSFC, XRF 55G216222 2 EA
12175 SCREW, FFILH, 4-40, 0.313, A286, GSFC, XRF S$5G216223 9 EA
12176 SCREW, FLH, 4-40, 0.313, A286, GSFC, XRF 55G216224 7 EA
12177 SCREW, SHCS, 4-40, 0.438, A286, GSFC, XRF 5$5G216225 1 EA
12178 INSERT, HELICAL, 2-56, 1.0 D, CRES,TANGLESS, GSFC, XRF S$5G216247 16 EA
12179 INSERT, HELICAL, 4-40, 1.0 D, CRES TANGLESS, GSFC, XRF 55G216248 4 EA
12180 INSERT, HELICAL, 4-40, 1.0 D, CRES TANGLESS, GSFC, XRF 55G216248 1 EA
12181 INSERT, HELICAL, 4-40, 1.5 D, CRES, TANGLESS, GSFC, XRF 5$5G216255 25 EA
12182 INSERT, HELICAL, 4-40, 1.5 D, CRES, TANGLESS, GSFC, XRF 55G216255 3 EA
12183 INSERT,HELICAL,10-32, 2.0 D,CRES, TANGLESS, GSFC, XRF 55G216256 6 EA
12184 INSERT, KEENSERT, HD, .250-20, .4375-14, .375L, GSFC, XRF $5G216257 5 EA
12185 INSERT, KEENSERT, HD, .250-20, .4375-14, .375L, GSFC, XRF S$5G216257 2 EA
12186 PIN, DOWEL, 0.0938, 0.375, CRES, GSFC, XRF 55G216259 1 EA
12187 COUPLER, SERVO, DOUBLE DISC, 1.000, 35MM, KEYED 5$5G216300 1 EA
12188 INSERT, HELICAL, M3, 0.5, 1.5 D, CRES, GSFC, XRF 55G216317 19 EA
12189 SCREW, FLH, 2-56, 0.188, A286, GSFC, XRF 5$SG216780 8 EA
12190 SCREW, SHCS, 8-32, 0.625, A286, GSFC, XRF 55G216782 3 EA
12191 SPRING, COMPRESSION, 0.600, 0.045, 2.00, MUSIC WIRE S$5G216927 5 EA
12192 INSERT, OUTER SPRING GUIDE S$5G217031 1 EA
12193 PIN INSTALLER, LAUNCH LOCK TOP BEAM S$SG217703 1 EA
12194 CAP, CERAMIC, CHIP, 68PF, 100V, 10%, CDR31-S, XRF SCREENED SSG217769 4 EA
12195 DIODE, ZENER, 12V, 500MW, JANTXV, XRF SCREENED S$SG217770 62 EA
12196 RES, FXD, FILM, CHIP, 4.99K, 1%, RM0705-R, XRF SCREENED SSG217771 28 EA
12197 RES, FXD, FILM, CHIP, 10.0K, 1%, RM0705-R, XRF SCREENED SSG217772 25 EA
12198 RES, FXD, FILM, CHIP, 100K, 1%, RM0705-R, XRF SCREENED SSG217774 25 EA
12199 RES, FXD, FILM, CHIP, 20.0, 1%, RM1206-R, XRF SCREENED SSG217775 71 EA
12200 RES, FXD, FILM, CHIP, 100 OHM, 1%, XRF SCREENED SSG217776 36 EA
12201 RES, FXD, FILM, CHIP, 1.0K, 1%, RM0705-R, XRF SCREENED SSG217777 25 EA
12202 DIODE, RECTIFIER, ULTRA FAST, 2.5A, JANTXV, XRF SCREENED SSG217778 33 EA
12203 DIODE, RECTIFIER, ULTRA FAST, 6A, JANTXV, XRF SCREENED SSG217779 26 EA
12204 BEAD,SHEILDING,CHIP,HI-REL,200MA,0603, XRF SCREENED $5G217780 5 EA
12205 DIODE, SCHOTTKY, SILICON, 1.0A, JANTXV, XRF SCREENED S$5G217781 2 EA
12206 MICROCIRCUIT, FPGA, 72K GATES, CMOS, 208 PINS, XRF SCREENED SN 1351 S$5G217782 1 EA
12207 MICROCIRCUIT, FPGA, 72K GATES, CMOS, 208 PINS, XRF SCREENED SN 1381 S$5G217782 1 EA
12208 MICROCIRCUIT, FPGA, 72K GATES, CMOS, 208 PINS, XRF SCREENED SN 1406 S$5G217782 1 EA
12209 TRANSISTOR, MOSFET, N-CH, 130V, 10A, JANSR, XRF SCREENED SSG217783 11 EA
12210 CAP, CERAMIC, CHIP, 1000PF, 100V, 10%, CDR31-S, XRF SCREENED S$5G217801 6 EA
12211 CAP, CERAMIC, CHIP, 0.015UF, 100V, 10%,CDR32-S, XRF SCREENED $5G217802 20 EA
12212 CAP, CERAMIC, CHIP, 0.015UF, 100V, 10%,CDR32-S, XRF SCREENED $5G217802 4 EA
12213 CAP, CERAMIC, CHIP, 0.047UF, 100V, 10%,CDR34-S, XRF SCREENED S$5G217803 1 EA
12214 CAP, CERAMIC, CHIP, 0.047UF, 100V, 10%,CDR34-S, XRF SCREENED $5G217803 30 EA
12215 CAP, CERAMIC, CHIP, 1000PF, 100V, 1%, CDR32-S, XRF SCREENED S$5G217804 1 EA
12216 CAP, CERAMIC, CHIP, 0.1UF, 100V, 10%, CDR35-S, XRF SCREENED 55G217805 24 EA
12217 CAP, CERAMIC, CHIP, 0.15UF, 100V, 10%, CDR35-S, XRF SCREENED 5$SG217807 858 EA
12218 CONNECTOR, 3 ROW, BOARD TO BOARD, 59 CONT, RECP,XRF SCREENED 5$5G217809 2 EA
12219 MICROCIRCUIT, HF HALF BRIDGE DRIVER, XRF SCREENED S$5G217812 1 EA
12220 RES, FXD, FILM, CHIP, 499 OHM, 1%, 40V, XRF SCREENED $5G217813 1 EA
12221 DIODE, SWITCHING, 300MA, D-5D, XRF SCREENED 5$5G217814 16 EA
12222 TRANSISTOR, PNP, SIGNAL, 60V, 600MA, XRF SCREENED S$5G217815 45 EA
12223 CAP, CERAMIC, CHIP, 100PF, 100V, 1%, CDR31-S, XRF SCREENED S$5G217816 1 EA
12224 RES, FXD, FILM, CHIP, 10.0, 1%, RM0705-S, XRF SCREENED S$5G217817 57 EA
12225 RES, FXD, FILM, CHIP, 499, 1%, RM0705-S, XRF SCREENED 5$5G217818 3 EA
12226 RES, FXD, FILM, CHIP, 10.0K, 1%, RM0705-S, XRF SCREENED $5G217819 19 EA
12227 RES, FXD, FILM, CHIP, 100K, 1%, RM0705-S, XRF SCREENED 5$5G217820 92 EA
12228 RES, FXD, FILM, CHIP, 12.1K, 1%, RM0705-S, XRF SCREENED $5G217822 4 EA
12229 RES, FXD, FILM, CHIP, 150K, 1%, RM0705-S, XRF SCREENED 5$5G217823 1 EA
12230 RES, FXD, FILM, CHIP, 4.99K, 1%, RM0705-S, XRF SCREENED S$5G217825 5 EA
12231 RES, FXD, FILM, CHIP, 5.62, 1%, RM1206-S, XRF SCREENED S$5G217826 1 EA
12232 CAP, TANT, SOLID, CHIP, 10UF, 25V, 10%,CWR09-CB,XRF SCREENED 55G217828 10 EA
12233 CAP, TANT, SOLID, CHIP, 22UF, 15V, 10%,CWR09-CB,XRF SCREENED 5$5G217829 7 EA
12234 CAP, TANT, SOLID, CHIP, 3.3UF, 35V,10%,CWR09-CB,XRF SCREENED 5$5G217830 12 EA
12235 CAP, CERAMIC, CHIP, 1500PF, 100V, 10%, CDR31-S, XRF SCREENED S$5G217831 93 EA
12236 BEAD, SUPPRESSION, SCREENED, XRF SCREENED 55G217832 86 EA
12237 CAP, CER, 10 PF, 100V, 10%, 0805, CDR31, XRF SCREENED 5$SG217833 192 EA
12238 RES, FXD, FILM, CHIP, 243, 1%, RM0705-R, XRF SCREENED 55G217834 25 EA
12239 RES, FXD, FILM, CHIP, 274 OHM, 1%, RM2010, XRF SCREENED S$5G217835 1 EA
12240 RES, H2010CKX0R2J60, 0.2 OHM, 5%, BAE 072, XRF SCREENED S55G217836 1 EA
12241 RES, H2010CKX0R2J60, 0.2 OHM, 5%, BAE 072, XRF SCREENED S$5G217836 5 EA
12242 TRANSISTOR, SI, NPN,RADHARD,50V,800MA, XRF SCREENED $5G217839 7 EA
12243 DIODE, SILICON, SCHOTTKY, JANS, XRF SCREENED 5$5G217840 13 EA
12244 DIODE, SILICON, SCHOTTKY, JANS, XRF SCREENED 5$5G217840 15 EA
12245 CAP, TANT, SOLID, CHIP, 4.7UF, 35V,10%,CWR09-CB,XRF SCREENED 55G217841 3 EA
12246 DUAL POWER INDUCTOR, COMMON CORE,22,SCREENED,XRF SCREENED SN 003 S$5G217844 1 EA
12247 DUAL POWER INDUCTOR, COMMON CORE,22,SCREENED,XRF SCREENED SN 004 S$5G217844 1 EA
12248 DUAL POWER INDUCTOR, COMMON CORE,22,SCREENED,XRF SCREENED SN 008 S$5G217844 1 EA
12249 DUAL POWER INDUCTOR, COMMON CORE,22,SCREENED,XRF SCREENED SN 009 S$5G217844 1 EA

19 of 63



As of 2/28/2019

RBI Government Furnished Equipment (GFE) List

Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
12250 DUAL POWER INDUCTOR, COMMON CORE,22,SCREENED,XRF SCREENED SN 010 S$5G217844 1 EA
12251 DUAL POWER INDUCTOR, COMMON CORE,22,SCREENED,XRF SCREENED SNO11 S$5G217844 1 EA
12252 DUAL POWER INDUCTOR, COMMON CORE,22,SCREENED,XRF SCREENED SN 012 S$5G217844 1 EA
12253 CHOKE, DIFFERENTIAL, 360, SCREENED, XRF SCREENED SN 008 S$5G217845 1 EA
12254 CHOKE, DIFFERENTIAL, 360, SCREENED, XRF SCREENED SN 009 S5G217845 1 EA
12255 CHOKE, DIFFERENTIAL, 360, SCREENED, XRF SCREENED SN 010 S$5G217845 1 EA
12256 CHOKE, DIFFERENTIAL, 360, SCREENED, XRF SCREENED SN 011 S5G217845 1 EA
12257 CHOKE, DIFFERENTIAL, 360, SCREENED, XRF SCREENED SN 012 S$5G217845 1 EA
12258 CHOKE, COMMON MODE, 2000, SCREENED, XRF SCREENED SN 003 S$5G217846 1 EA
12259 CHOKE, COMMON MODE, 2000, SCREENED, XRF SCREENED SN 004 S5G217846 1 EA
12260 CHOKE, COMMON MODE, 2000, SCREENED, XRF SCREENED SN 005 S$5G217846 1 EA
12261 CHOKE, COMMON MODE, 2000, SCREENED, XRF SCREENED SN 006 S$5G217846 1 EA
12262 CHOKE, COMMON MODE, 2000, SCREENED, XRF SCREENED SN 009 S$5G217846 1 EA
12263 CHOKE, COMMON MODE, 2000, SCREENED, XRF SCREENED SN 010 S5G217846 1 EA
12264 CHOKE, COMMON MODE, 2000, SCREENED, XRF SCREENED SN 012 S$5G217846 1 EA
12265 TRANSFORMER, FLYBACK, TRIPLE OUTPUT, SCREENED, XRF SCREENED SN 005 S5G217847 1 EA
12266 TRANSFORMER, FLYBACK, TRIPLE OUTPUT, SCREENED, XRF SCREENED SN 007 SSG217847 1 EA
12267 TRANSFORMER, FLYBACK, TRIPLE OUTPUT, SCREENED, XRF SCREENED SN 008 S5G217847 1 EA
12268 TRANSFORMER, FLYBACK, TRIPLE OUTPUT, SCREENED, XRF SCREENED SN 010 SSG217847 1 EA
12269 TRANSFORMER, FLYBACK, TRIPLE OUTPUT, SCREENED, XRF SCREENED SN 011 S5G217847 1 EA
12270 TRANSFORMER, FLYBACK, TRIPLE OUTPUT, SCREENED, XRF SCREENED SN 016 SSG217847 1 EA
12271 RES, THICK FILM, 0705, 3.32K OHM, XRF SCREENED 55G217848 51 EA
12272 LINEAR REGULATOR, VRG8662 , XRF SCREENED 5$5G217850 1 EA
12273 RES, FXD, FILM, CHIP, 681, 1%, RM0705-R, XRF SCREENED 5$5G217851 37 EA
12274 MICROCIRCUIT, LINEAR, CMOS, MICROPROC SUPERVSR, XRF SCREENED 55G217852 4 EA
12275 MICROCIRCUIT, DIGITAL, CMOS, RAD HARD, HEX INV, XRF SCREENED 5$5G217853 2 EA
12276 RES, 0.05 OHM, 2%, 600 PPM, XRF SCREENED 55G217854 243 EA
12277 RES, FXD, FILM, CHIP, 14.3K, 1%, RM0705-S, XRF SCREENED 5$5G217855 94 EA
12278 RES, FXD, FILM, CHIP, 499K, 1%, RM0705-S, XRF SCREENED $5G217856 94 EA
12279 DIODE, BIPOLAR, TRANSIENT V SUPPRESSOR, 500W, XRF SCREENED S$5G217858 26 EA
12280 DIODE, ZENER, 68V, JANTXV, XRF SCREENED 55G217859 195 EA
12281 MICROCIRCUIT,LIN,RAD HARD,2.5V SHUNT DIODE REG,XRF SCREENED S$5G217860 10 EA
12282 WIRE, 30 AWG, SOLID, WHITE, XRF SCREENED 55G217861 89 FT
12283 WIRE, 26 AWG, SOLID, WHITE, XRF SCREENED 55G217862 13 FT
12284 WIRE, 26 AWG, SOLID, WHITE, XRF SCREENED 55G217862 97 FT
12285 CONNECTOR, HD, 26 CONTACT, PLUG, PCB MNT, GSFC, XRF SCREENED S$5G217864 2 EA
12286 CONNECTOR, HD, 15 CONT, SOCKET, PCB MNT , GSFC, XRF SCREENED 55G217865 4 EA
12287 RES, FXD, FILM, CHIP, 23.7K OHM, 1%, RM0705, XRF SCREENED 55G217866 93 EA
12288 IC, ADC, 12 BIT, 8CH,500KSPS, 16 PIN, RAD HARD, XRF SCREENED $5G217871 5 EA
12289 TRANSISTOR, NPN, 1A, 80V, TO-5, 100KRAD, XRF SCREENED S$5G217872 12 EA
12290 GUIDE, PIN PRESS TOOL, LATCH TO BEARING HOUSING 5$5G217882 1 EA
12291 OSCILLATOR, CLOCK, 5V, 40MHZ, HI-REL, 100KRAD 5$5G218124 7 EA
12292 FIXTURE, CONNECTOR SUPPORT, MOTOR DRIVER 55G218496 1 EA
12293 FIXTURE, CONNECTOR SUPPORT, MOTOR DRIVER 55G218496 2 EA
12294 VIBRATION TEST FIXTURE ASSEMBLY, RBI 5$5G218525 1 EA
12295 FLANGED SLEEVE $5G219870 2 EA
12296 COLLAR, SHAFT, 0.250 1D, 0.500 OD, 0.500 L, 18-8 5$5G219924 1 EA
12297 SCREW, FLH, 2-56, 0.438, A286, GSFC, XRF $5G220008 3 EA
12298 NUT, HEX 2-56, CRES, GSFC, XRF 5$5G220028 3 EA
12299 POWER SPRING INSTALLATION FIXTURE $5G220047 1 EA
12300 LATCH RESET TOOL, LAUNCH LOCK 5$5G220060 1 EA
12301 CONNECTOR SAVER, HD, 44 CONTACT 5$5G220261 8 EA
12302 PIN PRESS TOOL, INNER RESOLVER HOUSING 5$5G220389 1 EA
12303 CONNECTOR SAVER, HD, 15 CONTACT $5G220405 1 EA
12304 SPRING, COMPRESSION, 0.42, 1.00, 0.039, WIRE $5G220654 11 EA
12305 INSERT, HELICAL, M10-1.5, 1.5D, CRES 5$5G220859 9 EA
12306 Test Rack, RBI, ARM 5$5G220864 EA
12307 WIRE, 22AWG, WHT S$5G220965 74 EA
12308 ALTERED LOAD SCREW, LATCH RESET TOOL 55G221446 11 EA
12309 SCREW, SHOULDER, 4-40, .125, .500, 17-4PH SSG221474 3 EA
12310 SHIM, .188 1D, .312 OD, .010 THK, CRES 55G221488 70 EA
12311 LOCATING PIN, .3125, .375, .500 5$5G221594 1 EA
12312 SLEEVE, BEARING, 0.25 ID, FRELON 55G223083 2 EA
12313 SCREW, SHCS, .313-24, 1.000, CRES 5$5G223200 14 EA
12314 GAGE PIN SET, 0.1250, 0.0001 5$5G223600 1 EA
12315 CONNECTOR CAP, ECU S$5G223636 1 EA
12316 ASSEMBLY, TEST SUPPORT, RBI 5$5G223830 1 EA
12317 ROTATION STOP ASSEMBLY, RBI 5$5G223853 1 EA
12318 ROTATION STOP ASSEMBLY, RBI 55G223853 1 EA
12319 CUP-CONE ENGAGEMENT TOOL, LAUNCH LOCK 55G224198 1 EA
12320 WASHER, FLAT, 5/16, .051, CRES 55G224342 38 EA
12321 WASHER, FLAT 1/4, 0.75 OD, 0.06-0.09 THK, CRES 5$5G224415 24 EA
12322 INSERT, HELICAL, .375-24, 1.5D, CRES 55G224467 9 EA
12323 FEELER GAGE SET, 0.0015-0.025 5$5G224493 1 EA
12324 WASHER, FLAT, #8, 0.016, CRES, XRF 55G224682 14 EA
12325 INERTIA FUNCTIONAL FIXTURE, RBI 5$5G224700 4 BX
12326 PIN PRESS TOOL, GEARMOTOR 55G224930 1 EA
12327 HANDLING FIXTURE, LOWER PLATE, RBI 55G224986 1 EA
12328 DISC SPRING, WAVE, 1.535, 2.048, CRES 55G225128 3 EA
12329 CONTACT, PIN, SIZE 22D, XRF S$5G225645 71 EA
12330 HEATING ELEMENT, SP-5025 PIN PULLER, GSFC, XRF--SN 075 55G225694 1 EA
12331 SCREW, SHCS, 8-32, 1.500, 18-8 5$SG225760 48 EA
12332 SCREW, SHCS, 10-32, 1.000, 18-8 5$5G225913 87 EA
12333 INSERT, HELICAL, 4-40, 1.5 D, 18-8, TANGLESS 5$5G225915 14 EA
12334 INSERT, HELICAL, 8-32, 1.5 D, 18-8, TANGLESS 5$5G225920 3 EA
12335 INSERT, HELICAL, 10-32, 1.5 D, 18-8, TANGLESS 5$SG225925 2 EA
12336 WASHER, FLAT, #8, 0.032 THK, 18-8 55G225926 98 EA
12337 WASHER, FLAT, 0.406, 0.875, 0.05, 18-8 5$5G225976 83 EA
12338 BAND, SHIELD TERMINATION, 0.24 X 18, SST 55G226014 5 EA
12339 BAND, SHIELD TERMINATION, 0.24 X 18, SST 5$5G226014 17 EA
12340 SCREWLOCK, FEMALE, 4-40, 0.312, CRES, GSFC, XRF 55G226056 20 EA
12341 SCREW, FFILH, 2-56, 0.625, A286, GSFC, XRF S$5G226061 3 EA
12342 INSERT, HELICAL, 6-32, 1.5, 18-8, TANGLESS 55G226071 2 EA
12343 CONNECTOR, HD, 26 CONTACT, PLUG, CRIMP, GSFC, XRF 5$5G226074 6 EA
12344 SCREW, SHCS, 10-32, .375, CRES, DRILLED HEAD, MOD, GSFC, XRF 5$5G226082 9 EA
12345 PIN PRESS TOOL, LOWER LATCH BEAM 55G226296 1 EA
12346 CONTACT PIN, Cl, MOD, XRF, RBI 55G226299 28 EA
12347 CONNECTOR, HD, 15 CONTACT, PLUG, CRIMP, XRF 5$5G226354 4 EA
12348 CONNECTOR, HD, 78 CONTACT, PLUG, RT ANGLE BRD MNT, XRF 55G226364 5 EA
12349 SCREW, BHCS, 5/16-18, .750, CRES 55G226434 15 EA
12350 PIN, DOWEL, 0.0938, 0.500, CRES, GSFC, XRF 55G226687 7 EA
12351 SCREW, SET, 2-56, 0.188, CRES, GSFC, XRF 55G226721 7 EA
12352 SCREW, FLH, 2-56, 0.750, A286, GSFC, XRF 55G226724 8 EA
12353 SCREW, FLH, 2-56, 0.625, A286, GSFC, XRF S$SG226726 8 EA
12354 SCREW, SHCS, 2-56, 0.375, A286, GSFC, XRF 55G226728 5 EA
12355 WASHER, FLAT, #10, 0.032, CRES, XRF 55G226732 12 EA
12356 SCREW, FFILH, 4-40, 0.375, A286, GSFC, XRF SSG226737 16 EA
12357 SCREW, SHCS, 4-40, 0.500, A286, GSFC, XRF 55G226742 3 EA
12358 SCREW, SHCS, 4-40, 0.313, A286, GSFC, XRF 55G226744 2 EA
12359 SCREW, SHCS, 4-40, 0.625, A286, GSFC, XRF SSG226745 17 EA
12360 SHCS, 2-56, 0.250, A286, LKG, XRF, GSFC, MODIFIED S5G226747 1 EA
12361 SHCS, 2-56, 0.250, A286, LKG, XRF, GSFC, MODIFIED SSG226747 7 EA
12362 PIN, SPRING, 0.125, 0.500, CRES, PASSIVATED, GSFC, XRF 5$5G226786 23 EA
12363 SCREW, FFILH, 8-32, 0.500, A286, GSFC, XRF S$5G226828 2 EA
12364 SCREW, FFILH, 6-32, 0.625, A286, XRF, GSFC 5$5G226829 5 EA
12365 SCREW, FFILH, 8-32, 0.438, A286, XRF, GSFC S$5G226830 8 EA
12366 SCREW, SHCS, 8-32, 0.375, A286, XRF, GSFC 55G226831 4 EA
12367 SCREW, SHCS, 8-32, 0.750, A286, XRF, GSFC 55G226832 1 EA

20 of 6




As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
12368 SCREW, SHCS, 10-32, 0.750, A286, XRF, GSFC 55G226833 4 EA
12369 CONNECTOR, HD, 44 CONTACT, RECEPTACLE, CRIMP, GSFC, XRF S$5G226843 6 EA
12370 CONNECTOR, HD, 78 CONTACT, RECEPTACLE, SOLDER POST, GSFC,XRF $5G226844 1 EA
12371 CONTACT, SOCKET, SIZE 22D, XRF 55G226849 296 EA
12372 SCREW, SHCS, 1/4-28, .875, CRES 55G226871 22 EA
12373 INSERT, HELICAL, 4-40, 1.0 D, CRES TANGLESS 55G226884 6 EA
12374 INSERT, HELICAL, 0.086-56, CRES, GSFC, XRF 55G226931 23 EA
12375 STIFFENER, FLEX CABLE, .010 THK 55G226974 6 EA
12376 STIFFENER, FLEX CABLE, .015 THK 55G226975 6 EA
12377 STIFFENER, FLEX CABLE, .015 THK S$SG226975 12 EA
12378 STIFFENER, FLEX CABLE, .020 THK 55G226976 6 EA
12379 STIFFENER, FLEX CABLE, .025 THK S$SG226977 6 EA
12380 STIFFENER, FLEX CABLE, .025 THK 55G226977 6 EA
12381 ENCODER, OPTICAL, 2500 CPR, 1.000 S$5G227602 1 EA
12382 SHIM, ROUND, .500 ID, .750 OD, .002 T, CRES 55G227785 5 EA
12383 SHIM, ROUND, .500 ID, .750 OD, .005 T, CRES 5$5G227812 4 EA
12384 DOWEL PIN, 8MM X 24MM, 316 SS 55G233136 2 EA
12385 KEY, MACHINE, .125 X .125 X .750, CRES 5$5G233141 8 EA
12386 SCREW, SHCS, 1/4-20, .875, BLACK-OXIDE ALLOY STEEL 55G233148 34 EA
12387 WASHER, FLAT, #6, 0.032, CRES S$SG233167 97 EA
12388 SCREW, SHCS, 4-40, 0.875, BLACK-OXIDE ALLOY STEEL 55G233176 88 EA
12389 NUT, HEX, 10-32, FLANGED, 18-8 55G233264 4 EA
12390 ROD, THREADED, 10-32, 6.0, GRADE 8 S5G233265 4 EA
12391 DISC SPRING, WAVE, 1.068, 1.368, CRES 55G233266 38 EA
12392 NUT, HEX, COUPLING, 10-32, 18-8 55G233267 9 EA
12393 SCREW, SHCS, 6-32, 0.625, BLACK-OXIDE ALLOY 5SG233464 96 EA
12394 INSERT, HELICAL, 2-56, 1.5 D, CRES, TANGLESS 55G234104 2 EA
12395 SCREW, SHCS, 1/4-28, 2.0, CRES 5$5G234332 10 EA
12396 SCREW, SHCS, M6, 18MM, CRES 55G234333 40 EA
12397 SCREW, SET, FLAT POINT, 10-32, .625, CRES 5$5G234334 24 EA
12398 LOAD PLATE SSG234336 1 EA
12399 NUT, CUSTOM S$SG236004 1 EA
12400 WASHER SSG236247 1 EA
12401 INSERT, HELICAL, M6, 1.0 D, CRES 5$5G236410 10 EA
12402 PIN, DOWEL, M8, 24MM, CRES SSG236511 2 EA
12403 PIN, DOWEL, M8, 24MM, CRES S$SG236511 2 EA
12404 INSERT, HELICAL, M2 X 0.4, 2D, CRES, GSFC, XRF 55G236581 9 EA
12405 SCREW, FLH, 4-40, 0.188, A286, GSFC, XRF 5$5G236582 4 EA
12406 WASHER, FLAT, M10, 1.8-2.2, CRES SSG237177 38 EA
12407 MASS SIM ASSEMBLY, RBI 5$SG237399 1 EA
12408 PIN, DOWEL, .250, .750, CRES 5$5G237401 7 EA
12409 WASHER, FLAT, 5/16, .625, .063 CRES S$SG237402 6 EA
12410 SCREW, SHCS, 5/16-24, 1.000, BLACK OXIDE 5$5G237403 13 EA
12411 INSERT, KEY LOCK, 3/8-24, 1.5D, CRES S$SG237513 20 EA
12412 CIRCUIT BOARD TEST FIXTURE, RBI 55G237806 1 EA
12413 INSERT, HELICAL, M6-1.0, 1.5D, NITRONIC 60 55G243694 5 EA
12414 SCREW, SHCS, 5/16-18, 1.625, BLACK OXIDE SSG243745 2 EA
12415 RES, FXD, FILM, CHIP, 221K OHM, 1%, RM1206, XRF SCREENED 5$5G244328 97 EA
12416 SCREW, SHCS, 4-40, 0.250, BLACK-OXIDE ALLOY STEEL 55G244378 92 EA
12417 CLAMP, CABLE, 0.38 DIA, CRES SSG244523 10 EA
12418 RES, FXD, FILM, CHIP, 1.15K, 1%, RM0705-R, XRF SCREENED SSG244595 97 EA
12419 RES, FXD, FILM, CHIP, 2.00K, 1%, RM0705-S, XRF SCREENED S$SG244596 97 EA
12420 RES, FXD, FILM, CHIP, 422, 1%, RM0705-S, XRF SCREENED S$SG244597 97 EA
12421 RES, FXD, FILM, CHIP, 2.32K, 1%, RM0705-R, XRF SCREENED S$SG244598 94 EA
12422 MICROCIRCUIT, HYBRID, LINEAR, 4CH, OPTOCOUPLER, XRF SCREENED 55G244601 3 EA
12423 MICROCIRCUIT, HYBRID, LINEAR, 4CH, OPTOCOUPLER, XRF SCREENED 55G244601 4 EA
12424 MICROCIRCUIT, HYBRID, LINEAR, 2CH, OPTOCOUPLER, XRF SCREENED 55G244602 2 EA
12425 RES, FXD, FILM, CHIP, 40.2K, 1%, RM0705-R, XRF SCREENED S$SG244603 97 EA
12426 RES, FXD, FILM, CHIP, 17.6K, 1%, RM0705-R, XRF SCREENED 5$5G244604 997 EA
12427 RES, FXD, FILM, CHIP, 26.1K OHM, 1%, RM0705, XRF SCREENED 5$5G244605 97 EA
12428 CAP, CERAMIC, CHIP, 100PF, 100V, 1%, XRF SCREENED 55G244607 10 EA
12429 WASHER, FLAT, #8, 0.016, CRES, XRF 55G244616 13 EA
12430 PLATE, WIRE MOUNT 5$5G245209 2 EA
12431 Cable, ECU Test, HD26M to HD26F, UMCD S$SG245357 1 EA
12432 WIRE, 34 AWG, SOLID BUS, XRF SSG245423 19 FT
12433 WIRE, 34 AWG, SOLID BUS, XRF SSG245423 78 FT
12434 CABLE, 2 CONDUCTOR, 26 AWG, 1 SHIELD, 1 JACKET, XRF SSG245555 24 FT
12435 CABLE, 2 CONDUCTOR, 26 AWG, 1 SHIELD, 1 JACKET, XRF SSG245555 11 FT
12436 SCREWLOCK, FEMALE, 4-40, 0.312, CRES, GSFC, XRF, MOD SSG245678 3 EA
12437 MICROCIRCUIT, COMPARATOR, ULTRAFAST, ELDRS, XRF SCREENED S$SG246117 21 EA
12438 WASHER, FLAT, 10.5MM, 23MM, 5MM, BLACK OXIDE 55G246309 4 EA
12439 SCREW, SHCS, M10-1.5, 45MM, BLACK OXIDE 5$5G246315 19 EA
12440 SCREWLOCK, FEMALE, 4-40, 0.625, CRES, GSFC, XRF SSG248656 12 EA
12441 WASHER, FLAT, .280, .375, .025, CRES $5G248700 10 EA
12442 CAP, CHIP, FIXED, TANT, 68 UF, 15V, 10% (CWR29),XRF SCREENED 5$5G249284 2 EA
12443 SPANNER ASSY, GUIDE, LAUNCH LOCK, RBI S$SG249532 1 EA
12444 SPRING, BELLEVILLE, 0.812 OD, 0.265 ID, CRES 55G249538 20 EA
12445 SPRING, BELLEVILLE, .812 OD, .265 ID, MODIFIED 5$5G249544 1 EA
12446 MOSFET, P-CHANNEL, 60V, 8.8A, I-PAK 55G250398 3 EA
12447 GUIDE SLEEVE, BELLEVILLE SPRINGS, LAUNCH LOCK SSG250696 1 EA
12448 SCREW, SHCS, 3-56, 0.250, A286, GSFC, XRF 55G251366 19 EA
12449 INSERT, HELICAL, 3-56 X 1.5 D, FREE RUNNING, GSFC, XRF S$5G251988 19 EA
12450 BLOCK, SPRING FIXTURE 5$5G252054 1 EA
12451 GUIDE, SPRING COMPRESSION $5G252114 1 EA
12452 PIN, SLIDER 55G252976 2 EA
12453 SCREW, SET, 4-40, 0.188, CRES, GSFC, XRF 55G254342 21 EA
12454 SCREW, HEX, .313-18 X 7.00, CRES S$5G257023 2 EA
12455 SCREW, SHOULDER, .25 DIA, .125L, .164-32, 17-4PH SSG257442 1 EA
12456 SCREW, SHOULDER, .250DIA, .50L, .190-32, SS 5$5G260180 1 EA
12457 Cable, Test, RBI ARM. Continuity, Ambient S$SG261520 1 EA
12458 Cable, Test, RBI ARM, Continuity, TVAC 55G261542 1 EA
12459 SPRING, COMPRESSION, 0.180, 0.024, 0.500, MUSIC WIRE, ZINC S$SG262352 11 EA
12460 SCREW, SHCS, 1/4-20, 0.563, BLACK OXIDE ALLOY STEEL 55G262752 22 EA
12461 SCREW, SHCS, 4-40, 1.25, BLACK-OXIDE ALLOY STEEL 55G262891 44 EA
12462 SCREW, SHCS, 8-32, 1.00, BLACK-OXIDE ALLOY STEEL 55G262896 43 EA
12463 Cable, Test, RBI ARM, Output loopback S$SG263276 2 EA
12464 PLUNGER, SPRING, BALL NOSE, 1/4-20, BLACK OXIDE 5$5G263304 1 EA
12465 Cable, Test, RBI ARM, Resolver Adapter S$SG263316 1 EA
12466 Cable, Test, RBI ARM, 1553B Adapter 55G263324 1 EA
12467 ROLLER LEAF, ACTUATOR, MODIFIED SSG267875 2 EA
12468 Cable, Test, RBI ARM, ECU and LL, Ambient 5$5G267985 1 EA
12469 Cable, Test, RBI ARM, ECU and LL, TVAC 55G268234 1 EA
12470 CAM 3, LOWER LATCH S5G271681 33 EA
12471 CAM 3, LOWER LATCH S$SG271681 25 EA
12472 INSERT, HELICAL, .375-24, 1.0, TANGLESS, CRES, LUBE 5$5G275329 7 EA
12473 SCREW, SHCS, M10-1.5, 35MM, BLACK OXIDE 5$5G281500 19 EA
12474 Cable, Test, ECU Output Adapter S$5G286044 2 EA
12475 Cable, Test, ARM Motor Input Adapter, SSG, -.1 (Design) 5$5G286045 2 EA
12476 REPLACEMENT KIT, CAM, LAUNCH LOCK, RBI--SN 006 55G286872 1 EA
12477 REPLACEMENT KIT, CAM, LAUNCH LOCK, RBI--SN 007 55G286872 1 EA
12478 REPLACEMENT KIT, CAM, LAUNCH LOCK, RBI--SN 008 55G286872 1 EA
12479 REPLACEMENT KIT, CAM, LAUNCH LOCK, RBI--SN 009 55G286872 1 EA
12480 REPLACEMENT KIT, CAM, LAUNCH LOCK, RBI--SN 010 55G286872 1 EA
12481 SCREW, FFILH, 2-56, 0.250, A286, LKG 55G286923 25 EA
12482 SCREW, FFILH, 2-56, 0.250, A286, LKG, XRF, GSFC 55G287628 42 EA
12483 RBI HOLDING FIXTURE ASSEMBLY 5$5G292243 1 EA
12484 RING, RETAINING, EXTERNAL, 1.00 DIA SHAFT 55G299228 1 EA
12485 SHIM, 1.00 ID, 1.50 OD, .030 THK, CRES 5$5G299237 3 EA

210of63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
12486 BONDING FIXTURE, CONE SHIM, LAUNCH LOCK, RBI SSG315591 1 EA
12487 SPRING, COMPRESSION, 0.125, 0.750, 0.016, CRES SSG317174 3 EA
12488 SCREW, BHCS, .250-28, .625, CRES S5G325987 34 EA
12489 TEST FIXTURE, CAM REPLACEMENT TOOL SSG332378 1 EA
12490 Motor Driver, COTS, Threshold Current, RBI ARM SSG345265 1 EA
12491 Adapter, Gender Changer, 50-pin D-sub, Female to Female SSG354616 4 EA
12492 WASHER, FLAT AMS5525, METRIC SSG354652 13 EA
12493 THREAD BLOCK, 1.2 X 2.0, .086-56 UNC-2B SSG376644 1 EA
12494 LIFTING FIXTURE, RBI SSG403189 1 EA
12495 CABLE, TEST, RBI ARM OUTPUT SHAFT, LOW PROFILE SSG403575 2 EA
12496 EXPANDABLE BRAID, HALAR, 0.25 OD, BLACK S5G90584 1936 IN
12497 SCREW, SHCS, M10, 35MM, CRES 55G92668 2 EA
12498 BRAID, SILVER COATED COPPER, 0.781" SSG93070 29 FT
12499 CONTACT, PIN, D-SUB, SIZE 20, 109, NON-FLIGHT SSG93255 20 EA
12500 3D ENGINEERING DEVELOPMENT PART, PROTOTYPE S$5G93831 1 EA
12501 3D ENGINEERING DEVELOPMENT PART, PROTOTYPE S$SG93831 1 EA
12502 3D ENGINEERING DEVELOPMENT PART, PROTOTYPE SSG93831 1 EA
12503 SCREW, SHCS, M10 X 1.5, 45MM, CRES SSG94509 1 EA
12504 IC CURRENT AMP 55G96163 1 EA
12505 WASHER, SLF-ALIGN, 0.50D, 0.2656ID, 0.25T, CRES SSG96947 1 EA
12506 INSERT, HELICAL, 1/4-20, 1.5D, TANGLESS, CRES SSG97995 10 EA
12507 TRANSISTOR NPN GP 40V SOT23 55G98818 13 EA
12508 TRANSISTOR NPN GP 40V SOT23 S5G98818 6 EA
12509 HIGH VACUMN TEST RACK HIGH VACUMN TEST RACK 1 EA
12510 Chiller PRESTO A30 1 EA
12511 CTI/Brooks Cryo-Torr 10 CYROPUMP CTI CRYOGENICS 1 EA
12512 CTl/Brooks 8510 Compressor CTI CRYOGENICS 1 EA
12513 PWA, CONTROL, 2 PHASE, ECU, FLIGHT--SPARE 5$SG190040 1 EA
12514 PWA, POWER, ECU, FLIGHT--SPARE S$5G190045 1 EA
12515 PWA, MOTOR DRIVER, 2 PHASE, ECU, FLIGHT--SPARE S$SG190508 1 EA
12516 TOOL KIT, LAUNCH LOCK, RBI--SN 001 5$5G382701 1 EA
12517 TOOL KIT, LAUNCH LOCK, RBI--SN 002 5$5G382701 1 EA
12518 TOOL KIT, LAUNCH LOCK, RBI--SN 003 5$5G382701 1 EA
12519 SHIPPING FIXTURE S$5G276062 1 EA
12520 Cl- RBI PEDESTAL ASSEMBLY 5$5G190163 1 EA
12523 Break Out Box SE-01026-3 1 EA
12524 Break Out Box SE-01027-3 1 EA
12525 Break Out Box SE-01030-3 1 EA
12531 MISC SPARE PARTS FOR CHAMBER RETROFIT Various 1 PALLET
12532 SCREW, SHCS, .112-40, .250, A286 10066_A 4 EA
12533 SCREW, SHCS, .112-40, .250, A286 10066 A 21 EA
12534 SCREW, SHCS, .112-40, .313, A286 10068 A 8 EA
12535 SCREW, SHCS, .190-32, .750, A286 10124_A 45 EA
12536 SCREW, FLH, 2-56, 0.188, A286 10404_A 12 EA
12537 WASHER, FLAT, .195, .354, .063, CRES 10405_A 54 EA
12538 SCREW, SHCS, .086-56, .250, A286 10418_A 3 EA
12539 SCREW, SHCS, .086-56, .250, A286 10418_A 1 EA
12540 WASHER , FLAT, .143, .267, .032, CRES 10670_A 25 EA
12541 WASHER , FLAT, .169, .304, .032, CRES 10671_A 29 EA
12542 SCREW, FFILH, 4-40, 0.250, A286 10678_B 5 EA
12543 WASHER , FLAT, .115, .209, .032, CRES 10850_A 33 EA
12544 SCREW, SHCS, .164-32, .500, A286 11221_B 17 EA
12545 BRAI DED WIRE, ROU ND, 36 AWG, SILVER, .156 ID 11226 B 70 FT
12546 SCREW, SHCS, 6-32, 0.375, A286 11601 IR 6 EA
12547 SCREW, SHCS, 10-32, 0.750, CRES 11916 DD2 4 EA
12548 SCREW, SHCS, 10-32, 0.750, CRES 11916_DD2 26 EA
12549 SCREW, SHCS, .190-24, .750, A286 12793 A 29 EA
12550 SCREW, SHCS, 10-24, 0.625, A286 13032 IR 8 EA
12551 WASHER , FLAT, .099, .250, .032, CRES 14532_A 33 EA
12552 SCREW, SHCS, .112-40, .625, A286 14534_A 45 EA
12553 SCREW, SHCS, .138-32, .625, A286 16105_A 45 EA
12554 SCREW, SHCS, .086-56, .625, A286 20950_A 45 EA
12555 SCREW, SCH, 0.164 32, 0.750L, CRES 24015 DDI 100 EA
12556 SCREW, SCH, 0.190-24, 0.625L, CRES 24017 DDI 100 EA
12557 WASHER , FLAT, 0.1151D, 0.2090D, 0.016T 24150 DDI 4 EA
12558 WASHER , FLAT, O.lISID, 0.2090D, 0.016T 24150_DD1 496 EA
12559 WASHER, FLAT, 0.1951D, 0.3540D, 0.063T 24158_DD1 92 EA
12560 INSERT, HELICAL, .138-32, 1.5, TANGLESS, CRES 25016_A 4 EA
12561 BEARING , RADIAL (SR6) 25429_DD1 1 EA
12562 INSERT, HELICAL, .112-40, 1.5, TANGLESS, CRES 27236_B 4 EA
12563 I NSERT, HELICAL, .164-32, 1.5, TANGLESS, CRES 27237_B 10 EA
12564 PIN, SPRING, 0.0940, 0.250, CRES 27848_A 16 EA
12565 INSERT, HELICAL, .190-32, 1.5, TANGLESS, CRES 28015_A 4 EA
12566 INSERT, HELICAL, .250-28, 1.5, TANGLESS, CRES 28029_A 4 EA
12567 SPRI NG, WAVE, 1.125, CRES 31691_A 1 EA
12568 NUT, HEX, 0.250 32, CRES, THIN 32062_A 5 EA
12569 PLUG, 1.2900 OD 32228 DDI 1 EA
12570 RING, RETAINING, SPIRAL, INTERNAL, 0.25 DIA 32414 A 44 EA
12571 WASHER, FLAT, 1/4, 0.063, CRES 37785 A 33 EA
12572 INSERT, HELICAL, 4-40, 1.5D, TANGLESS 38156_DD1 18 EA
12573 INSERT, HELICAL, 8-32, 1.SD, TANGLESS 38177 DDI 4 EA
12574 SCREW, SET, 4-40, 0.125, CRES, W/NYLON TIP 38610 DDI 8 EA
12575 SCREW, SET, 4-40, 0:125, CRES, W/NYLON TIP 38610 DDI 17 EA
12576 INSERT, HELICAL, 8-32, 2.0 D, CRES, TANGLESS 39756 DDI 12 EA
12577 SAFETY WIRE, 0.032, MON EL 39925 A 321 FT
12578 SCREW, SHCS, .112-40, 0.312, CRES 40186_DD1 99 EA
12579 SCREW, SHCS, .164 32, .750, A286 58875 A 45 EA
12580 SCREW, SHCS, 1/4-20, .875, A286 58915 A 45 EA
12581 PIN, DOWEL, 0.0938, 0.375, CRES 80538 A 5 EA
12582 SCREW,SHCS, 8-32, 0.625,CRES 81731_DD1 11 EA
12583 FILTER, DISC,0.250 0.063, 2 MICRONS 19933-17 D 50 EA
12584 BEARING, RADIAL, SHIELDED, .2501D, .62S0D, .196 W SSG 182419 E 1 EA
12585 BEARING, RADIAL, SHIELDED, .2S0ID, .62S0D, .196 W SSG182419 E 1 EA
12586 BEARING, RADIAL, SHIELDED, .2S0ID, .62S0D, .196 W SSG182419 E 1 EA
12587 BEARING, RADIAL, SHIELDED, .2S0ID, .62S0D, .196 W SSG182419 E 1 EA
12588 BEARING, DUPLEX, DB,9.000 ID,10.000 OD, 1.000 W S$SG182422 D 1 EA
12589 LAMINATION, RBI SSG182472 A 350 EA
12590 SHIM, 0.1601D,0.2460D, .0IOT S$5G182S00-7 B 16 EA
12591 SHIM, 0.2541D, 0.3300D, .0IOT S$SG182S00-8 B 16 EA
12592 FIXTURE,GEAR & BEARING ASSY S$SG182518 X3 1 EA
12593 SHIM, 0.316 ID, 0.600 OD,0.010T 5$5G182807 A 24 EA
12594 SHIM, 0.210 ID, 0.309 OD,0.0l0T 5$5G182808 A 18 EA
12595 MOTOR ASSY, HYBRID,1.8DEGREE STEPPER - SNOO3 SSG183090_G 1 EA
12596 MOTOR ASSY, HYBRID,1.8DEGREE STEPPER - SNOO4 S$SG183090 G 1 EA
12597 ROTOR ASSY,HYBRID STEPPER S$5G183092_C 1 EA
12598 OUTPUT ASSY, RBI S$5G183126_C 1 EA
12599 GEAR, MACHINED, HOUSING SSG183127_G 1 EA
12600 CLAMP,MACHINED,OUTER 5$SG183128 B 1 EA
12601 BUTTON, MACHINED, PLANETARY, 0.857 OD SSG183129_A 2 EA
12602 BUTTON,MACHINED, PLANETARY, 0.637 OD SSG183130_A 1 EA
12603 GEAR, MACHINED, PLANET,64DP, SST SSG183135 A5 4 EA
12604 GEAR, MACHINED, PLANET,64DP, S3T S$SG183148_A 4 EA
12605 GEAR, MACHINED, PLANET, 64DP, 46T SSG183149_B 6 EA
12606 GEAR, MACHINED, PLANET, 64DP, 46T S$SG183150 B 6 EA
12607 GEAR, MACHINED, CARRIER, ST STAGE SSG183151 B 1 EA
12608 GEAR, MACHINED, CARRIER, 2ND STAGE S$SG183152 B 1 EA
12609 GEAR,MACHINED, CARRIER,3RD STAGE SSG183153 B 1 EA
12610 CARRIER,MACHINED,OUTPUT S$SG183154 B 3 EA

22 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
12611 CARRIER, MACHINED, OUTPUT S$SG183154_D 1 EA
12612 BEARING,DUPLEX, DB 2.000 ID,2.500 OD,.500W SSG1831S5D 1 EA
12613 CLAMP, MACHINED, INNER 5$SG183156 C 1 EA
12614 BUTTON, MACHINED, MOTOR SSG183165 A 2 EA
12615 GEAR, MACHINED, PINION,64DP, 47T S$5G183166 D 1 EA
12616 RING,RETAINING,SPIRAL, INTERNAL, 1.312 DIA. SSG183168_A 46 EA
12617 RING, RETAINING, SPIRAL, INTERNAL, 0.312 DIA. SSG183169 A 46 EA
12618 POST, MACHINED, PLANET SSG183206 A 8 EA
12619 PROTECTOR,STATOR $SG183209 DI 2 EA
12620 BEARING,ROLLER,.3125 ID, .5625 OD, .235L SSG183247 D 1 EA
12621 BEARING, ROLLER,.312S ID, .5625 OD, .235L S$SG183247 D 1 EA
12622 BEARING, ROLLER,.312S ID,.5625 OD, .235L S$5G183247 D 1 EA
12623 BEARING, ROLLER,.3125 ID,.5625 OD, .395L- S$5G183248 D 1 EA
12624 BEARING, ROLLER, .312S ID,.S62S OD,.395L 5$5G183248 D 1 EA
12625 BEARING, ROLLER, .312S ID,.5625 OD,.395L S$5G183248 D 1 EA
12626 COVER, MACHINED, OUTPUT S$SG183322_X2 2 EA
12627 SHIM, 0.472 1D, 0.600 OD, .003T S$SG183327-1A 4 EA
12628 SHIM,0.472 1D, 0.600 OD, .DOST S$SG183327-2 A 1 EA
12629 SHIM, 0.4721D,0.600 OD, .0OlOT S$SG183327-3 A 3 EA
12630 POWER SPRING,7.40D, .094X.375,100 LBF-IN SSG190309 E 1 EA
12631 NUT, HEX, .250-32, CRES, THIN,GSFC and XR F SCREENED $5G191801 B 5 EA
12632 SCREW, SHC, 2-S6, .2SOL, A286, GSFC and XRF SCREENED 5$5G191809 B 8 EA
12633 SCREW, SHC, 4-40, .2SOL,A286, DR HEAD,GSFC and XRX SCREENED S$SG191813 B 8 EA
12634 WRENCH, MACHINED, MOTOR COVER S$SG193173 X2 1 EA
12635 ORING, VITON, 7S DURO, 2.37SID, 2.5000D S$SG193191 A 6 EA
12636 PLUG,WAVE SPRING, SHIMMING 5$5G193245 XI 1 EA
12637 PLUG,BUTION,SHIMMING $5G193246 X| 1 EA
12640 HOUSING & END CAP ASSY, MATCHED SET S$SG193253 XI 1 EA
12641 SHAFT, MACHINED,ADAPTER $5G193254 X2 1 EA
12642 ADAPTER ASSY, ACTUATOR TEST S$5G1932S8 XI 1 EA
12643 ADAPTER ASSY, ACTUATOR TEST 5$5G1932S8 XI 1 EA
12644 SCREW, SHCS,.3125-18, 1.12S, BLACK-OXIDE S$5G193264 XI 25 EA
12645 SPRING GUIDE, INNER 5$SG193497 C 1 EA
12646 SHAFT SAVER ASSY 5$5G193681 XI 1 EA
12647 SHAFT, MACHINED, ACTUATOR TEST 5$5G193682 X| 1 EA
12648 NEST, MACHINED, GEAR & BEARING ASSY,.200 S$SG193693-I XI 1 EA
12649 NEST, MACHINED,GEAR & BEARING ASSY,.360 $5G193693-2_XI 1 EA
12650 RAM,MACHINED,GEAR & BEARING ASSY,.230 55G193694-1_XI 1 EA
12651 RAM, MACHINED, GEAR & BEARING ASSY,.390 $5G193694-2_XI 1 EA
12652 CLAMP, MACHINED, BEARING 5$5G193696_XI 2 EA
12653 SCREW, SHC, .086-56, MODIFIED .160L S$SG193701 A 29 EA
12654 SCREW,SHC,.086-56, MODIFIED S$SG193701 B 14 EA
12655 TEST PLATE, ALUMINUM, 2-S6 AND 4-40 INSERTS 5$5G194914 XI 2 EA
12656 TEST PLATE, ALUMINUM, 6-32 AND 8-32 INSERTS S$5G19491S_XI 2 EA
12657 TEST PLATE,ALUMINUM, 10-24 AND .25-20 INSERTS $5G194916 X3 2 EA
12658 TEST PLATE,TITANIUM, BARE,2-S6 AND 4-40 TAPPED HOLES SSG194917_X2 1 EA
12659 TEST PLATE, TITANIUM, BARE,6-32 AND 8-32 TAPPED HOLES 5$SG194918_X2 1 EA
12660 TEST PLATE, TITANIUM, BARE, 10-24 AND .25-20 TAPPED HOLES S$SG194919_X3 1 EA
12661 TEST PLATE, TITANIUM,TIODIZE,2-S6 AND 4-40 TAPPED HOLES $5G194920_X2 1 EA
12662 TEST PLATE,TITANIUM,TIODIZE,6-32 AND 8-32 TAPPED HOLES S§5G194921_X2 1 EA
12663 TEST PLATE, TITANIUM,TIODIZE, 10-24 AND .2S-20 TAPPED HOLES $5G194922 X3 1 EA
12664 TEST PLATE,15-5PH, 2-S6 AND 4-40 TAPPED HOLES S$5G194923 X2 1 EA
12665 TEST PLATE,15-5PH,6-32 AND 8-32 TAPPED HOLES 5$5G194924 X2 1 EA
12666 TEST PLATE, 15-5PH, 10-24 AND .2S-20 TAPPED HOLES S$SG194925 X3 1 EA
12667 SCREW,SHCS,4-40, 0.250, A286, GSFC AND XRF SCREENED S$SG19S098 A 16 EA
12668 SCREW,FFILH, 2-56,0.250, A286, GSFC AND XRF SCREENED SSG19S099 A 70 EA
12669 WASHER, FLAT,0.2S0, 0.12S, 0.022,XRF SCREENED $5G19S360 A 2 EA
12670 CENTER, FALSE, MOUNT SSG195367 X3 2 EA
12671 CENTER, FALSE, ROTOR $5G195369 X3 2 EA
12672 TEST PLATE, ALUMINUM, 2-S6 AND 4-40 TAPPED HOLES AND INS $SG195409 XI 1 EA
12673 TEST PLATE,ALUMINUM, 6-32 AND 8-32 TAPPED HOLES AND INS $5G195410_XI 1 EA
12674 TEST PLATE,ALUMINUM, 10-32 AND .25-20 TAPPED HOLES AND INS S$SG195411 XI 1 EA
12675 TEST COVER, MACHINED, THREADED $5G196279 X| 1 EA
12676 COVER, AL 5$5G196384 C 1 EA
12677 ASSY, ADAPTER, MOTOR TEST, RBI 5$5G196865 X 1 EA
12678 SOCKET, .312, .250 DRIVE 55G196874 _XI 1 EA
12679 EXTENSION,SOCKET,.2SO DRIVE 5$5G196875_XI 1 EA
12680 EXTENSION, SOCKET, .2SO DRIVE S$5G196875_XI 1 EA
12681 RETAINER, SPRING SSG197332 B 1 EA
12682 SPRING SHIM, LOWER,INNER SSG197997 B 1 EA
12683 SPRING SHIM, LOWER,OUTER $5G197998 B 1 EA
12684 SPRING SHIM, UPPER SSG197999 B 1 EA
12685 ADAPTER PLATE, INERTIA TEST, RBI $5G202535 XI 1 EA
12686 RING, CLAMP, OUTER, INERTIA TEST, RBI 5$5G202541 XI 1 EA
12687 RING, CLAMP, INNER, INERTIA TEST, RBI 5$5G202542 X| 1 EA
12688 SHAFT EXTENSION ASSY, INERTIAL FIXTURE, RBI $5G202544 X2 1 EA
12689 ADAPTER ASSY, OUTPUT,ROTATING INERTIA FIXTURE,RBI $5G202545 X| 1 EA
12690 ADAPTER ASSY, OUTPUT, FIXED, INERTIA FIXTURE, RBI S$5G202546 X2 1 EA
12691 FIXED PLATE ASSY, INERTIA TEST, RBI 5$5G202549_XI 1 EA
12692 WASHER , FLAT,#4, 0.016,CRES, REDUCED OD XRF SCREENED S$5G202621 A 41 EA
12693 WASHER,FLAT,#2,0.016, CRES, REDUCED OD XRF SCREENED 5$5G202626 A 3 EA
12694 WASHER , FLAT,#2, 0.016,CRES,REDUCED OD XRF SCREENED 5$5G202626 A 76 EA
12695 ADAPTER,TORQUE CELL, 500 IN-OZ $5G202862 X 1 EA
12696 BRACKET, ASSY, VIBE,RBI $5G203221 X | 1 EA
12697 PLATE,ASSY,VIBE, RBI $5G203224 X 1 EA
12698 SCREW,FFILH,4-40, 0.250, MODIFIED HEAD 5$5G206120 XI 4 EA
12699 PLUG, MASKING TOOL, RBI $5G207450 X| 1 EA
12700 COVER, MASKING TOOL, RBI 5$5G207451 XI 1 EA
12701 SPRING GUIDE 2,0UTER $5G207452 C 1 EA
12702 POWER SPRING HANDLING FIXTURE S$SG207720 X2 1 EA
12703 STATOR ASSY, HYBRID, 1.8 STEPPER $5G212739 XI 1 EA
12704 ADAPTER ASSY,ACTUATOR TEST 5$5G213728 XI 1 EA
12705 ADAPTER ASSY, ACTUATOR TEST 5$5G213728 XI 2 EA
12706 INSERT, SPRING GUIDE $5G214523 B 7 EA
12707 INSERT, OUTER SPRING GUIDE §5G217031 B 1 EA
12708 SAFm CABLE KIT, .024 DIA,18L, INCONEL 600 SSG95155 A 41 EA
12709 Insert McMaster Carr p/n 91630A424; aka NAS1130-02L15 15 EA
12710 Insert McMaster Carr p/n 91630A433; aka NAS1130-04L15 15 EA
12711 Insert McMaster Carr p/n 91630A442; aka NAS1130-06L15 15 EA
12712 Insert McMaster Carr p/n 91630A451; aka NAS1130-08L15 15 EA
12713 Insert McMaster Carr p/n 91630A460; aka NAS1130-3CL15 15 EA
12714 Insert McMaster Carr p/n 91630A469; aka NAS1130-3L15 15 EA
12715 Insert McMaster Carr p/n 91630A478; aka NAS1130-4L15 15 EA
12717 Insert McMaster Carr p/n 91990A204; aka NAS1130-02-15 20 EA
12718 Insert McMaster Carr p/n 91990A213; aka NAS1130-04-15 20 EA
12719 Insert McMaster Carr p/n 91990A222; aka NAS1130-06-15 20 EA
12720 Insert McMaster Carr p/n 91990A231; aka NAS1130-08-15 20 EA
12721 Insert McMaster Carr p/n 91990A240; aka NAS1130-3C-15 20 EA
12722 Insert McMaster Carr p/n 91990A249; aka NAS1130-3-15 20 EA
12723 Insert McMaster Carr p/n 91990A258; aka NAS1130-4-15 20 EA
12724 Insert McMaster Carr p/n 91630A478; aka NAS1130-4L15 15 EA
12725 Tangless Helical Insert McMaster Carr P/N 91990A240 6 EA
12726 Insert McMaster Carr p/n 91630A469 12 EA
12727 Screw McMaster Carr p/n 92196A195 44 EA
12728 Dowel Pin, 1/4" Dia., 1/2" Long 7 EA
12729 Screw - 8-32 Thread Size, 1/2" Long McMaster Carr P/N 90128A194 16 EA
12730 Screw - 10-32 Thread Size, 5/8" Long McMaster Carr P/N 90128A944 42 EA
12731 Screw - 1/4"-28 Thread Size, 1" Long McMaster Carr P/N 90128A372 16 EA

23 0f 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
12732 Screw - 6-32 Thread Size, 5/8" Long McMaster Carr P/N 90128A150 41 EA
12733 Focal Plane Module flex PWB 10397854 Rev A 1 EA
12734 Thermopile detector on TO-8 header 8258559 Rev B 1 EA
12735 Flight design thermopile detector die 10409110 Rev A 1 EA
12736 Flight design thermopile detector die 10409110 Rev A 1 EA
12737 Flight design thermopile detector die 10409110 Rev A 1 EA
12738 Thermopile detector on TO-8 header 8258559 Rev B 1 EA
12739 Thermopile detector on TO-8 header 8258559 Rev B 1 EA
12740 Thermopile detector on TO-8 header 8258559 Rev B 1 EA
12741 Thermopile detector on TO-8 header 8258559 Rev B 1 EA
12742 Thermopile detector on TO-8 header 8258559 Rev B 1 EA
12743 Thermopile detector on TO-8 header 8258559 Rev B 1 EA
12744 Thermopile detector on TO-8 header 8258559 Rev B 1 EA
12745 Thermopile detector on TO-8 header 8258559 Rev B 1 EA
12746 Princeton Optronics 15W 1064nm VCSEL laser array on CE-mount PCW-CE-15-W1064-R3 1 EA
12747 INO bolometer detector 8258562 1 EA
12748 INO bolometer detector 8258562 1 EA
12749 Optical reflectance standard Avian RS-Au-02c 1 EA
12750 Diamond vacuum window assembly 8258068G1 1 EA
12751 PRT in surface mount fixture 8258505G1 1 EA
12752 TO-8 headers Sinclair BK600-035-16-2 8 EA
12753 Window, Ge 50mm 62646 1 EA
12754 Windows on PO891254 QI-W-50-3 1 EA
12755 Windows on PO891254 K5-W-50-3 1 EA
12756 Windows on PO891254 SI-W-50-2 1 EA
12757 Detector CCA 8260082G1 2 EA
12758 INDUCTOR, POWER, SINGLE WIND 62104 3 EA
12759 INDUCTOR 62110 8 EA
12760 INDUCTOR 62206 13 EA
12761 INDUCTOR, POWER, SINGLE WIND 62301 11 EA
12762 INDUCTOR 62335 15 EA
12763 INDUCTOR 62401 15 EA
12764 INDUCTORVANGUARD 62410 7 EA
12765 INDUCTORVANGUARD 62410 3 EA
12766 INDUCTOR 62418 15 EA
12767 INDUCTOR 62430 7 EA
12768 INDUCTOR, POWER, SINGLE WIND 92127 7 EA
12769 INDUCTOR 92401 7 EA
12770 VISHAY RESISTOR 321490 5 EA
12771 SHIELDING BEAD 2743019446 2 EA
12772 CONTACTS 10-497362-725 115 EA
12773 RECTIFIERINTERNATIONAL RECTIFIER 12CLQ150 1 EA
12774 RECTIFIERINTERNATIONAL RECTIFIER 12CLQ150 2 EA
12775 SEMICONDUCTOR 15CGQ100 1 EA
12776 EMI GASKET 15D12-18 1 EA
12777 EMI GASKET 15D22-18 1 EA
12778 CONNECTOR 171-002-3P-6C4-2.000CL 30 EA
12779 CONNECTOR 171-002-35-6C4-2.000CL 30 EA
12780 DIODE 1N5811 1 EA
12781 DIODE 1IN5811US 6 EA
12782 SEMICONDUCTOR, DIODE, SILICONRECTIFIER 1N5822US 16 EA
12783 SEMICONDUCTOR IN6317JANTX 5 EA
12784 SEMICONDUCTOR IN6320JANTX 5 EA
12785 DIODE 1N6642US 34 EA
12786 RESISTOR 284-HS25-200F 5 EA
12787 IC128K X 8 BIT, EEPROM, RADIAT 28LVO10RPFI-20 1 EA
12788 WIRE SOLID COPPER 299/2 100 FT
12789 TRANSISTOR 2N2222AUB 130 EA
12790 TRANSISTOR 2N7373 100 EA
12791 SEMICONDUCTOR 30SLJQ030 3 EA
12792 THERMISTOR 311P18-08S7R6 13 EA
12793 CONNECTOR 311P407-25-B-12 1 EA
12794 CONNECTOR 311P409-1P-B-12 1 EA
12795 CONNECTOR, D-SHELL,=NFEMALE 15-PIN 311P409-25-B-12 2 EA
12796 CONNECTOR 311P822-FC-110-AS-D4 2 EA
12797 CONNECTOR 311P822-FC-110-BS-D4 2 EA
12798 CONNECTOR KEY 311P822-FK-01 2 EA
12799 CONNECTOR KEY 311P822-FK-04 2 EA
12800 FEMALE KEY 311P822-FK-16 2 EA
12801 FEMALE KEY 311P822-FK-21 2 EA
12802 FEMALE KEY 311P822-FK-31 1 EA
12803 CONNECTOR 311P822-MC-095-BS-D 2 EA
12804 CONNECTOR KEY 311P822-MK-01 1 EA
12805 CONNECTOR KEY 311P822-MK-04 1 EA
12806 CONNECTOR KEY 311P822-MK-04 1 EA
12807 CONNECTOR, MALE KEYS 311P822-MK-16 2 EA
12808 CPCI SERIES(2MM) CONNECTORS 311P822-MK-21 1 EA
12809 CONNECTOR KEYS 311P822-MK-31 14 EA
12810 CONNECTOR KEYS 311P822-MK-31 1 EA
12811 RESISTOR NETWORK, PRECISIONFOIL, THROUGH-HOLE 321445SF 8 EA
12812 IC 35CGQ100 5 EA
12814 CONNECTOR 5-0002-1 8 EA
12815 MOUNTING DEVICE, S-LEADCC19AC-S00U-0XS 508618-2 68 EA
12816 EMI GASKET 50D22-18 1 EA
12817 COIL 51-1689-E 1 EA
12818 COIL 51-1690-E 2 EA
12819 COIL 51-1691-E 3 EA
12820 COIL 51-1694-E 2 EA
12821 GOWANDA MAGNETICSPULSE TRANSFORMER 51-1738-E 2 EA
12822 BACKSHELL 557-102M4-06CB 1 EA
12823 BACKSHELL 557-103M4-06CB 1 EA
12824 BACKSHELL 557-103M4-06CB 1 EA
12825 HOOK FASTENER, POLYESTERVELCRO 560710-5 3 FT
12826 PILE FASTENER, POLYESTER,VELCRO, 1" 560710-6 7 FT
12827 CLAMP-CABLE TIE 561303-1 80 EA
12828 CLAMP-CABLE TIE 561303-1 8 EA
12829 TIES, CABLE AND WIRETYZ25M (1/16 TO 1-3/4) 561306-1 50 EA
12830 O-RING 561525-45 9 EA
12831 O-RING 561525-48 1 EA
12832 GASKET, EMI - SPIRAL 570518-22 12 FT
12833 BAND, CLAMPING, PRE-COILED, EXTENDED LENGTH / WTG# A10099 570521-1 1 EA
12834 BAND, CLAMPING, PRE-COILED, EXTENDED LENGTH / WTG# A31199 570521-2 3 EA
12835 WIRE, TWIST SHIELD QUAD 24 AWG 570526-13 2 FT
12836 WIRE, SINGLE 26 GAUGE 570526-2 81 FT
12837 WIRE TWISTED SHIELDED QUAD26 GAUGE 570526-5 16 FT
12838 CAPACITOR 570536-2 9 EA
12839 RESISTOR 570556-385 6 EA
12840 RESISTOR 570556-443 27 EA
12841 RESISTOR 570556-461 3 EA
12842 CONNECTOR, CABLE STYLEMICRO-D PIN SHELL SIZE 9 570574-1 2 EA
12843 CONNECTOR MICRO-D SOCKET SHELL SIZE 15 570574-10 1 EA
12844 CONNECTOR MICRO-D SOCKET SHELL SIZE 37 570574-14 1 EA
12845 PIN CONTACT, 24 SIZETWIST PIN FOR 26 AWG WIRE 570574-17 270 EA
12846 PIN CONTACT, 24 SIZETWIST PIN FOR 26 AWG WIRE 570574-17 118 EA
12847 PIN CONTACT 24 AWG 570574-18 205 EA
12848 CONTACT, SOCKET - CRIMP,26 AWG 570574-20 200 EA
12849 CONTACT, SOCKET - CRIMP,26 AWG 570574-20 40 EA
12850 CONNECTOR, CABLE STYLEMICRO-D PIN SHELL SIZE 21 570574-3 1 EA

24 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
12851 CONNECTOR, CABLE STYLEMICRO-D PIN SHELL SIZE 51 570574-7 1 EA
12852 SCREW, CAPTIVE, SOCKET HEAD 570603-30 2 EA
12853 INDUCTOR, POWERPIG: 8203027-1 570638-1 8 EA
12854 CONNECTOR, MA STRIPGROUT TEST SAMPLES 570652-4GT 2 EA
12855 SCREW, LOCK, CONNECTOR MASTRIP 570652-6GT 3 EA
12856 SCREW, LOCK, CONNECTOR MASTRIP 570652-7 8 EA
12857 SCREW, LOCK, CONNECTOR MASTRIP 570652-7 14 EA
12858 SCREW, LOCK, CONNECTOR MASTRIP 570652-7GT 3 EA
12859 THREAD, FILAMENT, NOMEX 570684-1 1 LB
12860 RESISTOR, FIXED, FOIL, ULTRAPRECISION, HERMETICALLY SEALED 570686-3 1 EA
12861 RESISTOR, FIXED, FOIL, ULTRAPRECISION, HERMETICALLY SEALED 570686-4 1 EA
12862 FITTING, TUBE, MALE CONNECTOR 570695-1 1 EA
12863 CONNECTOR, RECPT 570714-48 2 EA
12864 JACKSCREW, SPECIALM83513/05-02 570723-3 3 EA
12865 EMI GASKET, D-SUB CONNECTOR81-01-18089-6000 570725-15 2 EA
12866 EMI GASKET, D-SUB CONNECTOR81-01-18090-6000 570725-16 2 EA
12867 EMI GASKET, D-SUB CONNECTOR1-01-18091-6000 570725-17 2 EA
12868 EMI GASKET, D-SUB CONNECTOR81-01-18092-6000 570725-18 3 EA
12869 EMI GASKET, D-SUB CONNECTOR81-01-18093-6000 570725-19 5 EA
12870 EMI GASKET, D-SUB CONNECTOR81-01-18094-6000 570725-20 6 EA
12871 PIN, DOWEL, METRIC, SPECIAL 570741-020005 1 EA
12872 PIN, DOWEL, METRIC, SPECIAL 570741-020005 1 EA
12873 PIN, DOWEL, METRIC, SPECIAL 570741-020008 2 EA
12874 PIN DOWEL 570741-030008 2 EA
12875 PIN, DOWEL 570741-030008 1 EA
12876 PIN, DOWEL, METRIC, SPECIAL 570741-040010 5 EA
12877 PIN, DOWEL, METRIC, SPECIAL 570741-040016 5 EA
12878 PIN, DOWEL, METRIC, SPECIAL 570741-040018 3 EA
12879 WASHER, METRIC, SPECIAL 570745-2 1 EA
12880 JACK SCREW KIT,D SUB CONNECTOR 570774-12 1 EA
12881 JACK SCREW KIT,D SUB CONNECTOR 570774-12 6 EA
12882 JACK SCREW KIT,D SUB CONNECTOR 570774-6 5 EA
12883 JACK SCREW KIT,D-SUB CONNECTOR 570774-8 2 EA
12884 CONTACT ELE PIN & SOCKET 570776-2 56 EA
12885 LUBED SCREW (M8 X 1.0)M/F: NAOD69A080024 570789-69A080024 12 EA
12886 LUBED SCREW (M5X.8)M/F: 8258648-2 570789-8258648-2 2 EA
12887 SCREW,CAP,HEXAGON SOCKET, M10LUBRICATED M/F 8259657-1 570789-8259657-1 6 EA
12888 CORE, TORID, MANGANESE-ZINC FERRITE 590190-1 2 EA
12889 CORE, TORID, MANGANESE-ZINC FERRITE 590190-1 8 EA
12890 IC 5962-0051501VHA 36 EA
12891 MICROCIRCUIT 5962-0920601KXC 1 EA
12892 MICROCIRCUIT 5962-8773901DA 2 EA
12893 MICROCIRCUIT 5962-8773901DA 2 EA
12894 MICROCIRCUIT 5962-88746012A 2 EA
12895 VOLT REF, 5.0V 5962-8876201GA 3 EA
12896 IC 5962F0050202KXC 2 EA
12897 IC 5962F0050202KXC 2 EA
12898 MICROCIRCUIT 5962F1321501VXC 14 EA
12899 MICROCUIRCUIT, QUAD, DIFF LINE 5962F9568902VXC 15 EA
12900 MICROCIRCUIT 5962F9652402QXA 16 EA
12901 IC DIGITAL 5962F9652402VXA 1 EA
12902 MICROCIRCUIT 5962G9651401QXA 6 EA
12903 MICROCIRCUIT 5962G9652401QXA 1 EA
12904 MICROCIRCUIT 5962G9652401QXA 5 EA
12905 MICROCIRCUIT 5962H9651402VXA 2 EA
12906 MICROCIRCUIT 5962H9652402VXA 6 EA
12907 MICROCIRCUIT 5962H9656901VXA 3 EA
12908 MICROCIRCUIT LINEAR AD8561 5962L0051502VHA 9 EA
12909 MICROCIRCUIT LINEAR AD8561 5962L0051502VHA 10 EA
12910 IC 5962R1120501KYC 9 EA
12911 IC 5962R1120501KYC 3 EA
12912 MICROCIRCUIT, LINEAR, RADIATIO 5962R8551401VHA 6 EA
12913 MICROCIRCUIT, LINEAR, RADIATIO 5962R8551401VHA 4 EA
12914 IC 5962R8856501V2A 2 EA
12915 MICROCIRCUIT 5962R8954203VGA 8 EA
12916 MICROCIRCUIT 5962R9651701QXA 24 EA
12917 MICROCIRCUIT 5962R9651703VXA 17 EA
12918 ACMOS HEX 5962R9652403VXA 3 EA
12919 MICROCIRCUIT, DIGITAL, RADIATION HARDENED, ADVANCED CMOS, SC 5962R9858006VXC 9 EA
12920 MICROCIRCUIT, LINEAR 5962R9865103VYC 1 EA
12921 MICROCIRCUIT, LINEAR - 3 VOLTLVDS QUAD CMOS DIFFERENTIAL LI 5962R9865203VYC 1 EA
12922 MICROBAND 600-057-1 3 EA
12923 INDUCTOR, POWER, SINGLE WIND 62104 2 EA
12924 SHIELDING BEAD 623-2773019446 6 EA
12925 CONNECTOR KEY 8183611-10 10 EA
12926 CONNECTOR KEY 8183611-11 500 EA
12927 CONNECTOR KEY 8183611-12 500 EA
12928 CUBE, ALIGNMENT ASSY 8183672G2 1 EA
12929 PWB TEMPERATURE SENSORMP-2123 8183736-1 11 EA
12930 CONNECTOR, RECEPTACLE - PWB, 100 PIN CONTACTS 8183754-23 1 EA
12931 CONNECTOR, RECEPTACLE - PWB, 122 PIN CONTACTS, RA 8183756-11 2 EA
12932 CONNECTOR, RECEPTACLE - PWB, 152 PIN CONTACTS, RA 8183756-12 2 EA
12933 CONNECTOR, RECEPTACLE, 3 ROW152 PIN 8183757-5 2 EA
12934 CONNECTOR, RECEPTACLE, 3 ROW122 SOCKET CONTACTS 8183757-6 2 EA
12935 CONNECTOR 8183761-30 1 EA
12936 CONNECTOR 8183761-31 2 EA
12937 CONNECTOR 8183761-32 5 EA
12938 CONNECTOR 8183762-2 17 EA
12939 CONNECTOR, RECEPTACLE-PWB,164 SOCKET CONTACTS 8192865-1 3 EA
12940 CONNECTOR, RECEPTACLE-PWB,164 SOCKET CONTACTS 8192865-4 2 EA
12941 CONNECTOR, RECEPTACLE-PWB,164 SOCKET CONTACTS 8192865-5 2 EA
12942 HOUSING, TEMPERATURE SENSOR 8201501-1 6 EA
12943 HOUSING, TEMPERATURE SENSOR 8201501-2 6 EA
12944 COVER PLATE, TEMPERATURE SENS 8201502-1 9 EA
12945 TEMPERATURE SENSOR 8201523-2 4 EA
12946 TEMPERATURE SENSOR 8201523-4 2 EA
12947 CONNECTOR 8201552-1 3 EA
12948 TERMINAL, SOLDER - ANGLED 8201557-1 49 EA
12949 SOLDER TERMINAL 8201557-2 1000 EA
12950 TERMINAL, SOLDER 8201557-6 22 EA
12951 TERMINAL, SOLDER - ANGLED 8201557-8 3 EA
12952 TEST POINT, SURFACE MOUNT 8202823-1 227 EA
12953 HOLDER 8202902-1 2 EA
12954 SCREW, CAP, HEX, MODIFIED.M/F NAO069A020010 8202966-3 4 EA
12955 GASKET, EMI - SPIRAL 8202967-1 20 FT
12956 JACKPOST, PANEL MOUNT 8203123-1 2 EA
12957 JACKPOST, PANEL MOUNT 8203123-2 2 EA
12958 WASHER, PLAIN, METRIC, M8 8203219-080 12 EA
12959 SUPPORT, SLIP RING 8203893-1 1 EA
12960 KEY, STATOR 8203905-1 1 EA
12961 KEY, STATORGROUP TESTING 8203905-1GT 2 EA
12962 BUSHING, LEFT, FLEXURE, SSM 8203907-3 1 EA
12963 BUSHING, LEFT, FLEXURE, SSM 8203907-4 1 EA
12964 FERREL, MOTOR 8203912-1 1 EA
12965 COLLAR, STATOR, SSM 8203915-1 1 EA
12966 STANDOFF, CCA 8203934-1 1 EA
12967 BEARING, DUPLEX - SSM 8204030-1 1 EA
12968 BEARING, SINGLE - SSM 8204031-1 1 EA

250f 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
12969 WASHER, FLAT, REDUCED OD 8207004-1 2 EA
12970 INDUCTOR-COMMON AND DIFFERENTIAL MODE, THROUGH-HOLE 8207691-2 8 EA
12971 CAPACITOR - CER, STACK, 4.7UF, 10%, 100V, S-LEAD, SPACEFLIGH 8207707-1 1 EA
12972 HEADER - TOROID 8207743-1 2 EA
12973 MICRO D SOCKET SHELLSIZE 15 8207746-10 1 EA
12974 SOCKET CONTACT FOR 24 AWG 8207746-19 175 EA
12975 SOCKET CONTACT FOR 26 AWG 8207746-20 175 EA
12976 BACKSHELL,CONNECTOR-ELLIPTICALENTRY,EMI-MODIFIED 8207889-1 1 EA
12977 CORE SET, INDUCTOR 8224910-1 1 EA
12978 CONNECTOR, HIGH DENSITY 8225296-5 1 EA
12979 CONNECTOR, HIGH DENSITY 8225296-6 1 EA
12980 CONNECTOR, HIGH DENSITY 8225296-7 1 EA
12981 CONNECTOR, HIGH DENSITY 8225296-8 1 EA
12982 RETAINER CAPACITOR TOP 8226032-1 2 EA
12983 INDUCTOR BRACKET 8226040-1 1 EA
12984 RETAINER CAPACITOR BASE 8226041-1 1 EA
12985 SWITCH, THERMOSTATIC GFSC # G311P641/037015-08A004G 8226813-4 6 EA
12986 SWITCH, THERMOSTATIC GSFC # G311P641/037015-15A-03G 8226813-5 6 EA
12987 COATED, M/F RWR81S10ROFS, Wirewound 10 Ohm 1% 1W +20ppm/°C 0.001% Ceramic 8231714-11 1 EA
12988 COATED, M/F RWR81S49R9FS, Wirewound 49.9 Ohm 1% 1W +20ppm/°C 0.001% 8231714-12 1 EA
12989 RESISTOR, FIXED, RWRCOATED, M/F RWR81S5R11FS 8231714-13 2 EA
12990 COATED, M/F RWR89N5RI0FS,Wirewound Resistor 5.90hm 1% 3 W £50 ppm/°C 2-Pin Axial Leaded T/R 8231714-15 2 EA
12991 COVER ALIGNMENT CUBECAPTIVATED 8258025-1 1 EA
12992 THIN SI LW FILTERS 8258491-1 8 EA
12993 BUSHING, BENCH6MM DIA OD X 6MM LG 8258614-3 2 EA
12994 BUSHING, BENCH6MM DIA OD X 6MM LG 8258614-3 6 EA
12995 BUSHING, BENCH4MM DIA OD X 10MM LG 8258614-5 2 EA
12996 ISOLATOR WITNESS SAMPLE 8258624-1WS 2 EA
12997 COVER, HOUSING 8258638-2 2 EA
12998 HEATER 8258639-2 1 EA
12999 SCREW, CAPM/F: NAOO69A030020 8258648-1 6 EA
13000 THERMAL MOUNTING FOOTGROUP TESTING 8258652-1GT 2 EA
13001 SHIM 8258653-1 1 EA
13002 SHIM 8258653-2 1 EA
13003 SHIM 8258653-3 1 EA
13004 SHIM 8258653-4 1 EA
13005 SHIM 8258653-5 1 EA
13006 COVER, ALIGNMENT CUBE 8258655G1 1 EA
13007 SHIM, FILTER, MYLARM/F 561802-1 8258657-1 1 EA
13008 SHIM, TELESCOPEBRACKET 8258666-1 1 EA
13009 SHIM, TELESCOPEBRACKET 8258666-2 1 EA
13010 SHIM, TELESCOPEBRACKET 8258666-4 1 EA
13011 SHIM, TELESCOPEBRACKET 8258666-5 1 EA
13012 SHIM, TELESCOPEBRACKET 8258666-6 1 EA
13013 SHIM, TELESCOPEBRACKET 8258666-7 1 EA
13014 WASHER, FLAT 8258679-1 8 EA
13015 COVER, REAR, EU HOUSING 8258704G2 1 EA
13016 COLLAR, SPLIT TEST COUPONS 8258762-1WS 2 EA
13017 COLLAR, SPLIT TEST COUPONS 8258762-2WS 2 EA
13018 COVER, REAR 8258797-1 1 EA
13019 RBI RTM TELESCOPE ASSEMBLYGROUP TESTING 8258818G2GT 6 EA
13020 RING, ADJUSTMENTTELESCOPE 8258832-2 4 EA
13021 SPACER, TOTAL TELESCOPEGROUP TESTING 8258835-1GT 2 EA
13022 PLATE, PRIMARY 8258851G2 2 EA
13023 PLATE, SECONDARY 8258852G1-WS 1 EA
13024 PLATE, SECONDARY 8258852G2 1 EA
13025 HOUSING, ASSEMBLY 8258856G2 2 EA
13026 HOUSING, ASSEMBLY 8258857G2 2 EA
13027 COVER, TEMP SENSOR, PRIMARY 8258858-2 2 EA
13028 PLATE, LEFT SIDE 8258862G2 2 EA
13029 PLATE, RIGHT SIDE 8258863G2 2 EA
13030 BRACKET, MOUNTING, ICT 8258864-1 1 EA
13031 ICT PAINT COUPON 8258866-1 1 EA
13032 PAINT COUPON, ICT 8258866-2 13 EA
13033 BRACKET, MOUNTING EXTERNALFILTER MODULE - TEST COUPONS 8258936-1WS 2 EA
13034 SHIM, LAMINATEDRBI, ALUMINUM 8258948-1 2 EA
13035 SHIM, LAMINATEDRBI, ALUMINUM 8258948-2 2 EA
13036 SHIM, LAMINATEDRBI, ALUMINUM 8258948-3 2 EA
13037 SHIM, LAMINATEDRBI, ALUMINUM 8258948-4 1 EA
13038 FILTER MOUNT SHIM 8259608-1 24 EA
13039 FILTER MOUNT SHIM 8259608-2 28 EA
13040 FILTER MOUNT SHIM 8259608-3 24 EA
13041 FILTER MOUNT SHIM 8259608-4 12 EA
13042 FILTER MOUNT SHIM 8259608-5 14 EA
13043 FILTER MOUNT SHIM 8259608-6 12 EA
13044 CUBE, ALIGNMENT 8259652-1 1 EA
13045 PLATE, ADAPTER 8259653G1 1 EA
13046 HEATER SURVIVAL THRMOFOIL 8259656-1 1 EA
13047 HEATER SURVIVAL THRMOFOIL 8259656-1 1 EA
13048 HEATER SURVIVAL THRMOFOIL 8259656-1 1 EA
13049 HEATER SURVIVAL THRMOFOIL 8259656-1 1 EA
13050 COVER, CONNECTOR 8259702-1 1 EA
13051 SHIM, EU OUTER 8259715-1 1 EA
13052 SHIM, EU OUTER 8259715-11 1 EA
13053 SHIM, EU OUTER 8259715-2 1 EA
13054 SHIM, EU OUTER 8259715-3 1 EA
13055 SHIM, EU OUTER 8259715-5 1 EA
13056 SHIM, EU OUTER 8259715-6 1 EA
13057 SHIM, EU OUTER 8259715-7 1 EA
13058 SHIM, EU OUTER 8259715-8 1 EA
13059 SHIM, EU OUTER 8259715-9 1 EA
13060 SHIM, EU CENTER 8259716-1 5 EA
13061 SHIM, EU CENTER 8259716-11 5 EA
13062 SHIM, EU CENTER 8259716-2 5 EA
13063 SHIM, EU CENTER 8259716-3 5 EA
13064 SHIM, EU CENTER 8259716-5 5 EA
13065 SHIM, EU CENTER 8259716-6 5 EA
13066 SHIM, EU CENTER 8259716-7 5 EA
13067 SHIM, EU CENTER 8259716-8 5 EA
13068 SHIM, EU CENTER 8259716-9 5 EA
13069 FLEX, CABLE ASSYCSM TEST FLEX, S2 8259780G1 1 EA
13070 SPACER, CSM MOTOR 8259786-1 1 EA
13071 SPACER, CSM MOTOR 8259786-2 1 EA
13072 SPACER, CSM MOTOR 8259786-3 1 EA
13073 STANDOFF, THERMAL SHROUD 8259855-1 4 EA
13074 THERMAL SHIELD, ICT 8259856-1 1 EA
13075 SCREW, CUSTOM LENGTHM/F: NAOO69A025006 8259858-1 2 EA
13076 SHIM, LAMINATEDRBI, CRES 8259948-1 1 EA
13077 SHIM, LAMINATEDRBI, CRES 8259948-2 1 EA
13078 SHIM, LAMINATEDRBI, CRES 8259948-3 1 EA
13079 PWB EU BACKPLANE 8260003-1 1 EA
13080 PWB EU BACKPLANE 8260003-1 1 EA
13081 PWB EU BACKPLANEGROUP TESTING 8260003-1GT 1 EA
13082 PWB, AZIMUTH CAL CONTROL 8260033-1 1 EA
13083 PWB, AZIMUTH CAL CONTROL 8260033-1GT 2 EA
13084 PWB EU FILTER 8260063-1 1 EA
13085 PRINTED WIRING BOARD - DETECTOR ELECTRONICS 8260083-1 1 EA
13086 PRINTED WIRING BOARD - DETECTOR ELECTRONICS 8260083-1 1 EA

26 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
13087 PWB SCM CE PWBEDU 8260113-1 1 EA
13088 PWB SCM CE PWBEDU 8260113-1 1 EA
13089 PWB SCM CE PWBEDU 8260113-1GT 34 EA
13090 PWB- EU TEST 8260453-1 1 EA
13091 CABLE ASSY, ENCODER 8260793G1 1 EA
13092 CABLE ASSY- ENCODER EXTENDERFLEX 8260793G2 1 EA
13093 SEMICONDUCTOR 8CLIQ045 2 EA
13094 SEMICONDUCTOR 8CLIQ045 6 EA
13095 SCREW 100/PK 90666A106 100 EA
13096 WASHER500/PACK 90945A711 500 EA
13097 WASHER250/PK 90945A713 248 EA
13098 INSERT MCMASTER-CARR 91732A806 96 EA
13099 SCREW, MACHINE FLATMCMASTER-CARR 1PK/100 92010A004 101 EA
13100 SCREW 25/PK 92290A056 25 EA
13101 SCREW 25/PK 92290A058 25 EA
13102 SCREW 50/PK 92290A060 50 EA
13103 SCREW 25/PK 92290A062 26 EA
13104 18-8 STAINLESS STEEL CUPPOINT SET SCREW 92311A088 90 EA
13105 PIN, DOWELMCMASTER-CARR 93600A727 12 EA
13106 EMI GASKET 9D12-18 1 EA
13107 MOUNTING PAD A-55485/07-001D 10 EA
13108 PROASIC PROTOTYPING 624CGA ACT-H3KI-CG624 1 EA
13109 FPGA AX2000-1FG896I 12 EA
13110 FPGA AX2000-1FG896! 7 EA
13111 CONNECTOR CBJ3157 1 EA
13112 CAPACITOR CDRO3BX183BKUS 1236 EA
13113 CAPACITOR CDRO03BX333BKUS 1243 EA
13114 CAPACITOR-CERAMIC CDR31BP100BFUS 20 EA
13115 CAPACITOR, CERAMIC, CHIP, 100PF, 1% CDR31BP101BFUS 5 EA
13116 CAPACITOR CDR31BP101BKUS 1 EA
13117 CAPACITOR CDR31BP101BKUS 44 EA
13118 CAPACITOR CDR31BP101BKUS 880 EA
13119 CAPACITOR CDR31BP161BFUS 123 EA
13120 CAPACITOR CDR31BP200BJUS 349 EA
13121 CAPACITOR CDR31BP200BKUS 271 EA
13122 CAPACITOR CDR31BP200BKUS 3 EA
13123 CAPACITOR CDR31BP200BKUS 223 EA
13124 CAPACITOR CDR31BP200BKUS 104 EA
13125 CAPACITOR CDR31BP220BKUS 319 EA
13126 CAPACITOR CDR31BP221BFUS 1 EA
13127 CAPACITOR CDR31BP221BFUS 38 EA
13128 CAPACITOR(PIG: M123A10BPC221KS) CDR31BP221BKUS 98 EA
13129 CAPACITOR(PIG: M123A10BPC221KS) CDR31BP221BKUS 426 EA
13130 CAPACITOR CDR31BP271BFUS 68 EA
13131 CAPACITOR-CERAMIC CDR31BP330BFUS 14 EA
13132 CAPACITOR CDR31BP330BKUS 46 EA
13133 CAPACITORS, CHIP, MULTIPLE LAYER, FIXED, CERAMIC DIELECTRIC, CDR31BP331BKUS 468 EA
13134 CAPACITORS, CHIP, MULTIPLE LAYER, FIXED, CERAMIC DIELECTRIC, CDR31BP331BKUS 42 EA
13135 CAPACITOR CDR31BP390BKUS 200 EA
13136 CAPACITOR CDR31BP390BKUS 1000 EA
13137 CAPACITORS, CHIP, MULTIPLE LAY CDR31BP391BKUS 3 EA
13138 CAPACITORS, CHIP, MULTIPLE LAY CDR31BP391BKUS 178 EA
13139 CAPACITOR CDR31BP561AKUS 211 EA
13140 CAPACITOR CDR31BP681AJUS 264 EA
13141 CAPACITOR CDR31BP6R8BBUS 2 EA
13142 CAPACITOR CDR31BX102BKUS 41 EA
13143 CAPACITOR CDR31BX103AKUR 782 EA
13144 CAPACITOR CDR31BX103AKUS 360 EA
13145 CAPACITOR CDR31BX103AKUS 5 EA
13146 CAPACITOR CDR31BX103AKUS 1 EA
13147 CAPACITOR CDR31BX103BKUR 193 EA
13148 CAPACITOR, CHIP, CERAMIC, 100V CDR31BX182BKUS 2 EA
13149 CAPACITOR CDR31BX222BKUS 73 EA
13150 CAPACITOR,CHIP,FIXED,CERAMIC DIEL.,STYLE CDR31_10% CDR31BX332BKUS 50 EA
13151 CAPACITOR CDR31BX681BMUS 400 EA
13152 CAPACITOR CDR31BX682AKUS 1362 EA
13153 CAPACITOR,CHIP,FIXED CERAMIC DIEL.,STYLE CDR32 CDR32BP101BFUS 118 EA
13154 CAPACITOR CDR32BP102BFUS 3 EA
13155 CAPACITOR CDR32BP102BFUS 11 EA
13156 CAPACITOR CDR32BP102BFUS 1 EA
13157 CAPACITOR CDR32BP102BKUS 351 EA
13158 CAPACITOR CDR32BP222AFUS 24 EA
13159 CAPACITOR,CHIP,FIXED,CERAMIC D CDR32BP222AKUS 346 EA
13160 CAPACITOR,CHIP,FIXED,CERAMIC D CDR32BP222AKUS 931 EA
13161 CAPACITOR, CHIP, 27PF CDR32BP270BKUS 184 EA
13162 CAPACITOR CDR32BP390BFUS 120 EA
13163 CAPACITORS, CHIP, MULTIPLE LAY CDR32BP470BFUS 25 EA
13164 CAPACITOR,CHIP,FIXED,CERAMIC D CDR32BP470BKUS 250 EA
13165 CAPACITOR CDR32BP471BKUS 3 EA
13166 CAPACITOR CDR32BX103BKUS 6 EA
13167 CAPACITOR CDR32BX103BKUS 28 EA
13168 CAPACITOR CDR32BX183AKUS 450 EA
13169 CAPACITORS, CHIP, MULTIPLE LAYER, FIXED, CERAMIC DIELECTRIC, CDR33BP102BKUS 7 EA
13170 CAPACITOR CDR33BP182BKUS 159 EA
13171 CAPACITOR CDR33BP222BFUS 2 EA
13172 CAPACITOR CDR33BP222BFUS 25 EA
13173 CAPACITOR CDR33BX104AKUS 192 EA
13174 CAPACITOR CDR33BX223BKUS 5 EA
13175 CAPACITOR CHIP FIXED 1% CDR34BP103AFUS 21 EA
13176 CAPACITOR CHIP FIXED 1% CDR34BP103AFUS 1 EA
13177 CAPACITOR CDR34BP103AKUS 34 EA
13178 CAPACITOR CDR34BX563BKUS 170 EA
13179 CAPACITOR CDR35BP103BFUS 31 EA
13180 CAPACITOR CDR35BP103BFUS 4 EA
13181 CAPACITOR CDR35BP103BKUS 1083 EA
13182 CAPACITOR CDR35BX104BKUS 20 EA
13183 CAPACITOR CHIP FIXED CDR35BX224AKUS 86 EA
13184 CAPACITOR CHIP FIXED CDR35BX224AKUS 1021 EA
13185 CAPACITOR CHIP FIXED 10% CDR35BX474AKUS 21 EA
13186 CAPACITORS, CHIP, MULTIPLE LAY CDR35BX563BKUS 300 EA
13187 CAPACITORS, CHIP, FIXED, TANTALUM, ESTABLISHED RELIABILITY, CWRO9FC156KCB 10 EA
13188 CAPACITOR CWRO9HC106KCB 1 EA
13189 CAPACITOR CWRO9HC336KC 10 EA
13190 CAPACITOR CWRO9HC336KCB 15 EA
13191 CAPACITOR, CHIP, FIXED, TANTALUM, EST. REL, STYLE CWR09 CWRO09KC106KCB 1 EA
13192 CAPACITOR, CHIP, FIXED, TANTALUM, EST. REL., STYLE CWR09 CWR09KK106KCB 8 EA
13193 CAPACITOR CWR09MK475KCB 4 EA
13194 CAPACITOR CWRO9NC475KCB 2 EA
13195 CAPACITOR CWRO9NK335KCB 5 EA
13196 CAPACITOR CWRO9NK475KCB 1 EA
13197 CAPACITOR CWR11FH476)BB 21 EA
13198 CAPACITOR CWR11HH106JCB 19 EA
13199 CAPACITOR CWR11HH106KCB 23 EA
13200 CAPACITOR, CHIP, FIXED, TANTALUM, ESTABLISHED RELIABILITY, S CWR11HH336JBB 20 EA
13201 CAPACITOR, CHIP, FIXED, TANTALUM, ESTABLISHED RELIABILITY, S CWR11HH336JBB 12 EA
13202 CAPACITOR CWR11KH105JBA 59 EA
13203 CAPACITOR CWR11KH685KCB 21 EA
13204 CAPACITOR CWR11MH335JCB 11 EA

27 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
13205 CAPACITOR CWR11MH685JCB 5 EA
13206 CAPACITOR CWR11MK685JCB 1 EA
13207 CAPACITOR CWR19JC476KBHB 5 EA
13208 CAPACITOR CWR29HK686KCHB 1 EA
13209 CAPACITOR CWR29HK686KCHB 3 EA
13210 CAPACITOR CWR29MK106KCHB 19 EA
13211 CAPACITOR CWR29MK106KCHB 4 EA
13212 CONNECTOR D2514-6VOC-AR-WD 4 EA
13213 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 2, 1M Q D55342E07B1FO0R 46 EA
13214 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, 100 Q D55342K07B100DS 6 EA
13215 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, 10K Q D55342K07B10EQS 4 EA
13216 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, 15 Q D55342K07B15D0S 18 EA
13217 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 2, 1 OHM D55342K07B1DO0R 21 EA
13218 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, 1 OHM D55342K07B1D00S 8 EA
13219 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, Q D55342K07B1D21S 23 EA
13220 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, Q D55342K07B1D50S 23 EA
13221 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, Q D55342K07B1E50S 19 EA
13222 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, Q D55342K07B1E62S 8 EA
13223 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, Q D55342K07B20EQS 22 EA
13224 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, Q D55342K07B274DS 94 EA
13225 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, Q D55342K07B2D00S 26 EA
13226 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, Q D55342K07B2D00S 19 EA
13227 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, Q D55342K07B2D74S 9 EA
13228 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, Q D55342K07B49E9S 4 EA
13229 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, Q D55342K07B4E99S 5 EA
13230 RESISTORS, FIXED, FILM, CHIP, 1206 250mW +25PPM LEVEL 1, Q D55342K07B64D9S 23 EA
13231 FILTER DVMC28F 3 EA
13232 MICROCIRCUIT DVTR2805SF 3 EA
13233 MICROCIRCUIT DVTR2805SF 2 EA
13234 MICROCIRCUIT DVTR2812DF 1 EA
13235 CONTACT FC6026M2 165 EA
13236 ALDEC PROTOTYPING FLASH PRO 5 FLASHPROS 5 EA
13237 EMI FILTER FMC-461F 1 EA
13238 CONTACT G08S1 123 EA
13239 CONNECTOR GMR758051P1BSU 2 EA
13240 CONNECTOR GMR758051P1BSU 2 EA
13241 CONNECTOR GMR75805151BSU 2 EA
13242 CONNECTOR GMR75805151BSU 2 EA
13243 CONNECTOR GMR75805151BSU 1 EA
13244 CONNECTORS GMR7590C-37P1BM 1 EA
13245 SPACEWIRE CABLE GROUND GSC-05-82963 63 FT
13246 HEATER, THERMOFOIL HK6918 5 EA
13247 HEATER, THERMOFOIL HK6918 1 EA
13248 SRAM HLX6256NEN 8 EA
13249 MICROCIRCUIT HS9-1840ARH/PROTO 5 EA
13250 MICROCIRCUIT HS9-1840ARH/PROTO 17 EA
13251 MICROCIRCUIT HS9-1840ARH/PROTO 2 EA
13252 MICROCIRCUIT HS9-1840BRH/PROTO 5 EA
13253 MICROCIRCUIT DIGITAL QUAD HS9-26CLV31RH/PROTO 2 EA
13254 MICROCIRCUIT HS9-26CLV32RH/PROTO 1 EA
13255 MICROCIRCUIT HS9-26CLV32RH/PROTO 2 EA
13256 MICROCIRCUIT HS9-4424BRH/PROTO 5 EA
13257 MICROCIRCUIT HS9-4424BRH/PROTO 1 EA
13258 MICROCIRCUIT HS9-4424BRH/PROTO 2 EA
13259 IC HS9-508BRH/PROTO 8 EA
13260 IC HS9-565BRH/PROTO 2 EA
13261 TAG HTCM-SCE-TP-1/2-4H-9 1 EA
13262 CONNECTOR IPL1-104-01-H-D-K 1 EA
13263 CONNECTOR IPL1-105-01-H-D-K 1 EA
13264 CONNECTOR IPL1-106-01-H-D-K 2 EA
13265 CONNECTOR IPL1-112-01-H-D-K 4 EA
13266 CONNECTOR IPL1-120-02-H-D-K 6 EA
13267 SEMICONDUCTOR IRHLUB770Z4 16 EA
13268 SEMICONDUCTOR IRHLUB770Z4 11 EA
13269 SEMICONDUCTOR IRHM7250 7 EA
13270 SEMICONDUCTOR IRHM7250 6 EA
13271 SEMICONDUCTOR IRHM7250 2 EA
13272 SEMICONDUCTOR IRHM9160 2 EA
13273 FET IRHMB57260SE 15 EA
13274 TRANSISTOR IRHNJ57130 3 EA
13275 TRANSISTOR IRHNJ57130 2 EA
13276 SEMICONDUCTOR IRHNJ57230 30 EA
13277 SEMICONDUCTOR IRHNJ57Z30 30 EA
13278 SEMICONDUCTOR IRHNJ597034 3 EA
13279 SEMICONDUCTOR IRHNJ597034 16 EA
13280 SEMICONDUCTOR IRHNJ597130 5 EA
13281 SEMICONDUCTOR IRHNJ597130 8 EA
13282 SEMICONDUCTOR IRHNJ597130 7 EA
13283 SEMICONDUCTOR IRHNJ597130 1 EA
13284 MICROCIRCUIT ISL70227SEHF/PROTO 2 EA
13285 MICROCIRCUIT ISL70227SEHF/PROTO 8 EA
13286 MICROCIRCUIT ISL70227SEHF/PROTO 5 EA
13287 MICROCIRCUIT ISL70227SEHF/PROTO 2 EA
13288 MICROCIRCUIT ISL70227SEHF/PROTO 4 EA
13289 MICROCIRCUIT ISL70244SEHF/PROTO 1 EA
13290 MICROCIRCUIT ISL70417SEHF/PROTO 13 EA
13291 MICROCIRCUIT ISL71590SEHF/PROTO 4 EA
13292 MICROCIRCUIT 1SL74422ARHF/PROTO 18 EA
13293 SEMICONDUCTOR DEVICE, DIODE -SILICON FAST RECOVERY POWER JANSIN5811US 6 EA
13294 DIODE JANS1N6314US 9 EA
13295 SEMICONDUCTOR JANSIN6317D 25 EA
13296 ZENER DIODE JANSIN6326USGT 1 EA
13297 SEMICONDUCTOR JANS1N6642US 28 EA
13298 SEMICONDUCTOR JANS2N2222AUB 1 EA
13299 SEMICONDUCTOR JANS2N2907AUB 5 EA
13300 SEMICONDUCTOR JANS2N2907AUB 1 EA
13301 SEMICONDUCTOR JANS2N5154U3 10 EA
13302 SEMICONDUCTOR JANS2N5154U3 10 EA
13303 TRANSISTOR JANS2N7373 10 EA
13304 MOSFET JANSF2N7424U 1 EA
13305 MOSFET JANSR2N7425U 1 EA
13306 MICROCIRCUIT JANSR2N7506U8 16 EA
13307 TRANSISTOR JANSR2N7616UB 4 EA
13308 SEMICONDUCTOR JANTX1N4103UR-1 98 EA
13309 SEMICONDUCTOR JANTX1N4626UR-1 32 EA
13310 DIODE JANTX1N5811US 7 EA
13311 DIODE JANTX1N5811US 2 EA
13312 SEMICONDUCTOR JANTXIN5819UR-1 82 EA
13313 SEMICONDUCTOR JANTX1N5822US 43 EA
13314 SEMICONDUCTOR JANTX1N5822US 19 EA
13315 DIODE JANTX1N6314US 132 EA
13316 SEMICONDUCTOR JANTX1N6317 1 EA
13317 SEMICONDUCTOR JANTX1N6320 1 EA
13318 DIODE JANTX1N6321US 97 EA
13319 SEMICONDUCTOR JANTX1N6326 2 EA
13320 SEMICONDUCTOR JANTX1N6326US 34 EA
13321 SEMICONDUCTOR JANTX1N6326US 2 EA
13322 SEMICONDUCTOR JANTX1N6330US 3 EA

28 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
13323 SEMICONDUCTOR JANTX1IN6330US 2 EA
13324 DIODE JANTX1ING6642 3 EA
13325 SEMICONDUCTOR JANTX1IN6642UB 3 EA
13326 SEMICONDUCTOR JANTXIN6642UBCA 25 EA
13327 SEMICONDUCTOR JANTX1IN6642UBCC 25 EA
13328 SEMICONDUCTOR JANTX1IN6642US 10 EA
13329 SEMICONDUCTOR JANTX1IN6642US 64 EA
13330 SEMICONDUCTOR JANTX1IN6642US 6 EA
13331 DIODE JANTX2N2222AUB 10 EA
13332 DIODE JANTX2N2222AUB 5 EA
13333 DIODE JANTX2N2222AUB 12 EA
13334 DIODE JANTX2N2222AUB 1 EA
13335 DIODE JANTX2N2222AUB 9 EA
13336 TRANSISTOR JANTX2N2907AUB 92 EA
13337 TRANSISTOR JANTX2N2907AUB 26 EA
13338 SEMICONDUCTOR JANTX2N3635 3 EA
13339 SEMICONDUCTOR JANTX2N3635 3 EA
13340 SEMICONDUCTOR JANTX2N3700UB 9 EA
13341 SEMICONDUCTOR JANTX2N3700UB 9 EA
13342 SEMICONDUCTOR JANTX2N5153U3 100 EA
13343 SEMICONDUCTOR JANTX2N5154U3 92 EA
13344 SEMICONDUCTOR JANTX2N5681 27 EA
13345 SEMICONDUCTOR DEVICE-DIODE JANTXV1IN5711UR-1 2 EA
13346 DIODE JANTXVING6321US 3 EA
13347 DIODE JANTXVIN752A-1 4 EA
13348 SEMICONDUCTOR JANTXV2N5153U3 2 EA
13349 SEMICONDUCTOR JANTXV2N5154U3 10 EA
13350 SEMICONDUCTOR JANTXV2N5682 2 EA
13351 SEMICONDUCTOR JANTXV2N7616UB 3 EA
13352 CONNECTOR K2A110FFDATABH 2 EA
13353 CONNECTOR, PLUG - RIGHT ANGLE K2B0O95FMD-TBH 3 EA
13354 MICROCIRCUIT LM124AW/883 10 EA
13355 IC, OPAMP LM124AWG/883 5 EA
13356 IC, OPAMP LM124AWG/883 15 EA
13357 MICROCIRCUIT LM124AWGRL 1 EA
13358 MICROCIRCUIT LM139AW/883 2 EA
13359 MICROCIRCUIT LM139AW/883B 23 EA
13360 IC LM139AWG/883 1 EA
13361 MICROCIRCUIT LM139AWG-QMLV 1 EA
13362 MICROCIRCUIT LT1021BMH-5 6 EA
13363 PRECISION REFERENCE LT1021BMH-5/883 3 EA
13364 CAPACITOR M123A21BPB222KS 2 EA
13365 INSULATION SLEEVING, 3/64"STRANCO M23053/8-001-C 14 FT
13366 SLEEVING, 1/16" M23053/8-002-C 8 FT
13367 HEAT SHRINK, 3/32"STRANCO M23053/8-003-C 11 FT
13368 HEAT SHRINK, 3/16"STRANCO M23053/8-005-C 100 FT
13369 HEAT SHRINK, 3/16"STRANCO M23053/8-005-C 19 FT
13370 HEAT SHRINK, 3/8" M23053/8-007-C 3 FT
13371 Resistor, Chip, Fixed, Film, Zero OHM, Industrial, High Reliability, Space Level M32159B04T 7 EA
13372 Resistor, Chip, Fixed, Film, Zero OHM, Industrial, High Reliability M32159B06M 26 EA
13373 Resistor, Chip, Fixed, Film, Zero OHM, Industrial, High Reliability M32159B06M 1 EA
13374 Resistor, Chip, Fixed, Film, Zero OHM, Industrial, High Reliability M32159B06M 105 EA
13375 Resistor, Chip, Fixed, Film, Zero OHM, Industrial, High Reliability, Space Level M32159B06T 1 EA
13376 Resistor, Chip, Fixed, Film, Zero OHM, Industrial, High Reliability M32159B12M 31 EA
13377 Resistor, Chip, Fixed, Film, Zero OHM, Industrial, High Reliability M32159B12M 17 EA
13378 Resistor, Chip, Fixed, Film, Zero OHM, Industrial, High Reliability, Space Level M32159B12T 21 EA
13379 Resistor, Chip, Fixed, Film, Zero OHM, Industrial, High Reliability M32159G12M 146 EA
13380 CAPACITOR M39006/22-0608 2 EA
13381 CAPACITOR M39006/22-0608 5 EA
13382 CAPACITOR M39006/25-0264H 13 EA
13383 CAPACITOR, TANTALUM SLUG, 10UF, 10%, 100V M39006/31-0250H 2 EA
13384 CAPACITOR, TANTALUM SLUG, 10UF, 10%, 100V M39006/31-0250H 11 EA
13385 CAPACITOR, TANTALUM SLUG, 10UF, 10%, 100V M39006/31-0250H 14 EA
13386 RELAYPIG: G311P754/08-002 M39016/31-002M 2 EA
13387 RELAYS M39016/9-016 4 EA
13388 CAPACITOR M49470R01474KCN 3 EA
13389 CAPACITOR M49470X01105KBN 1 EA
13390 CAPACITOR M49470X01185KBN 1 EA
13391 CAPACITOR M49470X01186KBN 2 EA
13392 CAPACITOR M49470X01335KA) 15 EA
13393 CAPACITOR M49470X01335KA) 3 EA
13394 CAPACITOR M49470X01335KAN 3 EA
13395 CAPACITOR M49470X01475KBN 7 EA
13396 CAPACITOR M49470X1225KA) 3 EA
13397 RESISTOR M55342E038B976AR 24 EA
13398 RESISTOR M55342E04B332DS 25 EA
13399 RESISTOR M55342E06B100DS 9 EA
13400 RESISTOR M55342E06B100DS 7 EA
13401 RESISTOR CHIP FIXED 100K M55342E06B100ES 23 EA
13402 RESISTOR CHIP FIXED 100K M55342E06B100ES 6 EA
13403 RESISTOR M55342E06B107BR 20 EA
13404 RESISTOR M55342E06B10BOR 6 EA
13405 RESISTOR 10K OHM M55342E06B10B0S 94 EA
13406 RESISTOR M55342E06B10D0S 5 EA
13407 RESISTOR M55342E06B10EOR 15 EA
13408 RESISTOR M55342E06B10EQS 1 EA
13409 RESISTOR M55342E06B10EQS 4 EA
13410 RESISTOR M55342E06B10EQS 40 EA
13411 RESISTOR M55342E06B10EQS 3 EA
13412 RESISTOR M55342E06B10EQS 12 EA
13413 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B10E2S 21 EA
13414 RESISTOR M55342E06B110BR 25 EA
13415 RESISTOR M55342E06B113BR 96 EA
13416 RESISTOR M55342E06B115BR 25 EA
13417 RESISTOR M55342E06B115DS 21 EA
13418 RESISTOR M55342E06B11D5S 100 EA
13419 RESISTOR M55342E06B11E5S 25 EA
13420 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B11E8S 18 EA
13421 RESISTOR M55342E06B121ES 22 EA
13422 RESISTOR M55342E06B124ER 25 EA
13423 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B124ES 6 EA
13424 RESISTOR M55342E06B12D1S 94 EA
13425 RESISTOR M55342E06B12E1S 5 EA
13426 RESISTOR M55342E06B12E1S 25 EA
13427 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B12E4S 22 EA
13428 RESISTOR M55342E06B130BR 96 EA
13429 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B13E0S 10 EA
13430 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B13EQS 1 EA
13431 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B150DS 23 EA
13432 RESISTOR M55342E06B150ES 22 EA
13433 RESISTOR M55342E06B15E0S 1 EA
13434 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B17E8S 25 EA
13435 RESISTOR M55342E06B18E7S 22 EA
13436 RESISTOR M55342E06B19D1S 19 EA
13437 RESISTOR M55342E06B1B00OR 5 EA
13438 RESISTOR M55342E06B1B00S 19 EA
13439 RESISTOR M55342E06B1B00S 3 EA
13440 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B1B50S 23 EA

29 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
13441 RESISTOR M55342E06B1B62S 25 EA
13442 RESISTOR FILM CHIP STYLERMO705 1% M55342E06B1E00S 24 EA
13443 RESISTORS, FIXED, FILM, CHIP, M55342E06B1E10S 23 EA
13444 RESISTOR M55342E06B1E275S 23 EA
13445 RESISTOR M55342E06B1E30S 25 EA
13446 RESISTORS M55342E06B1E43STR M55342E06B1E43S 22 EA
13447 RESISTOR M55342E06B1E47S 25 EA
13448 RESISTOR M55342E06B1E87S 98 EA
13449 RESISTOR M55342E06B1E96S 25 EA
13450 RESISTOR M55342E06B200DS 6 EA
13451 RESISTOR M55342E06B20BOR 17 EA
13452 RESISTOR FIXED FILM M55342E06B20B0S 19 EA
13453 RESISTOR 20.0K M55342E06B20E0S 20 EA
13454 RESISTOR 20.0K M55342E06B20E0S 1 EA
13455 RESISTOR 20.0K M55342E06B20E0S 16 EA
13456 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B21E0S 15 EA
13457 RESISTORS, FIXED, FILM, CHIP, M55342E06B226DS 11 EA
13458 RESISTOR M55342E06B22E6S 22 EA
13459 RESISTOR M55342E06B243BR 96 EA
13460 RESISTOR M55342E06B24D9S 7 EA
13461 RESISTOR 24.9 K M55342E06B24E95 10 EA
13462 RESISTORS, FIXED, FILM, CHIP, M55342E06B26E1S 21 EA
13463 RESISTOR M55342E06B2B49R 23 EA
13464 RESISTOR M55342E06B2B61S 25 EA
13465 RESISTOR M55342E06B2E00S 19 EA
13466 RESISTORS M55342E06B2E10STR M55342E06B2E10S 25 EA
13467 RESISTORS, FIXED, FILM, CHIP, M55342E06B2E155 23 EA
13468 RESISTOR M55342E06B2E265 94 EA
13469 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B2E43S 23 EA
13470 RESISTORS, FIXED, FILM, CHIP, M55342E06B2E61S 23 EA
13471 RESISTOR M55342E06B2E67S 25 EA
13472 RESISTOR M55342E06B301DS 10 EA
13473 RESISTOR M55342E06B31B6R 96 EA
13474 RESISTORS, FIXED, FILM, CHIP, M55342E06B332ER 22 EA
13475 RESISTOR M55342E06B33E2S 14 EA
13476 RESISTORS, FIXED, FILM, CHIP, M55342E06B3E01S 19 EA
13477 RESISTORS, FIXED, FILM, CHIP, M55342E06B3E01S 1 EA
13478 RESISTOR M55342E06B3E32S 6 EA
13479 RESISTOR M55342E06B3E32S 5 EA
13480 RESISTOR M55342E06B3E92STR M55342E06B3E92S 25 EA
13481 RESISTOR M55342E06B402DS 25 EA
13482 RESISTORS, FIXED, FILM, CHIP, M55342E06B40E2S 21 EA
13483 RESISTOR M55342E06B41E2S 19 EA
13484 RESISTOR M55342E06B422DS 20 EA
13485 RESISTOR M55342E06B432DS 35 EA
13486 RESISTOR M55342E06B487DS 25 EA
13487 RESISTOR M55342E06B499DS 25 EA
13488 RESISTOR M55342E06B49D9S 15 EA
13489 RESISTOR CHIP FIXED FILM 49.9K M55342E06B49E9S 4 EA
13490 RESISTOR CHIP FIXED FILM 49.9K M55342E06B49E9S 7 EA
13491 RESISTOR M55342E06B4E02S 14 EA
13492 RESISTOR M55342E06B4E12S 25 EA
13493 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B4E87S 17 EA
13494 RESISTOR M55342E06B4E99S 20 EA
13496 RESISTOR M55342E06B4E99S 12 EA
13497 RESISTOR M55342E06B51B1R 90 EA
13498 RESISTOR M55342E06B51D1S 7 EA
13499 RESISTORS M55342E06B56E2STR M55342E06B56E2S 16 EA
13500 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B576DS 25 EA
13501 RESISTOR M55342E06B590DS 25 EA
13502 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B59D0S 4 EA
13503 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B59D0S 21 EA
13504 RESISTOR M55342E06B5E11S 14 EA
13505 RESISTOR M55342E06B5E765 9 EA
13506 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B5E90S 25 EA
13507 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B649DS 25 EA
13508 RESISTOR M55342E06B64D95S 100 EA
13509 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B681DS 23 EA
13510 RESISTOR M55342E06B68E1S 18 EA
13511 RESISTOR, FIXED, FILM, CHIP,ESTABLISHED RELIABILITY, SPACE M55342E06B6B49S 18 EA
13512 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B6E49S 16 EA
13513 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B732DS 25 EA
13514 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B750DS 21 EA
13515 RESISTOR M55342E06B75B0R 96 EA
13516 RESISTOR M55342E06B7E50S 10 EA
13517 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B845DS 24 EA
13518 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B84E5S 25 EA
13519 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B88E7S 25 EA
13520 RESISTOR M55342E06B8E355 6 EA
13521 RESISTOR,FILM,221K OHM,0.1W,1% M55342E06B95E3S 21 EA
13522 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B976DS 100 EA
13523 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B9E09S 11 EA
13524 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06BIE76S 1 EA
13525 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06BIE76S 18 EA
13526 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E08B15E0R 25 EA
13527 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E08B1E00R 2 EA
13528 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E08B20EOR 25 EA
13529 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E08B56D2R 250 EA
13530 RESISTOR M55342E10B120AR 17 EA
13531 RESISTORS,CHIP,FIXED FILM,NONE M55342E11B10E0S 11 EA
13532 RESISTOR M55342E12B100DR 11 EA
13533 RESISTOR M55342E12B100DS 6 EA
13534 RESISTOR M55342E12B100DS 14 EA
13535 RESISTOR M55342E12B10D0S 10 EA
13536 RESISTOR M55342E12B12E4R 10 EA
13537 RESISTOR M55342E12B12E4S 25 EA
13538 RESISTOR M55342E12B1E74R 8 EA
13539 RESISTOR M55342E12B1E74S 25 EA
13540 RESISTOR M55342E12B22D15S 25 EA
13541 RESISTOR M55342E12B22D6R 21 EA
13542 RESISTOR M55342E12B22D65S 233 EA
13543 RESISTORS M55342E12B24D9S 9 EA
13544 RESISTOR M55342E12B24E9R 9 EA
13545 RESISTORS M55342E12B24E9S 25 EA
13546 RESISTORS, FIXED, FILM, CHIP, M55342E12B2B49S 12 EA
13547 RESISTOR M55342E12B2E00R 52 EA
13548 RESISTOR M55342E12B2E00S 54 EA
13549 RESISTOR M55342E12B2Y00S 23 EA
13550 RESISTOR M55342E12B3E83R 6 EA
13551 RESISTOR M55342E12B49B9S 23 EA
13552 RESISTOR M55342E12B49E9R 6 EA
13553 RESISTOR M55342E12B49E9S 10 EA
13554 RESISTOR M55342E12B4B87R 11 EA
13555 RESISTORS,CHIP,FIXED,FILM,NONESTABLISHED RELIABILITY,ESTABLI M55342E12B4B87S 25 EA
13556 RESISTOR M55342E12B4B99R 41 EA
13557 RESISTOR M55342E12B4B99S 125 EA
13558 RESISTOR M55342E12B56D25 25 EA
13559 RESISTOR M55342E12B7E68R 9 EA

300f63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
13560 RESISTOR M55342H06B39A0RWI 100 EA
13561 RESISTOR M55342H08B383DS 250 EA
13562 RESISTOR M55342H08B402DS 246 EA
13563 RESISTOR M55342H08B442DS 25 EA
13564 RESISTOR M55342H08B499DS 2 EA
13565 RESISTOR M55342H08B499DS 13 EA
13566 RESISTOR M55342H12B10Y0S 19 EA
13567 RESISTOR M55342H12B4Y025 23 EA
13568 RESISTOR M55342H12B8Y255 23 EA
13569 RESISTOR M53342K06B150ES 15 EA
13570 RESISTOR M55342K04B100DS 17 EA
13571 RESISTOR M55342K04B10E0S 23 EA
13572 RESISTOR M55342K04B5E76S 22 EA
13573 RESISTOR M55342K06B100DR 10 EA
13574 RESISTOR M55342K06B100DR 11 EA
13575 RESISTOR M55342K06B100DS 7 EA
13576 RESISTOR M55342K06B100DS 11 EA
13577 RESISTOR M55342K06B100DS 50 EA
13578 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B100ES 1 EA
13579 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B100ES 19 EA
13580 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B100ES 17 EA
13581 RESISTOR, SMD, 0.1W, 1% M55342K06B10D0S 1 EA
13582 RESISTOR, SMD, 0.1W, 1% M55342K06B10D0S 13 EA
13583 RESISTOR M55342K06B10E0S 1 EA
13584 RESISTOR M55342K06B10EQS 37 EA
13585 RESISTOR, FIXED, CHIP, NONESTA M55342K06B121ES 23 EA
13586 RESISTOR M55342K06B12E7S 20 EA
13587 RESISTOR M55342K06B150DS 19 EA
13588 RESISTOR FILM CHIP 15.0K M55342K06B15E0S 22 EA
13589 RESISTOR M55342K06B15E8R 21 EA
13590 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B16E9S 20 EA
13591 RESISTOR M55342K06B178ES 25 EA
13592 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B187DS 24 EA
13593 RESISTOR M55342K06B1EOOR 18 EA
13594 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B1E00S 3 EA
13595 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B1E00S 1 EA
13596 RESISTOR M55342K06B1E15S 10 EA
13597 RESISTOR, FILM, CHIP, 1.50K, 1 M55342K06B1E50S 19 EA
13598 RESISTOR, FILM, CHIP, 1.50K, 1 M55342K06B1E50S 21 EA
13599 RESISTOR M55342K06B1E69S 23 EA
13600 RESISTOR M55342K06B1E78S 21 EA
13601 RESISTOR M55342K06B1E82S 25 EA
13602 RESISTOR M55342K06B1F00S 1 EA
13603 RESISTOR M55342K06B1F00S 22 EA
13604 RESISTOR M55342K06B1F00S 1 EA
13605 RESISTOR FILM CHIP STYLE M55342K06B200DS 12 EA
13606 RESISTOR, FIXED, FILM, CHIP, ESTABLISHED RELIABILITY, SPACE M55342K06B200ES 17 EA
13607 RESISTOR FILM CHIP STYLE M55342K06B20D0S 6 EA
13608 RESISTOR FILM CHIP STYLE M55342K06B20D0S 1 EA
13609 RESISTOR,20K,0.1W,1% M55342K06B20E0S 9 EA
13610 RESISTOR,20K,0.1W,1% M55342K06B20E0S 1 EA
13611 RESISTOR,20K,0.1W,1% M55342K06B20E0S 1 EA
13612 RESISTOR M55342K06B221DS 4 EA
13613 RESISTOR M55342K06B221DS 1 EA
13614 RESISTOR, FILM, CHIP, 22.1, 1% M55342K06B22D1S 2 EA
13615 RESISTOR, FILM, CHIP, 22.1, 1% M55342K06B22D1S 11 EA
13616 RESISTOR, FILM, CHIP, 22.1, 1% M55342K06B22D1S 5 EA
13617 RESISTOR M55342K06B23E7S 23 EA
13618 RESISTOR M55342K06B243DR 13 EA
13619 RESISTOR, FILM, CHIP, 249 OHM, 1% M55342K06B249DS 18 EA
13620 RESISTOR, FILM, CHIP, 249 K OHM, 1% M55342K06B249ES 25 EA
13621 RESISTOR, FILM, CHIP, 249 K OHM, 1% M55342K06B249ES 13 EA
13622 RESISTOR M55342K06B24D9S 6 EA
13623 RESISTOR M55342K06B24E3S 23 EA
13624 RESISTOR M55342K06B26E1S 9 EA
13625 RESISTOR M55342K06B274DS 21 EA
13626 RESISTOR FILM CHIP STYLE M55342K06B2E00S 1 EA
13627 RESISTOR FILM CHIP STYLE M55342K06B2E00S 26 EA
13628 RESISTOR M55342K06B2EO5R 21 EA
13629 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B2E15S 18 EA
13630 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B2E155 1 EA
13631 RESISTOR M55342K06B2E21S 25 EA
13632 RESISTOR M55342K06B2E26S 12 EA
13633 RESISTOR FILM CHIP STYLE M55342K06B2E43S 23 EA
13634 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B2E49S 23 EA
13635 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B2E49S 1 EA
13636 RESISTOR M55342K06B2E87S 9 EA
13637 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B301ES 23 EA
13638 RESISTOR M55342K06B316DS 21 EA
13639 RESISTOR M55342K06B31E6R 21 EA
13640 RESISTOR M55342K06B332DS 25 EA
13641 RESISTOR M55342K06B365ES 25 EA
13642 RESISTOR M55342K06B36E5S 1 EA
13643 RESISTOR M55342K06B36E5S 19 EA
13644 RESISTOR FILM CHIP STYLE M55342K06B3E01S 17 EA
13645 RESISTOR M55342K06B3E16S 21 EA
13646 RESISTOR M55342K06B3E32S 6 EA
13647 RESISTOR, FILM, CHIP, 3.83K, 1 M55342K06B3E83S 9 EA
13648 RESISTOR FILM CHIP STYLE M55342K06B40E2S 22 EA
13649 RESISTOR M55342K06B412ES 25 EA
13650 RESISTOR M55342K06B412ES 3 EA
13651 RESISTOR M55342K06B432DR 25 EA
13652 RESISTOR, FILM, CHIP, 432, 1% M55342K06B432DS 25 EA
13653 RESISTOR FILM CHIP M55342K06B442DS 20 EA
13654 RESISTOR M55342K06B46E4S 23 EA
13655 RESISTOR, FILM, CHIP, 47.5 OHM, 1% M55342K06B47D5S 13 EA
13656 RESISTOR, FILM, CHIP, 47.5 OHM, 1% M55342K06B47D5S 25 EA
13657 RESISTOR M55342K06B47E5SS 72 EA
13658 RESISTOR, FILM, CHIP, 499 OHM, M55342K06B499DS 5 EA
13659 RESISTOR, FILM, CHIP, 499 K OHM, 1% M55342K06B499ES 19 EA
13660 RESISTOR, FILM, CHIP, 499 K OHM, 1% M55342K06B499ES 24 EA
13661 RESISTOR M55342K06B49DIR 23 EA
13662 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B49D9S 17 EA
13663 RESISTOR M55342K06B49EIR 20 EA
13664 RESISTOR M55342K06B49E9S 23 EA
13665 RESISTOR M55342K06B4E02S 21 EA
13666 RESISTOR M55342K06B4E42S 1 EA
13667 RESISTOR M55342K06B4E75S 8 EA
13668 RESISTOR, FILM, CHIP, 4.99K,1% M55342K06B4E99S 13 EA
13669 RESISTOR CHIP FIXED FILM 56.2K M55342K06B56E2S 44 EA
13670 RESISTOR M55342K06B5D23S 17 EA
13671 RESISTOR M55342K06B5D49S 100 EA
13672 RESISTOR, FIXED, FILM, CHIP, NONESTABLISHED RELIABILITY, EST M55342K06B5D62S 25 EA
13673 RESISTOR M55342K06B5E11S 10 EA
13674 RESISTOR M55342K06B60E4S 25 EA
13675 RESISTOR M55342K06B64D9S 23 EA
13676 RESISTOR M55342K06B681ES 24 EA
13677 RESISTOR, FIXED, FILM, CHIP,EST. RELIABILITY-1%,6.81 OHMS M55342K06B6D81S 21 EA

310f63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
13678 RESISTOR M55342K06B715DR 17 EA
13679 RESISTOR,750 OHM,0.1W,1% M55342K06B750DS 17 EA
13680 RESISTOR FILM CHIP STYLE M55342K06B7E50S 4 EA
13681 RESISTOR M55342K06B825DS 23 EA
13682 RESISTOR M55342K06B86E6S 23 EA
13683 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06BSE06S 6 EA
13684 RESISTOR M55342K06B95E3R 25 EA
13685 RESISTOR M55342K06B95E3S 25 EA
13686 RESISTOR M55342K08B100DS 19 EA
13687 RESISTOR, 10.0 OHMS, 1%,2010 SMT M55342K08B10D0S 18 EA
13688 RESISTOR M55342K08B10EQS 25 EA
13689 RESISTOR M55342K08B11E5S 25 EA
13690 RESISTORS, FIXED FILM, CHIP, STYLE 2010 M55342K08B1E00S 25 EA
13691 RESISTOR, FIXED, FILM CHIP SUPPLEMENTAL TESTING M55342K08B1F00S 21 EA
13692 RESISTOR, 27.4 OHMS, 1%,2010 SMT M55342K08B27D4S 15 EA
13693 RESISTOR, 27.4 OHMS, 1%,2010 SMT M55342K08B27D4S 20 EA
13694 RESISTOR M55342K08B374AS 25 EA
13695 RESISTOR M55342K08B383DS 25 EA
13696 RESISTOR M55342K08B383DS 21 EA
13697 RESISTOR M55342K08B3D30S 21 EA
13698 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342K09B10D0S 2 EA
13699 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342K09B10D0S 2 EA
13700 RESISTOR M55342K09B13D0S 17 EA
13701 RESISTOR M55342K09B1F43S 21 EA
13702 RESISTOR M55342K09B2D00S 22 EA
13703 RESISTOR M55342K09B59D0S 21 EA
13704 RESISTOR M55342K09B82D5S 22 EA
13705 RESISTOR M55342K09B8D25S 22 EA
13706 RESISTOR,FIXED,FILM M55342K11B100DS 6 EA
13707 RESISTOR M55342K11B100ES 19 EA
13708 RESISTOR,FIXED,FILM, CHIP,SUPP M55342K11B10EQS 1 EA
13709 RESISTOR,FIXED,FILM, CHIP,SUPP M55342K11B10E0S 1 EA
13710 RESISTOR,FIXED,FILM, CHIP,SUPP M55342K11B10EQS 297 EA
13711 RESISTOR M55342K11B19D1S 13 EA
13712 RESISTOR M55342K11B19D1S 25 EA
13713 RESISTOR, FIXED, FILM, CHIP,ESTABLISHED RELIABILITY, SPACE M55342K11B1E00S 7 EA
13714 RESISTOR, FIXED, FILM, CHIP, M55342K11B1F00S 5 EA
13715 RESISTOR,FIXED,FILM, CHIP,SUPP M55342K11B24D9S 58 EA
13716 RESISTOR, FIXED, FILM, CHIP, SUPP M55342K11B24D9S 120 EA
13717 RESISTOR M55342K11B33D2R 25 EA
13718 RESISTOR M55342K11B33D2S 8 EA
13719 RESISTOR,FIXED,FILM, CHIP,SUPP M55342K11B43D2S 220 EA
13720 RESISTOR,FIXED,FILM, CHIP,SUPP M55342K11B43D2S 499 EA
13721 RESISTOR M55342K11B49D9S 19 EA
13722 RESISTOR M55342K11B49D9S 19 EA
13723 RESISTOR M55342K11B51D1S 35 EA
13724 RESISTOR,FIXED,FILM, CHIP,SUPP M55342K11B64D9S 109 EA
13725 RESISTOR M55342K12B100DS 4 EA
13726 RESISTOR M55342K12B100ER 6 EA
13727 RESISTOR M55342K12B100ES 10 EA
13728 RESISTOR M55342K12B10D0S 8 EA
13729 RESISTOR M55342K12B10EOR 73 EA
13730 RESISTOR M55342K12B10EQS 14 EA
13731 RESISTOR M55342K12B12E1S 7 EA
13732 RESISTOR M55342K12B150ER 21 EA
13733 RESISTOR M55342K12B150ES 25 EA
13734 RESISTOR M55342K12B18E7S 15 EA
13735 RESISTOR M55342K12B1EO0R 92 EA
13736 RESISTOR M55342K12B1E00S 100 EA
13737 RESISTOR M55342K12B1E00S 28 EA
13738 RESISTOR M55342K12B1E50S 17 EA
13739 RESISTOR, FIXED, FILM, CHIP,ESTABLISHED RELIABILITY, SPACE M55342K12B1F00S 14 EA
13740 RESISTOR M55342K12B200DR 20 EA
13741 RESISTOR M55342K12B200DS 10 EA
13742 RESISTOR M55342K12B20E0S 9 EA
13743 RESISTOR M55342K12B21E5S 12 EA
13744 RESISTOR M55342K12B24D9R 3 EA
13745 RESISTOR M55342K12B24D9S 5 EA
13746 RESISTOR M55342K12B24E9R 49 EA
13747 RESISTOR M55342K12B24E9S 50 EA
13748 RESISTOR M55342K12B2D155 19 EA
13749 RESISTOR M55342K12B2E00R 14 EA
13750 RESISTOR M55342K12B2E00S 40 EA
13751 RESISTOR M55342K12B2E49R 7 EA
13752 RESISTOR M55342K12B2E49R 8 EA
13753 RESISTOR M55342K12B2E49S 8 EA
13754 RESISTOR M55342K12B30D1R 22 EA
13755 RESISTOR M55342K12B30D1S 30 EA
13756 RESISTOR M55342K12B332DR 11 EA
13757 RESISTOR M55342K12B332DS 6 EA
13758 RESISTOR M55342K12B332ER 23 EA
13759 RESISTOR M55342K12B332ES 26 EA
13760 RESISTOR M55342K12B33D2S 15 EA
13761 RESISTOR M55342K12B3E24R 12 EA
13762 RESISTOR, FIXED, FILM, CHIP,ESTABLISHED RELIABILITY, SPACE M55342K12B3E32S 1 EA
13763 RESISTOR M55342K12B499DR 4 EA
13764 RESISTOR M55342K12B499DS 10 EA
13765 RESISTOR M55342K12B49D9R 7 EA
13766 RESISTOR M55342K12B49D9R 25 EA
13767 RESISTOR M55342K12B49D9S 14 EA
13768 RESISTOR M55342K12B49E9S 23 EA
13769 RESISTOR M55342K12B4E02R 7 EA
13770 RESISTOR M55342K12B4E02S 65 EA
13771 RESISTOR M55342K12B4E9IR 11 EA
13772 RESISTOR M55342K12B4E99S 12 EA
13773 RESISTOR M55342K12B5D62S 17 EA
13774 RESISTOR M55342K12B5E365 18 EA
13775 RESISTOR M55342K12B64DIR 8 EA
13776 RESISTOR M55342K12B64D9S 20 EA
13777 RESISTOR M55342K12B750DR 8 EA
13778 RESISTOR M55342K12B750DS 25 EA
13779 RESISTOR M55342K12B80D6R 13 EA
13780 RESISTOR M55342K12B80D6S 26 EA
13781 RESISTOR M55342K12B8E25S 8 EA
13782 RESISTOR M55342M12B10F0S 21 EA
13783 RESISTOR M55342M12B10F0S 25 EA
13784 TUBING CONVULUTED FLEXPTFE BLACK M81914/2-1004 2 FT
13785 JACKSCREW, ALLEN HEAD,LOW PROFILE M83513/05-02 2 EA
13786 CONNECTOR M83513/31-CO2NW 4 EA
13787 JACKSCREW M83513/5-02 19 EA
13788 BACKSHELL M85049/52-1-22N 1 EA
13789 BACKSHELL M85049/52-1-22N 1 EA
13790 INSERT MA3279-108 4 EA
13791 NUT PLAIN HEX MJ THREAD MA3288-03 88 EA
13792 WASHER, FLAT M2.5 MA3453-025 1 EA
13793 WASHER, FLAT M3 MA3453-030 5 EA
13794 WASHER, FLAT M3 MA3453-030 2 EA
13795 WASHER, FLAT M3 MA3453-030 82 EA

320f63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
13796 WASHER, FLAT M3 MA3453-030 13 EA
13797 WASHER, FLAT (M5) MA3453-050 5 EA
13798 CONTACT MC6026M 80 EA
13799 CONNECTOR MDG021P-UB0000 9 EA
13800 CONNECTOR MDG021S-UB000O 9 EA
13801 CONNECTOR MDG025S-UB0000 8 EA
13802 CONNECTOR 15 PIN MK-232-015-135-2200 4 EA
13803 CONNECTOR MK-232-037-135-2200 1 EA
13804 CONNECTOR MK-242-009-235-2200 1 EA
13805 CONNECTOR MK-242-021-235-2200 3 EA
13806 CONNECTOR MK-242-025-235-2200 3 EA
13807 CONNECTOR MK-242-031-235-2200 2 EA
13808 CONNECTOR MK-242-037-235-2200 3 EA
13809 CONNECTOR MK-332-069-135-2200 2 EA
13810 CONNECTOR MK-342-051-235-2200 1 EA
13811 CONNECTORS MK-342-069-235-4100 1 EA
13812 CONNECTOR MK-352-069-335-2205 2 EA
13813 RESISTOR,FIXED MP10K00 MP10K00 2 EA
13814 RESISTOR MP11K10 91 EA
13815 RESISTOR MP11K50 70 EA
13816 RESISTORS, FOIL MP1K540 10 EA
13817 RESISTOR MP1K820 92 EA
13818 RESISTOR MP2K940 8 EA
13819 RESISTOR MP681R0O 84 EA
13820 RESISTOR MP768R0O 85 EA
13821 RESISTORS, FOIL MP8K160 2 EA
13822 RESISTOR MQ40K20 4 EA
13823 RESISTOR MQ49K90 66 EA
13824 RESISTOR MQ54K90 97 EA
13825 INSERT,CRES, HELICAL COIL2-56 X .086 MS122095 3 EA
13826 INSERT, HELICAL COIL4-40 X 1.5 MS122116 16 EA
13827 INSERT, HELICAL COIL2-56 X 1.5 MS122135 8 EA
13828 WASHER, FLAT # 4 MS15795-803 4 EA
13829 WASHER, FLAT # 4 MS15795-803 2 EA
13830 SCREW, MACH, SOC HDCR2 MS16995-2 10 EA
13831 SCREW, MACH, SOC HDCR2 MS16995-2 1 EA
13832 SCREW, MACH, SOC HD MS16995-4 1 EA
13833 SCREW, MACH, SOC HD MS16995-4 7 EA
13834 S.H.C.S. 4-40 X .25 LG.CR2 MS16995-9 7 EA
13835 NUT HEXCR2 MS35649-224 18 EA
13836 NUT HEXCR2 MS35649-224 4 EA
13837 NUT, HEXCR2 MS35649-244 2 EA
13838 NUT, HEX MS35649-264 6 EA
13839 NUT, HEX MS35649-264 2 EA
13840 PIN, ROLL MS39086-125 50 EA
13841 SCREW, MACHINE-PAN HD10% C7 MS51957-13 10 EA
13842 SCREW, PAN HD10% C7 MS51957-14 8 EA
13843 SCREW, PANHEAD, CREW MS51957-141 4 EA
13844 SCREW, PANHEAD, CREW MS51957-141 2 EA
13845 SCREW, PAN HD NO. 4-40 X10% C7 MS51957-15 3 EA
13846 SCREW MS51957-16 5 EA
13847 SCREW MS51957-16 3 EA
13848 SCREW, PANHEAD .112-40 X .510% C7 MS51957-17 5 EA
13849 SCREW PAN HD MS51957-29 6 EA
13850 SCREW PAN HD MS51957-29 2 EA
13851 SCREW PAN HD MS51957-4 2 EA
13852 SCREW PAN HD MS51957-4 2 EA
13853 SCREW PAN HD10% C7 MS51957-5 10 EA
13854 SCREW, PAN HDCR2 MS51957-7 7 EA
13855 SCREW, FLAT HDCR2 MS51959-4 10 EA
13856 TERMINAL LUG SOLDER MS77068-3 9 EA
13857 MICROCIRCUIT MSK 5820-3.3RHD 1 EA
13858 MICROCIRCUIT MSK196EDUG 3 EA
13859 MICROCIRCUIT MSK196EDUG 12 EA
13860 5V DC-DC CONVERTER MTR2805SF 1 EA
13861 +/-12V DC-DC CONVERTER MTR2812DF 1 EA
13862 CONNECTOR MWDM2L100PCBSPU-.110 2 EA
13863 CONNECTOR MWDM2L255CBSPU-.110 6 EA
13864 CONNECTOR MWDM2L-255CBSPU-.110 1 EA
13865 CONNECTOR MWDM2L-255CDSPU-.110 2 EA
13866 CONNECTOR MWDM2L37PCBSPU-.110 2 EA
13867 CONNECTOR MWDM2L37PCBSPU-.110 2 EA
13868 CONNECTOR MWDM2L-37PCBSPU-.110 2 EA
13869 CONNECTOR MWDM2L37SCBSPU-.110 3 EA
13870 CONNECTOR MWDM2L-37SCBSPU-.110 1 EA
13871 CONNECTOR MWDM2L69SCBSPU-.110 2 EA
13872 RESISTOR MWM?2-49R9-FT20Q 19 EA
13873 RESISTOR MWM2L-R020-DT101Q 2 EA
13874 RESISTOR MWM2M-3090-DT50Q 1 EA
13875 RESISTOR MWM2M-3570-DT50Q 1 EA
13876 RESISTOR MWM2X-10R0-FT50Q 98 EA
13877 RESISTOR MWM2X-15R0-FT20Q 100 EA
13878 RESISTOR MWM2X-1R00-FT50Q 77 EA
13879 RESISTOR MWM2X-20R0-FT20 25 EA
13880 RESISTOR MWM2X-20R0-FT20Q 91 EA
13881 RESISTOR MWM2X-20R0-FT20Q 1 EA
13882 RESISTOR MWM2X-20R0-FT50Q 1 EA
13883 RESISTOR MWM2X-20R0-FT50Q 9 EA
13884 RESISTOR MWM2X-2R05-FT50Q 23 EA
13885 RESISTOR MWM2X-3R30-FT50Q 26 EA
13886 RESISTOR MWM2X-90R9-FT50Q 3 EA
13887 RESISTOR, FIXED MWM2XD-10R0-FT50Q 25 EA
13888 RESISTOR, FIXED MWM2XD-15R0-FT20Q 25 EA
13889 RESISTOR, FIXED MWM2XD-1R00-FT50Q 25 EA
13890 RESISTOR, FIXED MWM2XD-20R0-FT20Q 25 EA
13891 RESISTOR MWM2XD-R100-FT301Q 25 EA
13892 RESISTOR, FIXED MWM2XD-R499-FT301Q 25 EA
13893 RESISTOR MWM2X-R050-DT50Q 3 EA
13894 RESISTOR MWM2X-R100-FT301Q 92 EA
13895 RESISTOR MWM2X-R499-DT50 2 EA
13896 RESISTOR MWM2X-R499-DT50 17 EA
13897 RESISTOR MWM2X-R499-FT301Q 100 EA
13898 RESISTOR MWM3S-100R-FT20Q 5 EA
13899 RESISTOR MWMS5X-1R00-BT50Q 100 EA
13900 RESISTOR MWMS5X-R050-DT50Q 3 EA
13901 SCREW, PAN HD (M2.5X8) NA0068A025008 4 EA
13902 SCREW, SOCKET HD CAP (M3X8) NA0069030008 17 EA
13903 SCREW, SOCKET HD CAP (M3X10) NA0069-030010 6 EA
13904 SCREW NA0O069A016006 2 EA
13905 SCREW MJ2X.40X4LG NA0069A020004 7 EA
13906 SCREW, SHCS M2 X 6MM NA0069A020006 9 EA
13907 SCREW, CAP HEXAGON SOCKET NA0069A020008 1 EA
13908 SCREW, CAP HEXAGON SOCKET NA0069A020008 1 EA
13909 SCREW, CAP, HEXAGON SOCKET NA0069A020010 8 EA
13910 SCREW NA0069A025006 4 EA
13911 SHCS M2.5 X 10MM NA0069A025010 2 EA
13912 SCREW NA0069A030008 4 EA
13913 SCREW NA0069A030010 3 EA

330f63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
13914 SCREW NA0O069A030015 6 EA
13915 SCREW, CAP, HEXAGON SOCKETPIG: NA0069-030020 NA0069A030020 1 EA
13916 SCREW NA0069A030024 82 EA
13917 SCREW NA0069A030024 6 EA
13918 SCREW, CAP, HEXAGON SOCKET HEAD NA0O069A040012 1 EA
13919 SCREW, CAP, HEXAGON SOCKET HEAD NA0069A040012 2 EA
13920 SCREW, CAP, HEXAGON SOCKET NA0069A040014 4 EA
13921 SCREW, CAP, HEXAGON SOCKET HEAD NA0069A040020 5 EA
13922 SCREW, CAP, HEXAGON SOCKET HEAD M5 NA0069A050020 1 EA
13923 INSERT, HELICAL, TANGLESS,METRIC M2.5 X 0.45 3.8MM LONG NA0276M2A-15 1 EA
13924 INSERT, HELICAL, TANGLESS,METRIC M2.5 X 0.45 3.8MM LONG NA0276M2A-15 2 EA
13925 INSERT, HELICAL, TANGLESS,METRIC M2.5 X 0.45 3.8MM LONG NA0276M2A-15 1 EA
13926 INSERT, HELICAL, TANGLESS,METRIC M2.5 X 0.45 3.8MM LONG NA0276M2A-15 2 EA
13927 INSERT, TANGLESS METRICM3 X 0.5 X 10 LONG NA0276M3-10 2 EA
13928 INSERT, TANGLESS METRICM3 X 0.5 X 10 LONG NA0276M3-10 8 EA
13929 INSERT, TANGLESS METRICM3 X 0.5 X 10 LONG NA0276M3-10 2 EA
13930 INSERT, HELICAL COILM3 X 0.5 NA0276M3-15 18 EA
13931 INSERT, SCREW THREAD, HELICALCOIL, FREE RUNNING, TANGLESS NA0276M3-20 45 EA
13932 INSERT, SCREW THREAD, HELICALCOIL, FREE RUNNING, TANGLESS NA0276M3-20 8 EA
13933 INSERT, SCREW THREAD, HELICALCOIL, FREE RUNNING, TANGLESS NA0276M3-25 1000 EA
13934 INSERT, HELICAL COIL NA0276M4-10 19 EA
13935 INSERT, HELICAL COILM4 X 0.7 NA0276M4-15 29 EA
13936 INSERT, HELICAL COIL NA0276M6-10 15 EA
13937 INSERT, HELICAL COIL.112-40 X 1.5 DIAMETER NAS1130-04-15 1 EA
13938 SCREW NAS1352C02-4 18 EA
13939 SCREW NAS1352C02-4 8 EA
13940 SCREW NAS1352N04-4 2 EA
13941 SCREW NAS1352N04-4 5 EA
13942 SCREW NAS1352N04-4 3 EA
13943 WASHER NAS1515M9 1 EA
13944 WASHER NAS1515M9 15 EA
13945 WASHER, FLAT NAS620C2 11 EA
13946 WASHER, FLAT NAS620C2 3 EA
13947 WASHER FLAT NAS620C4 28 EA
13948 WASHER, FLAT - REDUCED OUTSIDEDIA (.115 ID, .209 OD,.016 TH) NAS620C4L 20 EA
13949 SCREW NAS620C5 4 EA
13950 WASHER - SURPLUSCR2 NAS620C6 11 EA
13951 WASHER - SURPLUSCR2 NAS620C6 4 EA
13952 WASHER - SURPLUSCR2 NAS620C6 1 EA
13953 NUT, PLAIN, HEX-SMALLR61 NAS671C2 4 EA
13954 NUT, PLAIN, HEX-SMALLR61 NAS671C2 28 EA
13955 NUT, PLAIN, HEX, SMALL- NAS671C4 3 EA
13956 OPTO-COUPLER HYBRID OLF300 3 EA
13957 MICROCIRCUIT OLH300 17 EA
13958 MICROCIRCUIT OLH7000 13 EA
13959 MICROCIRCUIT OLH7000 8 EA
13960 HALL EFFECT SENSOR OMH090B 1 EA
13961 MICROCIRCUIT OP-15AJ/QMLR 10 EA
13962 RESISTOR P0.0GCT-ND 5 EA
13963 HYBRID CRYSTAL OSCILLATOR QT625LBE-29.491200MHZ 2 EA
13964 LOW PROFILE 32 PIN FLATPACKHYBRID CRYSTAL OSCILLATOR QTV722ARB-33.000MHZ 1 EA
13965 MICROCIRCUIT, LINEAR RAD1419A-NBP 2 EA
13966 MICROCIRCUIT RAD1419XAPM 1 EA
13967 MICROCIRCUIT RAD1419XAPM 2 EA
13968 MICROCIRCUIT RDC5028-301-25 1 EA
13969 RESISTOR RER45F75RORC02 2 EA
13970 RESISTOR RERS0F8R45RCSL 1 EA
13971 RESISTOR, RER60F1001RCSL RER60F1001R 1 EA
13972 MICROCIRCUIT RH1009MW 18 EA
13973 IC, LINEAR VOLTAGE REFERENCE RH1021CMW-5 18 EA
13974 MICROCIRCUIT RH1499MW 14 EA
13975 CRIMP,CONTACT RM400-000-271-000 25 EA
13976 CRIMP,CONTACT RM400-000-581-000 29 EA
13977 CONNECTOR RM412-110-271-0256 1 EA
13978 CONNECTOR RM422-110-581-0256 1 EA
13979 CONNECTOR, 110 SOCKETS, AIRBORN RM422-110-752-9100 2 EA
13980 CONNECTOR, 164 SOCKETS, AIRBORN RM422-164-752-9100 2 EA
13981 CONNECTORS RM452-110-322-9000 1 EA
13982 CONNECTOR RM452-164-322-9000 2 EA
13983 CONNECTORS RM462-110-841-9200 2 EA
13984 RESISTOR 10K .3W, .005% RNC90Y10K000BR 38 EA
13985 RESISTOR RNC90Y13K000BR 2 EA
13986 RESISTOR RNC90Y13K000BR 25 EA
13987 RESISTOR RNC90Y1KO000AR 2 EA
13988 RESISTOR RNC90Y1KOO00AR 25 EA
13989 RESISTOR RNCO0Y2K4900BR 5 EA
13990 RESISTOR RNC90Y5K2300BR 12 EA
13991 RESISTOR 20K OHM RNR55E1002FS 23 EA
13992 RESISTOR; RNR55E4222FSBSL42.2K .1W 1% R9 RNRS5E4222FS 21 EA
13993 FPGA PROTOTYPE RTAX2000S-1CG624PROTO 10 EA
13994 FPGA PROTOTYPE RTAX2000S-1CG624PROTO 1 EA
13995 SHRINK TUBE, 3/16 IN RW-175-3/16-X-STK 4 FT
13996 RESISTOR,100 OHM,2W,1%,=N RWR80S1000FS 15 EA
13997 RESISTOR, FIXED, WIRE-WOUND (POWER TYPE), ESTABLISHED RELIAB RWR81N1ROOFS 100 EA
13998 RESISTOR RWR81N1ROOFSB12 2 EA
13999 WIREWOUND RESISTOR RWR81NR100FS 20 EA
14000 RESISTOR, 5.11 OHM, 1W,=N1% RWR81S5R11FSB12 2 EA
14001 CAPACITOR S101BX474M3J3 2 EA
14002 RESISTOR SB1712X7B474K1NT92 4 EA
14003 CONNECTOR SDD1554R700G 3 EA
14004 CONNECTOR SDD2654R700G 3 EA
14005 CONNECTOR SDD44M100E6G 4 EA
14006 CONNECTOR SDD44M100EG 4 EA
14007 CONNECTOR SDD44M4R700G 1 EA
14008 CONNECTOR SDD445100E6G 4 EA
14009 CONNECTOR SDD44S100EG 4 EA
14010 CONNECTOR SDD44S4R700G 3 EA
14011 CONNECTOR SDD6254R700G 1 EA
14012 CONNECTOR SDD78M4R700G 3 EA
14013 CONNECTOR SDD7854R700G 1 EA
14014 CONNECTOR SDD7854R700G 2 EA
14015 SOCKET TOP & INTERPOSER SK-AX1-AX2-KITTOP 7 EA
14016 SOCKET BASE SK-AX2-CG624-KITBTM 3 EA
14017 CAPACITOR SM051C474MAJ120 10 EA
14018 CAPACITOR SM051C474MAN120 17 EA
14019 CAPACITOR SMP5B474KEJMB00 40 EA
14020 IC SN55LVDS32W 1 EA
14021 JACKSCREW KIT SNDOOOOOE6G 15 EA
14022 CONNECTOR, 37-PIN SUB-D SND37M1000G 3 EA
14023 CONNECTOR, 37 PIN SND37M5R600G 3 EA
14024 CONNECTOR, PLUG SND37M5R700G 3 EA
14025 CONNECTOR, 37 PIN SND3755R600G 3 EA
14026 CONNECTOR, PLUG SND3755R700G 3 EA
14027 CAPACITOR SRS305BX475K352 27 EA
14028 NUT MALE SS-8-VCR-4 4 EA
14029 CAPACITOR TAZF225K050LBMB0824 18 EA
14030 CAPACITOR, TANTALUM, 10 UF TAZH106K035LBLC0824 20 EA
14031 CAPACITOR, TANTALUM, 10 UF TAZH106K035LBLC0824 49 EA

34 0of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
14032 CAPACITOR TAZH686K015LBLZ0824 47 EA
14033 CAPACITOR TAZH686K015LBLZ0824 47 EA
14034 CAPACITOR TBJE337K010LBLB0824 9 EA
14035 CAPACITOR TBJV107K020LBSB0024 1 EA
14036 TEST CABLE TC2050-1DC 7 EA
14037 CONNECTOR TVSO7RF-13-35PA-453 1 EA
14038 CONNECTOR TVSO7RF-17-35PC-453 1 EA
14039 MICROCIRCUIT UC1823AJ 3 EA
14040 MICROCIRCUIT UC1823A) 2 EA
14041 MICROCIRCUIT UT54ACS1642455-UCC 14 EA
14042 MICROCIRCUIT UT54ACS1642455-UCC 17 EA
14043 MICROCIRCUIT UT54ACS1642455-UPC 2 EA
14044 MICROCIRCUIT UT54ACS1642455-UPC 1 EA
14045 MICROCIRCUIT UT54LVDM328-UPC 1 EA
14046 MICROCIRCUIT UT54LVDM328-UPC 2 EA
14047 MICROCIRCUIT UT54LVDS031LV-UCC 1 EA
14048 MICROCIRCUIT UT54LVDS031LV-UCC 1 EA
14049 LVDS DRIVER UTS54LVDS031UCA 5 EA
14050 MICROCIRCUIT UT54LVDS032LVUCC 5 EA
14051 MICROCIRCUIT UT54LVDS032LVUCC 1 EA
14052 VOLTAGE REGULATOR VRG8666-S 4 EA
14053 RESISTOR VSMP0805 1K000 TCR0.2600 2 EA
14054 RESISTOR VSMP0805 200R00 TCR0.2600 2 EA
14055 RESISTOR VSMP0805 5K2300 TCRO.2600 2 EA
14056 VSPMO08081KO000TCR0.2QBW RESIST VSMP08051K0000TCR0.2QBTEG 2 EA
14057 VSMP0805200R00TCRO.2ABW RESIST VSMP0805200R00TCRO.2ABTEG 2 EA
14058 VSMP08055K2300TCRO.2ABW RESIST VSMP08055K2300TCRO.2ABTEG 2 EA
14059 RESISTOR VSMP1206 11K500 TCR0.2600 6 EA
14060 RESISTOR VSMP1206 13K000 TCR0.2600 4 EA
14061 RESISTOR VSMP1206 5K6200 TCR0.2600 2 EA
14062 VSMP120610K000TCRO.2ABW, RESIS VSMP120610K000TCRO.2ABTEG 28 EA
14063 RESISTORS,FOIL-1206 CHIP,PRECISION (VSMP) VSMP120610K000TCR0.2QB600 2 EA
14064 VSMP120611K500TCRO.2ABW,RESIST VSMP120611K500TCRO.2ABTEG 6 EA
14065 VSMP120613K000TCRO.2ABW, RESIS VSMP120613K000TCRO.2ABTEG 4 EA
14066 VSMP12065K6200TCRO.2ABW RESIST VSMP12065K6200TCRO.2ABTEG 2 EA
14067 RESISTOR VSMP2010 20K000 TCR0.2600 6 EA
14068 VSMP201020K000TCR0.2QBW RESIST VSMP201020K000TCR0.2QBTEG 6 EA
14069 RESISTOR WA-89-SM-0R10-F-N-562 12 EA
14070 RESISTOR WA-89-5M-0R20-F-N-562 23 EA
14071 RESISTOR WA-89-SM-0R50-F-N-562 23 EA
14072 RESISTOR WA89SM-1R50F-NS62 25 EA
14073 RESISTOR WSR5R0500DBA 100 EA
14074 RESISTOR Y1624100R00A0W 1 EA
14075 RESISTOR Y16241K00000TOW 2 EA
14076 RESISTOR Y16241K0000TOW 1 EA
14077 RESISTOR Y16241K0000TOW 5 EA
14078 RESISTOR Y16241K0000TOW 20 EA
14079 RESISTOR Y1624200R000A0W 1 EA
14080 RESISTOR Y1624226R00A0W 6 EA
14081 RESISTOR Y1624249R00A0W 3 EA
14082 RESISTOR Y16242K4000A0W 21 EA
14083 RESISTOR Y16242K4300A0W 16 EA
14084 RESISTOR Y16242K4900A0W 8 EA
14085 RESISTOR Y16243K09000TOW 1 EA
14086 RESISTOR Y16243K2400TOW 14 EA
14087 RESISTOR Y1624402R00A0W 1 EA
14088 RESISTOR Y1624422R00A0W 1 EA
14089 RESISTOR Y1624499R000TOW 1 EA
14090 RESISTOR Y16244K02000TOW 1 EA
14091 RESISTOR Y16244K64000TOW 3 EA
14092 RESISTOR Y16244K8700A0W 17 EA
14093 RESISTOR Y16244K9900A0W 60 EA
14094 RESISTOR Y16244K9900TOW 1 EA
14095 RESISTOR Y16245K23000TOW 1 EA
14096 RESISTOR Y1624825R000TOR 1 EA
14097 RESISTOR Y162510K0000TOW 23 EA
14098 RESISTOR Y162510K000A0W 2 EA
14099 RESISTOR Y162510K000A0W 8 EA
14100 RESISTOR Y162511K5000TOW 3 EA
14101 RESISTOR Y162512K100A0W 3 EA
14102 RESISTOR Y162512K4000TOW 1 EA
14103 RESISTOR Y162513K0000TOR 2 EA
14104 RESISTOR Y162514K0000TOW 1 EA
14105 RESISTOR Y16255K23000TOW 1 EA
14106 RESISTOR Y16255K23000TOW 2 EA
14107 RESISTOR Y16255K62000TOW 1 EA
14108 RESISTOR Y16256K8100A0W 9 EA
14109 RESISTOR Y16257K87000TOW 1 EA
14110 RESISTOR Y16258K66000TOW 1 EA
14111 RESISTOR Y16258K98000TOW 3 EA
14112 RESISTOR Y16258K9800A0W 3 EA
14113 RESISTOR Y16259K0900TOW 1 EA
14114 RESISTOR Y162610K50000A0W 1 EA
14115 RESISTOR Y1626909R0000A0W 1 EA
14116 RESISTOR Y162720K0000TOW 3 EA
14117 TEST RACK SYSTEM 8261343G3 1 EA
14118 DELL RACK CONTROLLER R7910 1 EA
14119 APC SMART UPS SRT6KRMXLT 1 EA
14120 POWER INTERFACE BOX 8261348G1 1 EA
14121 MODULAR POWER SYSTEM MAINFRAME N6702A 1 EA
14122 DC POWER MODULE N6774A 1 EA
14123 DC POWER MODULE N6774A 1 EA
14124 DC POWER MODULE N6774A 1 EA
14125 DC POWER MODULE N6777A 1 EA
14126 MODULAR POWER SYSTEM MAINFRAME N6702A 1 EA
14127 DC POWER MODULE N6753A 1 EA
14128 DC POWER MODULE N6774A 1 EA
14129 DC POWER MODULE N6777A 1 EA
14130 DC POWER MODULE N6702A 1 EA
14131 DC POWER MODULE N6774A 1 EA
14132 DC POWER MODULE N6774A 1 EA
14133 DC POWER MODULE N6774A 1 EA
14134 DC POWER MODULE N6774A 1 EA
14135 MODULAR POWER SYSTEM MAINFRAME N6702A 1 EA
14136 DC POWER MODULE N6753A 1 EA
14137 DC POWER MODULE N6774A 1 EA
14138 DC POWER MODULE N6774A 1 EA
14139 PXI EXPRESS CHASSIS PXIE-1065 1 EA
14140 PXI CONTROLLER PXIE-8360 1 EA
14141 PXI 7 % DIGIT DMM PXI-4071 1 EA
14142 PXI 7 % DIGIT DMM PXI-4071 1 EA
14143 DSA 24-BIT PXI-4461 1 EA
14144 FLEX RIO FPGA PXIE-7966R 1 EA
14145 FLEX RIO FPGA PXIE-7966R 1 EA
14146 FLEX RIO FPGA PXIE-7966R 1 EA
14147 FLEX RIO ADAPTER, RS422 NI-6584 1 EA
14148 FLEX RIO ADAPTER, LVDS NI-6585 1 EA
14149 FLEX RIO ADAPTER, LVDS NI-6585 1 EA

350f63



As of 2/28/2019

RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
14150 SINGLE PXI 64 CHANNEL, SOLID STATE 40-682-002 1 EA
14151 SINGLE PXI 64 CHANNEL, SOLID STATE 40-682-002 1 EA
14152 RESISTOR MODULE, 6 CHANNEL PRECISION 40-682-003 1 EA
14153 RS232 SERIAL INTERFACE, 8-PORT PXI-8430/8 1 EA
14154 POWER CABLE ASSY, W1001 8261349G1 1 EA
14155 POWER CABLE ASSY, W1002 8261349G2 1 EA
14156 CABLE ASSEMBLY, MUX 8260876G1 1 EA
14157 CABLE ASSEMBLY, MUX 8260876G2 1 EA
14158 TEST INTERFACE BOX (TIB) 8263756G1 1 EA
14159 ELECTRONICS UNIT TARGET TEST SIMULATOR BOX (EUTTSB) 8260856G2 1 EA
14160 5330A-2R SYNCHRO/RESOLVER SIMULATOR 5330A-2R 1 EA
14161 CABLE ASSEMBLY,.SYNCHRO/RESOLVER 8260874 1 EA
14162 EU Housing Protective Plate 8265783 1 EA
14163 Electronics Unit 8258701G1 1 EA
14164 Backplane Support Plate, EU 8258705G1 1 EA
14165 CCA - EU Test (Flight) 8260502G2 1 EA
14166 CCA - EU Test (Flight) 8260502G2 1 EA
14167 Module Assembly, Single Board 8261011G1 1 EA
14168 Module Assembly, Single Board 8261011G1 1 EA
14169 CCA - AZ/Cal Control 8261032G2 1 EA
14170 CCA - AZ/Cal Control 8261032G2 1 EA
14171 CCA - VIS Cal Target 8261042G2 1 EA
14172 CCA - VIS Cal Target 8261042G2 1 EA
14173 EU Power Supply 8261051G1 1 EA
14174 EU Power Supply 8261051G1 1 EA
14175 CCA - EU Filter (Flight) 8261062G2 1 EA
14176 CCA - EU Filter (Flight) 8261062G2 1 EA
14177 Module Assembly, Single Board (Spare) 570758-1 1 EA
14178 CCA - AZ/Cal Control (Spare) 8261032G2 1 EA
14179 Platt Aluminum Shipping Case ATA7146 1 EA
14180 Platt Aluminum Shipping Case ATA7146 1 EA
14181 Platt Aluminum Shipping Case ATA7146 1 EA
14182 Platt Aluminum Shipping Case ATA7146 1 EA
14183 Platt Aluminum Shipping Case ATA7146 1 EA
14184 Platt Aluminum Shipping Case ATA7146 1 EA
14185 Platt Aluminum Shipping Case ATA7146 1 EA
14186 Cross-Track Scan Module 8258750G1 1 EA
14187 CSM Rear Cover 8262787-1 1 EA
14188 CSM Connector Board 8262888-1 1 EA
14189 CSM Front Cover 8262786-1 1 EA
14190 CSM Mounting Fixture 8262867G1 1 EA
14191 CSM Mounting Fixture 8262867G2 1 EA
14192 Insertion Removal Tool - AZCAL CCA SNO1 8258715G1 1 EA
14193 Insertion Removal Tool - AZCAL CCA SNO2 8258715G1 1 EA
14194 Insertion Removal Tool - VISCAL CCA SNO1 8258716G1 1 EA
14195 Insertion Removal Tool - VISCAL CCA SN02 8258716G1 1 EA
14196 Insertion Removal Tool - FILTER CCA SNO1 8258717G1 1 EA
14197 Insertion Removal Tool - FILTER CCA SN02 8258717G1 1 EA
14198 Insertion Removal Tool - SBC CCA SNO1 8258718G1 1 EA
14199 Insertion Removal Tool - SBC CCA SNO2 8258718G1 1 EA
14200 Insertion Removal Tool - TEST CCA SNO1 8259603G1 1 EA
14201 Insertion Removal Tool - TEST CCA SNO2 8259603G1 1 EA
14202 15 S Standard T-Nut 5/16-18 Thread 3203 25 EA
14203 15 S Standard T-Nut 5/16-18 Thread 3203 25 EA
14204 15 S Standard T-Nut 5/16-18 Thread 3203 24 EA
14205 Index Stops 3203 4 EA
14206 Socket 5/16-18 92196A582 25 EA
14207 Finished Hex nuts 304F594 25 EA
14208 Sleeving 1/2" X 100' (est.) Black G1101/2 BKOO5-ND 1 EA
14209 Sleeving 1/2" X 100' (est.) Black G1101/2 BK005-ND 1 EA
14210 Keyed Q.C. Stem Protector Green key SS-QC6-SPK3 1 EA
14211 Keyed Q.C. Body Protector, Green Key SS-QC6-BPK3 1 EA
14212 SS QC Body QC SS-Qc6-B-600K3 1 EA
14213 Port Connector 1/4" SS-401-PC 1 EA
14214 Connector, D-Subminiature 570622-26HD 1 EA
14215 1/2" Screws Hex Top 92196A194 1 PG
14216 Excess 1/2" Screws: Part of Arm Cable Fixture 8258748-24 1 PG
14217 1" Screw Hex Top/Washer set 8259689-1 1 PG
14218 1/4" Diameter Washers NAS1149C0532R 1 PG
14219 1" Screws Hex Top NAS1352N5-16 1 PG
14220 1/4" Washers NAS620C6 3 EA
14221 1/4" Washers NAS620C8 1 PG
14222 11/4" Screws Hex Top MS16995-67 1 PG
14223 Heat Shrink Tubing 3/32" BK 100' (est.) F1053/32 BKOO5-ND 1 EA
14224 Shrink Tube Black 0.250" FIT-205-1/4 1 EA
14225 28 AWG 30' (est.) Lead Free Solder 299/2 SV005-ND 1 EA
14226 Standard Ring Terminal, Noninsulated 8 AWG, 7/16" Screw 7113K555 1 PG
14227 Type 316 Stainless Steel Hex Head Cap Screw 93190A305 1 PG
14228 Type316 Stainless Steel Hex Nut 94804A305 1 PG
14229 MIL Spec. 300 Series Stainless Steel Flat Washer, Passivated 98019A360 1 PG
14230 1" Screws: M4X30 DIN 912 A2 S/S PT SCX204-030-100M1 1 PG
14231 1" Screws: M4X30 DIN 912 A2 S/S PT SCX204-025-100M1 1 PG
14232 1/4" Diameter Washers MCB0375015S 1 PG
14233 Toggle Wings 3/16" MCM 40251-PWR 1 PG
14234 Toggle Wings 1/8" MCM 40250-PWR 1 PG
14235 Flat 10 Washer 1pk 100 3SWFS010 1 PG
14236 Flat 6 5/16 Washer 1pk100(est.) 3SWFXS006 1 PG
14237 5/16" Hex Nuts 316SS 1 PG
14238 10/24 X 1 1/2 Soc full thread 18-8 1 PG
14239 6/32 X 11/12 Soc Full Thread 18-8 1 PG
14240 3/48 X 3/32 Socket Set - Cup Pt. 18-8SS 1 PG
14241 5/16-24 1-1/2 Socket CAP 3TSCS95F108 1 PG
14242 Cable Micro-D 25P0S-SGL End 1.5 WM2147-ND 1 PG
14243 Quick Connect SS-QC6-B-600K6 1 EA
14244 Body Protector SS-QC6-BPK6 1 EA
14245 Vacuum Flange 8258625-2 1 EA
14246 Package of 4, Spacer, Drill Template 8258683-1 1 PG
14247 Zook Rupture Disks 3" Z-VAC, 316/TEF/316 170319-8447 1 EA
14248 Zook Rupture Disks 3" Z-VAC, 316/TEF/316 170319-8446 1 EA
14249 Desiccant Bag, Unit Size 80 25425627696-201 1 EA
14251 Flange button socket cap 316 10 EA
14252 Flange button socket cap 316 10 EA
14253 Flange button socket cap 316 10 EA
14254 Flange button socket cap 316 4 EA
14255 Threaded Spacer 3620 5 EA
14256 0.4380 X 0.2030 X 0.0320 Washers NAS1149C0332R 250 EA
14257 5/16-18 x 0.655W x1.14L Spec. Nut Stainless 3678 25 EA
14258 1/2" Socket button top 3611 17 EA
14259 24(7x32) MW Black electrical wire (200" est.) 698ITIBlack 1 EA
14260 3/8-16 x 1 1/4 Socket Set- Cup pt. 18-8SS 6 EA
14261 Ring Tongue, wire size 22-18 AWG str Cu only L-11-6-W 100 EA
14262 1" Sockets, hex top MS16995-52 2 EA
14263 5/16" sockets, button top 3940 16 EA
14264 Sockets M6X20 7991-A2 FULL THD FHS1X0620-025M1 25 EA
14265 1/4" Washers, package of 100 (est.) 8257665-1 1 EA
14266 Socket Cap 1/4-20 x 5/8 MS16995-49D 25 EA
14267 Socket Cap 1/4-20 X 3/4 MS16995-50D 9 EA
14268 Button socket cap 4/40 X 1/2 316 50 EA

36 0f 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
14269 Flat washer, din 125 A2 M8, package of 100 (est.) B-0125A2M8.4-B100 100 EA
14270 Custom Backshell 8259635-1 1 EA
14271 Backshell, size 2 8259615-1 3 EA
14272 Backshell, size 5 8259616-1 3 EA
14273 Backshell, BTC 8259609-1 2 EA
14274 Shaft 8259964-1 1 EA
14275 Screw MS51959-32 2 EA
14276 Screw MS51959-2 2 EA
14277 PAW 8259965-1 1 EA
14278 TAG 8259966-1 1 EA
14279 Body, Cover 8259963-1 1 EA
14280 RBI Al mirror development F-MR-0013806 1 EA
14282 Shaft 8259964-1 1 EA
14283 Tag (Non-flight) 8259966-1 1 EA
14284 1/4" M/ F standoff NAS1829C4C16 10 EA
14285 1/4" M/ F standoff NAS1829C4C16 10 EA
14286 1/4" M/ F standoff NAS1829C4C16 10 EA
14287 1/4" M/ F standoff NAS1829C4C16 10 EA
14288 1/4" M/ F standoff NAS1829C4C16 10 EA
14289 Fender Washers 1/4 X 1 91525A120 21 EA
14290 18-8 SS Hex Drive Rounded Head Screw 92949A542 46 EA
14291 Socket Cap 4/40X 1/2 MS16995-11D 8 PG
14292 Socket Cap 4/40 X 3/8 MS16995-10D 1 PG
14293 Socket Cap 4/40 X 3/4 MS16995-13 1 PG
14294 Socket Cap 4/40 X 5/8 MS16995-12 1 PG
14295 Socket Cap 4/40X 1/4 MS16995-9 6 PG
14296 WASHER, FLAT - METAL, ROUND GENERAL PURPOSE (.125 ID, .312 OD, .032 THICK) MS15795-804 1 PG
14297 Washer NAS1149C0563R 2 EA
14298 Washer, lock-spring, #10 MS35338-138 91 EA
14299 Nut MS51971-2 10 EA
14300 Washer NAS1149C0432R 14 EA
14301 Washer NAS1149C0432R 20 EA
14302 Washer NAS1149C0463R 20 EA
14303 Nut MS51971-1 6 EA
14304 Nut MS51971-1 10 EA
14305 Insert, tangless NAS1130-5C-20 1 EA
14306 Nut MS51971-1 4 EA
14307 Insert, tangless NAS1130-06-15 1 EA
14308 Lanyard 303457382 1 EA
14309 Locking Helical Insert 5/16 - 18 P3585-5EN625 5 EA
14310 Socket cap screw 4-40 x 1/2 MS16995-11 16 EA
14311 Flat Washer B-0125A2M8.4B100 100 EA
14312 M4 439-A4 Nut JN9XX00400-050M1 50 EA
14313 Screw Cap Socket (.250 x .750 LG) MS16995-50 12 EA
14314 Flat Washer NAS1149C0632R 16 EA
14315 Flat Washer (7/16") Z9098SS 5 EA
14316 M4X10 912-A4 PT Screw SCX204010-050M1 50 EA
14317 Screw Cap Socket (.250 x .750 LG) MS16995-50 16 EA
14318 Flat Washer NAS1149C0863R 10 EA
14319 Flat Washer (7/16") 79098SS 2 EA
14320 M8X55 912-A2 PT Screw SCX208055-010M1 20 EA
14321 Screw Cap Socket (.250 x 1.0 LG) MS16995-52 10 EA
14322 Flat Washer B-0125A2M6.4B100 74 EA
14323 Flat Washer NAS620C416 11 EA
14324 Helical Insert 46368 1 EA
14326 Screw Cap, Hexagon socket head, full thread A-286, 1100 Mpa, Metric NAO0069-80040 10 EA
14327 Flat Washer MA3453-060 10 EA
14328 Helical Insert NA0276M6 5 EA
14329 Screw flat head counter sunk 2-56 x .188 MS1959-2 2 EA
14330 Socket Cap 7/16-14X 1 1/4 MS90725-4 1 EA
14331 Flat Washer MA3453-080 10 EA
14332 Helical Insert M12 X 1.75 MM P1084-12CN240 1 EA
14333 Hex Nut 7/16-14 MS51967-12 6 EA
14334 Screw flat head counter sunk 6-32 x .750 MS51959-32 2 EA
14335 Socket Cap M6 x 12 mm SCX206012-050M1 45 EA
14336 Flat Washer M17 0125A2 25 EA
14337 Flat Washer (3/8") NAS1149-C0663R 93 EA
14338 Helical Insert M12 X 1.75 MM P1084-12CN240 5 EA
14339 Hexagon Nut (.190-32) MS35650-304D 2 EA
14340 Screw socket cap hd 4-40 X 1/2" MS16995-11 66 EA
14341 Socket Cap M6 x 16 mm SCX206016-050M2n 14 EA
14342 Helical Insert M12 X 1.75 MM P1084-12CN240 1 EA
14343 Nylon Insert Nuts (10-32 NF) 96345A240 4 PG
14344 Socket Cap MJ6 x 16 mm NAO069A060016 18 EA
14345 316 SS socket head cap screw M2 thread, 8mm length, 0.4 mm pitch 92290A015 1 PG
14346 Helical Insert M6 X 1.0 MM P1084-6CN120 10 EA
14347 Pin M10mm x 30 mm DP7X10030m6-005M1 2 EA
14348 Socket head screw M8 x 22 912-A4 FT SCXX208022-010M1 10 EA
14349 316 SS socket head cap screw M2 thread, 10mm length, 0.4 mm pitch N 92290A017 1 PG
14350 316 SS washer 8.64mm x 4.3 mm x.7 mm 2550W23612 100 EA
14351 Pin M10mm x 30 mm DP7X10030m6-005M2 5 EA
14352 Split ring SRH-120 1 EA
14353 316 SS washer for M2 screw size, 2.2mm ID, 5 mm OD 90965A110 1 PG
14354 18-8 SS Mil. Spec. Washer, Pasivated, Number 2 screw size, NAS 620-C2 90945A705 1 PG
14355 90 degree elbow reducer 4429K131 2 EA
14356 Washer NAS1149C0663R 28 EA
14357 Cap Head Screw NA0069A060022 10 EA
14358 Socket Cap 4-40 X 3/4 MS16995-13 5 EA
14359 Cap Head Screw NAS1352C4-12 24 EA
14360 Washer NAS1149C0863R 17 EA
14361 Connecting link 8947724 1 EA
14362 Washer NAS1149C0463R 4 EA
14363 Washer (1.95 ID, 354 OD, 0.063 thick) NAS620C10 92 EA
14364 Socket Cap 4-40 X 5/8 MS16995-12 6 EA
14365 Washer NAS1149C0463R 11 EA
14366 Washer Flat (.255 ID, .468 OD, .063 thk) NAS620C416 29 EA
14367 Socket Cap 1/4-20X7/8 MS16995-51 5 EA
14368 Socket Cap 1/4-20X 3/4 MS16995-50 2 EA
14369 Socket Cap 10-32 X 1/2 NAS1351C-8 2 EA
14370 Socket Cap 3/8-16 X 11/4 MS16995-82 10 EA
14371 (.250" x 1.50 LG) PIN MS16555-650 2 EA
14372 (.250" x 1.50 LG) PIN MS16555-650 5 EA
14373 Cable Ties (Panduit 7.3") BR2M-M 1 PG
14374 Cable Ties (Panduit 3.9") PLM1M-M 1 PG
14375 Screw, Machine-flat countersink head, UNC-2A (#2-56 X .188 LG) MS51959-2 2 EA
14376 Spring - McMaster-Carr 1986K3 6 EA
14377 Spring - LEE Spring LP-055R-04-5316 3 EA
14378 1/2" VCR Gasket, unplated SS-8-VCR-2-VS 2 EA
14379 Witness Waffer Mirror (4” diameter) 419-203-04 2 EA
14380 Positronic Connector Hardware 570774-12 3 SE
14381 Positronic Connector Hardware 570774-13 3 SE
14382 Connector Measurement Block (A & B) 8258930-1 2 EA
14383 18-8 Stainless steel cup (set screw) 92311A088 7 EA
14384 RBI Torque Wrench (Mountz TB red 3-12 Ibf.in hex key 1/8) 06003B-165 1 EA
14385 RBI Torque Wrench (Mountz TB red 3-12 Ibf.in hex key 1/8) 06003B-165 1 EA
14386 RBI Torque Wrench (Mountz TB blue 25-50 ozf.in hex key .05) 06002A-175 1 EA
14387 RBI Torque Wrench (Mountz TB blue 25-50 ozf.in hex key .05) 06002A-175 1 EA
14388 RBI Torque Wrench (Mountz TB blue 25-50 ozf.in hex key .05) 06002A-175 1 EA

370of63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
14389 Purge tube fitting 8258625G1 1 EA
14391 INTEGRATION FLIP CART 8259577G1 1 EA
14392 ROUTING DEVELOPMENT FIXTURE JB53202 1 EA
14393 Optical Bench Assembly 8258606G1 1 EA
14394 SCT + Bench Temperature Cable 8259880G2 1 EA
14395 Cable Fixture 8258708G1 1 EA
14396 IR Calibration Target 8258850G1 1 EA
14397 ICT Mounting Fixture 8259860-2 1 EA
14398 ICT Handling Fixture 8259860-3 1 EA
14399 Solar Calibration Target 8258900G1 1 EA
14400 Solar Calibration Assembly fixture 8258920-1 1 EA
14401 Pelican Case 1200 1 EA
14402 Early EDU focal plane module - SN003 10407275 1 EA
14403 Pelican Case 1450 1 EA
14404 EDU focal plane module - SN101 10397856 1 EA
14405 EDU focal plane module - SN103 10397856 1 EA
14406 Flight focal plane module - SN201 8258805 1 EA
14407 Pelican Case 1450 1 EA
14408 Flight focal plane module - SN202 8258805 1 EA
14409 Flight focal plane module - SN204 8258805 1 EA
14410 Pelican Case 1450 1 EA
14411 Flight focal plane module - SN205 8258805 1 EA
14412 Flight focal plane module - SN206 8258805 1 EA
14413 Flight focal plane module - SN209 8258805 1 EA
14414 RBITES 3 8260323G2 1 EA
14415 NETWORK TIME SERVER 8261142G1 1 EA
14416 MUTLUPLEXER, 32 CH 40-682-002 1 EA
14417 DSHP M630 468-0891 1 EA
14418 NI PXI-4071 DMM 778271-01 1 EA
14419 NI PXI-6509, 96 CH 778858-01 1 EA
14420 PXI-6254 779118-01 1 EA
14421 PRECISION RACK MOUNT PC 7910 1 EA
14422 NI PXI 8360 NI PX1 8360 1 EA
14423 NI PXIE-1065 779730-01 1 EA
14424 NI 6584 ADAPTER 781290-02 1 EA
14425 NI PXIE-7966R 781805-01 1 EA
14426 NI PXIE-7966R 781805-01 1 EA
14427 POWER INTERFACE BOX 8261144G2 1 EA
14428 TELEMETRY INTERFACE BOX 8261148G1 1 EA
14429 TEST INTERFACE BOX 8261152G1 1 EA
14430 BLEEDOFF PANEL 8261156 1 EA
14431 BLEEDOFF 2 PANEL 8261169 1 EA
14432 POWER SUPPLY N6702A 1 EA
14433 POWER SUPPLY N6702A 1 EA
14434 POWER SUPPLY N6702A 1 EA
14435 POWER SUPPLY N6702A 1 EA
14436 DC POWER SUPPLY N6744B 1 EA
14437 DC POWER SUPPLY MODULE N6756A 1 EA
14438 DC POWER SUPPLY MODULE N6756A 1 EA
14439 DC POWER SUPPLY MODULE N6756A 1 EA
14440 DC POWER SUPPLY MODULE N6756A 1 EA
14441 DC POWER SUPPLY MODULE N6756A 1 EA
14442 DC POWER SUPPLY MODULE N6756A 1 EA
14443 DC POWER MODULE N6774A 1 EA
14444 DC POWER MODULE N6774A 1 EA
14445 DC POWER MODULE N6774A 1 EA
14446 SMART UPS SRTSKRMXLT 1 EA
14447 Crate, Rack, Quickcrate 32x44x82 HAR-031518 1 EA
14448 QUAD DISPLAY ZERO CLIENT V1200-QPD 1 EA
14449 QUAD DISPLAY ZERO CLIENT V1200-QPD 1 EA
14450 QUAD DISPLAY ZERO CLIENT V1200-QPD 1 EA
14451 LAN cabling misc COTS 1 SE
14452 UL LISTED L6-30P TO L6-30R POWER CABLE IBX-5803-15 1 EA
14453 Accessories: Keyboards, Mouse, monitor stand misc. COTS 1 SE
14454 Auxiliary E-stop local mfr 1 EA
14455 NI 6584 ADAPTER 781290-02 1 EA
14456 Detector Stray Light Assembly 8259795G1 1 EA
14457 Aluminum Shipping Case ATA7146 1 EA
14458 24" MONITOR P2414H 1 EA
14459 24" MONITOR P2414H 1 EA
14460 24" MONITOR P2414H 1 EA
14461 24" MONITOR P2414H 1 EA
14462 EU TARGET TEST BOX TO 8260878G1 1 EA
14463 REDUNDANT CHANNEL CARD QCP-1553C-G2-4MA 1 EA
14464 Crate, Rack, Quickcrate 32x44x82 HAR-031518 1 EA
14465 Crate, Miscellaneous, Quickcrate 30 x 22 x 23 30x22x23 1 EA
14466 Crate, Miscellaneous, Quickcrate 46 x 30 x 23 46x30x23 1 EA
14467 PREAMPLIFIER, LOW-NOISE STANFORD RESEARCH SYSTEMS INC 1 EA
14468 CONTROLLER, TEMPERATURE LAKE SHORE CRYOTRONICS INC 336 1 EA
14469 POWER SUPPLY KEYSIGHT TECHNOLOGIES INC E3646A 1 EA
14470 POWER SUPPLY KEYSIGHT TECHNOLOGIES INC 3646A 1 EA
14471 STAGE, LINEAR CONEX-MFACC 1 EA
14472 STAGE, LINEAR CONEX-MFACC 1 EA
14473 PREAMPLIFIER, LOW-NOISE SR560 1 EA
14474 PREAMPLIFIER, LOW-NOISE SR560 1 EA
14475 PREAMPLIFIER, LOW-NOISE SR560 1 EA
14476 PREAMPLIFIER, LOW-NOISE SR560 1 EA
14477 CONTROLLER, PUMP PT G28 040 1 EA
14478 PUMP, VACUUM HiPace 80 ECO 1 EA
14479 MICROSCOPE 2396902 1 EA
14480 CONTROLLER 2397261 1 EA
14481 CONTROLLER 2397262 1 EA
14482 CHOPPER SYSTEM, OPTICAL 2651122 1 EA
14483 COMPUTER, MICRO 2275632 1 EA
14484 DISPLAY UNIT 2650513 1 EA
14485 TEX 80 NOMEX THREAD 570684-1 2 RO
14486 ALUMINUM/POLYIMIDE/966 PSA, 1" WIDE 8216972-1 1 RO
14487 ALUMINUM/0.5 MIL POLYIMIDE/ALUMINUM 8207717-1 80 FT
14488 ALUMINUM/1.0 MIL POLYIMIDE/ALUMINUM 8207717-2 17 FT
14489 WIRE, 22 AWG, WHITE 44/0414-22-9 4417 FT
14490 TERMINAL LUG 423-0187-107 925 EA
14491 TERMINAL LUG 423-0183-108 12 EA
14492 WIRE, 22 AWG, WHITE 44/0414-22-9CS2251 1910 FT
14493 WIRE ASSEMBLY AFM702755 REVB 28 FT
14494 PHOTODIODE 132-111308 4 EA
14495 SI PHOTODIODE 132-111309 4 EA
14496 BALANCED MODULE 132-112112 15 EA
14497 ULTRA PRECISION REFERENCE 132-112113 10 EA
14498 ULTRA PRECISION REFERENCE 132-112113-GT1 58 EA
14499 RESISTOR 303135-10K000TBW 12 EA
14500 RESISTOR 303135-2K5000TBW 4 EA
14501 RESISTOR 303135-5K0000TBW 3 EA
14502 RESISTOR 303135-5K0000TBW-GT 54 EA
14503 RESISTOR 303135-6K9400TBW 2 EA
14504 THERMISTOR 311P18-07A101 10 EA
14506 CONNECTOR 311P407-1P-B-12 4 EA
14507 CONNECTOR 311P407-2P-B-12 1 EA
14508 CONNECTOR 311P407-25-B-12 4 EA

380f 63



As of 2/28/2019

RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
14509 CONNECTOR 311P407-55-B-12 1 EA
14510 CONNECTOR 311P409-1P-B-12 4 EA
14511 CONNECTOR 311P409-1P-B-12 2 EA
14512 CONNECTOR 311P409-1S-B-12 2 EA
14513 CONNECTOR, D-SHELL,=NFEMALE 15-PIN 311P409-2S-B-12 4 EA
14514 CONNECTOR, D-SHELL, MALE,=N37-PIN 311P409-4P-B-12 23 EA
14515 CONNECTOR 311P822-MC-110-AS-D 5 EA
14516 CONNECTOR KEY 311P822-MK-01 4 EA
14517 CONNECTOR KEY 311P822-MK-04 6 EA
14518 CONNECTOR, MALE KEYS 311P822-MK-16 4 EA
14519 CPCI SERIES (2MM) CONNECTORS 311P822-MK-21 2 EA
14520 CONNECTOR KEY 311P822-MK-31 2 EA
14521 TAPE, SILVER/TEFLON THERMALCTRL, 2", TYPE 1 ADHESIVE 560701-5 1 RL
14522 TAPE SILVER, TEFLON THERMAL 560701-6 1 RL
14523 TAPE SILVER, TEFLON THERMAL 560701-6 1 RL
14524 TAPE SILVER, TEFLON THERMAL 560701-6 1 RL
14525 TAPE SILVER, TEFLON THERMAL 560701-6 1 RL
14526 GERMANIUM COATED KAPTON966 PSA 1" WIDE 8217831-1 4 EA
14527 CAPS AND PLUGS, CONDUCTIVE,ESD PROTECTIVE 419-167-303 20 EA
14528 TAPE,COPPER,EMI SHIELDING 400-4012-CCE-1000 4 EA
14529 STAINLESS STANDOFFS 4513-256-SS 32 EA
14530 RESISTOR 508683-1 2 EA
14531 RESISTOR, FOIL, PRECISION, CHIP (15K OHMS) 508683-53 2 EA
14532 RESISTOR 508683-71 2 EA
14533 WIRE, SPEC 55, 26 AWG, WHITE 55/0314-26-9 5472 FT
14534 TAPE, LAMINATED ADHESIVEHIGH TEMPERATURE 1" WIDE 560715-2 11 RL
14535 TAPE, LAMINATED ADHESIVEHIGH TEMPERATURE 3" WIDE 560715-3 7 RL
14536 TAPE, LAMINATED ADHESIVEHIGH TEMPERATURE 6" WIDE 560715-4 3 RL
14537 TAPE, LAMINATED ADHESIVEHIGH TEMPERATURE 6" WIDE 560715-4 2 RL
14538 FLUX CORED WIRE SOLDER 0.010 DIAMETER 570674-5 1 EA
14539 TAPE, ALUMINUM FOIL 400-3391-106 1 RL
14540 285 RESIN, 66 CORE SN63WRMAP3 25 EA
14541 285 RESIN, 66 CORE SN63WRMAP3 25 EA
14542 INSULATION SLEEVING, 3/64"STRANCO M23053/8-001-C 137 FT
14543 HOOK FASTENER, POLYESTERVELCRO 560710-5 2 FT
14544 HOOK FASTENER, POLYESTERVELCRO 560710-5 25 FT
14545 HOOK FASTENER, POLYESTERVELCRO 560710-5 25 FT
14546 HOOK FASTENER, POLYESTERVELCRO 560710-5 25 FT
14547 HOOK FASTENER, POLYESTERVELCRO 560710-5 20 FT
14548 PILE FASTENER, POLYESTER,VELCRO, 1" 560710-6 25 FT
14549 PILE FASTENER, POLYESTER,VELCRO, 1" 560710-6 25 FT
14550 PILE FASTENER, POLYESTER,VELCRO, 1" 560710-6 25 FT
14551 PILE FASTENER, POLYESTER,VELCRO, 1" 560710-6 25 FT
14552 PILE FASTENER, POLYESTER,VELCRO, 1" 560710-6 25 FT
14553 PILE FASTENER, POLYESTER,VELCRO, 1" 560710-6 20 FT
14554 PILE FASTENER, POLYESTER,VELCRO, 1" 560710-6 1.6 FT
14555 PILE FASTENER, POLYESTER,VELCRO, 1" 560710-6 2 FT
14556 TAPE,COPPER,EMI SHIELDING 400-4012-CCE-1250 5 EA
14557 TAPE, POLYIMIDE, ADHESIVE1" - K102 560702-2 2 RL
14558 HEAT SHRINK, 3/16"STRANCO M23053/8-005-C 77 FT
14559 HEAT SHRINK, 3/16"STRANCO M23053/8-005-C 2 FT
14560 CLAMP-CABLE TIE 561303-1 15 EA
14561 CLAMP-CABLE TIE 561303-1 628 EA
14562 TIES, CABLE AND WIRE TYZ25M (1/16 TO 1-3/4) 561306-1 1 EA
14563 TIES, CABLE AND WIRE TYZ25M (1/16 TO 1-3/4) 561306-1 787 EA
14564 TIES, CABLE AND WIRE TYZ25M (1/16 TO 1-3/4) 561306-1 38 EA
14565 TIES, CABLE AND WIRE TYZ27M 561306-3 8 EA
14566 TIES, CABLE AND WIRE TYZ27M 561306-3 950 EA
14567 TIES, CABLE AND WIRE TYZ27M 561306-3 39 EA
14568 TIES, CABLE AND WIRE TYZ23M (1/16 TO 5/8) 561306-4 832 EA
14569 TIES, CABLE AND WIRE TYZ23M (1/16 TO 5/8) 561306-4 109 EA
14570 SLEEVING, 1/16" M23053/8-002-C 179 FT
14571 GLASS BEADS 561459-5 112 0oz
14572 O-RING 561525-45 9 EA
14573 O-RING 561525-48 1 EA
14574 MYLAR, FILM-POLYESTER, TYPE A 561802-1 4 FT
14575 MYLAR, FILM-POLYESTER, TYPE A 561802-2 6.41 FT
14576 MYLAR, FILM-POLYESTER, TYPE A 561802-7 8.08 FT
14577 WIRE, COPPER 30 AWG 562511-7 850 FT
14578 WIRE, COPPER 30 AWG 562511-7 1000 FT
14579 CONNECTOR, CIRCULAR 570503-88 5 EA
14580 CONNECTOR, CIRCULAR 570503-90 5 EA
14581 CONNECTOR, CIRCULAR 570503-92 5 EA
14582 CONNECTOR, CIRCULAR 570503-93 5 EA
14583 CONTACT, PIN, ELECTRICAL 570512-1 291 EA
14584 GASKET, EMI - SPIRAL 570518-22GT 3 FT
14585 BAND, CLAMPING, PRE-COILED, EXTENDED LENGTH / WTG# A10099 570521-1 1 EA
14586 BAND, CLAMPING, PRE-COILED, EXTENDED LENGTH / WTG# A31199 570521-2 75 EA
14587 MICROCIRCUIT, DIGITAL - MEMORY32K X 8 SRAM, LWR PWR SOI, RAD 570522-2 15 EA
14588 MICROCIRCUIT, MEMORY, 32KX8, SRAM, LOW POWER, RADIATION HARD 570522-2GT 3 EA
14589 WIRE, SINGLE 24 GAUGE 570526-1 30 FT
14590 WIRE, SINGLE 24 GAUGE 570526-1 3105 FT
14591 WIRE, SINGLE 24 GAUGE 570526-1 2360 FT
14592 WIRE, SINGLE 24 GAUGE 570526-1 17 FT
14593 WIRE, SINGLE 24 GAUGE 570526-1GT 2 FT
14594 WIRE, SINGLE 26 GAUGE 570526-2 26 FT
14595 WIRE, SINGLE 26 GAUGE 570526-2 5283 FT
14596 WIRE, SINGLE 26 GAUGE 570526-2 81 FT
14597 WIRE, 26 AWG, TTTWISTED TRIPLE 26 AWG 570526-20 100 FT
14598 TAPE, FABRIC, NICKEL PLATEDCFT-36-101-0100 1.00" WIDE 8203015-1 4 RL
14599 WIRE, 26 AWGTWISTED PAIR 26 AWG 570526-22 50 FT
14600 WIRE, TSP 26 GAUGE12 X 7 SPOOL 570526-4 4821 FT
14601 WIRE TWISTED SHIELDED QUAD 26 GAUGE 570526-5 3134 FT
14602 WIRE TWISTED SHIELDED QUAD 26 GAUGE 570526-5 1881 FT
14603 WIRE TWISTED SHIELDED QUAD 26 GAUGE 570526-5 20 FT
14604 WIRE, TWISTED PAIR 22 GAUGE 570526-7 343 FT
14605 WIRE, 22 AWG SINGLE 570526-9 5244 FT
14606 WIRE, 22 AWG SINGLE 570526-9 4 FT
14607 CONTACT, SOCKET, ELECTRICAL 570531-1 350 EA
14608 RESISTOR 570556-443 2 EA
14609 RESISTOR 570556-459 2 EA
14610 RESISTOR 570556-519 2 EA
14611 IC, LINEAR 570557-2GT 2 EA
14612 CONNECTOR, CABLE STYLEMICRO-D PIN SHELL SIZE 9 570574-1 8 EA
14613 CONNECTOR MICRO-D SOCKET SHELL SIZE 15 570574-10 3 EA
14614 CONNECTOR MICRO-D SOCKET SHELL SIZE 37 570574-14 7 EA
14615 CONNECTOR MICRO-D SOCKET SHELL SIZE 51 570574-15 7 EA
14616 PIN CONTACT, 24 SIZETWIST PIN FOR 26 AWG WIRE 570574-17 540 EA
14617 PIN CONTACT, 24 AWG, MICRO-D 570574-18 800 EA
14618 CONTACT, SOCKET - CRIMP,26 AWG 570574-20 721 EA
14619 CONNECTOR, CABLE STYLEMICRO-D PIN SHELL SIZE 21 570574-3 8 EA
14620 CONNECTOR, CABLE STYLEMICRO-D PIN SHELL SIZE 51 570574-7 7 EA
14621 SCREW, CAPTIVE, SOCKET HEAD 570603-30 21 EA
14622 CONNECTOR, D-SUBMINIATURE 570622-15HD 1 EA
14623 CONNECTOR, D-SUBMINIATURE 570622-15HD 1 EA
14624 CONNECTOR, D-SUBMINIATURE 570622-15ND 1 EA
14625 CONNECTOR, D-SUBMINIATURE 570622-26HD 1 EA
14626 CONNECTOR, D-SUBMINIATURE 570622-37ND 1 EA

39 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
14627 CONNECTOR, D-SUBMINIATURE 570622-44HD 4 EA
14628 CONNECTOR, D-SUBMINIATURE 570622-44HD 1 EA
14629 CONNECTOR, D-SUBMINIATURE 570622-62HD 1 EA
14630 CONNECTOR, D-SUBMINIATURE 570622-78HD 1 EA
14631 CONNECTOR, D-SUBMINIATURE 570622-78HD 14 EA
14632 CONNECTOR, D-SUBMINIATURE 570622-9ND 1 EA
14633 CONNECTOR, MA STRIP 570652-4 4 EA
14634 CONNECTOR, MA STRIP 570652-5 3 EA
14635 SCREW, LOCK, CONNECTOR MASTRIP 570652-6 16 EA
14636 SCREW, LOCK, CONNECTOR MASTRIP 570652-6 2 EA
14637 SCREW, LOCK, CONNECTOR MASTRIP 570652-7 24 EA
14638 SCREW, LOCK, CONNECTOR MASTRIP 570652-7 2 EA
14639 TAPE, POLYIMIDE, ADHESIVE1" - K102 560702-2 6 RL
14640 LABELS,MARKING-PRINTABLEESD COMPATABLE 1.50 X 0.25 560716-4 3 EA
14641 TAPE, POLYIMIDE, ADHESIVE1/2" - K102 560702-1 5 RL
14642 INSULATION SLEEVING, 3/64"STRANCO M23053/8-001-C 300 FT
14643 HEAT SHRINK, 3/8" M23053/8-007-C 97 EA
14644 GREASE--SYNTHETIC HYDROCARBON RHEOLUBE 2000 8204032-1 1 EA
14645 THREAD, FILAMENT, NOMEX 570684-1 500 FT
14646 FITTING, TUBE, MALE CONNECTOR 570695-1 1 EA
14647 JACKSCREW, SPECIAL 570723-3 12 EA
14648 EMI GASKET, D-SUB CONNECTOR81-01-18089-6000 570725-15 3 EA
14649 EMI GASKET, D-SUB CONNECTOR81-01-18090-6000 570725-16 3 EA
14650 EMI GASKET, D-SUB CONNECTOR1-01-18091-6000 570725-17 3 EA
14651 EMI GASKET, D-SUB CONNECTOR81-01-18092-6000 570725-18 5 EA
14652 EMI GASKET, D-SUB CONNECTOR81-01-18093-6000 570725-19 8 EA
14653 EMI GASKET, D-SUB CONNECTOR81-01-18094-6000 570725-20 10 EA
14654 PIN, DOWEL, METRIC, SPECIAL 570741-008005 3 EA
14655 PIN, DOWEL, METRIC, SPECIAL 570741-015006 2 EA
14656 PIN, DOWEL, METRIC, SPECIAL 570741-020005 2 EA
14657 PIN, DOWEL, METRIC, SPECIAL 570741-020005 1 EA
14658 PIN, DOWEL, METRIC, SPECIAL 570741-020010 2 EA
14659 PIN, DOWEL, METRIC, SPECIAL 570741-030008 3 EA
14660 PIN, DOWEL, METRIC, SPECIAL 570741-030008 1 EA
14661 PIN, DOWEL, METRIC, SPECIAL 570741-030010 7 EA
14662 PIN, DOWEL, METRIC, SPECIAL 570741-040010 2 EA
14663 PIN, DOWEL, METRIC, SPECIAL 570741-040014 8 EA
14664 PIN, DOWEL, METRIC, SPECIAL 570741-040016 4 EA
14665 PIN, DOWEL, METRIC, SPECIAL 570741-040018 4 EA
14666 PIN, DOWEL, METRIC SPECIALAMM X 22MM LG) 570741-040022 10 EA
14667 PIN, DOWEL, METRIC, SPECIAL 570741-060016 6 EA
14668 PIN, DOWEL, METRIC, SPECIAL(8X22) 570741-080022 4 EA
14669 NUT, HEX METRIC, SPECIALM3 570742-3 2 EA
14670 WASHER, METRIC, SPECIAL 570745-2 3 EA
14671 WASHER, METRIC, SPECIAL 570745-2 14 EA
14672 WASHER, METRIC, SPECIAL 570745-2 4 EA
14673 WASHER, METRIC, SPECIAL 570745-2 43 EA
14674 CONNECTOR 570763-1 6 EA
14675 CONNECTOR 570763-1GT 3 EA
14676 CONNECTOR 570763-2 10 EA
14677 CONNECTOR 570763-2GT 1 EA
14678 BACKSHELL, ELE CONNECTOR 570770-2 2 EA
14679 BACKSHELL, ELE CONNECTOR 570770-2 1 EA
14680 BACKSHELL, ELE CONNECTOR 570770-22 1 EA
14681 BACKSHELL, ELE CONNECTOR 570770-22 1 EA
14682 BACKSHELL, ELE CONNECTOR 570770-27 1 EA
14683 BACKSHELL, ELE CONNECTOR 570770-7 1 EA
14684 JACK SCREW KIT,D SUB CONNECTOR 570774-12 87 EA
14685 JACK SCREW KIT,D SUB CONNECTOR 570774-2 93 EA
14686 JACK SCREW KIT,D SUB CONNECTOR 570774-6 75 EA
14687 JACK SCREW KIT,D SUB CONNECTOR 570774-6 4 EA
14688 JACK SCREW KIT,D-SUB CONNECTOR 570774-8 224 EA
14689 JACK SCREW KIT, D-SUB CONNECTOR 570774-9 11 EA
14690 JACK SCREW KIT,D-SUB CONNECTOR 570774-9 55 EA
14691 JACK SCREW KIT,D-SUB CONNECTOR 570774-9 10 EA
14692 CONTACT ELE PIN & SOCKET 570776-1 190 EA
14693 CONTACT ELE PIN & SOCKET 570776-1 50 EA
14694 CONTACT ELE PIN & SOCKET 570776-2 38 EA
14695 VISHAY RESISTOR 570777-1 1 EA
14696 VISHAY RESISTOR 570777-1 54 EA
14697 TAILOR POST 570778-1 196 EA
14698 LUBED SCREW (M2.5 X 8) 570789-69A025008 36 EA
14699 LUBED SCREW (M3X.5X10) 570789-69A030010 64 EA
14700 LUBED SCREW (M3 X .5) 570789-69A030014 46 EA
14701 LUBED SCREW (M4 X .7) 570789-69A040010 15 EA
14702 LUBED SCREW (M4X.7X16) 570789-69A040016 70 EA
14703 LUBED SCREW (M4X.7X18) 570789-69A040018 61 EA
14704 LUBED SCREW (M5 X .8) 570789-69A050018 6 EA
14705 LUBED SCREW (M5 X .8) 570789-69A050018 26 EA
14706 LUBED SCREW (M6 X 1.0) 570789-69A060050 47 EA
14707 LUBED SCREW (M6 X 1.0) 570789-69A060050 13 EA
14708 LUBED SCREW (M8 X 1.0) 570789-69A080024 13 EA
14709 LUBED SCREW (M8 X 1.0) 570789-69A080024 12 EA
14710 LUBED SCREW (M8 X 1.0) 570789-69A080028 1 EA
14711 LUBED SCREW (M8 X 1.0) 570789-69A080028 4 EA
14712 LUBED SCREW (M5X.8) 570789-8258648-2 2 EA
14713 LUBED SCREW (M5X.8) 570789-8258648-2 5 EA
14714 SCREW, CAP, HEXAGON SOCKET, M10 LUBRICATED 570789-8259657-1 15 EA
14715 MICROCIRCUIT,DIGITAL-ISOLATOR,QUAD-CHANNEL 570800-1 2 EA
14716 MAGNET, NEODYMIUM BLOCK 570802-1 1 EA
14717 MAGNET, NEODYMIUM BLOCK 570802-1 60 EA
14718 MAGNET, NEODYMIUM BLOCK 570802-1GT 2 EA
14719 PIN, DOWEL, METRIC ALUMINUM 570803-020006 2 EA
14720 IC, 208 PIN 5962-0422104QNA 5 EA
14721 MICROCIRCUIT 5962F1321501VXC 6 EA
14722 MICROCIRCUIT 5962F1321501VXC 8 EA
14723 MICROCIRCUIT 5962F1324801VXC 3 EA
14724 MICROCIRCUIT 5962F1324801VXC 2 EA
14725 MICROCIRCUIT 5962F1324801VXC 1 EA
14726 MICROCIRCUIT 5962F1324801VXC 5 EA
14727 MICROCIRCUIT 5962F1324801VXC 6 EA
14728 MICROCIRCUIT 5962H0423503KXC 1 EA
14729 DPA UNIT 5962H9583302VXA-GT 3 EA
14730 HEX INVERTER, CMOS LOGIC 5962H9652402VXA 1 EA
14731 REGULATOR 5962R0920602KXA-GT 2 EA
14732 REGULATOR 5962R0920701KXA-GT 3 EA
14733 SUPERVISORY CIRCUIT 5962R1121307VXC 4 EA
14734 MICROCIRCUIT 5962R1222301VXC 3 EA
14735 MICROCIRCUIT 5962R1222301VXC 30 EA
14736 OP-AMP 5962R1420701VXA 4 EA
14737 MICROCIRCUIT 5962R9307102KZC 2 EA
14738 RESISTOR 5962R9673802VXA 27 EA
14739 MICROCIRCUIT, LINEAR - 3 VOLT 5962R9865103VYC 16 EA
14740 MICROBAND 600-057-1 4 EA
14741 IC, LINEAR, 16 BIT 7846BRPFS 1 EA
14742 SCREW, CAPTIVE, MODIFIED 8156586-3 7 EA
14743 CUBE, ALIGNMENT ASSY 8183672G1 1 EA
14744 CUBE, ALIGNMENT ASSY 8183672G2 1 EA

40 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
14745 PWB TEMPERATURE SENSORMP-2123 8183736-1 13 EA
14746 PWB TEMPERATURE SENSORMP-2123/GROUP TESTING 8183736-1GT 1 EA
14747 CONNECTOR, RECEPTACLE-PWB, 8183757-5GT 2 EA
14748 CONNECTOR, RECEPTACLE PRINTED CIRCUIT BOARD MICRO D 8183761-30GT 2 EA
14749 CONNECTOR, RECEPTACLE PRINTED CIRCUIT BOARD MICRO D 8183761-35GT 2 EA
14750 CONNECTOR, RECEPTACLE PRINTED CIRCUIT BOARD MICRO D 8183761-36GT 2 EA
14751 CONNECTOR, TEST PIECES 8183762-2GT 4 EA
14752 CONNECTOR, RECEPTACLE, RIGHTANGLE, PRINTED CIRCUIT BOARD 8192865-19GT 4 EA
14753 CONNECTOR, RECEPTACLE - PWB 8192865-1GT 2 EA
14754 CONNECTOR, RECEPTACLE - PWB 8192865-4GT 2 EA
14755 SHIELD, ELECTRICAL TANTALUM 8192882-2 24 EA
14756 CONNECTOR, RECEPTACLE - PWB 8193754-23GT 2 EA
14757 CONNECTOR, PLUG, PRINTED CIRCUT BOARD, 110 PIN 8193769-7GT 10 EA
14758 PWB, DAUGHTER MP-2139 8197803-1 2 EA
14759 PWB, DAUGHTER GROUP TESTING 8197803-1GT 1 EA
14760 PWB, DAUGHTER MP-2139 8197803-1WS 1 EA
14761 RESISTOR/TEMP SENSOR ASSY 8200200G4 1 EA
14762 TEMPERATURE SENSOR 8201523-2 15 EA
14763 TEMPERATURE SENSOR 8201523-2 5 EA
14764 TEMPERATURE SENSOR 8201523-2 14 EA
14765 TEMPERATURE SENSOR 8201523-2 3 EA
14766 TEMPERATURE SENSOR, GROUP TEST SAMPLES 8201523-2GT 37 EA
14767 TEMPERATURE SENSOR, GROUP TEST SAMPLES 8201523-2GT 15 EA
14768 TEMPERATURE SENSOR 8201523-4 21 EA
14769 TEMPERATURE SENSOR 8201523-4 9 EA
14770 TEMPERATURE SENSOR 8201523-4BGT 3 EA
14771 TEMPERATURE SENSOR 8201523-4CGT 12 EA
14772 TERMINAL, SOLDER - ANGLED 8201557-1 1001 EA
14773 TERMINAL, SOLDER 8201557-6 841 EA
14774 TERMINAL, SOLDER - ANGLED 8201557-8 1169 EA
14775 TEST POINT, SURFACE MOUNT 8202823-1 13 EA
14776 HOLDER 8202902-1 22 EA
14777 HOLDER, ELECTRICAL 8202902-2 10 EA
14778 SCREW, CAP, HEX, MODIFIED 8202966-3 2 EA
14779 SCREW, CAP, HEX, MODIFIED 8202966-3 4 EA
14780 GASKET, EMI - SPIRAL 8202967-1 4 FT
14781 GASKET, EMI - SPIRAL 8202967-1 100 FT
14782 GASKET, EMI - SPIRAL 8202967-1 86 FT
14783 BRAID, WIRE - NICKEL-PLATED 8202987-3 397.5 FT
14784 BRAID, WIRE - NICKEL-PLATED 8202987-4 3.9 FT
14785 BRAID, WIRE - NICKEL-PLATED 8202987-4 1.33 FT
14786 BRAID, WIRE - NICKEL-PLATED 8202987-4 380 FT
14787 BRAID, WIRE - NICKEL-PLATED, .75 ID 8202987-5 17.7 FT
14788 BRAID, WIRE - NICKEL-PLATED, .75 ID 8202987-5 10 FT
14789 BRAID, WIRE - NICKEL-PLATED, .75 ID 8202987-5 297 FT
14790 BRAID, WIRE - NICKEL-PLATED 8202987-6 15 FT
14791 CONNECTOR CIRCULAR PANEL MOUNT 8202996-10 3 EA
14792 CONNECTOR CIRCULAR PANEL MOUNT 8202996-5 3 EA
14793 CONNECTOR CIRCULAR PANEL MOUNT 8202996-7 3 EA
14794 CONNECTOR CIRCULAR PANEL MOUNT 8202996-9 3 EA
14795 SLEEVING, 1/16" M23053/8-002-C 300 FT
14796 HEAT SHRINK, 1/2"STRANCO M23053/8-008-C 52 FT
14797 TAPE, GLASS FABRIC3M 79, 1/2" 560704-3 2 RL
14798 IC 8203047-1 5 EA
14799 CONN, PLUG - 51 PIN CONTACTS 8203095-9 1 EA
14800 CONNECTOR 8203104-10 7 EA
14801 82031040R 8203104-10GT 1 EA
14802 CONNECTOR 8203104-14 7 EA
14803 CONNECTOR 8203104-14GT 3 EA
14804 CONNECTOR 8203104-15 8 EA
14805 CONNECTOR 8203104-15GT 3 EA
14806 CONNECTOR 8203104-3 5 EA
14807 CONNECTOR 8203104-3GT 1 EA
14808 CONNECTOR 8203104-8 7 EA
14809 CONNECTOR 8203104-8GT 1 EA
14810 CONNECTOR, MICRO-D, PWB 8203105-17GT 10 EA
14811 JACKPOST, PANEL MOUNT 8203123-1 2 EA
14812 JACKPOST, PANEL MOUNT 8203123-2 5 EA
14813 WASHER, PLAIN, METRIC, M2.5 8203219-025 12 EA
14814 WASHER, PLAIN, METRIC, M2.5 8203219-025 4 EA
14815 WASHER, PLAIN, METRIC, M8 8203219-080 60 EA
14816 WASHER, PLAIN, METRIC, M8 8203219-080 10 EA
14817 WASHER, PLAIN, METRIC, M8 8203219-080 16 EA
14818 SUPPORT, SLIP RING 8203893-1 2 EA
14819 RETAINER, FORWARD 8203897-1 1 EA
14820 RETAINER, FORWARD GROUP TESTING 8203897-1GT 2 EA
14821 NUT, FWD BEARING, SSM 8203903-1 1 EA
14822 NUT, FWD BEARING, SSM GROUP TESTING 8203903-1GT 2 EA
14823 SLEEVE, AFT, SSM 8203904-1 1 EA
14824 SLEEVE, AFT, SSMGROUP TESTING 8203904-1GT 2 EA
14825 KEY, STATOR 8203905-1 1 EA
14826 KEY, STATOR GROUP TESTING 8203905-1GT 2 EA
14827 BUSHING, LEFT, FLEXURE, SSM 8203907-1 2 EA
14828 BUSHING, LEFT, FLEXURE, SSM 8203907-2 2 EA
14829 BUSHING, LEFT, FLEXURE, SSM 8203907-3 1 EA
14830 BUSHING, LEFT, FLEXURE, SSM 8203907-4 2 EA
14831 RING, LEVELING 8203910-1 1 EA
14832 RING, LEVELING GROUP TESTING 8203910-1GT 2 EA
14833 WASHER, MODIFIED 8203911-1 12 EA
14834 WASHER, MODIFIED 8203911-2 19 EA
14835 FERRULE, MOTOR 8203912-1 1 EA
14836 FERRULE, MOTOR 8203912-1 1 EA
14837 COLLAR, STATOR, SSM 8203915-1 1 EA
14838 SLEEVE, ROTOR 8203917-1 1 EA
14839 SLEEVE, ROTORGROUP TESTING 8203917-1GT 2 EA
14840 RETAINER, AFT 8203926-1 1 EA
14841 RETAINER, AFTGROUP TESTING 8203926-1GT 2 EA
14842 STANDOFF, CCA 8203934-1 2 EA
14843 STANDOFF, CCA 8203934-2 7 EA
14844 STANDOFF, CCA 8203934-5 21 EA
14845 NUT, MOTOR, SSM 8203938-1 1 EA
14846 NUT, MOTOR, SSMGROUP TESTING 8203938-1GT 1 EA
14847 KEY, ROTOR 8203939-1 4 EA
14848 KEY, ROTOR GROUP TESTING 8203939-1GT 2 EA
14849 CARRIER CUBE 8203987-1 2 EA
14850 DOWEL PIN 8204001-1 1 EA
14851 PIN, DOWEL - DIAMOND 8204003-1 1 EA
14852 BEARING, DUPLEX - SSM 8204030-1 3 SE
14853 BEARING, DUPLEX - SSM 8204030-1 1 SE
14854 BEARING, DUPLEX - SSM 8204030-1 1 SE
14855 BEARING, DUPLEX - SSM 8204030-1 1 SE
14856 BEARING, SINGLE - SSM 8204031-1 6 EA
14857 TAPE, GLASS FABRIC3M 79, 1" 560704-7 1 RL
14858 WASHER, FLAT, REDUCED ODGROUP TESTING 8207004-1GT 2 EA
14859 CAPACITOR - CER, STACK, 4.7UF, 10%, 100V, S-LEAD, SPACEFLIGH 8207707-1 48 EA
14860 MICRO D SOCKET SHELLSIZE 15 8207746-10 2 EA
14861 MICRO D SOCKET SHELLSIZE 15 8207746-10 8 EA
14862 SOCKET CONTACT FOR 24 AWG 8207746-19 788 EA

410f63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
14863 SOCKET CONTACT FOR 26 AWG 8207746-20 784 EA
14864 WASHER, FLAT,M4,REDUCED 0D, SSM 8207846-1 11 EA
14865 PWB, COMPONENT CARRIER BOARD 8214831-1 3 EA
14866 PWB, COMPONENT CARRIER BOARD 8214831-1 3 EA
14867 PWB, MP-2662, GROUP TESTING 8214831-1GT 1 EA
14868 PWB, MP-2662, GROUP TESTING 8214831-1GT 1 EA
14869 HEAT SHRINK, 1/8"STRANCO M23053/8-004-C 100 FT
14870 GERMANIUM COATED KAPTON966 PSA 1" WIDE 8217831-1GT 1 EA
14871 CONNECTOR, HIGH DENSITY 8225296-2 3 EA
14872 CONNECTOR, HIGH DENSITY 8225296-2GT 5 EA
14873 CONNECTOR, HIGH DENSITY 8225296-3 3 EA
14874 CONNECTOR, HIGH DENSITY 8225296-3GT 3 EA
14875 CONNECTOR, HIGH DENSITY 8225296-4 3 EA
14876 CONNECTOR, HIGH DENSITY 8225296-4GT 3 EA
14877 RETAINER CAPACITOR TOP 8226032-1 4 EA
14878 INDUCTOR - ASSY OF 8226039G1 1 EA
14879 INDUCTOR - ASSY OF 8226039G1 1 EA
14880 INDUCTOR - ASSY OF 8226039G1-GT1 6 EA
14881 RETAINER CAPACITOR BASE 8226041-1 4 EA
14882 SWITCH, THERMOSTATIC GFSC # G311P641/037015-08A004G 8226813-4 1 EA
14883 SWITCH, THERMOSTATIC GFSC # G311P641/037015-08A004G 8226813-4 9 EA
14884 SWITCH, THERMOSTATIC GFSC # G311P641/037015-08A004G 8226813-4GT 2 EA
14885 SWITCH, THERMOSTATIC GFSC # G311P641/037015-08A004G 8226813-4GT 2 EA
14886 SWITCH, THERMOSTATIC GSFC # G311P641/037015-15A-03G 8226813-5 4 EA
14887 SWITCH, THERMOSTATIC GSFC # G311P641/037015-15A-03G 8226813-5 1 EA
14888 SWITCH, THERMOSTATIC GSFC # G311P641/037015-15A-03G 8226813-5 3 EA
14889 SWITCH, THERMOSTATIC GSFC # G311P641/037015-15A-03G 8226813-5GT 3 EA
14890 SWITCH, THERMOSTATIC GSFC # G311P641/037015-15A-03G 8226813-5GT 3 EA
14891 COATED, M/F RWR81S10ROFS 8231714-11 1 EA
14892 COATED, M/F RWR81S49R9FS 8231714-12 1 EA
14893 RESISTOR, FIXED, RWRCOATED 8231714-13 1 EA
14894 COATED, M/F RWR89N5RI0FS 8231714-15 1 EA
14895 BRACKET, TELESCOPE MTG 8257640G1-GT 1 EA
14896 MOUNTING PLATE-CABLE TIE,MODIFIED 8258319-1 1 EA
14897 FILTER, LONGWAVE 8258487-1 2 EA
14898 FILTER, LONGWAVE 8258487-1WS 3 EA
14899 FILTER, SHORTWAVE 8258496-2 1 EA
14900 FILTER, SHORTWAVE 8258496-2 1 EA
14901 FILTER, SHORTWAVE 8258496-2GT 1 EA
14902 FILTER, SHORTWAVE WITNESS SAMPLES 8258496-2WS 5 EA
14903 BUSHING, BENCH 6MM DIA OD X 6MM LG 8258614-3 8 EA
14904 BUSHING, BENCH 4MM DIA OD X 10MM LG 8258614-5 2 EA
14905 BAFFLE, SHROUD ASSY 8258618G2 1 EA
14906 SHIELD,CLOSE-OUT,BENCH 8258619-2 1 EA
14907 BUSHING, DRILL, CSM, CHASSIS RBI 8258621-1 1 EA
14908 BUSHING, DRILL, CSM, CHASSIS RBI 8258621-1 3 EA
14909 ISOLATOR 8258624-1 16 EA
14910 ISOLATOR WITNESS SAMPLE 8258624-1WS 16 EA
14911 HEATER 8258642-1GT 21 EA
14912 PURGE TUBE ASSEMBLY-RBI 8258643G1 1 EA
14913 SCREW, CAP 8258648-1 6 EA
14914 SCREW, CAPTIVE HEXAGON 8258648-3 2 EA
14915 SCREW, CAPTIVE HEXAGON 8258648-3 5 EA
14916 THERMAL MOUNTING FOOTGROUP TESTING 8258652-1GT 2 EA
14917 SHIM 8258653-1 1 EA
14918 SHIM 8258653-1 2 EA
14919 SHIM 8258653-1 1 EA
14920 SHIM 8258653-2 1 EA
14921 SHIM 8258653-2 2 EA
14922 SHIM 8258653-2 1 EA
14923 SHIM 8258653-3 1 EA
14924 SHIM 8258653-3 2 EA
14925 SHIM 8258653-3 1 EA
14926 SHIM 8258653-4 1 EA
14927 SHIM 8258653-4 2 EA
14928 SHIM 8258653-4 1 EA
14929 SHIM 8258653-5 1 EA
14930 SHIM 8258653-5 2 EA
14931 SHIM 8258653-5 1 EA
14932 SHIM 8258653-6 2 EA
14933 COVER, ALIGNMENT CUBE 8258655G1 1 EA
14934 SHIM, FILTER, MYLAR 8258657-1 1 EA
14935 SHIM, FILTER, MYLAR 8258657-2 2 EA
14936 CABLE ASSY, PRINTED FLEX 8258663G1 1 EA
14937 CABLE ASSY- PRINTED FLEX 8258663G2 1 EA
14938 SHIM, TELESCOPE BRACKET 8258666-1 1 EA
14939 SHIM, TELESCOPE BRACKET 8258666-10 1 EA
14940 SHIM, TELESCOPE BRACKET 8258666-11 1 EA
14941 SHIM, TELESCOPE BRACKET 8258666-2 1 EA
14942 SHIM, TELESCOPE BRACKET 8258666-3 1 EA
14943 SHIM, TELESCOPE BRACKET 8258666-4 1 EA
14944 SHIM, TELESCOPE BRACKET 8258666-5 1 EA
14945 SHIM, TELESCOPE BRACKET 8258666-6 1 EA
14946 SHIM, TELESCOPE BRACKET 8258666-7 1 EA
14947 SHIM, TELESCOPE BRACKET 8258666-8 1 EA
14948 SHIM, TELESCOPE BRACKET 8258666-8 1 EA
14949 SHIM, TELESCOPE BRACKET 8258666-9 1 EA
14950 WASHER, FLAT 8258679-1 17 EA
14951 WASHER, FLAT 8258679-1 2 EA
14952 COVER, FRONT, SIDE EU HSGFLIGHT 8258703-1 1 EA
14953 COVER, FRONT, SIDE 2, EU HSG(FLIGHT) 8258706-1 1 EA
14954 STIFFENER- AZ/ CAL 8258711G1 2 EA
14955 STIFFENER, INTERNAL FILTER 8258712G1 2 EA
14956 STIFFENER- VIS CAL 8258713G1 2 EA
14957 STIFFENER,EU TEST 8258749G1 1 EA
14958 CUSTOM FEMALE JACKSCREW (INNER) 8258751-1 5 EA
14959 CUSTOM FEMALE JACKSCREW (INNER) 8258751-1 14 EA
14960 CUSTOM FEMALE JACKSCREW (OUTER) 8258751-2 23 EA
14961 CUSTOM FEMALE JACKSCREW (OUTER) 8258751-2 5 EA
14962 CUSTOM FEMALE JACKSCREW (INNER) 8258751-3 4 EA
14963 PLATE, DIAPHRAM 8258761-1 1 EA
14964 COLLAR, SPLIT 8258762-1 1 EA
14965 COLLAR, SPLITTEST COUPONS 8258762-1WS 2 EA
14966 COLLAR, SPLIT 8258762-2 1 EA
14967 COLLAR, SPLITTEST COUPONS 8258762-2WS 2 EA
14968 EXTENSION, SHAFT GROUP TESTING 8258763-1GT 2 EA
14969 EXTENSION, SHAFT GROUP TESTING 8258763-1GT 2 EA
14970 BRACKET, CSM, SCAN MOTORSUPPORT 8258765-1 1 EA
14971 BRACKET, CSM, SCAN MOTORSUPPORT 8258765-1 1 EA
14972 BRACKET, MECHNICAL STOPTWIST CAPSULE ROTOR 8258778-1 2 EA
14973 BRACKET, MECHNICAL STOPTWIST CAPSULE ROTOR 8258778-2 1 EA
14974 BRACKET, MECHANICAL STOP 8258779-1 1 EA
14975 MECHANICAL STOP, TWIST CAP 8258780G1 1 EA
14976 FLEXURE, MECHANICAL STOPTWIST CAPSULE 8258781-1 2 EA
14977 BLOCK, FLEXURE MOUNTING 8258782-1 1 EA
14978 FLEX ASSY- ENCODER EXTENDER 8258783G1 1 EA
14979 COVER, CONNECTOR 8258789-1 1 EA
14980 COVER, CONNECTOR 8258789G1 1 EA

42 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
14981 SHIELD, EMI - CSM 8258795-1 1 EA
14982 COVER, CONNECTOR BOARD, CSM 8258796G1 1 EA
14983 COVER, REAR, CSM HOUSING 8258797G1 1 EA
14984 CSM COVER- TAPE ASSY 8258798G1 1 EA
14985 RING, FILTER MOUNT 8258806-2 1 EA
14986 HOUSING, FOCAL PLANE 8258808G3 1 EA
14987 TWIST CAPSULE (FLIGHT) 8258812G2 1 EA
14988 RING, ADJUSTMENT TELESCOPE 8258832-1WS 1 EA
14989 RING, ADJUSTMENT TELESCOPE 8258832-1WS 1 EA
14990 RING, ADJUSTMENT TELESCOPE 8258832-2 4 EA
14991 RING, ADJUSTMENT TELESCOPE 8258832-2WS 1 EA
14992 RING, ADJUSTMENT TELESCOPE 8258832-2WS 1 EA
14993 MASK, FILTER, RBI 8258833-1 1 EA
14994 MASK, FILTER, RBI 8258833-1GT 2 EA
14995 PLATE, ALIGNMENT TELESCOPE 8258834-1 1 EA
14996 PLATE 8258834G1 1 EA
14997 COVER, TOP, SHROUD GROUP TESTING 8258836-1GT 1 EA
14998 COVER, TOP, SHROUD, OM 8258836G1 1 EA
14999 SHROUD 8258837G2 1 EA
15000 COVER SHROUD 8258838-1WS 1 EA
15001 BRACKET, MOUNTING 8258840G1 1 EA
15002 SPHERE, ALIGNMENT 8258848-2 3 EA
15003 PLATE, PRIMARY 8258851G1-WS 1 EA
15004 PLATE, SECONDARY 8258852G2 1 EA
15005 ICT PAINT COUPON 8258866-1 1 EA
15006 COVER ASSEMBLY, OM 8258888G1 1 EA
15007 CABLE 8258890G1 1 EA
15008 CABLE 8258891G1 1 EA
15009 CABLE 8258892G1 1 EA
15010 CABLE 8258893G1 1 EA
15011 CABLE 8258894G2 1 EA
15012 WIPER, SCT 8258913-1 6 EA
15013 SCREW, CAP HEXAGON SOCKETFL THRD 8258915-1 7 EA
15014 BRACKET, MOUNTING EXTERNAL FILTER MODULE - TEST COUPONS 8258936-1WS 2 EA
15015 SHIM, LAMINATED RBI, ALUMINUM 8258948-1 2 EA
15016 SHIM, LAMINATED RBI, ALUMINUM 8258948-2 2 EA
15017 SHIM, LAMINATED RBI, ALUMINUM 8258948-3 2 EA
15018 SHIM, LAMINATED RBI, ALUMINUM 8258948-4 1 EA
15019 FIELD STOP ASSEMBLY 8258975G3 1 EA
15020 PWB, CARRIER DIODE BOARD 8259167-1 2 EA
15021 PWB, CARRIER DIODE BOARD 8259167-1 5 EA
15022 PWB, CARRIER DIODE BOARD 8259167-1GT 1 EA
15023 PWB- AZ/ EU FB CARRIER BOARDMP-3694 8259199-1 6 EA
15024 PWB- VIS CAL CARRIER BOARDMP-3696 8259203-1 1 EA
15025 PWB- VIS CAL CARRIER BOARDMP-3696 8259203-1 1 EA
15026 PWB- VIS CAL CARRIER BOARDMP-3696 8259203-1 1 EA
15027 PWB- VIS CAL CARRIER BOARDMP-3696 8259203-1 1 EA
15028 PWB- VIS CAL CARRIER BOARDMP-3696 8259203-1 1 EA
15029 PWB- EU FB CARRIER BOARDMP-3697 8259204-1 1 EA
15030 PWB- EU FB CARRIER BOARDMP-3697 8259204-1 1 EA
15031 PWB- EU FB CARRIER BOARDMP-3697 8259204-1 1 EA
15032 PWB- EU FB CARRIER BOARDMP-3697 8259204-1 1 EA
15033 PWB- EU FB CARRIER BOARDMP-3697 8259204-1 1 EA
15034 PWB- EU FB CARRIER BOARDMP-3697 8259204-1GT 1 EA
15035 BAFFLE, PRIMARY MIRROR, TELESCOPE - RBI 8259490-4 13 EA
15036 BAFFLE, PRIMARY MIRROR 8259490G1 2 EA
15037 BAFFLE, SECONDARY MIRROR, TELESCOPE - RBI 8259491-2 15 EA
15038 BAFFLE, SECONDARY MIRROR 8259491G2 1 EA
15039 TELESCOPE SHIM - RBI 8259503-1 4 EA
15040 TELESCOPE SHIM - RBI 8259503-2 6 EA
15041 TELESCOPE SHIM - RBI 8259503-3 6 EA
15042 TELESCOPE SHIM - RBI 8259503-4 5 EA
15043 TELESCOPE SHIM - RBI 8259503-5 5 EA
15044 TELESCOPE SHIM - RBI 8259503-6 6 EA
15045 CONNECTOR ASSY 8259508-1 1 EA
15046 SCREW, CAPTIVE 8259599-1 3 EA
15047 COVER, CONNECTOR-ASSY OF 8259600G1 2 EA
15048 BACKSHELL, BTC 8259609-1 1 EA
15049 STRAY LIGHT CURTAIN 8259624-1 8 EA
15050 BRACKET ASSY, CABLE SUPPORT 8259630G1 1 EA
15051 SHIM, CSM LAUCH LOCK,LAMINATED - RBI 8259632-1 1 EA
15052 SHIM, CSM LAUCH LOCK,LAMINATED - RBI 8259632-2 1 EA
15053 CLOSE OUT SHIELD BRACKET 8259637-1 1 EA
15054 HEATER SURVIVAL THRMOFOIL 8259656-1 1 EA
15055 HEATER SURVIVAL THRMOFOIL 8259656-1 1 EA
15056 HEATER SURVIVAL THRMOFOIL 8259656-1 1 EA
15057 HEATER SURVIVAL THRMOFOIL 8259656-1 1 EA
15058 HEATER SURVIVAL THRMOFOIL 8259656-1 1 EA
15059 HEATER SURVIVAL THRMOFOIL 8259656-1 1 EA
15060 MODULE ASSY, GAP FILLER -RBI 8259700G1 2 EA
15061 COVER, CONNECTOR 8259702G1 2 EA
15062 HEATER 8259714-1GT 21 EA
15063 SHIM, EU OUTER 8259715-1 1 EA
15064 SHIM, EU OUTER 8259715-11 1 EA
15065 SHIM, EU OUTER 8259715-2 1 EA
15066 SHIM, EU OUTER 8259715-3 1 EA
15067 SHIM, EU OUTER 8259715-4 1 EA
15068 SHIM, EU OUTER 8259715-5 1 EA
15069 SHIM, EU OUTER 8259715-6 1 EA
15070 SHIM, EU OUTER 8259715-8 1 EA
15071 SHIM, EU OUTER 8259715-9 1 EA
15072 SHIM, EU CENTER 8259716-1 5 EA
15073 SHIM, EU CENTER 8259716-11 5 EA
15074 SHIM, EU CENTER 8259716-2 5 EA
15075 SHIM, EU CENTER 8259716-3 5 EA
15076 SHIM, EU CENTER 8259716-4 5 EA
15077 SHIM, EU CENTER 8259716-5 5 EA
15078 SHIM, EU CENTER 8259716-6 5 EA
15079 SHIM, EU CENTER 8259716-8 5 EA
15080 SHIM, EU CENTER 8259716-9 5 EA
15081 CABLE ASSY- CSM 30V POWER 8259719G1 1 EA
15082 CABLE ASSY- CSM SIGNAL, 52 8259721G1 1 EA
15083 CABLE ASSY- CSM POWER, $2 8259723G1 1 EA
15084 SCREW, CAPTIVE 8259751-1 10 EA
15085 SHIM,WASHER-KIT 8259753-1 58 EA
15086 SHIM,WASHER-KIT 8259753-1 63 EA
15087 SHIM,WASHER-KIT 8259753-2 62 EA
15088 SHIM,WASHER-KIT 8259753-3 67 EA
15089 SHIM,WASHER-KIT 8259753-4 75 EA
15090 SHIM,WASHER-KIT 8259753-5 74 EA
15091 SHIM,WASHER-KIT 8259753-6 75 EA
15092 SHIM,WASHER-KIT 8259753-7 75 EA
15093 SHIM,WASHER-KIT 8259753-8 5 EA
15094 CABLE ASSY- CSM CT MOTOR 8259766G1 1 EA
15095 CABLE ASSY- CSM SIGNAL, S1 8259772G1 1 EA
15096 RBI, CSM SHIM 8259775-1 3 EA
15097 RBI, CSM SHIM 8259775-2 2 EA
15098 RBI, CSM SHIM 8259775-3 1 EA

43 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
15099 SPACER, CSM MOTOR 8259786-1 2 EA
15100 SPACER, CSM MOTOR 8259786-2 2 EA
15101 SPACER, CSM MOTOR 8259786-3 2 EA
15102 ADJUSTMENT BLOCK - RBI 8259796-1 1 EA
15103 STANDOFF, THERMAL SHROUD 8259855-1 2 EA
15104 THERMAL SHIELD, ICT 8259856-1WS 2 EA
15105 SCREW, CUSTOM LENGTH 8259858-1 4 EA
15106 WASHER, MODIFIED 8259935-1 4 EA
15107 SHIM, LAMINATED RBI, CRES 8259948-1 1 EA
15108 SHIM, LAMINATED RBI, CRES 8259948-2 1 EA
15109 SHIM, LAMINATED RBI, CRES 8259948-3 1 EA
15110 BODY,COVER 8259968-1 1 EA
15111 PWB- EU TEST (FLIGHT) 8260503-1GT 6 EA
15112 FLEX CABLE ASSY CSM TEST FLEX 8260784G1 1 EA
15113 PWB- EU BACKPLANE (FLIGHT) 8261003-1GT 9 EA
15114 PWB- EU BACKPLANE (FLIGHT) 8261003-1GT 3 EA
15115 PWB- CSM CONNECTOR INTERFACEMP-3685 8261023-1GT 16 EA
15116 PWB- CSM CONNECTOR INTERFACEMP-3685 8261023-1GT 4 EA
15117 PWB- AZIMUTH CAL/ CONTROL 8261033-1 1 EA
15118 PWB- AZIMUTH CAL/ CONTROL 8261033-1 1 EA
15119 PWB- AZIMUTH CAL/ CONTROL 8261033-1 1 EA
15120 PWB- AZIMUTH CAL/ CONTROL 8261033-1GT 1 EA
15121 PWB- AZIMUTH CAL/ CONTROL 8261033-1GT 10 EA
15122 PWB- AZIMUTH CAL/ CONTROL 8261033-1GT 10 EA
15123 PWB- VIS CALMP-3608 8261043-1 2 EA
15124 PWB- VIS CALMP-3608 8261043-1 1 EA
15125 PWB- VIS CALMP-3608 8261043-1 1 EA
15126 PWB- VIS CALMP-3608 8261043-1GT 4 EA
15127 PWB- VIS CALMP-3608 8261043-1GT 18 EA
15128 PWB- VIS CALMP-3608 8261043-1GT 1 EA
15129 PWB- EU FILTER 8261063-1 1 EA
15130 PWB- EU FILTER 8261063-1 1 EA
15131 PWB- EU FILTER 8261063-1 1 EA
15132 PWB-EU FILTER GRP TEST 8261063-1GT 35 EA
15133 PWB-EU FILTER GRP TEST 8261063-1GT 1 EA
15134 CCA - DECTOR ELEC (FLIGHT) 8261082G2 1 EA
15135 PWB DETECTOR ELECTRONICS 8261083-1 1 EA
15136 PWB DETECTOR ELECTRONICS 8261083-1 1 EA
15137 PWB DETECTOR ELECTRONICS 8261083-1 1 EA
15138 PWB DETECTOR ELECTRONICS 8261083-1GT 8 EA
15139 PWB DETECTOR ELECTRONICS 8261083-1WS 1 EA
15140 PWB-CSM.CE-MP-3662 8261113-1 3 EA
15141 PWB- CSM CE MP-3662 8261113-1GT 10 EA
15142 EXTERNAL FILTER 8261134G2 1 EA
15143 PWB, EXT FILTER, MP-3599GROUP TESTING 8261135-1GT 2 EA
15144 CABLE ASSY, PRINTED FLEX 8261909G1 1 EA
15145 CABLE ASSY- PRINTED FLEX 8261909G2 1 EA
15146 PWB- CSM CE MP-3713 8264718-1 1 EA
15147 PWB- CSM CE MP-3713 8264718-1 1 EA
15148 PWB- CSM CE MP-3713 8264718-1 1 EA
15149 PWB- CSM CE MP-3713 8264718-1GT 1 EA
15150 CABLE,RG-178B/U 83265 009500 125 FT
15151 TAPE LACING & TYPING NYLON AA52081-C-4 1 RL
15152 WIRE, SOLID SINGLE-STRAND, 24AWG, SILVER COATED AA59551-H2451S 550 FT
15153 WIRE,ELECTRICAL,COPPER AA59551-H2851S 490 FT
15154 MICROCIRCUIT, DIGITAL-ISOLATORQUAD-CHANNEL, 1KV ADUM7442R703F-GT 3 EA
15155 CAPACITOR, CERAMIC, CHIP, 100PF, 1% CDR31BP101BFUS 3 EA
15156 CAPACITOR CDR31BP161BFUS 6 EA
15157 CAPACITOR CDR31BP271BFUS 3 EA
15158 CAPACITOR-CERAMIC CDR31BP330BFUS 7 EA
15159 CAPACITOR-CERAMIC CDR31BP471BJUS 5 EA
15160 CAPACITOR CDR31BP6R8BBUS 3 EA
15161 CAPACITOR CDR32BP102BFUS 12 EA
15162 CAPACITOR CDR35BX104BKUS 234 EA
15163 CAPACITOR CWR19JC476KBHB 1 EA
15164 CAPACITOR CWR29MC106KBHB 4 EA
15165 RESISTOR D55342E07B1FO0R 20 EA
15166 RESISTOR D55342K07B1D21S 2 EA
15167 CONNECTOR, CAP DB-59-20BA 4 EA
15168 MICRO D SUB MINI DCC-01 2 EA
15169 CONTACT GO8P1 4709 EA
15170 CONTACT G08S1 4274 EA
15171 SEMICONDUCTOR DEVICE, DIODE -SILICON FAST RECOVERY POWER JANSIN5811US 8 EA
15172 ZENER DIODE JANS1N6326US 6 EA
15173 ZENER DIODE GROUP TESTING JANSIN6326USGT 3 EA
15174 SEMICONDUCTOR JANSIN6642US 107 EA
15175 SEMICONDUCTOR JANS1N6642US 1 EA
15176 SEMICONDUCTOR JANSIN6642US-GT 3 EA
15177 MOSFET JANSF2N7269 1 EA
15178 TRANSISTOR JANSR2N2222AUA 14 EA
15179 TRANSISTOR, DPA SAMPLES JANSR2N2222AUA-GT 1 EA
15180 TRANSISTOR JANSR2N2222AUB 13 EA
15181 TRANSISTOR JANSR2N2222AUB-GT 3 EA
15182 SEMICONDUCTOR DEVICE, FIELD EFFECT RADIATION HARDENED TRANSI JANSR2N7389U 10 EA
15183 RELAY JCL-J2R-254N 10 EA
15184 RELAY JCL-J2R-254N-GT 3 EA
15185 CAPACITORS,FIXED M123A10BPB221FS 8 EA
15186 CAPACITOR, CHIP, 680PF M123A10BPB681JS 2 EA
15187 CAPACITOR, CHIP, 680PF M123A10BPB681JS 6 EA
15188 CAPACITORS,FIXED M123A10BPC221FS 5 EA
15189 CAPACITORS,FIXED M123A10BPC221FS 2 EA
15190 CAPACITOR M123A10BPC221KS 10 EA
15191 CAPACITOR M123A10BXB103KS 6 EA
15192 .10UF FIXED CAPACITOR M123A11BXB104KS 5 EA
15193 CABLE M17/176-00002 241 FT
15194 HEAT SHRINK, 1/8"STRANCO M23053/8-004-C 95 FT
15195 HEAT SHRINK, 1/8"STRANCO M23053/8-004-C 5 FT
15196 HEAT SHRINK, 1/4"STRANCO M23053/8-006-C 290 FT
15197 HEAT SHRINK, 1/4"STRANCO M23053/8-006-C 11 FT
15198 THERMISTOR 311P18-0857R6 2 EA
15199 WIRE, 26 AWGTWISTED PAIR 26 AWG 570526-22 1930 FT
15200 HEAT SHRINK, 3/32"STRANCO M23053/8-003-C 6 FT
15201 HEAT SHRINK, 3/32"STRANCO M23053/8-003-C 277 FT
15202 CIRCULAR CONNECTOR 419-167-301 5 EA
15203 CIRCULAR CONNECTOR 419-167-302 10 EA
15204 CIRCULAR CONNECTOR 419-167-310 10 EA
15205 CAPS AND PLUGS, CONDUCTIVE,ESD PROTECTIVE 419-167-309 23 EA
15206 CAPS AND PLUGS, CONDUCTIVE,ESD PROTECTIVE 419-167-304 10 EA
15207 CAPS AND PLUGS, CONDUCTIVE,ESD PROTECTIVE 419-167-305 10 EA
15208 CIRCULAR CONNECTOR 419-167-307 10 EA
15209 RESISTOR M32159B04M 100 EA
15210 RESISTOR M32159B04T 1 EA
15211 RESISTOR M32159B04T 2 EA
15212 RESISTOR, FIXED,FILM, CHIP, ZERO M32159B06T 4 EA
15213 RESISTOR, FIXED,FILM, CHIP, ZERO M32159B06T 1 EA
15214 RESISTOR M32159B12T 3 EA
15215 CAPACITOR M39006/25-0264H 66 EA
15216 RESISTOR M55342E06B100DS 2 EA

44 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
15217 RESISTOR CHIP FIXED 100K M55342E06B100ES 25 EA
15218 RESISTOR M55342E06B107BR 19 EA
15219 RESISTOR M55342E06B10BOR 16 EA
15220 RESISTOR M55342E06B10D0S 25 EA
15221 RESISTOR M55342E06B10D7S 25 EA
15222 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B10E2S 25 EA
15223 RESISTOR M55342E06B110BR 19 EA
15224 RESISTOR M55342E06B115BR 25 EA
15225 RESISTOR M55342E06B115DS 2 EA
15226 RESISTOR M55342E06B11D3S 25 EA
15227 RESISTOR M55342E06B11D8S 25 EA
15228 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B11E8S 25 EA
15229 RESISTOR M55342E06B121ES 25 EA
15230 RESISTOR M55342E06B12D4S 25 EA
15231 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B12E4S 1 EA
15232 RESISTOR M55342E06B130BR 19 EA
15233 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B13D0S 25 EA
15234 RESISTOR M55342E06B13D75S 25 EA
15235 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B13E0S 19 EA
15236 RESISTOR M55342E06B14D3S 25 EA
15237 RESISTOR M55342E06B14D75S 25 EA
15238 RESISTORS, FIXED, FILM, CHIP, M55342E06B15D4S 25 EA
15239 RESISTOR M55342E06B15D8S 24 EA
15240 RESISTOR M55342E06B15E0S 23 EA
15241 RESISTOR M55342E06B16D55 25 EA
15242 RESISTOR M55342E06B16D9S 25 EA
15243 RESISTOR M55342E06B17D4S 25 EA
15244 RESISTOR M55342E06B17D8S 25 EA
15245 RESISTOR M55342E06B18D25S 25 EA
15246 RESISTOR M55342E06B18D7S 25 EA
15247 RESISTOR M55342E06B18E7S 25 EA
15248 RESISTOR M55342E06B19D1S 25 EA
15249 RESISTOR M55342E06B19D6S 25 EA
15250 RESISTOR FILM CHIP STYLE RM0705 1% M55342E06B1E00S 6 EA
15251 RESISTOR M55342E06B20BOR 12 EA
15252 RESISTOR FIXED FILM M55342E06B20B0S 2 EA
15253 RESISTOR M55342E06B20D0S 25 EA
15254 RESISTORS, FIXED, FILM, CHIP, M55342E06B20D5S 25 EA
15255 RESISTOR 20.0K M55342E06B20E0S 4 EA
15256 RESISTORS M55342E06B21D0STR M55342E06B21D0S 25 EA
15257 RESISTOR M55342E06B21D55 25 EA
15258 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B21E0S 25 EA
15259 RESISTORS, FIXED, FILM, CHIP, M55342E06B221DS 25 EA
15260 RESISTORS, FIXED, FILM, CHIP, M55342E06B226DS 25 EA
15261 RESISTOR, 229 OHMS, FILM, CHIP M55342E06B229AR 25 EA
15262 RESISTORS, FIXED, FILM, CHIP, M55342E06B22D15S 25 EA
15263 RESISTOR M55342E06B22D65S 25 EA
15264 RESISTOR M55342E06B22E6S 25 EA
15265 RESISTORS, FIXED, FILM, CHIP, M55342E06B23D25 25 EA
15266 RESISTOR M55342E06B23D75S 25 EA
15267 RESISTOR M55342E06B243BR 19 EA
15268 RESISTOR M55342E06B24D3S 25 EA
15269 RESISTOR M55342E06B24D95S 25 EA
15270 RESISTOR M55342E06B25D55 25 EA
15271 RESISTOR M55342E06B26D15S 25 EA
15272 RESISTOR M55342E06B26D7S 25 EA
15273 RESISTORS, FIXED, FILM, CHIP, M55342E06B26E1S 25 EA
15274 RESISTOR M55342E06B27D4S 25 EA
15275 RESISTORS, FIXED, FILM, CHIP, M55342E06B28D0S 25 EA
15276 RESISTORS M55342E06B28D7S 100 EA
15277 RESISTORS M55342E06B29D4S 100 EA
15278 RESISTOR M55342E06B2E00S 2 EA
15279 RESISTOR M55342E06B2E265 4 EA
15280 RESISTORS M55342E06B30D1S 100 EA
15281 RESISTORS, FIXED, FILM, CHIP, M55342E06B30D9S 99 EA
15282 RESISTOR M55342E06B31B6R 7 EA
15283 RESISTORS M55342E06B31D65S 25 EA
15284 RESISTORS M55342E06B32D4S 100 EA
15285 RESISTOR M55342E06B33B2S 3 EA
15286 RESISTOR M55342E06B33B2S 9 EA
15287 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B33D25 25 EA
15288 RESISTOR M55342E06B33E2S 24 EA
15289 RESISTORS M55342E06B34D0S 100 EA
15290 RESISTORS M55342E06B34D8S 25 EA
15291 RESISTORS M55342E06B35D75S 100 EA
15292 RESISTORS M55342E06B36D55 100 EA
15293 RESISTORS M55342E06B37D4S 100 EA
15294 RESISTORS M55342E06B38D3S 100 EA
15295 RESISTORS M55342E06B39D25 25 EA
15296 RESISTORS, FIXED, FILM, CHIP, M55342E06B40D2S 25 EA
15297 RESISTOR M55342E06B51B1R 13 EA
15298 RESISTORS M55342E06B56E2STR M55342E06B56E2S 19 EA
15299 RESISTOR M55342E06B590DS 2 EA
15300 RESISTOR M55342E06B5E11S 11 EA
15301 RESISTOR M55342E06B5E765 25 EA
15302 RESISTOR M55342E06B68B1S 5 EA
15303 RESISTOR M55342E06B68B1S 7 EA
15304 RESISTOR M55342E06B68E1S 25 EA
15305 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B6E49S 25 EA
15306 RESISTOR M55342E06B75B0R 19 EA
15307 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B9E09S 25 EA
15308 RESISTOR M55342E10B120AR 5 EA
15309 RESISTORS,CHIP,FIXED FILM,NONE M55342E11B10E0S 2 EA
15310 RESISTOR M55342E12B7E68S 2 EA
15311 RESISTOR M55342K04B3E83S 19 EA
15312 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B100ES 25 EA
15313 RESISTOR, SMD, 0.1W, 1% M55342K06B10D0S 25 EA
15314 RESISTOR M55342K06B15E8R 25 EA
15315 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B16E9S 23 EA
15316 RESISTOR M55342K06B1EOOR 10 EA
15317 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B1E00S 4 EA
15318 RESISTOR FILM CHIP STYLE M55342K06B20D0S 10 EA
15319 RESISTOR,20K,0.1W,1% M55342K06B20E0S 10 EA
15320 RESISTOR M55342K06B243DR 7 EA
15321 RESISTOR M55342K06B24E3S 25 EA
15322 RESISTOR M55342K06B2EOSR 94 EA
15323 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B2E49S 25 EA
15324 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B301ES 2 EA
15325 RESISTOR M55342K06B31E6R 25 EA
15326 RESISTOR M55342K06B36E5S 25 EA
15327 RESISTOR M55342K06B49EIR 4 EA
15328 RESISTOR, FILM, CHIP, 4.99K,1% M55342K06B4E99S 1 EA
15329 RESISTOR, FIXED, FILM, CHIP EST. RELIABILITY-1%,6.81 OHMS M55342K06B6D81S 4 EA
15330 RESISTOR M55342K06B715DR 88 EA
15331 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B8EO6S 25 EA
15332 RESISTOR, 10.0 OHMS, 1%,2010 SMT M55342K08B10D0S 50 EA
15333 RESISTOR, 10.0 OHMS, 1%,2010 SMT M55342K08B10D0S 3 EA
15334 RESISTOR, FIXED, FILM CHIP SUPPLEMENTAL TESTING M55342K08B1F00S 25 EA

45 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
15335 RESISTOR, 27.4 OHMS, 1%,2010 SMT M55342K08B27D4S 160 EA
15336 RESISTOR M55342K09B8D06S 23 EA
15337 RESISTOR,FIXED,FILM, CHIP,SUPP M55342K11B24D9S 1 EA
15338 RESISTOR M55342K11B24D95-GT 2 EA
15339 RESISTOR M55342K11B40D2S 5 EA
15340 RESISTOR M55342K12B10E0S 249 EA
15341 RESISTOR M55342K12B10EQS 7 EA
15342 RESISTOR M55342K12B13E7S 5 EA
15343 RESISTOR M55342K12B15E0S 5 EA
15344 RESISTOR M55342K12B1E00S 17 EA
15345 RESISTOR M55342K12B1E00S 10 EA
15346 RESISTOR, FIXED, FILM, CHIP,ESTABLISHED RELIABILITY, SPACE M55342K12B1F00S 2 EA
15347 RESISTOR M55342K12B221DS 2 EA
15348 RESISTOR M55342K12B221DS-GT 2 EA
15349 RESISTOR, FIXED, FILM, CHIP,ESTABLISHED RELIABILITY, SPACE M55342K12B42E2S 4 EA
15350 RESISTOR M55342K12B49D9S 2 EA
15351 RESISTOR M55342K12B5E365 4 EA
15352 CIRCULAR CONNECTOR 419-167-308 10 EA
15353 JACKSCREW, ALLEN HEAD,LOW PROFILE M83513/05-02 2 EA
15354 JACKSCREW M83513/5-02 22 EA
15355 INSERT MA3279-108 6 EA
15356 INSERT, SCREW THREAD, HELICAL COIL, METRIC MA3279-140 53 EA
15357 INSERT, HELICAL COIL M8 X 1.0 X 120 LG MA3279-158 9 EA
15358 INSERT, SCREW THREAD MA3279-160 17 EA
15359 HELICOIL MA3279-190 31 EA
15360 HELICOIL MA3279-208 23 EA
15361 HELICOIL MA3279-240 15 EA
15362 INSERT, SCREW THREAD, HELICAL COIL, METRIC MA3279-340 50 EA
15363 WASHER, FLAT M2.5 MA3453-025 1 EA
15364 WASHER, FLAT M2.5 MA3453-025 1 EA
15365 WASHER, FLAT M2.5 MA3453-025 1 EA
15366 WASHER, FLAT M2.5 MA3453-025 13 EA
15367 WASHER, FLAT M2.5 MA3453-025 2 EA
15368 WASHER, FLAT M3 MA3453-030 5 EA
15369 WASHER, FLAT M3 MA3453-030 135 EA
15370 WASHER, FLAT M3 MA3453-030 1 EA
15371 WASHER, FLAT M3 MA3453-030 25 EA
15372 WASHER, FLAT M3 MA3453-030 8 EA
15373 WASHER, FLAT (M4) MA3453-040 1 EA
15374 WASHER, FLAT (M4) MA3453-040 19 EA
15375 WASHER, FLAT (M4) MA3453-040 1 EA
15376 WASHER, FLAT (M4) MA3453-040 2 EA
15377 WASHER, FLAT (M4) MA3453-040 13 EA
15378 WASHER, FLAT (M4) MA3453-040 8 EA
15379 WASHER, FLAT (M5) MA3453-050 63 EA
15380 WASHER, FLAT (M5) MA3453-050 6 EA
15381 WASHER, FLAT (M5) MA3453-050 5 EA
15382 FLAT WASHER M6 MA3453-060 58 EA
15383 FLAT WASHER M6 MA3453-060 17 EA
15384 INSERT,CRES, HELICAL COIL2-56 X .086 MS122095 13 EA
15385 INSERT, HELICAL COIL 4-40 X 1.5 MS122116 44 EA
15386 INSERT, HELICAL COIL 2-56 X 1.5 MS122135 22 EA
15387 DOWEL PIN (.2502 DIA X 1.50 LONG) MS16555-650 10 EA
15388 SCREW MS35202-27 5 EA
15389 INSERT, SCREW THREAD, KEY-LOCKED, A286 CRES 1/4-20 MS51830CA106 23 EA
15390 SCREW, MACHINE-PAN HD10% C7 MS51957-13 1 EA
15391 SCREW, PAN HD10% C7 MS51957-14 8 EA
15392 SCREW CR2 MS51959-2 4 EA
15393 SCREW CR2 MS51959-2 19 EA
15394 SCREW MS51959-32 23 EA
15395 SCREW, PAN HD (M2.5X8) NA0O068A025008 6 EA
15396 SCREW NA0069A016006 22 EA
15397 SCREW MJ2X.40X4LG NA0069A020004 3 EA
15398 SCREW, SHCS M2 X 6MM NA0069A020006 2 EA
15399 SCREW, SHCS M2 X 6MM NA0069A020006 7 EA
15400 SCREW,CAP,HEXAGON SOCKET HEADFULL THREAD A-286 NA0069A020008 45 EA
15401 SCREW,CAP,HEXAGON SOCKET HEADFULL THREAD A-286 NA0069A020008 110 EA
15402 SCREW,CAP,HEXAGON SOCKET HEADFULL THREAD A-286 NA0069A020008 6 EA
15403 SCREW, CAP, HEXAGON SOCKET NA0069A020010 20 EA
15404 SCREW, CAP, HEXAGON SOCKET NA0069A020010 36 EA
15405 SCREW, CAP, HEXAGON SOCKET NA0069A020010 4 EA
15406 SCREW NA0069A020012 71 EA
15407 SCREW NA0069A020012 4 EA
15408 SCREW NA0069A020016 8 EA
15409 SCREW NA0069A025006 19 EA
15410 SCREW NA0069A025006 100 EA
15411 SCREW, SHCS M2.5 X 8MM NA0069A025008 2 EA
15412 SCREW, SHCS M2.5 X 8MM NA0069A025008 2 EA
15413 SCREW, SHCS M2.5 X 8MM NA0069A025008 2 EA
15414 SHCS M2.5 X 10MM NA0069A025010 24 EA
15415 SHCS M2.5 X 10MM NA0069A025010 4 EA
15416 SCREW, CAP, HEXAGON SOCKETHEAD, MJ2.5X0.45 THREAD X 12MM NA0069A025012 9 EA
15417 SCREW NA0069A030006 3 EA
15418 SCREW NA0069A030006 12 EA
15419 SCREW NA0069A030008 4 EA
15420 SCREW NA0069A030008 24 EA
15421 SCREW NA0069A030008 8 EA
15422 SCREW NA0069A030008 61 EA
15423 SCREW NA0069A030010 3 EA
15424 SCREW NA0069A030010 3 EA
15425 SCREW NA0069A030010 62 EA
15426 SCREW, CAP, HEXAGON SOCKET HEAD (MJ3 X 0.5 X 12 LG) NA0069A030012 1 EA
15427 SCREW, CAP, HEXAGON SOCKET HEAD (MJ3 X 0.5 X 12 LG) NA0O069A030012 92 EA
15428 SCREW, CAP, HEXAGON SOCKET HEAD NA0069A030014 27 EA
15429 SCREW, CAP, HEXAGON SOCKET HEAD NA0069A030014 12 EA
15430 SCREW NA0069A030015 2 EA
15431 SCREW, SHCS M3 X 16MM NA0O069A030016 69 EA
15432 SCREW NA0069A030018 40 EA
15433 SCREW, CAP, HEXAGON SOCKET NA0069A030020 8 EA
15434 SCREW, CAP, HEXAGON SOCKET NA0069A030020 3 EA
15435 SCREW NA0069A030024 50 EA
15436 SCREW NA0069A030024 4 EA
15437 SCREW NA0069A030024 100 EA
15438 SCREW, CAP NA0069A030025 15 EA
15439 SCREW, CAP, HEXAGON SOCKET NA0O069A040008 10 EA
15440 SCREW, CAP (M4 X .07) NA0069A040010 34 EA
15441 SCREW, CAP, HEXAGON SOCKET HEAD NA0O069A040012 2 EA
15442 SCREW, CAP, HEXAGON SOCKET HEAD NA0069A040012 12 EA
15443 SCREW, CAP, HEXAGON SOCKET NA0069A040014 95 EA
15444 SCREW, CAP, HEXAGON SOCKET NA0069A040014 5 EA
15445 SCREW, CAP, HEXAGON SOCKET NA0069A040014 54 EA
15446 SCREW, CAP, HEXAGON SOCKET HEAD NA0069A040016 1 EA
15447 SCREW, CAP, HEXAGON SOCKET HEAD NA0O069A040016 6 EA
15448 SCREW, CAP, HEXAGON SOCKET HEAD NA0069A040016 2 EA
15449 SCREW NA0069A040018 22 EA
15450 SCREW NA0069A040018 6 EA
15451 SCREW, CAP, HEXAGON SOCKET HEAD NA0O069A040020 52 EA
15452 SCREW, CAP, HEXAGON SOCKETHEAD (MJ4 X 22 LG) NA0069A040022 10 EA

46 of 63



As of 2/28/2019

RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
15453 SCREW, CAP, HEXAGON SOCKETHEAD (MJ4 X 22 LG) NAO069A040022 5 EA
15454 SCREW NAO069A040024 42 EA
15455 SCREW NA0069A040024 4 EA
15456 SCREW, CAP, HEX HEAD NAO069A040056 28 EA
15457 SCREW, CAP, HEX HEAD NA0069A040056 3 EA
15458 SCREW, CAP, HEXAGON SOCKETHEAD (M5X.8X16 LG) NAO069A050016 18 EA
15459 SCREW, CAP, HEXAGON SOCKET HEAD M5 NA0069A050020 13 EA
15460 SCREW, SHCS MJ6 X 1.0X20 NAO069A060020 21 EA
15461 SCREW, SHCS MJ6 X 1.0X20 NA0069A060020 4 EA
15462 SCREW, CAP NAO069A060022 37 EA
15463 SCREW (M6 X 1.0) NA0069A060050 27 EA
15464 SCREW (M8 X 1.0) NAO069A080024 48 EA
15465 SCREW (M8 X 1.0) NA0069A080028 36 EA
15466 SCREW, MACHINE, FLAT HD (M2 X6 LG) NA0070-020006 45 EA
15467 SCREW NA0070-025008 34 EA
15468 FLHS (M3 X 0.5, 12MM LONG) NA0070-030012 26 EA
15469 INSERT, SCREW THREAD, HELICAL COIL, M2.5 X 0.45, 2.5MM LG NA0276M2A-10 95 EA
15470 INSERT, HELICAL, TANGLESS,METRIC M2.5 X 0.45 3.8MM LONG NA0276M2A-15 3 EA
15471 INSERT, HELICAL, TANGLESS,METRIC M2.5 X 0.45 3.8MM LONG NA0276M2A-15 37 EA
15472 INSERT, HELICAL, TANGLESS,METRIC M2.5 X 0.45 3.8MM LONG NA0276M2A-15 6 EA
15473 INSERT, HELICAL COIL NA0276M2A-20 3 EA
15474 INSERT, HELICAL COIL NA0276M2A-20 21 EA
15475 INSERT, TANGLESS METRICM3 X 0.5 X 10 LONG NA0276M3-10 19 EA
15476 INSERT, HELICAL COIL M3 X 0.5 NA0276M3-15 23 EA
15477 INSERT, HELICAL COIL M3 X 0.5 NA0276M3-15 15 EA
15478 INSERT, HELICAL COIL M3 X 0.5 NA0276M3-15 25 EA
15479 INSERT, HELICAL COIL M3 X 0.5 NA0276M3-15 101 EA
15480 INSERT, HELICAL COIL M3 X 0.5 NA0276M3-15 16 EA
15481 INSERT, SCREW THREAD, HELICAL COIL, FREE RUNNING, TANGLESS NA0276M3-20 100 EA
15482 INSERT, SCREW THREAD, HELICAL COIL, FREE RUNNING, TANGLESS NA0276M3-20 64 EA
15483 INSERT, SCREW THREAD, HELICAL COIL, FREE RUNNING, TANGLESS NA0276M3-20 2 EA
15484 INSERT, HELICAL COIL NA0276M4-10 31 EA
15485 INSERT, HELICAL COIL M4 X 0.7 NA0276M4-15 10 EA
15486 INSERT, HELICAL COIL M4 X 0.7 NA0276M4-15 18 EA
15487 INSERT, HELICAL COIL NA0276M4-20 124 EA
15488 INSERT, HELICAL COIL NA0276M4-20 99 EA
15489 INSERT, HELICAL COIL M5 X 0.8 NA0276M5-15 17 EA
15490 INSERT, HELICAL COIL NA0276M6-10 10 EA
15491 INSERT, HELICAL COIL M6 X 1 NA0276M6-15 50 EA
15492 INSERT, HELICOIL COIL .086-56X 1.5 DIAMETER NAS1130-02-15 23 EA
15493 INSERT, HELICOIL COIL .086-56X 1.5 DIAMETER NAS1130-02-15 18 EA
15494 INSERT, HELICAL COIL.112-40 X 1.5 DIAMETER NAS1130-04-15 34 EA
15495 INSERT, HELICAL COIL.112-40 X 1.5 DIAMETER NAS1130-04-15 25 EA
15496 FLAT, WASHER NAS1149C0432R (SCOTT REVIEWING) 49 EA
15497 WASHER NAS1149DN216J 5 EA
15498 SCREW NAS1352N04-4 37 EA
15499 SCREW NAS1352N04-6 5 EA
15500 SCREW NAS1352N4-12 49 EA
15501 SCREW, CAP, SOCKET HEAD (1/4-20 X .5 LG) NAS1352N4-8 20 EA
15502 WASHER, FLAT NAS620C2 4 EA
15503 WASHER, FLAT NAS620C2 32 EA
15504 WASHER, FLAT NAS620C2 9 EA
15505 WASHER, FLAT NAS620C2 49 EA
15506 WASHER FLAT NAS620C4 7 EA
15507 WASHER FLAT NAS620C4 93 EA
15508 WASHER NAS620C416L 44 EA
15509 WASHER, FLAT NAS620C5 1 EA
15510 HALL EFFECT SENSOR OMHO090S 94 EA
15511 HALL EFFECT SENSOR OMHO090S-GT 3 EA
15512 THERMISTOR - SCREENED FOR SPACEFLIGHT USE QT06002-886-02-GT 40 EA
15513 MICROCIRCUIT RAD1419XAPMGT 1 EA
15514 RESISTOR RER45F72ROMC02-MIL 10 EA
15515 RESISTOR RER45F73R2PCSL 4 EA
15516 RESISTOR RER50F23R2PCSL 4 EA
15517 RESISTOR RER50F8R45RCSL 10 EA
15518 RESISTOR, RER60F1001RCSL RER60F1001R 8 EA
15519 RESISTOR, RNR55E1002FSBSL10K OHM,.1W,1%=N RNR55E1002FS 24 EA
15520 RESISTOR; RNR55E1003FSBSL RNR55E1003FS 25 EA
15521 RESISTOR; RNR55E1004FSBSL RNR55E1004FS 25 EA
15522 RESISTOR; RNR55E1103FSBSL RNR55E1103FS 25 EA
15523 RESISTOR, RNR55E1242FSBSL12.4K .1W 1% RNR55E1242FS 24 EA
15524 RESISTOR, RNR55E1243FSBSL124K OHM,.1W, =N RNR55E1243FS 25 EA
15525 RESISTOR; RNR55E1302FSBSL RNR55E1302FS 25 EA
15526 RESISTOR; RNR55E1403FSBSL RNR55E1403FS 25 EA
15527 RESISTOR, RNR55E1501FSBSL1.5K OHM,.1W, =N RNR55E1501FS 25 EA
15528 RESISTOR; RNR55E1502FSBSL15K OHM,.1W,1%=N RNR55E1502FS 25 EA
15529 RESISTOR; RNR55E1583FSBSL RNR55E1583FS 25 EA
15530 RESISTOR; RNR55E1782FSBSL RNR55E1782FS 24 EA
15531 RESISTOR; RNR55E1823FSBSL RNR55E1823FS 25 EA
15532 RESISTOR; RNR55E2002FSBSL20K .1W 1% R11 RNR55E2002FS 24 EA
15533 RESISTOR; RNR55E2003FSBSL200K 1% .1W RNR55E2003FS 25 EA
15534 RESISTOR; RNR55E2213FSBSL RNR55E2213FS 25 EA
15535 RESISTOR; RNR55E2432FSBSL RNR55E2432FS 23 EA
15536 RESISTOR; RNR55E2491FSBSL2.49K .1W 1% RNR55E2491FS 25 EA
15537 RESISTOR; RNR55E2493FSBSL RNR55E2493FS 25 EA
15538 RESISTOR; RNR55E2743FSBSL RNR55E2743FS 25 EA
15539 RESISTOR, RNR55E3012FSBSL30.1K OHM,.1W,=N RNR55E3012FS 23 EA
15540 RESISTOR; RNR55E3013FSBSL RNR55E3013FS 25 EA
15541 RESISTOR; RNR55E3323FSBSL332K OHM, .1W,=N RNR55E3323FS 25 EA
15542 RESISTOR; RNR55E3481FSBSL RNR55E3481FS 25 EA
15543 RESISTOR; RNR55E3483FSBSL RNR55E3483FS 25 EA
15544 RESISTOR; RNR55E3742FSBSL RNR55E3742FS 25 EA
15545 RESISTOR; RNR55E3832FSBSL RNR55E3832FS 25 EA
15546 RESISTOR; RNR55E3923FSBSL RNR55E3923FS 25 EA
15547 RESISTOR; RNR55E4222FSBSL42.2K .1W 1% R9 RNR55E4222FS 23 EA
15548 RESISTOR; RNR55E4533FSBSL RNR55E4533FS 25 EA
15549 RESISTOR; RNR55E4641FSBSL RNR55E4641FS 25 EA
15550 RESISTOR; RNR55E4991FSBSL4.99K OMEGA RNR55E4991FS 25 EA
15551 RESISTOR; RNR55E4992FSBSL RNR55E4992FS 25 EA
15552 RESISTOR,RNR55E4993FSBSL499K OHM,.1W, =N RNR55E4993FS 25 EA
15553 RESISTOR; RNR55E5493FSBSL RNR55E5493FS 25 EA
15554 RESISTOR; RNR55E6042FSBSL RNR55E6042FS 25 EA
15555 RESISTOR; RNR55E6043FSBSL RNR55E6043FS 25 EA
15556 RESISTOR; RNR55E6191FSBSL RNR55E6191FS 25 EA
15557 RESISTOR; RNR55E6493FSBSL RNR55E6493FS 25 EA
15558 RESISTOR; RNR55E6812FSBSL RNR55E6812FS 25 EA
15559 RESISTOR; RNR55E7500FSBSL RNR55E7500FS 25 EA
15560 RESISTOR; RNR55E7502FSBSL RNR55E7502FS 25 EA
15561 RESISTOR; RNR55E7503FSBSL RNR55E7503FS 25 EA
15562 RESISTOR; RNR55E8061FSBSL RNR55E8061FS 25 EA
15563 RESISTOR; RNR55E8063FSBSL RNR55E8063FS 25 EA
15564 RESISTOR; RNR55E8662FSBSL RNR55E8662FS 25 EA
15565 RESISTOR; RNR55E9091FSBSLR61 RNR55E9091FS 25 EA
15566 RESISTOR; RNR55E9093FSBSL RNR55E9093FS 25 EA
15567 FPGA PRTOTYPE RTAX2000S-1CG624PROTO 1 EA
15568 TUBING CONVULUTED FLEXPTFE BLACK M81914/2-1004 3 FT
15569 GASKET, EMI - SPIRAL 570518-22 84 FT
15570 SPRING SSB-0126-PA-S17 2 EA

47 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
15571 HOSE SS-FM8RF8RF8-120 1 EA
15572 HOSE SS-FM8RF8RF8-120 1 EA
15573 TELESCOPE SPECTRAL WITNESS SAMPLE WS8258817 1 EA
15574 TELESCOPE SPECTRAL WITNESS SAMPLE WS8258817 11 EA
15575 SOCKET BASE SK-AX2-CG624-KITBTM 4 EA
15576 BENCH SHROUD ASSEMBLY 8258612-1 1 EA
15577 OPTICAL MODULE (OM) 8259846G1 1 EA
15578 WIRING FIXTURE 8261925 1 EA
15579 SERVER, GPS NETWORK TIME $200 1 EA
15580 RBI TES 2 8260323G1 1 EA
15581 DC POWER MODULE N6756A 1 EA
15582 DC POWER MODULE N6756A 1 EA
15583 DC POWER MODULE N6756A 1 EA
15584 DC POWER MODULE N6756A 1 EA
15585 DC POWER MODULE N6756A 1 EA
15586 DC POWER MODULE N6756A 1 EA
15587 DC POWER MODULE N6774A 1 EA
15588 DC POWER MODULE N6774A 1 EA
15589 DC POWER MODULE N6774A 1 EA
15590 DC POWER MODULE N6744B 1 EA
15591 MODULE PXI-6524 1 EA
15592 MODULE NI-PXI-4071 1 EA
15593 MODULE NI-PXI-6509 1 EA
15594 TELEMETRY INTERFACE BOX 8261148G1 1 EA
15595 POWER INTERFACE BOX 8261144G1 1 EA
15596 MODULE NIPXIE-7966R 1 EA
15597 MODULE NIPXIE-7966R 1 EA
15598 MODULE NIPXIE 8360 1 EA
15599 MODULE NI6584 1 EA
15600 MODULE NI6584 1 EA
15601 MODULE NIPXIE-1065 1 EA
15602 RACK CONTROLLER PRECISIONR7910 1 EA
15603 UPs SRTSKRMXLT 1 EA
15604 PCI INTERFACE QCP-1553C-G2-4MA 1 EA
15605 POWER SUPPLY N6702A 1 EA
15606 POWER SUPPLY N6702A 1 EA
15607 MULTIPLEXER 40-682-002 1 EA
15608 24" MONITOR P2414H 1 EA
15609 24" MONITOR P2414H 1 EA
15610 24" MONITOR P2414H 1 EA
15611 24" MONITOR P2414H 1 EA
15612 POWER SUPPLY N6702A 1 EA
15613 POWER SUPPLY N6702A 1 EA
15614 TIME SERVER S600 1 EA
15615 MONITOR, 24" P2417H 1 EA
15616 MONITOR, 24" P2417H 1 EA
15617 MONITOR, 24" P2417H 1 EA
15618 MONITOR, 24" P2417H 1 EA
15619 MONITOR, 24" P2417H 1 EA
15620 MONITOR, 24" P2417H 1 EA
15621 MONITOR, 24" P2417H 1 EA
15622 MONITOR, 24" P2417H 1 EA
15623 CATALYST SWITCH WS-C2960XR-24TS-| 1 EA
15624 24 BIT CCA NIPXI-4461 1 EA
15625 8-PORT SERIAL CCA PXI-8430 1 EA
15626 96 CHANNEL CCA NIPXI-6509 1 EA
15627 POWER MODULE N6744B 1 EA
15628 FIREWALL SERVER PA-200 1 EA
15629 NI PXI-4461 CCA 779687-01 1 EA
15630 RS232 SERIAL INTERFACE PXI-8430/8 1 EA
15631 RS232 SERIAL INTERFACE PXI-8430/8 1 EA
15632 RS232 SERIAL INTERFACE PXI-8430/8 1 EA
15633 CABLE ASSY, W105, W108, 8261161G1 1 EA
15634 BUS ANALYZER BT3-R15-USB-2M 1 EA
15635 BUS ANALYZER BT3-R15-USB-2M 1 EA
15636 CABLE W27 8259896G1 1 EA
15637 CABLE W28 8259897G1 1 EA
15638 CABLE W29 8259898G1 1 EA
15639 RISK REDUCTION 8261923 - MIRRORED CIRC PLUG 8261923 1 EA
15640 RISK REDUCTION 8261923 - SQ AL PLATE W/CTR MOUNT 8261923 1 EA
15641 OM HEADER 8247376G1 - CONN PIN 050-PRP40445-S 25 EA
15642 OM HEADER 8247376G1 - CONN PIN 050-SRB255W 25 EA
15643 RISK REDUCTION 8261923 -2.10MM Z PIN 2.10MZM 1 EA
15644 OM HEADER 8247376G1 - WIRE ROLL 2841/7GR005 1 RO
15645 RISK REDUCTION 8261923 - ALIGN CUBE 39110F5-5.0 1 EA
15646 OM HEADER 8247376G1 - DE BOARD HEADER CONN 8247376-1 REV1 SN1 1 EA
15647 OM HEADER 8247376G1 - DE BOARD HEADER CONN 8247376-4 REV1 SN1 1 EA
15648 OM HEADER 8247376G1 - MACHINED AL BRACKET 8247376G1 1 EA
15649 UNIVERSAL HANDLING FIXTURE PART 8259611G1 REV1 1 EA
15650 RISK REDUCTION 8261923 - ADAPTER BRACKET 8261923-5 REV1 1 EA
15651 RISK REDUCTION 8261923 - AL PART 8261923-7 1 EA
15652 TWIST CAPSULE CENTERING PLUG 8261928-2 SN1 1 EA
15653 TWIST CAPSULE CENTERING PLUG 8261928-2 SN2 1 EA
15654 FORCE GAGE END FOR MAGLOCK 8261934-1 SN1 1 EA
15655 CURTAIN PIN GUIDE 8261935-1 REV1 SN1 1 EA
15656 CURTAIN PIN GUIDE 8261935-3 REV1 2 EA
15657 OM HEADER 8247376G1 - 050 CTR TOOL, SKT INSTALL ATS0-KIT 1 EA
15658 OM HEADER 8247376G1 - CONNECTOR SAMTEC CLP-110-02-L-D 5 EA
15659 OM HEADER 8247376G1 - EXT TOOL ETR050-25 2 EA
15660 RISK REDUCTION 8261923 - SCREW M3X12 2 EA
15661 ISA INSTALL FIXTURE 8258601 - SCREW M6X16DIN912A2S/SFT 50 EA
15662 ISA INSTALL FIXTURE 8258601 - SCREW M6X25912-A2FT 50 EA
15663 ISA INSTALL FIXTURE 8258601 - SS PLATE 2"-5Q +HOLE P/0 8258601 4 EA
15664 KEEPERS FOR TWIST CAPSULE (RED) UNK 2 EA
15665 OM HEADER 8247376G1 - BLACK PLASTIC SUPPORT p/o 8247376 1 EA
15666 OM HEADER 8247376G1 - BLK PLASTIC CLAMP p/o 8247376 1 EA
15667 OM HEADER 8247376G1 - SCREW NA0069A025012 2 EA
15668 RISK REDUCTION 8261923 - SCREW NA0070-030008 4 EA
15669 RISK REDUCTION 8261923 - SCREW NAS1352C04-12 1 EA
15670 OM HEADER 8247376G1 - CONN PIN P13-0123 25 EA
15671 OM HEADER 8247376G1 - CONN PIN $13-503 25 EA
15672 OM HEADER 8247376G1 - CONN SAMTEC TMS-110-02-L-S 5 EA
15673 OM HEADER 8247376G1 - CONNECTOR SAMTEC TSW-105-07-L-D 5 EA
15674 CHASSIS, VCT BRASSBOARD INTERFACE (EMPTY) 8264634G1 SN2 1 EA
15675 FIBER OPTIC CABLE COUPLER, 105451 8 EA
15676 EFM WIRE HARNESS DEVELOPMENTAL SLA 8262690 1 EA
15677 HELICOIL BAG - 1/4-20X1.5D 2TNC-4C-0375-PKG 10 EA
15678 HELICOIL BAG - 1/4-20X1.5D 2TNC-4C-0375-PKG 10 EA
15679 RETRACTABLE SPRING PLUNGER 31265A84 1 EA
15680 PART, METAL, 1" X 0.75", MACHINED 8259961-1 4 EA
15681 PXI CIRCUIT CARD AEI-CP1200TX 1 EA
15682 TIRE PRESSURE GAUGE H160X 1 EA
15683 BAG MISC HDWR "MSC-1" COTS 1 EA
15684 WIRETIES, PANDUIT, BLUE, 12" COTS 50 EA
15685 HELICOIL BAG - 3/8-16 P1185-6CN750 5 EA
15686 WIRETIES, PANDUIT, BLUE, 8" PLT2I-C76 100 EA
15687 STOPPER AND CLEAR VINYL HOSE KIT, GLENMARC SAA-30A 1 EA
15688 HND RETRA SPG PLGR KNURLKNOB NONLOCK 3/8-16 SBKNL-3W-316MC 4 EA

48 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
15689 SYRINGE KIT, 30CC: SLL-30+SRP-30+SPP-30 SLL-30+SRP-30+SPP-30 2 EA
15690 SCREW TABS AND ALLEN SCREWS 3607 18 EA
15691 SCREW 84146 12 EA
15692 CABLE, ESR ANALOG TO BOB TEST 132_116701 1 EA
15693 CABLE, AIR VIS-CAL BB TO ESR AND LFW TEST 132_116719 1 EA
15694 CABLE, NATIONAL INSTRUMENTS, 185262C-02 1 EA
15695 WASHER 92871A250 EA
15696 WASHER 93475A310 13 EA
15697 SPRING, EXTENSION E23C-SS 12 EA
15698 SPRING, EXTENSION E9C-SS 6 EA
15699 ADAPTERS, BNC, BANANA, MISC "TA-16" COTS 16 EA
15700 CABLE, BANANA PATCH TEST, MISC COTS 16 EA
15701 CABLE, BNC-BNC, 30", GRAY, TEST COTS 9 EA
15702 CORD, POWER IEC-320 (STD AC) COTS 1 EA
15703 FIXTURE, PART OF CO-REG (ASSY WITH RING) UNK 1 EA
15704 SCREW-14 (ALLEN HEAD) UNK 14 EA
15705 WIRE TIES, 7", WHITE COTS 50 EA
15706 SCREW NA0069A040012 2 EA
15707 SCREW NA0069A060014 4 EA
15708 WASHER NAS1149C0563R 8 EA
15709 SCREW NAS1352C5-16 8 EA
15710 ALLTHREAD, 6-32, 0.5", SS 36284 25 EA
15711 Screw, Socket head cap 570603-4 28 EA
15712 CABLE, TELESCOPE RTM 8258590G1 1 EA
15713 Shim, Laminated 8259605-1 12 EA
15714 Shim, Laminated 8259605-2 4 EA
15715 CABLE, OPTICAL FIBER, ACCU-GLASS, 15' COTS 1 EA
15716 NUTS, 6/32, 18-8 SS COTS 100 EA
15717 SPACE BLANKET SAMPLE, 8" X 4", "B-1" Blanket 1 EA
15718 CABLE 8264638G1 SNO2 1 EA
15719 CABLE 8264638G2 SNO2 1 EA
15720 CABLE 8264638G3 SNO2 1 EA
15721 CABLE, L-COM, 9-D, M-M 9D 1 EA
15722 CABLE, PIGTAIL, 12-LEAD E7 1 EA
15723 CABLE 107194-B 1 EA
15724 CABLE NI 192061C-02 1 EA
15725 CABLE NI 192061C-02 1 EA
15726 CABLE L-COM, 37-D, M-F 37D 1 EA
15727 CABLE, 9-D TO ETHERNET JUMPER E9 1 EA
15728 CABLE, BNC-BNC, 3-FT COTS 4 EA
15729 CABLE, THERMOCOUPLE PIGTAIL, 2-WIRE, BLUE CON COTS 2 EA
15730 CABLE, PIN CONNECTORS, SEGMENTS SEG-1 1 EA
15731 FACEPLATE (CSM) 8258982G1 1 EA
15732 CG INTERFACE RING, ALUMINUM 6061 8258813G1 1 EA
15733 CG INTERFACE RING, ASSY OF 8258813G2 2 EA
15734 RESISTOR, 250W, FOR TP8260129 NH-250 250W .50HM 1% 1 EA
15735 CAPACITOR, 22000UF 75V, FOR EFM TEST 36DY223F075CB2A 1 EA
15736 MACHINED PLASTIC STRIP 8258983-1 2 EA
15737 PWB, CHIP CARRIER SSG246616-A 1 EA
15738 C2000 MICROCONTROLLER DEVELOPMENT TOOL TMDSDOCK28035 1 EA
15739 C2000 MICROCONTROLLER DEVELOPMENT TOOL TMDSC2KWRKSHPKIT 1 EA
15740 CABLE 106511-B 1 EA
15741 Connector MIL-PRF-22191-F-T11 6 EA
15742 Connector 380HS115M1320M4 1634 6 EA
15743 Connector 380HS115M1720M3 1635 6 EA
15744 Power Cable E147517 1 EA
15745 Power Cable E191365 1 EA
15746 Power Cable E62405SP 1 EA
15747 Connector EC-14 2 EA
15748 Connector with pins EC-14 1 EA
15749 Connector with pins EC-14 1 EA
15750 Connector EC-16 2 EA
15751 Connector EC-18 2 EA
15752 Connector EP-20 4 EA
15753 Connector EP-22 1 EA
15754 Connector EP-24 2 EA
15755 Power Cable LL57870-E318430 1 EA
15756 Power Cable LR-57248 2 EA
15757 Connector M85049/38-13N 1504 7 EA
15758 Connector M85049/38-17N 1606 8 EA
15759 Connector TVSO1RF-17-35SA 1 EA
15760 Connector TVSO6RF-13-35S 3 EA
15761 Connector TVSO6RF-13-35SA-LC-453 1 EA
15762 Sample 211 -- enviro tested,sn 103, sn 119 211 3 EA
15763 Newport Flat Mirror 25.4 mm diameter, 1/10 wave 10D20AL.2 1 EA
15764 Protected Al Witness Sample R3-W0 1 EA
15765 Protected Al Witness Sample R3-W084 1 EA
15766 Protected Al Witness Sample R3-W45 1 EA
15767 Protected Al Witness Sample R5-WO0 1 EA
15768 Protected Al Witness Sample R5-W45 1 EA
15769 Protected Al Witness Sample R5-W84 1 EA
15770 Soda Lime Glass Substituted Protected Al Coating Wit. Sample HC7-161026-1 1 EA
15771 Data Disks for OEM optic part - 3 CDs Misc 3 EA
15772 RTM ST Samples, Z302 on Gold 670-149 2 EA
15773 3-Bounce Target Repaint Coupons Z302 Paint, 4 pieces 671-006 1 EA
15774 Dowel Pins 91585A907 2 EA
15775 RTM Target Coupon SN3 8215949G4 1 EA
15776 RTM Target Coupon SN6 8250491G3 1 EA
15777 Platinum Resistance Temperature Sensor WN27 1 EA
15778 Platinum Resistance Temperature Sensor WN28 1 EA
15779 Platinum Resistance Temperature Sensor WN33 1 EA
15780 Platinum Resistance Temperature Sensor WN36 1 EA
15781 Platinum Resistance Temperature Sensor WN38 1 EA
15782 Platinum Resistance Temperature Sensor WN45 1 EA
15783 Mini-Circuits Amplifier 7X60-183-S+ 2 EA
15784 RTM Total Channel Retainer 8258534-1 1 EA
15785 Sensor SLA Model w/Laser Pointer N/A 7 EA
15786 Crimp Tool CAT-HT-179-2030-13 1 EA
15787 Cap EC-26 1 EA
15788 Block Wedge COTS 1 EA
15789 BNC Teflon 15 ft x4 COTS 1 EA
15790 Cord ~20ft COTS 1 EA
15791 Ge 1.0" dia wedge witness.,one side coated, qty: 2, S2: Passband @ 5-50 um@0 deg AOI, Run #130602-M1 COTS 1 EA
15792 Ge 1.0" dia x 0.0197" thk ,no anneal, gty 1, S1: BBAR @ 5-50 um @ 0 deg AOI, Run #130531-M1 COTS 1 EA
Ge 1.0" dia x 0.0197" thk with black painted edges, qty 1 -- Humidity Tested Condition 2, tape, S1: BBAR @ 5-50 um @ 0 deg AOI, Run #130531-M1, S2:
15793 Passband @ 5-50 um @ 0 deg AOI, Run #130602-M1 COTS 1 EA
Ge 1.0" dia x 0.0197" thk with black painted edges, gty 1, S1: BBAR @ 5-50 um @ 0 deg AOI, Run #130531-M1, S2: Passband @ 5-50 um @ 0 deg AOI, Run
15794 #130602-M1 COTS 1 EA
15795 Ge 1.0" dia X 0.0197" thk, one side coated, qty 2, S2: Passband @ 5-50 um @ 0 deg AOI, Run #130602-M1 COTS 1 EA
15796 Ge 1.0" dia x 0.0197" thk, one side coated, qty: 1, S1: BBAR @ 5-50 um @ 0 deg AOI, Run # 130531-M1 COTS 1 EA
Ge 1.0" dia x 0.0197" thk, with black painted edges, qty 4, S1: BBAR @ 5-50 um @ 0 deg AOI, Run #130531-M1, S2: Passband @ 5-50 um @ O deg AOI, Run
15797 #130602-M1 COTS 1 EA
Ge 1.0" dia x 0.0197" thk, with black painted edges, qty 4, S1: BBAR @ 5-50 um @ 0 deg AOI, Run #130531-M1, S2: Passband @ 5-50 um @ O deg AOI, Run
15798 #130602-M1 COTS 1 EA
Ge 1.0" dia x 0.0197" thk, with black painted edges, qty: 4, s1: BBAR@5-50um @0 deg AOI, Run # 130531-M1, S2: Passband @ 5-50 um @ O deg AOI Run #
15799 130602-M1 COTS 1 EA
15800 Ge 1.0" dia. Wedge witness, one side coated, qty 1, S1: BBAR @ 5-50um@ 0 deg AOI, Run #130531-M1 COTS 1 EA

49 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
Ge 1.0" dia. X 0.0197" thk with black painted edges, qty 1 - humidity tested condition 3, tape, mod abrasion, S1: BBAR @ 5-50 um@ 0 deg AOI, Run

15801 #130531-M1, S2: Passband @5-50 um @ 0 deg AOI, Run #130602-M1 COTS 1 EA

Ge 1.0" dia. X 0.0197" thk with black painted edges, gty 1 - humidity tested condition 1, tape, S1: BBAR @ 5-50 um @ 0 deg AOI, Run 130531-M1, S2:
15802 Passband @5-50 um @ 0 deg AOI Run# 130602-M1 COTS 1 EA
15803 RTM Circular retainers UNK 2 EA
15804 RTM Optic SW Filter No HSG UNK 1 EA
15805 Si 1.0" dia. Plano witness with fine grind back surface, one side coated, qty 1, S2: Passband @ 5-50 um@ Odeg AOI, Run#130602-M1 COTS 1 EA
15806 Si 1.0" dia. Plano witness with fine grind back surface. One side coated, qty:1, S1:BBAR @5-50 um@ 0 deg AOI, Run#130531-M1. COTS 1 EA

Silicon 1.0" dia x 0.0197" thk with black painted edges, qty 1- humidity tested condition 1, tape, mod abrasion, S1: BBAR @ 5-50 um@ 0 deg AOI, Run
15807 #130531-M1,52: Passband @ 5-50um @0deg AOI, Run #130602-M1 COTS 1 EA

Silicon 1.0" dia x 0.0197" thk with black painted edges, qty 1- humidity tested condition 2, tape, mod abrasion, S1: BBAR @ 5-50 um@ 0 deg AOI, Run
15808 #130531-M1,52: Passband @ 5-50um @0deg AOI, Run #130602-M1 COTS 1 EA

Silicon 1.0" dia x 0.0197" thk with black painted edges, qty 1, S1: BBAR @ 5-50 um @ 0 deg AOI, Run #130531-M1, S2: Passband @ 5-50um @ 0 deg AOI,
15809 Run #130602-M1 COTS 1 EA
15810 Silicon 1.0" dia x 0.0197" thk, One side coated,Qty: 1, S1: BBAR @5-50 um@ 0 deg AOI, Run# 130531-M1 COTS 1 EA
Silicon 1.0" dia x 0.0197" thk, with black painted edges, qty 4, S1 BBAR @ 5-50 um@0 deg AOI, Run #130531-M1, S2: Passband @ 5-50um @ 0 deg AOI,
15811 Run #130602-M1 COTS 1 EA
Silicon 1.0" dia x 0.0197" thk, with black painted edges, qty 4, S1 BBAR @ 5-50 um@0 deg AOI, Run #130531-M1, S2: Passband @ 5-50um @ 0 deg AOI,
15812 Run #130602-M1 COTS 1 EA
15813 Silicon 1.0" dia. X 0.0197" thk, one side coated, no anneal, qty: 1, S1: BBAR @ 5-50 um @ 0 deg AOI, Run # 130531-M1 COTS 1 EA
15814 Silicon 1.0" dia. X 0.0197" thk, one side coated, gty: 2, S2: Passban @ 5-50 um @ O deg AOI, Run #130602-M1 COTS 1 EA
Silicon 1.0" dia. X 0.0197" thk, with black painted edges, qty 1 - humidity tested condition 2, tape, S1: BBAR @ 5-50 um @ 0 deg AOI Run #130531-M1, S2:

15815 Passband @5-50 um @ O deg AOI Run# 130602-M1. COTS 1 EA
15816 EDU TEST BLANKET 8258644G1 1 EA
15817 EDU TEST BLANKET 8258644G10 1 EA
15818 EDU TEST BLANKET 8258644G11 1 EA
15819 EDU TEST BLANKET 8258644G2 1 EA
15820 EDU TEST BLANKET 8258644G3 1 EA
15821 EDU TEST BLANKET 8258644G5 1 EA
15822 EDU TEST BLANKET 8258644G6 1 EA
15823 EDU TEST BLANKET 8258644G7 1 EA
15824 EDU TEST BLANKET 8258644G8 1 EA
15825 RTM BLANKET LAY-UP MATERIAL UNK 1 EA
15826 SPARE GERMANIUM BLANKETS Blanket 4 EA
15827 WORKSTATION 7820 1 EA
15828 RTM Carriage Assembly bolts w/washers 8257999G1 1 PG
15829 RTM Auxiliary Roller Bracket 8258000G1 1 EA
15830 RTM Auxiliary Roller Bracket 8258000G2 1 EA
15831 RTM Auxiliary Roller Bracket 8258000G3 1 EA
15832 RTM Auxiliary Roller Bracket 8258000G4 1 EA
15833 Thorlabs fiber cable FG550LEC custom 1 EA
15834 Thorlabs fiber cable FG550LEC custom 1 EA
15835 Thorlabs fiber cable FG550LEC custom 1 EA
15836 Thorlabs fiber cable FG550LEC custom 1 EA
15837 Thorlabs fiber cable FG550LEC custom 1 EA
15838 Laser Warning Signs Laser signs 2 EA
15839 ASUS Monitor VE224 1 EA
15840 ASUS Monitor VE228 1 EA
15841 Uniblitz shutter w/ cables VS14S5271 2 EA
15842 Fiber Optic Cable FG550LEC-Custom 1 EA
15843 Cables, BNC & FO COTS 9 EA
15844 TIA power supplies 3310 3 EA
15845 Fiber Optic Feedthrough 112609 2 EA
15846 LIGHT SOURCE POWER SUPPL OPS-A150 1 EA
15847 VACUUM PUMPING STATION PMS03555A 1 EA
15848 THERMO-HYGROMETER 1620A 1 EA
15849 LIGHT SOURCE POWER SUPPL OPS-A150 1 EA
15850 LASER DIODE CONTROLLER 1ITC4001 1 EA
15851 BEAM SHAPER GBS-AR14 1 EA
15852 BEAM PROFILER BC106N-VIS 1 EA
15853 LIGHT SOURCE HOUSING 67001 1 EA
15854 LIGHT SOURCE HOUSING 67001 1 EA
15855 18"x30" Aluminum Breadboard MB1830 2 EA
15856 Newport Optical Mounts BPH-3 50 EA
15857 Newport Mirror Mount, 2.0in M2 4 EA
15858 Newport Linear Stage 423 Series 3 EA
15859 Newport XY Lens Positioner LP-2A-XY 6 EA
15860 Thorlabs Rotation Stage QRP0O2 1 EA
15861 Thorlabs 5-axis Kinematic Optic Mount Kex 1 EA
15862 Kinematic, SM1-Threaded, 30mm Cage Compatible Mount with slip plate for 1" Optic KC1-S 1 EA
15863 Kinematic, SM1-Threaded, 30mm Cage Compatible Mount with slip plate for 1" Optic KC1-T 1 EA
15864 Thorlabs XY Translator with Differential Drives ST1XY-D 2 EA
15865 Thorlabs 30mm Cage System, XY Translating Lens Mount for 1" Optic CXY1 1 EA
15866 Newport Light Shaping, Diffuser Kit, Circular Narrow 20DKIT-C1 2 EA
15867 Thorlabs 2" 150mm Acromatic Doublet AC508-150-A 1 EA
15868 Thorlabs 2" 180 mm Acromatic Doublet AC508-180-A 1 EA
15869 Thorlabs 2" 200mm Acromatic Doublet AC508-200-A 1 EA
15870 Thorlabs 2" 250mm Acromatic Doublet AC508-250-A 1 EA
15871 Thorlabs SM1 Threaded Adapter for 16mm Cylindrical Components AD16F 1 EA
15872 Fiber Cleaning Reel FCC-7020 1 EA
15873 Replacement Cleaning Reel FCC-7021 2 EA
15874 Newport Drop-In Filter Holder, 50.8mm Square Optics FH-2S 6 EA
15875 Newport Filter Set, UVFS, 50.8sq, Incl. 8 Filters FS-ND 2 EA
15876 Thorlabs Threaded Cage Plate LCPO1 4 EA
15877 Thorlabs Laser Diode/TEC Mount for Fiber pigtailed Laser Diodes LMDILP 1 EA
15878 Thorlabs 637nm, 70mW, G Pin Code, SM Fiber-Pigtailed Laser Diode, FC/PC LP637-SF70 1 EA
15879 Thorlabs SM Patch Cable P1-630AR-2 2 EA
15880 Thorlabs SM Patch Cable P4-630AR-2 1 EA
15881 Thorlabs 1" Mounted Precision Pinhole, 500um P500S 3 EA
15882 Thorlabs SM Patch Cable P5-630AR-2 1 EA
15883 Thorlabs 1x2 PM Coupler, 90:10, FC/APC Aligned to slow axis PMC630-90B-APC 2 EA
15884 Thorlabs SM1 Zoom Housing SM1ZM 2 EA
15885 Thorlabs FC/PC Triplet Collimator , 633nm, f=24.98 mm, NA=0.25 TC25FC-633 1 EA
15886 Oriel Mercury Arc Lamp, 50W 6282 4 EA
15887 Lamp Socket Adapter, 75-100W Xenon or Mercury Lamp 66150 1 EA
15888 1SO KF 25 clamps Al 110BSR025 6 EA
15889 1SO KF 40 clamps Al 110BSR040 2 EA
15890 DN 25 ISO-KF Blank Flange 110FBLO25 2 EA
15891 Straight Reducer, Aluminum EN AW-6082/3.2315 110RRG040-025-40 1 EA
15892 ISO KF 25 seals Al FKM 1127ZRG025 6 EA
15893 Pfeiffer Corrugated Hose 120SWN025-1000 3 EA
15894 OSRAM Mercury Short Arc Lamp HBO W/3 69215-1 3 EA
15895 USHIO 75W Short Arc Xenon Lamp 75XE 6 EA
15896 11/2" Vacuum Break 5KV- Quick Flange A0597-1-QF 1 EA
15897 Thorlabs FC/APC to FC/APC Single L-Bracket Mounting Sleeve ADAFCB3 APC/APC 1 EA
15898 TFhorlabsPassive ComponentFiberFray-TIP Stage BFCT 1 EA
15899 Thorlabs Connector Kit CON4001 1 PG
15900 Thorlabs Connector Kit CON4005 1 PG
15901 USHIO 24V 250W Halogen Projector Lamp EHJ 2 EA
15902 Thorlabs Index Matching Gel G608N3 1 PG
15903 Thorlabs 8-32 Hardware Kit HW-KIT1 1 EA
15905 Thorlabs 20-Piece Balldriver and Hex Key Kit with Stand, Imperial TC2 1 EA
15906 Thorlabs 15-Piece Balldriver and Hex Key Kit with Stand, Metric TC3/M 1 EA
15907 USHIO 100W Short Arc Mercury Lamp USH-102D 4 EA
15908 Coherent 1000:1 Attenuator 1098318 1 EA
15909 BEAM PROFILER BC106N-VIS 1 EA
15910 USB ANALOG I/0 USB4431 1 EA
15911 GPIB TO USB ADAPTER GPIB-USB-HS+ 1 EA

50 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List

Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
15912 SHUTTER CONTROLLER VMM-D3 1 EA
15913 THERMOPILE DETECTOR 8259540 1 EA
15914 ENERGY MANAGEMENT METER LABMAX-TOPW/GPIB 1 EA
15915 LM-2 VIS 1098298 1 EA
15916 ADAPTER CABLE, DETECTOR 8258979G1 1 EA
15917 DUAL SCANNING SLIT BEAM BP209-IR 1 EA
15918 ELECTRONIC SHUTTER 76992 1 EA
15919 ELECTRONIC SHUTTER 76992 1 EA
15920 DATA LOGGER, USB TSPO1 1 EA
15921 CABLE ASSY, W101 8263337G1 1 EA
15922 CABLE ASSY, W102 8263338G1 1 EA
15923 CABLE ASSY, W103, PWR 8263339G1 1 EA
15924 CABLE ASSY, W104, PWR 8263340G1 1 EA
15925 CONTAINER ASSY ZRC2522-2005A3B 1 EA
15926 CABLE FIXTURE 8258748G1 1 EA
15927 MASS SIMULATOR 8258950G1 1 EA
15928 OPTICAL MODULE SUPPORT 8258694G1 1 EA
15929 ARM INTEGRATION FIXTURE 8259571G1 1 EA
15930 PROTECTIVE MOUNTING 8205880-1 1 EA
15931 HUB 8262494-1 1 EA
15932 OPTICAL MODULE MASS 8258956G1 1 EA
15933 PROTECTIVE COVER 8258250-1 1 EA
15934 CT MOTOR ALIGNMENT 8259594 1 EA
15935 CSM MOTOR ALIGNMENT 8259595 1 EA
15936 CT HOLDING FIXTURE 8259596 1 EA
15937 MTR STATOR ALIGNMENT 8259597 1 EA
15938 CSM GRINDING FIXTURE 8259598 1 EA
15939 EMI FEEDTHROUGH 8259713G1 1 EA
15940 CSM HANDLE 8261931-1 1 EA
15941 CSM HANDLE 8261931-2 1 EA
15942 EFMCG FIXTURE 8259589G1 1 EA
15943 FLEX FORMING FIXTURE 8258916G1 1 EA
15944 FLEX FORMING FIXTURE 8258916G1 1 EA
15945 FLEX FORMING FIXTURE 8258916G1 1 EA
15946 WIRE, SINGLE 26 AWG WMCB2667-000 570526-2 2420 FT
WIRE, SINGLE 26 AWG
WMCB2667-000
15947 55/0314-26-9CS3192 REV F 570526-2 3070 FT
15948 Rididax Wax Material ES5 1 PG
15949 Glenair Connector 8183761-28 3 EA
15950 Glenair Connector 8183761-29 3 EA
15951 Glenair Connector 8183761-31 3 EA
15952 Witness mirrors -4" silicon COTS 3 EA
15953 Telescope painting fixture p/o 8258817 1 EA
15954 Baffle, Primary Mirror 8259490-4 3 EA
15955 Pin, Dowel, Metric, Special 570741-120026 8 EA
15956 Spectral witness mirror S/N 105 2554-101-00 1 EA
15957 Spectral witness mirror S/N 109 2554-101-00 1 EA
15958 Spectral witness mirror S/N 110 2554-101-00 1 EA
15959 Spectral witness mirror S/N 111 2554-101-00 1 EA
15960 Spectral witness mirror S/N 203 2554-102-00 1 EA
15961 Spectral witness mirror S/N 207 2554-102-00 1 EA
15962 Mylar Film - Polyester, Type A 561802-2 1 RO
15963 CT Motor Housing Dowel Pin Installation Fixture N/A 1 EA
15964 Conn saver, Glenair N83513-01-GN 1 EA
15965 SILK SCREEN 8260022 1 EA
15966 SILK SCREEN 8260022 1 EA
15967 SILK SCREEN 8260032 1 EA
15968 HOLDING FIXTURE 8260033 1 EA
15969 SILK SCREEN 8260033 1 EA
15970 SILK SCREEN 8260042 1 EA
15971 SILK SCREEN 8260042 1 EA
15972 SILK SCREEN 8260062 1 EA
15973 SILK SCREEN 8260062 1 EA
15974 SILK SCREEN 8260082 1 EA
15975 SILK SCREEN 8260082 1 EA
15976 HOLDING FIXTURE 8260083 1 EA
15977 HOLDING FIXTURE 8260083 1 EA
15978 HOLDING FIXTURE 8260112 1 EA
15979 HOLDING FIXTURE 8260112 1 EA
15980 SILK SCREEN 8260112 1 EA
15981 SILK SCREEN 8260112 1 EA
15982 SILK SCREEN 8260452 1 EA
15983 SILK SCREEN 8260452 1 EA
15984 SILK SCREEN 8260502 1 EA
15985 SILK SCREEN 8260502 1 EA
15986 SILK SCREEN 8261023 1 EA
15987 SILK SCREEN 8261023 1 EA
15988 SILK SCREEN 8264718 1 EA
15989 SILK SCREEN 8261032 1 EA
15990 SILK SCREEN 8261043 1 EA
15991 SILK SCREEN 8261043 1 EA
15992 SILK SCREEN 8261082 1 EA
15993 SILK SCREEN 8261082 1 EA
15994 SILK SCREEN 8261112 1 EA
15995 SILK SCREEN 8261112 1 EA
15996 SILK SCREEN 8261134 1 EA
15997 SILK SCREEN 8264717 1 EA
15998 SILK SCREEN 8260002268 1 EA
15999 CAP, END 000-01-09-162 10 EA
16000 CAP, END 000-01-15-162 9 EA
16001 CAP, END 000-01-21-163 9 EA
16002 CAP, END 000-01-25-163 6 EA
16003 CAP, END 000-01-31-163 8 EA
16004 CAP, END 000-01-31-163 9 EA
16005 CAP, END 000-01-37-162 7 EA
16006 CAP, END 000-01-51-162 8 EA
16007 CAP, END 000-01-51-163 8 EA
16008 SHIELDING,BEAD 2773019446L 352 EA
16009 MICROCIRCUIT 28LVO10RPFS 2 EA
16010 THERMISTOR 311P18-08S7R6 9 EA
16011 CONNECTOR 311P822-FC-110-AS-D4 12 EA
16012 CONNECTOR 311P822-FC-110-BS-D4 8 EA
16013 CONNECTOR 311P822-FC-95- BS-D4 2 EA
16014 CONNECTOR KEY 311P822-FK-01 3 EA
16015 CONNECTOR KEY 311P822-FK-16 3 EA
16016 CONNECTOR KEY 311P822-FK-21 3 EA
16017 CONNECTOR KEY 311P822-FK-31 2 EA
16018 CONNECTOR KEY 311P822-FK-04 3 EA
16019 CONNECTOR KEY 311P822-FK-61 3 EA
16020 CONNECTOR 311P822-MC-110-BS-D 3 EA
16021 CONNECTOR KEY 311P822-MK-1 3 EA
16022 CONNECTOR, MALE KEYS 311P822-MK-16 1 EA
16023 CONNECTOR KEY 311P822-MK-31 2 EA
16024 CONNECTOR KEY 311P822-MK-4 3 EA
16025 RESISTOR 508683-104 83 EA
16026 MOUNTING DEVICE, S-LEADCC19AC-S00U-0XS 508618-2 618 EA
16027 RESISTOR 508683-1 5 EA

510of63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
16028 RESISTOR 508683-102 25 EA
16029 RESISTOR 508683-108 24 EA
16030 RESISTOR, FOIL, PRECISION, CHIP (768 OHMS) 508683-11 21 EA
16031 RESISTOR, FOIL, PRECISION, CHIP, 909 OHMS 508683-25 26 EA
16032 RESISTOR 508683-35 33 EA
16033 RESISTOR, FOIL, PRECISION, CHIP, 10K OHMS 508683-44 17 EA
16034 RESISTOR 508683-47 30 EA
16035 RESISTOR, FOIL, PRECISION, CHIP 508683-50 25 EA
16036 RESISTOR, FOIL, PRECISION, CHIP (11.5K OHMS) 508683-52 108 EA
16037 RESISTOR, FOIL, PRECISION, CHIP (15K OHMS) 508683-53 17 EA
16038 RESISTOR 508683-55 10 EA
16039 RESISTOR 508683-62 20 EA
16040 RESISTOR 508683-64 22 EA
16041 RESISTOR 508683-71 24 EA
16042 RESISTOR, FOIL, PRECISION, CHIP, 20K OHMS 508683-75 78 EA
16043 WIRE, COPPER 30 AWG 562511-7 497 FT
16044 CAPACITOR 570404-1 3 EA
16045 CAPACITOR 570404-2 3 EA
16046 IC, HYBRID 570502-1 12 EA
16047 MICROCIRCUIT, DIGITAL - MEMORY32K X 8 SRAM, LWR PWR SOI, RAD 570522-2 11 EA
16048 MICROCIRCUIT, LINEAR 570524-5 7 EA
16049 RESISTOR 570556-193 3 EA
16050 REISISTOR 570556-261 7 EA
16051 REISISTOR 570556-269 5 EA
16052 REISISTOR 570556-309 3 EA
16053 REISISTOR 570556-310 2 EA
16054 REISISTOR 570556-313 3 EA
16055 REISISTOR 570556-327 4 EA
16056 REISISTOR 570556-369 4 EA
16057 REISISTOR 570556-385 10 EA
16058 RESISTOR 570556-443 1 EA
16059 RESISTOR 570556-459 11 EA
16060 REISISTOR 570556-479 10 EA
16061 REISISTOR 570556-501 32 EA
16062 REISISTOR 570556-513 12 EA
16063 RESISTOR 570556-517 12 EA
16064 RESISTOR 570556-519 43 EA
16065 RESISTOR, FILM - 0805 CHIP, PRECISION 570556-538 14 EA
16066 REISISTOR 570556-544 2 EA
16067 MICROCIRCUIT, LINEAR, VOLTAGE REFERENCE 570557-2 2 EA
16068 REISISTOR 570582-10 15 EA
16069 REISISTOR 570582-22 5 EA
16070 REISISTOR 570582-30 4 EA
16071 REISISTOR 570582-33 5 EA
16072 REISISTOR 570582-34 4 EA
16073 RESISTOR 570582-42 33 EA
16074 RESISTOR 570582-58 9 EA
16075 RESISTOR 570582-60 4 EA
16076 RESISTOR 570582-70 19 EA
16077 REISISTOR 570582-82 16 EA
16078 REISISTOR 570582-96 35 EA
16079 CONNECTOR, PLUG/SOCKET MICROMINATURE, PWB 570623-8 2 EA
16080 SHIELDING BEAD 570637-2 57 EA
16081 CAPACITOR, TANTALUM, LOW ESR,SURFACE MOUNT 570641-1 13 EA
16082 RESISTOR 570659-1 22 EA
16083 RESISTOR 570659-3 23 EA
16084 RESISTOR 570659-6 23 EA
16085 CONNECTOR 570714-2 2 EA
16086 CONNECTOR 570714-3 2 EA
16087 CONNECTOR 570714-4 2 EA
16088 CONNECTOR 570714-49 3 EA
16089 CONNECTOR 570714-7 3 EA
16090 RESISTOR 570757-12 8 EA
16091 REISISTOR 570757-17 10 EA
16092 RESISTOR 570757-20 16 EA
16093 RESISTOR 570757-21 6 EA
16094 RESISTOR 570757-23 7 EA
16095 RESISTOR 570757-3 10 EA
16096 RESISTOR 570757-5 2 EA
16097 RESISTOR 570757-6 9 EA
16098 RESISTOR 570757-8 10 EA
16099 RESISTOR 570757-9 21 EA
16100 CONNECTOR, ELETRICAL, STANDARD DENSITY 570759-3 2 EA
16101 CONNECTOR, ELETRICAL, STANDARD DENSITY 570759-8 2 EA
16102 INDUCTOR 570760-1 5 EA
16103 INDUCTOR 570760-10 3 EA
16104 INDUCTOR 570760-11 4 EA
16105 INDUCTOR 570760-12 8 EA
16106 INDUCTOR 570760-4 28 EA
16107 INDUCTOR 570760-5 4 EA
16108 INDUCTOR 570760-6 5 EA
16109 INDUCTOR 570760-7 5 EA
16110 INDUCTOR 570760-8 12 EA
16111 INDUCTOR 570764-1 5 EA
16112 REISISTOR 570766-1 2 EA
16113 REISISTOR 570780-1 2 EA
16114 REISISTOR 570780-5 2 EA
16115 RESISTOR 570781-1 6 EA
16116 RESISTOR 570781-2 6 EA
16117 Diodes 570799-01 41 EA
16118 MICROCIRCUIT,DIGITAL-ISOLATOR,QUAD-CHANNEL 570800-1 2 EA
16119 SEMICONDUCTOR DEVICE, TRANSISTOR 570801-1 30 EA
16120 MICROCIRCUIT, LINEAR, PRECISION 1.2V VOLTAGE REFERENCE, MONO 5962-8992901VXA 1 EA
16121 IC 5962F0050202KXC 1 EA
16122 HYBRID VOLTAGE REGULATOR 5962F0921604KZC 2 EA
16123 MICROCIRCUIT, HYBRID, LINEAR,POSITIVE, LOW DROPOUT, ADJUSTA 5962F0921608KZC 2 EA
16124 MICROCIRCUIT 5962F1222801VXC 15 EA
16125 MICROCIRCUIT 5962F1324801VXC 7 EA
16126 MICROCIRCUIT 5962F9563004VYC 16 EA
16127 IC, QUAD DIFF LINE RCVR 5962F9568902VXC 13 EA
16128 MICROCIRCUIT, LINEAR, RADIATION HARDNED, LINE RECEIVER, QUAD 5962F9568904VXC 10 EA
16129 MICROCIRCUIT,LINEAR, RADIATION HARDENED,CMOS,DUAL SPDT ANALO 5962F9581307VXC 13 EA
16130 MICROCIRCUIT, DIGITAL, ADVANCED CMOS, RADIATION HARDENED 5962F9652402VXA 6 EA
16131 MICROCIRCUIT, DIGITAL-LINEAR,RADIATION HARDENED CMOS, QUAD 5962F9666304VXC 11 EA
16132 MICROCIRCUIT 5962F9674203VXC 9 EA
16133 MICROCIRCUIT 5962F9956003VXC 13 EA
16134 TRANSISTOR 5962F9956004VXC 22 EA
16135 IC 5962G9652403VXC 2 EA
16136 OCTAL LVDS RECEIVER 5962H0153601VYC 2 EA
16137 MICROCIRCUIT 5962H9651402VXA 8 EA
16138 HEX INVERTER, CMOS LOGIC 5962H9652402VXA 3 EA
16139 MICROCIRCUIT 5962H9656901VXA 1 EA
16140 MICROCIRCUIT 5962H9865202VYC 3 EA
16141 MICROCIRCUIT LINEAR AD8561 5962L0051502VHA 19 EA
16142 MICROCIRCUIT 5962L8551405VHA 6 EA
16143 MICROCIRCUIT HYBRID VOLTAGE REGULATOR 5962R0920601KXC 2 EA
16144 IC 5962R1120501KYC 7 EA
16145 MICROCIRCUIT 5962R1222301VXC 27 EA

52 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
16146 MICROCIRCUIT 5962R1322201KYA 13 EA
16147 MICROCIRCUIT 5962R8954203VGA 7 EA
16148 MICROCIRCUIT 5962R8961002VHA 16 EA
16149 MICROCIRCUIT 5962R9306802KZC 2 EA
16150 MICROCIRCUIT 5962R9651701VXA 14 EA
16151 MICROCIRCUIT,LINEAR, RADIATION HARDENED,QUAD VOLTAGE COMPARA 5962R9673802VDA 6 EA
16152 MICROCIRCUIT, DIGITAL-LINEAR,RADIATION HARDENED, HIGH SPEED 5962R9675503VXC 12 EA
16153 MICROCIRCUIT 5962R9858002VXC 3 EA
16154 MICROCIRCUIT, DIGITAL, RADIATION HARDENED, ADVANCED CMOS, SC 5962R9858006VXC 11 EA
16155 MICROCIRCUIT, LINEAR - 3 VOLT 5962R9865103VYC 11 EA
16156 MICROCIRCUIT, LINEAR - 3 VOLTLVDS QUAD CMOS DIFFERENTIAL LI 5962R9865203VYC 4 EA
16157 MICROCIRCUIT, LINEAR - OPAMP 5962R9950402VZA 32 EA
16158 CONNECTOR 8183754-37 4 EA
16159 CONNECTOR 8183754-38 3 EA
16160 CONNECTOR 8183754-43 2 EA
16161 CONNECTOR 8183761-33 2 EA
16162 CONNECTOR 8183761-34 2 EA
16163 TRANSFORMER ASSY 8190336G1 6 EA
16164 CONNECTOR 8192865-11 2 EA
16165 CONNECOR, RECEPTACLE-PWB,164 SOCKET CONTACTS 8192865-5 2 EA
16166 CONNECTOR, PLUG, PRINTED CIRCUT BOARD, 164 PINS 8193769-8 2 EA
16167 PWB, DAUGHTER MP-2139 8197803-1 2 EA
16168 TEST POINT, SURFACE MOUNT 8202823-1 994 EA
16169 IC 8203047-1 41 EA
16170 MICROCIRCUIT, HYBRID, OCTOCOUPLER, LINEAR, RADIATION TOLERAN 8203048-1 41 EA
16171 CONNECTOR, RECEPTACLE-PRINTED CIRCUIT BOARD MICRO-D 8203105-12 2 EA
16172 CONNECTOR, RECEPTACLE-PRINTED CIRCUIT BOARD MICRO-D 8203105-13 2 EA
16173 CONNECTOR, RECEPTACLE-PRINTED CIRCUIT BOARD MICRO-D 8203105-14 2 EA
16174 CONNECTOR, MICRO-D, PWB 37 PIN 8203105-15 2 EA
16175 CONNECTOR, RECEPTACLE-PRINTED CIRCUIT BOARD MICRO-D 8203105-16 2 EA
16176 CONNECTOR, MICRO-D, PWB 51 PIN 8203105-5 2 EA
16177 CONNECTOR, MICRO-D, PWB15 PINS 8203105-7 2 EA
16178 CONNECTOR, MICRO-D, PWB 21 PIN 8203105-8 2 EA
16179 CONNECTOR 8203106-2 2 EA
16180 BUSHING, MALE, CONTROL ELEC 8204025-1 5 EA
16181 NUT, BUSHING, CIRCUIT BD, SSM 8204026-1 5 EA
16182 WASHER, INSULATING 8204049-1 3 EA
16183 CAPACITOR - CERAMIC, LEADED, 0.47UF, 20%, 100V 8207690-1 13 EA
16184 INDUCTOR-COMMON AND DIFFERENTIAL MODE, THROUGH-HOLE 8207691-2 2 EA
16185 CAPACITOR - CER, STACK, 4.7UF, 10%, 100V, S-LEAD, SPACEFLIGH 8207707-1 36 EA
16186 CAPACITOR - CER, STACK, 4.7UF, 10%, 100V, S-LEAD, SPACEFLIGH 8207707-1 2 EA
16187 CONNECTOR, MODIFIED 8207847-1 3 EA
16188 CONNECTOR 8225296-12 3 EA
16189 CONNECTOR 8225296-13 3 EA
16190 CONNECTOR 8225296-15 3 EA
16191 CONNECTOR 8225296-16 3 EA
16192 CONNECTOR 8225296-17 3 EA
16193 CONNECTOR 8225296-18 3 EA
16194 CONNECTOR 8225296-19 3 EA
16195 CONNECTOR, HIGH DENSITY 8225296-5 2 EA
16196 CONNECTOR, HIGH DENSITY 8225296-6 2 EA
16197 CONNECTOR, HIGH DENSITY 8225296-7 2 EA
16198 CONNECTOR, HIGH DENSITY 8225296-8 2 EA
16199 RETAINER CAPACITOR TOP 8226032-1 3 EA
16200 INDUCTOR - ASSY OF 8226039G1 10 EA
16201 INDUCTOR - ASSY OF 8226039G1 12 EA
16202 RETAINER CAPACITOR BASE 8226041-1 3 EA
16203 RESISTOR, FIXED, RWRCOATED 8231714-13 12 EA
16204 COATED, M/F RWR81N1ROOFS 8231714-5 7 EA
16205 HOLDING FIXTURE 8236062A01 1 EA
16206 MICROCIRCUIT S LEAD ASSY 8251402G2 2 EA
16207 WASHER, FLAT, NON-METALLIC 8251442-1 7 EA
16208 PWB- EU TEST (FLIGHT) 8260503-1 4 EA
16209 PWB- EU BACKPLANE (FLIGHT) 8261003-1 4 EA
16210 PWB- CSM CONNECTOR INTERFACEMP-3685 8261023-1 1 EA
16211 PWB- EU FILTER 8261063-1 1 EA
16212 PWB, EXT FILTER, MP-3599 8261135-1 1 EA
16213 FILTER 94010H02KZC 2 EA
16214 NUT 94150A325 77 EA
16215 WIRE AA59551-H24SIS 498 FT
16216 RELAY, ELECTROMECHANICAL AAG-G311P754/08-002 2 EA
16217 RESISTOR AAG-RNC90Y2K4900BR 4 EA
16218 TRANSISTOR AAM-570801-2 12 EA
16219 SCHOTTKY DIODE AAM-JANSIN7043CCT1 3 EA
16220 MOSFET AAM-JANSF2N7269 7 EA
16221 CAPACITOR-CERAMIC CDR31BP100BFUS 21 EA
16222 CAPACITOR, CERAMIC, CHIP, 100PF, 1% CDR31BP101BFUS 21 EA
16223 CAPACITOR CDR31BP101BKUS 28 EA
16224 CAPACITOR CDR31BP161BFUS 2 EA
16225 CAPACITOR CDR31BP200BJUS 117 EA
16226 CAPACITOR CDR31BP330BKUS 355 EA
16227 CAPACITORS, CHIP, MULTIPLE LAYER, FIXED, CERAMIC DIELECTRIC, CDR31BP331BKUS 88 EA
16228 CAPACITORS, CHIP, MULTIPLE LAY CDR31BP391BKUS 49 EA
16229 CAPACITOR CDR31BX102BKUS 164 EA
16230 CAPACITOR CDR31BX102BMUS 443 EA
16231 CAPACITOR CDR31BX103AKUS 30 EA
16232 CAPACITOR CDR31BX222BKUS 16 EA
16233 CAPACITOR CDR31BX681BMUS 48 EA
16234 CAPACITOR CDR31BX682AKUS 82 EA
16235 CAPACITOR CDR32BP102BFUS 25 EA
16236 CAPACITOR CDR32BP102BKUS 65 EA
16237 CAPACITOR CDR32BP222AFUS 21 EA
16238 CAPACITOR, CHIP, 27PF CDR32BP270BKUS 398 EA
16239 CAPACITOR CDR33BP222BFUS 19 EA
16240 CAPACITOR CDR33BX223BKUS 35 EA
16241 CAPACITOR CDR34BX563BKUS 26 EA
16242 CAPACITOR CDR35BX104BKUS 64 EA
16243 CAPACITOR CWR09HC106KCB 4 EA
16244 CAPACITOR CWRO9HC336KCB 13 EA
16245 CAPACITOR, CHIP, FIXED, TANTALUM, EST. REL, STYLE CWR09 CWR09KC106KCB 4 EA
16246 CAPACITOR, CHIP, FIXED, TANTALUM, EST. REL., STYLE CWR09 CWR09KK105KCB 6 EA
16247 CAPACITOR, CHIP, FIXED, TANTALUM, EST. REL., STYLE CWR09 CWR09KK106KCB 4 EA
16248 CAPACITOR CWR09MK475KCB 8 EA
16249 CAPACITOR CWRO9NC475KCB 8 EA
16250 CAPACITOR CWRO9NK475KCB 8 EA
16251 CAPACITOR CWR11FH476JCB 18 EA
16252 CAPACITOR CWR11HH106JCB 15 EA
16253 CAPACITOR CWR11HH336JCB 11 EA
16254 CAPACITOR CWR11KH106JCB 16 EA
16255 CAPACITOR CWR11KH685KCB 23 EA
16256 CAPACITOR CWR11MH335JCB 19 EA
16257 CAPACITOR CWR11MH685JCB 8 EA
16258 CAPACITOR CWR11MK685JCB 12 EA
16259 CAPACITOR CWR29HK686KCHB 5 EA
16260 CAPACITOR CWR29MK106KCHB 27 EA
16261 RESISTOR D55342K07B100DS 96 EA
16262 RESISTOR D55342K07B10EQS 78 EA
16263 RESISTOR D55342K07B15D0S 100 EA

53 0of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
16264 RESISTOR D55342K07B1D00S 36 EA
16265 RESISTOR D55342K07B1D21S 19 EA
16266 RESISTOR D55342K07B1D50S 23 EA
16267 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES D55342K07B1E50S 94 EA
16268 RESISTOR D55342K07B1E62S 98 EA
16269 RESISTOR D55342K07B20E0S 94 EA
16270 RESISTORS, FIXED, FILM, CHIP D55342K07B274DS 98 EA
16271 RESISTOR D55342K07B2D00S 12 EA
16272 RESISTOR D55342K07B2D74S 34 EA
16273 RESISTOR D55342K07B49E9S 82 EA
16274 RESISTOR D55342K07B4E99S 94 EA
16275 RESISTOR D55342K07B64D9S 98 EA
16276 RESISTOR D55342K07B7E15S 90 EA
16277 CONNECTOR, CAP DA-59-20BA 8 EA
16278 CONNECTOR, CAP DB-60-20BA 6 EA
16279 CONNECTOR, CAP DC-59-20BA 10 EA
16280 CONNECTOR, CAP DD-60-20BA 6 EA
16281 CONNECTOR, CAP DE-60-20BA 8 EA
16282 FLIGHT 33 MHZ VXCO EM-QTV722ARM-33.000MHZ 2 EA
16283 RELAY G311P754/03-003 3 EA
16284 SEMICONDUCTOR JANS1IN4103UR 48 EA
16285 SEMICONDUCTOR DEVICE,DIODE JANSIN5811 48 EA
16286 SEMICONDUCTOR DEVICE, DIODE -SILICON FAST RECOVERY POWER JANSIN5811US 29 EA
16287 SEMICONDUCTOR JANSIN5819UR 32 EA
16288 DIODE JANS1N6314US 3 EA
16289 SEMICONDUCTOR JANSIN6317D 40 EA
16290 SEMICONDUCTOR JANS1N6320C 6 EA
16291 DIODE, SILICON JANSIN6321US 10 EA
16292 SEMICONDUCTOR JANSIN6326D 37 EA
16293 ZENER DIODE JANS1N6326US 10 EA
16294 SEMICONDUCTOR DEVICE JANS1IN6642UB 8 EA
16295 SEMICONDUCTOR DEVICE JANS1IN6642UBCA 3 EA
16296 SEMICONDUCTOR DEVICE JANS1N6642UBCA 15 EA
16297 SEMICONDUCTOR DEVICE JANSIN6642UBCC 13 EA
16298 SEMICONDUCTOR DEVICE JANS1N6642UBCC 15 EA
16299 SEMICONDUCTOR JANSIN6642US 107 EA
16300 SEMICONDUCTOR JANS1IN7039CCU1 3 EA
16301 SEMICONDUCTOR DEVICE,DIODE JANSIN7078U3 2 EA
16302 SEMICONDUCTOR JANS2N2222AUB 54 EA
16303 SEMICONDUCTOR DEVICE, TRANSISTOR, NPN, SILICON, LOW-POWER, T JANS2N3700UB 9 EA
16304 SEMICONDUCTOR JANS2N5154U3 5 EA
16305 SEMICONDUCTOR JANSF2N7425 17 EA
16306 SEMICONDUCTOR, PNP, 2N2907A SURFACE MOUNT JANSR2N2907AUB 55 EA
16307 SEMICONDUCTOR TRANSISTOR JANSR2N3637 7 EA
16308 MOSFET JANSR2N7479U3 4 EA
16309 MOSFET,HI-REL SINGLE N-CHANNEL JANSR2N7481U3 14 EA
16310 MICROCIRCUIT JANSR2N7506U8 18 EA
16311 SEMICODUCTOR DEVICE JANSR2N7520U3 9 EA
16312 MOSFET, HI-REL SINGLE P-CHANNEL JANSR2N7545U3 8 EA
16313 TRANSISTOR JANSR2N7616UB 28 EA
16314 CAPACITORS,FIXED, CERAMIC DIELECTRIC M123A10BPB161FS 13 EA
16315 CAPACITORS,FIXED, CERAMIC DIELECTRIC M123A10BPB330FS 18 EA
16316 CAPACITORS,FIXED, CERAMIC DIELECTRIC M123A10BPB561KS 50 EA
16317 CAPACITOR, CHIP, 680PF M123A10BPB681JS 68 EA
16318 CAPACITORS,FIXED M123A10BPC101KS 20 EA
16319 CAPACITORS,FIXED M123A10BPC221FS 20 EA
16320 CAPACITORS M123A10BPC331KS 28 EA
16321 CAPACITOR M123A10BXB103KS 434 EA
16322 CAPACITORS M123A10BXB682KS 13 EA
16323 CAPACITORS,FIXED, CERAMIC DIELECTRIC M123A10BXC102KS 73 EA
16324 CAPACITORS,FIXED, CERAMIC DIELECTRIC M123A10BXC222KS 19 EA
16325 CAPACITORS M123A10BXC681KS 86 EA
16326 CAPACITORS M123A11BPC102KS 27 EA
16327 .10UF FIXED CAPACITOR M123A11BXB104KS 446 EA
16328 CAPACITORS M123A12BXB183KS 1 EA
16329 CAPACITORS M123A21BPB222FS 39 EA
16330 CAPACITOR M123A21BPB222JS 53 EA
16331 CAPACITOR M123A21BXC103KS 6 EA
16332 CAPACITORS,FIXED, CERAMIC DIELECTRIC M123A22BPB103KS 15 EA
16333 47UF FIXED CAPACITOR M123A23BXB474KS 69 EA
16334 CAPACITORS,FIXED M123A23BXC104KS 28 EA
16335 RESISTOR M32159B04T 65 EA
16336 RESISTOR, FIXED,FILM, CHIP, ZERO M32159B06T 77 EA
16337 RESISTOR M32159B12T 86 EA
16338 RESISTOR M32159G12T 22 EA
16339 CAPACITOR M39006/22-0608H 21 EA
16340 CAPACITOR M39006/25-0264H 24 EA
16341 CAPACITOR, TANTALUM SLUG, 10UF, 10%, 100V M39006/31-0250H 17 EA
16342 RESISTOR M55342E06B100DS 59 EA
16343 RESISTOR CHIP FIXED 100K M55342E06B100ES 70 EA
16344 RESISTOR 10K OHM M55342E06B10B0S 87 EA
16345 RESISTOR M55342E06B10D0S 65 EA
16346 RESISTOR M55342E06B10EOR 92 EA
16347 RESISTOR M55342E06B10E0S 31 EA
16348 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B10E2S 93 EA
16349 RESISTOR M55342E06B115DS 87 EA
16350 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B11E8S 100 EA
16351 RESISTOR M55342E06B121ES 99 EA
16352 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B124ES 98 EA
16353 RESISTOR M55342E06B12D1S 94 EA
16354 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B12E4S 92 EA
16355 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B13E0S 85 EA
16356 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B150DS 97 EA
16357 RESISTOR M55342E06B150ES 92 EA
16358 RESISTOR M55342E06B15E0S 92 EA
16359 RESISTOR M55342E06B18E7S 94 EA
16360 RESISTOR M55342E06B19D1S 88 EA
16361 RESISTOR M55342E06B1B00S 38 EA
16362 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B1B50S 96 EA
16363 RESISTOR FILM CHIP STYLE RM0705 1% M55342E06B1E00S 77 EA
16364 RESISTORS M55342E06B1E10S 197 EA
16365 RESISTOR M55342E06B1E27S 95 EA
16366 RESISTORS M55342E06B1E43STR M55342E06B1E43S 94 EA
16367 RESISTORS M55342E06B1E87S 90 EA
16368 RESISTOR M55342E06B200DS 125 EA
16369 RESISTOR FIXED FILM M55342E06B20B0S 76 EA
16370 RESISTOR 20.0K M55342E06B20E0S 81 EA
16371 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B21E0S 88 EA
16372 RESISTORS, FIXED, FILM, CHIP, M55342E06B226DS 79 EA
16373 RESISTOR M55342E06B22E6S 97 EA
16374 RESISTOR M55342E06B24D95S 97 EA
16375 RESISTORS, FIXED, FILM, CHIP, M55342E06B26E1S 94 EA
16376 RESISTOR M55342E06B2B49R 22 EA
16377 RESISTOR M55342E06B2E00S 70 EA
16378 RESISTORS, FIXED, FILM, CHIP, M55342E06B2E155 97 EA
16379 RESISTOR M55342E06B2E265 91 EA
16380 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B2E43S 100 EA
16381 RESISTORS, FIXED, FILM, CHIP, M55342E06B2E61S 93 EA

54 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
16382 RESISTORS, FIXED, FILM, CHIP, M55342E06B332ER 98 EA
16383 RESISTOR M55342E06B33E2S 97 EA
16384 RESISTORS, FIXED, FILM, CHIP, M55342E06B3E01S 89 EA
16385 RESISTOR M55342E06B3E325 88 EA
16386 RESISTOR M55342E06B41E2S 92 EA
16387 RESISTOR M55342E06B499DS 100 EA
16388 RESISTOR M55342E06B49D9S 75 EA
16389 RESISTOR CHIP FIXED FILM 49.9K M55342E06B49E9S 52 EA
16390 RESISTOR M55342E06B4E02S 96 EA
16391 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B4E87S 93 EA
16392 RESISTOR M55342E06B4E99S 63 EA
16393 RESISTOR M55342E06B51D1S 76 EA
16394 RESISTORS M55342E06B56E2STR M55342E06B56E25 89 EA
16395 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B576DS 100 EA
16396 RESISTOR M55342E06B590DS 93 EA
16397 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B59D0S 96 EA
16398 RESISTOR M55342E06B5E765 87 EA
16399 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B681DS 97 EA
16400 RESISTOR M55342E06B68B1S 1 EA
16401 RESISTOR M55342E06B68E1S 92 EA
16402 RESISTOR, FIXED, FILM, CHIP,ESTABLISHED RELIABILITY, SPACE M55342E06B6B49S 88 EA
16403 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B6E49S 97 EA
16404 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B750DS 94 EA
16405 RESISTOR, FIXED, FILM, CHIP,ESTABLISHED RELIABILITY, SPACE M55342E06B8B45S 8 EA
16406 RESISTOR M55342E06B8E45S 87 EA
16407 RESISTOR,FILM,221K OHM,0.1W,1% M55342E06B95E3S 98 EA
16408 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06B9E09S 85 EA
16409 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342E06BIE76S 88 EA
16410 RESISTOR M55342E09B59D0S 244 EA
16411 RESISTORS,CHIP,FIXED FILM,NONE M55342E11B10E0S 81 EA
16412 RESISTOR M55342E12B100DS 74 EA
16413 RESISTOR M55342E12B10D0S 82 EA
16414 RESISTOR M55342E12B10E0S 77 EA
16415 RESISTOR M55342E12B12E4S 90 EA
16416 RESISTOR M55342E12B1E74S 98 EA
16417 RESISTOR M55342E12B22D65S 80 EA
16418 RESISTORS M55342E12B24D95S 78 EA
16419 RESISTORS M55342E12B24E9S 91 EA
16420 RESISTORS, FIXED, FILM, CHIP, M55342E12B2B49S 100 EA
16421 RESISTOR M55342E12B2E00S 76 EA
16422 RESISTOR M55342E12B2Y00S 23 EA
16423 RESISTORS, FIXED, FILM, CHIP M55342E12B3E83S 96 EA
16424 RESISTOR M55342E12B49B9S 98 EA
16425 RESISTOR M55342E12B49E9S 100 EA
16426 RESISTORS,CHIP,FIXED,FILM,NONESTABLISHED RELIABILITY,ESTABLI M55342E12B4B87S 100 EA
16427 RESISTOR M55342E12B4B99S 147 EA
16428 RESISTORS M55342E12B56D25 100 EA
16429 RESISTOR M55342E12B7E68S 87 EA
16430 RESISTORS M55342H08B402DS 9 EA
16431 RESISTOR M55342H08B499DS 76 EA
16432 RESISTOR M55342H12B10Y0S 19 EA
16433 RESISTOR M55342H12B4Y025 23 EA
16434 RESISTOR M55342H12B8Y255 22 EA
16435 RESISTORS M55342K04B100DS 98 EA
16436 RESISTOR M55342K04B10EQS 100 EA
16437 RESISTOR M55342K04B3E83S 46 EA
16438 RESISTORS M55342K04B5E76S 46 EA
16439 RESISTOR M55342K06B100DR 99 EA
16440 RESISTOR M55342K06B100DS 40 EA
16441 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B100ES 74 EA
16442 RESISTOR, SMD, 0.1W, 1% M55342K06B10D0S 87 EA
16443 RESISTOR M55342K06B10E0S 192 EA
16444 RESISTOR, FIXED, CHIP, NONESTA M55342K06B121ES 25 EA
16445 RESISTOR M55342K06B12E7S 96 EA
16446 RESISTOR M55342K06B150DS 91 EA
16447 RESISTOR M55342K06B150ES 93 EA
16448 RESISTOR FILM CHIP 15.0K M55342K06B15E0S 100 EA
16449 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B16E9S 94 EA
16450 RESISTOR FILM CHIP STYLE RM070 5 1% M55342K06B187DS 99 EA
16451 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B1E00S 227 EA
16452 RESISTOR, FILM, CHIP, 1.50K, 1 M55342K06B1E50S 85 EA
16453 RESISTOR M55342K06B1E69S 98 EA
16454 RESISTOR M55342K06B1E78S 98 EA
16455 RESISTOR M55342K06B1E82S 102 EA
16456 RESISTOR M55342K06B1F00S 104 EA
16457 RESISTOR FILM CHIP STYLE M55342K06B200DS 90 EA
16458 RESISTOR, FIXED, FILM, CHIP, ESTABLISHED RELIABILITY, SPACE M55342K06B200ES 98 EA
16459 RESISTOR FILM CHIP STYLE M55342K06B20D0S 95 EA
16460 RESISTOR,20K,0.1W,1% M55342K06B20EQS 72 EA
16461 RESISTOR M55342K06B221DS 85 EA
16462 RESISTOR, FILM, CHIP, 22.1, 1% M55342K06B22D1S 86 EA
16463 RESISTOR M55342K06B23E7S 97 EA
16464 RESISTOR, FILM, CHIP, 249 OHM, 1% M55342K06B249DS 94 EA
16465 RESISTORS M55342K06B24D9S 100 EA
16466 RESISTOR M55342K06B24E3S 99 EA
16467 RESISTOR M55342K06B26E1S 82 EA
16468 RESISTOR M55342K06B274DS 94 EA
16469 RESISTOR FILM CHIP STYLE M55342K06B2E00S 126 EA
16470 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B2E155 108 EA
16471 RESISTOR M55342K06B2E21S 101 EA
16472 RESISTORS M55342K06B2E26S 13 EA
16473 RESISTOR FILM CHIP STYLE M55342K06B2E43S 97 EA
16474 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B2E49S 57 EA
16475 RESISTOR M55342K06B2E87S 79 EA
16476 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B301ES 92 EA
16477 RESISTOR M55342K06B316DS 96 EA
16478 RESISTORS M55342K06B332DS 99 EA
16479 RESISTOR M55342K06B36E5S 86 EA
16480 RESISTOR FILM CHIP STYLE M55342K06B3E01S 93 EA
16481 RESISTOR M55342K06B3E16S 100 EA
16482 RESISTOR M55342K06B3E32S 80 EA
16483 RESISTOR, FILM, CHIP, 3.83K, 1 M55342K06B3E83S 79 EA
16484 RESISTOR FILM CHIP STYLE M55342K06B40E2S 100 EA
16485 RESISTOR M55342K06B412ES 81 EA
16486 RESISTOR FILM CHIP M55342K06B442DS 96 EA
16487 RESISTOR M55342K06B46E4S 98 EA
16488 RESISTOR, FILM, CHIP, 47.5 OHM, 1% M55342K06B47D5S 88 EA
16489 RESISTORS M55342K06B47E5S 72 EA
16490 RESISTOR, FILM, CHIP, 499 OHM, M55342K06B499DS 284 EA
16491 RESISTOR, FILM, CHIP, 499 K OHM, 1% M55342K06B499ES 94 EA
16492 REISISTOR M55342K06B49DIR 25 EA
16493 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B49D9S 92 EA
16494 RESISTOR M55342K06B49E9S 98 EA
16495 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06B4E02S 98 EA
16496 RESISTOR M55342K06B4E42S 98 EA
16497 RESISTOR M55342K06B4E75S 100 EA
16498 RESISTOR, FILM, CHIP, 4.99K,1% M55342K06B4E99S 60 EA
16499 RESISTOR CHIP FIXED FILM 56.2K M55342K06B56E2S 76 EA

55 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
16500 RESISTOR M55342K06B5D49S 17 EA
16501 RESISTOR M55342K06B5E11S 60 EA
16502 RESISTOR M55342K06B64D9S 88 EA
16503 RESISTOR M55342K06B681ES 98 EA
16504 RESISTOR, FIXED, FILM, CHIP EST. RELIABILITY-1%,6.81 OHMS M55342K06B6D81S 88 EA
16505 RESISTOR,750 OHM,0.1W,1% M55342K06B750DS 89 EA
16506 RESISTOR FILM CHIP STYLE M55342K06B7E50S 17 EA
16507 RESISTOR M55342K06B825DS 100 EA
16508 RESISTOR M55342K06B86E6S 100 EA
16509 RESISTOR FILM CHIP STYLE RM0705 1% M55342K06BSE06S 98 EA
16510 RESISTOR M55342K08B100DS 94 EA
16511 RESISTOR, 10.0 OHMS, 1%,2010 SMT M55342K08B10D0S 68 EA
16512 RESISTOR, FIXED, FILM CHIP SUPPLEMENTAL TESTING M55342K08B1F00S 96 EA
16513 RESISTOR, 27.4 OHMS, 1%,2010 SMT M55342K08B27D4S 79 EA
16514 RESISTOR M55342K08B383DS 96 EA
16515 RESISTOR M55342K08B3D30S 496 EA
16516 RESISTORS, FIXED, FILM, CHIP,NONESTABLISHED RELIABILITY, ES M55342K09B10D0S 72 EA
16517 RESISTOR M55342K09B13D0S 21 EA
16518 RESISTORS M55342K09B1F43S 19 EA
16519 RESISTOR M55342K09B2D00S 18 EA
16520 RESISTORS M55342K09B82D5S 25 EA
16521 RESISTOR M55342K09B8D06S 250 EA
16522 RESISTOR,FIXED,FILM M55342K11B100DS 82 EA
16523 RESISTOR M55342K11B100ES 82 EA
16524 RESISTOR,FIXED,FILM, CHIP,SUPP M55342K11B10EQS 276 EA
16525 RESISTOR M55342K11B19D1S 86 EA
16526 RESISTOR, FIXED, FILM, CHIP,ESTABLISHED RELIABILITY, SPACE M55342K11B1E00S 45 EA
16527 RESISTOR, FIXED, FILM, CHIP, M55342K11B1F00S 34 EA
16528 RESISTOR M55342K11B22D1S 18 EA
16529 RESISTOR,FIXED,FILM, CHIP,SUPP M55342K11B24D9S 47 EA
16530 RESISTOR M55342K11B33D2S 127 EA
16531 RESISTOR,FIXED,FILM, CHIP,SUPP M55342K11B43D2S 219 EA
16532 RESISTOR M55342K11B49D9S 83 EA
16533 RESISTOR M55342K11B51D1S 41 EA
16534 RESISTOR,FIXED,FILM, CHIP,SUPP M55342K11B64D9S 235 EA
16535 RESISTOR M55342K12B100DS 49 EA
16536 RESISTOR M55342K12B100ES 68 EA
16537 RESISTOR M55342K12B10D0S 97 EA
16538 RESISTOR M55342K12B10EQS 278 EA
16539 RESISTOR M55342K12B12E1S 94 EA
16540 RESISTOR M55342K12B150ES 496 EA
16541 RESISTOR M55342K12B18E7S 490 EA
16542 RESISTOR M55342K12B1E00S 85 EA
16543 RESISTOR M55342K12B1E50S 92 EA
16544 RESISTOR, FIXED, FILM, CHIP,ESTABLISHED RELIABILITY, SPACE M55342K12B1F00S 83 EA
16545 RESISTOR M55342K12B200DS 80 EA
16546 RESISTOR M55342K12B20E0S 83 EA
16547 RESISTORS M55342K12B21E5S 86 EA
16548 RESISTOR M55342K12B24D9S 77 EA
16549 RESISTORS M55342K12B24E9S 69 EA
16550 RESISTOR M55342K12B2D155 237 EA
16551 RESISTOR M55342K12B2E00S 74 EA
16552 RESISTOR M55342K12B2E49S 137 EA
16553 RESISTORS M55342K12B301ES 58 EA
16554 RESISTOR M55342K12B30D1S 86 EA
16555 RESISTOR M55342K12B332DS 78 EA
16556 RESISTOR M55342K12B332ES 99 EA
16557 RESISTOR M55342K12B33D2S 62 EA
16558 RESISTOR, FIXED, FILM, CHIP M55342K12B3E24S 90 EA
16559 RESISTOR, FIXED, FILM, CHIP,ESTABLISHED RELIABILITY, SPACE M55342K12B3E32S 72 EA
16560 RESISTOR, FIXED, FILM, CHIP,ESTABLISHED RELIABILITY, SPACE M55342K12B42E2S 87 EA
16561 RESISTOR M55342K12B499DS 98 EA
16562 RESISTOR M55342K12B49D9S 67 EA
16563 RESISTOR M55342K12B49E9S 97 EA
16564 RESISTOR M55342K12B4E02S 86 EA
16565 RESISTOR M55342K12B4E99S 52 EA
16566 RESISTOR M55342K12B5D62S 92 EA
16567 RESISTOR M55342K12B5E36S 89 EA
16568 RESISTOR M55342K12B64D9S 76 EA
16569 RESISTOR M55342K12B750DS 84 EA
16570 RESISTORS M55342K12B80D6S 84 EA
16571 RESISTORS M55342K12B8E25S 100 EA
16572 RESISTOR M55342M12B10F0S 25 EA
16573 WASHER, FLAT MA3453-30 44 EA
16574 WASHER, FLAT #4CR2 MS15795-803 55 EA
16575 SCREW, MACH, SOC HDCR2 MS16995-2 8 EA
16576 SCREW, MACH, SOC HD MS16995-4 8 EA
16577 NUT HEX CR2 MS35649-224 5 EA
16578 NUT, HEXCR2 MS35649-244 46 EA
16579 NUT, HEX MS35649-264 7 EA
16580 SCREW, MACHINE-PAN HD10% C7 MS51957-13 21 EA
16581 SCREW, PAN HD10% C7 MS51957-14 30 EA
16582 SCREW, PANHEAD, CREW MS51957-141 6 EA
16583 SCREW, PAN HD NO. 4-40 X10% C7 MS51957-15 1 EA
16584 SCREW MS51957-16 24 EA
16585 SCREW PAN HD MS51957-29 7 EA
16586 SCREW PAN HD MS51957-4 4 EA
16587 WIRE MWO016CHX000014N 250 FT
16588 SCREW NA0069A030006 6 EA
16589 SCREW NA0069A030010 6 EA
16590 SCREW NA0O069A030015 10 EA
16591 SCREW NA0069A030024 9 EA
16592 SCREW, CAP, HEX SOCKET HEAD (.086-56 UNC-2B X .188 LG) NAS1352C02-3 19 EA
16593 SCREW NAS1352C02-4 35 EA
16594 SCREW NAS1352N04-4 10 EA
16595 WASHER NAS1515M9 4 EA
16596 WASHER, FLAT NAS620C2 36 EA
16597 WASHER FLAT NAS620C4 52 EA
16598 WASHER - SURPLUSCR2 NAS620C6 55 EA
16599 NUT, PLAIN, HEX-SMALLR61 NAS671C2 15 EA
16600 HOLDING FIXTURE not identified # 1 1 EA
16601 HOLDING FIXTURE not identified # 2 1 EA
16602 HYBRID CRYSTAL OSCILLATOR +3.3V, CLASS S QT625LBM-29.491200MHZ 3 EA
16603 FLIGHT 33 MHZ VXCO QTV722ARM-33.000MHZ 1 EA
16604 PRECISION 5V REFERENCE RH1021BMH-5 10 EA
16605 MICROCIRCUIT RH1499MW 11 EA
16606 RESISTOR, RNR55E1002FSBSL10K OHM,.1W,1%=N RNRS5E1002FS 25 EA
16607 RESISTOR; RNR55E4222FSBSL42.2K .1W 1% R9 RNRS5E4222FS 25 EA
16608 CAPACITOR T49470R01474KCN 12 EA
16609 CAPACITOR T49470X01105KBN 2 EA
16610 CAPACITOR T49470X01185KBN 5 EA
16611 CAPACITOR T49470X01186KBN 2 EA
16612 CAPACITOR FIXED CERAMIC T49470X01335KA) 32 EA
16613 CAPACITORS T49470X01475KBN 2 EA
16615 THORLABS XY TRANSLATION MOUNT NO PN 1 EA
16616 THORLABS SM PATCH CABLE NOPN-4153 1 EA
16617 BENCH MOUNTING HARDWARE NO PN 1 PK
16618 Crate, Rack, Quickcrate 32x44x82 HAR-031518 1 EA

56 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
16619 Flex, Test 8259785-1 2 EA
16620 RTM Auxiliary Roller Bracket Mounting Hardware 8258000 1 PK
16621 SCT Mounting Hardware no p/n 1 PK
16622 Power Extension Cables no p/n 7 EA
16623 RTM Instrument documentation and certs no p/n N/A N/A
16624 VBO Rail Clamp no p/n 1 EA
16625 RTM Engineering Prototype Unit 8258568 1 EA
16626 Funnel no p/n 2 EA
16627 ethernet cables no p/n 3 EA
16628 power cord no p/n 6 EA
16629 USB cable no p/n 1 EA
16630 peripheral (mouse keyboard) cables no p/n 2 EA
16632 BNC Cables no p/n 9 EA
16633 Fiber cable, FBC-VV400-2-BX no p/n 2 EA
16634 Fiber cable, 1 Spec Custom 1 EA
16635 Fiber cable, 2 Spec Custom 1 EA
16636 Fiber cable, FG550LEC-CUSTOM TP01098825 6 EA
16637 Fiber Optic Through/Barrel no p/n 1 PK
16638 BNC Feedthrough no p/n 6 EA
16639 fiber/cable velcro straps no p/n 1 PK
16640 Transimpedance Amplifier (TIA) 3300v2 4 EA
16641 BEI Remote Encoder Cover SF101-6324-01 4 EA
16642 Lamp Socket Adapter 66158 2 EA
16643 THORLABS Beam Dump BT610 1 EA
16644 LAN cabling misc COTS 1 SE
16645 UL LISTED L6-30P TO L6-30R POWER CABLE IBX-5803-15 1 EA
16646 Accessories: Keyboards, monitor stand misc. COTS 1 SE
16647 Auxiliary E-stop local mfr 1 EA
16648 PCOIP V1200-QPD 3 EA
16649 DC Motor Speed Controller KBIC-120 1 EA
16650 Rubber Feet, Black 142173 4 EA
16651 Potentiometer A60212 1 EA
16652 Connector, 9-Pos, Female A1352-ND 1 EA
16653 Backshell/Cable Clamp 206966-7 1 EA
16654 Optical Encoder w/ Flying Leads no p/n 1 EA
16655 Optical Encoder w/ Female Connector no p/n 1 EA
16656 Washer, Flat 90965A115 16 EA
16657 Washer, #6 92141A008 2 EA
16658 Washer, #2 92141A003 3 EA
16659 Screw, #2-56 92196A086 3 EA
16660 Screw, #2-56 X .5" LG 92196A081 3 EA
16661 Screw, #2-56 X .5625" LG 92196A085 3 EA
16662 Screw, #2-56 X .25" LG 92196A077 3 EA
16663 Screw, #2-56 X .1875" LG 92196A076 3 EA
16664 Screw, #4-40 X .75" LG 92196A113 4 EA
16665 Screw, #4-40 X .875" LG 92196A114 2 EA
16666 Screw, #4-40 X .25" LG 92196A106 10 EA
16667 Screw, #6-32 X .3125" LG 92196A145 2 EA
16668 Screw 92196A147 16 EA
16669 Screw, 1/4-20 X .75" LG. 92196A540 3 EA
16670 Screw, #4-40 X .25" LG 92196A106 2 EA
16671 Screw, 1/4-20 X .625" LG 92196A539 4 EA
16672 Align Blocks 8205882-1 1 EA
16673 Screw 91292A012 8 EA
16674 Screw 92196A149 4 EA
16675 #4-40 X 1/4" LG 92196A106 2 EA
16676 Screw 92196A193 4 EA
16677 Screw, #4-40 X .25" LG 92196A106 10 EA
16678 Washer, #8 92141A009 10 EA
16679 Washer, #4 92141A005 10 EA
16680 Screw 92196A145 4 EA
16681 Screw 92196A148 4 EA
16682 Conn Backshell w/ Clamp A32519-ND 1 EA
16683 Screw 92196A150 25 EA
16684 Alpha Wire AZ201932W-100-ND 2 RL
16685 Drive Adapter 8205878-1 2 EA
16686 Fixture Brackets 8203937-3 2 EA
16687 Align Blocks 8205882-1 1 EA
16688 Shaft, Alignment TLM-1515 1 EA
16689 Shaft, CT Motor Alignment 8259592-1 1 EA
16690 Shaft, Collar TCL-12-16-SS 1 EA
16691 Ball Bearing NB-1130 2 EA
16692 Leg 8205875-1 1 EA
16693 Screw 91292A016 12 EA
16694 Key 8205871-1 1 EA
16695 Coupling C020-16 2 EA
16696 Shaft 8205865-1 1 EA
16697 Coupling C020-15 1 EA
16698 Cap 8205873-1 1 EA
16699 Screw 92196A166 8 EA
16700 Stud, Threaded 90575A540 4 EA
16701 Screw 91292A016 15 EA
16702 Screw, #6-32 X .375 LG 92196A146 10 EA
16703 Mounting Brakes 8205870-2 1 EA
16704 CT Motor Alignment 8205872-1 1 EA
16705 Bodine Electric, DC Small Motor 24A4BEPM 1 EA
16706 Cap 8205887-1 1 EA
16707 Screw 91292A012 14 EA
16708 Screw 92196A151 25 EA
16709 Washer, Flat, McMaster Carr 92141A008 4 EA
16710 Run Out Gage 8205885-3 3 EA
16711 Leg 8203933-13 3 EA
16712 Cover 8259590-1 1 EA
16713 Cover 8205868-1 1 EA
16714 M2.5 Washers no p/n 6 EA
16715 Screws 92196A540 11 EA
16716 Screw, #4-40 X .4375" LG 92196A109 4 EA
16717 Screw, #4-40 X .5" LG 92196A110 2 EA
16718 Washer, #4 92141A005 10 EA
16719 Screw #8-32 X .4375" LG 92196A193 4 EA
16720 Washer, #8 92141A009 2 EA
16721 Washer, Flat 92141A029 9 EA
16722 Screw 92196A114 2 EA
16723 Screw 92196A148 4 EA
16724 Screw 92196A539 6 EA
16725 Plate 8203933-12 3 EA
16726 Gage 8203933-14 1 EA
16727 Washers Used As Spacers no p/n 6 EA
16728 Screw, Socket HD Cap w/ Washers NA0069-030010 4 EA
16729 Twist Capsule Simulator 8258955-1 1 EA
16730 Screw, Mach, 50 C HD MS16995-2 2 EA
16731 Screw MS16995-10D 2 EA
16732 Flexure Simulator 8258840G2 1 EA
16733 Screw NAO0069-025008 8 EA
16734 Screw, Cap, Hexagon Socket Head NAO069A030014 2 EA
16735 Screw, Flat Head NAO0070-030012 3 EA
16736 Hex Nut B-0934AM4-B50 47 EA
16737 Washer - Modified - RBI 8259935 2 EA

57 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List

Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
16738 Hardware to Install 8258975G1 Onto Mass Simulator no p/n 9 EA
16739 Highspeed USB Interface (Includes CD's, Cords, User Manual, and other Accessories) BT3-R15-USB-2M 1 EA
16740 OM Simulator, EDU Interface 8258952-1 1 EA
16741 VACUUM PUMPING STATION PMS03555A 1 EA
16742 MIRROR, TELESCOPE 8261921 1 EA
16743 OM THEODOLITE FOLD MIRROR 8247378G1 1 EA
16744 TELESCOPE SPACER FIXTURE 8261926 1 EA
16745 CABLE, DETB W11 & W18 8262477G2 1 EA
16746 CABLE, DETB W12, W13 8262478G1 1 EA
16747 CABLE, DETB W12, W13 8262478G2 1 EA
16748 CABLE, DETB W12, W13 8262478G3 1 EA
16749 CABLE, DETB W14-W16 8262479G1 1 EA
16750 CABLE, DETB W14-W16 8262479G2 1 EA
16751 CABLE, DETB W14-W16 8262479G3 1 EA
16752 AZCAL EXTENDER CARD 8262381G2 1 EA
16753 VCT EXTENDER CARD 8262381G3 1 EA
16754 FILTER BOARD EXTENDER 8262381G1 1 EA
16755 POWER SUPPLY EXTENDER 8262396 1 EA
16756 CABLE 8262794 1 EA
16757 CABLE 8262475G1 1 EA
16758 CABLE 8262476G1 1 EA
16759 CABLE 8262477G1 1 EA
16760 SYNCHRO/RESOLVER 5330A-2R 1 EA
16761 DMM CABLE 8260878G1 1 EA
16762 PICKERING MUX CABLE 8260876G1 1 EA
16763 PICKERING MUX CABLE 8260876G1 1 EA
16764 SIMULATOR BOX 8260856G1 1 EA
16765 DETECTOR INTERFACE BOX 8262346G1 1 EA
16766 BREAKOUT BOX ASSY 8260879G1 1 EA
16767 EU CCA TEST BOX 8262344G1 1 EA
16768 CABLE, EU CCA TEST BOX 8262344W1 1 EA
16769 CABLE, EU CCA TEST BOX 8262344W2 1 EA
16770 FIXTURE, DM PRT 8247379-1 1 EA
16771 FIXTURE, FILTER LENS 8261919-1 1 EA
16772 FIXTURE, TELESCOPE 8261922G1 1 EA
16773 FIXTURE, OM INSTALLATION 8261924G1 1 EA
16774 FIXTURE, OM SHROUD CUBE 8261927G1 1 EA
16775 SADDLE ASSEMBLY-INCOMPLETE 8258986G1 1 EA
16776 TELESCOPE ALIGNMENT 8258834G1 1 EA
16777 CABLE, 62 CONTACT D-SUB 8262633G1 1 EA
16778 CABLE, 62 CONTACT D-SUB 8262633G2 1 EA
16779 CABLE, 78 CONTACT D-SUB 8262634G1 1 EA
16780 CABLE, 78 CONTACT D-SUB 8262634G2 1 EA
16781 HANDLE, EU LIFT 8259976-1 1 EA
16782 PEDESTAL, CSM BENCH 8259515G1 1 EA
16783 EFM 2X MASS SIMULATOR 8259679-1 1 EA
16784 EU TEST CCA TEST CABLE 8262899G1 1 EA
16785 ICT SUPPORT CABLE 8259543G1 1 EA
16786 CABLE SUPPORT ICT 8259543G2 1 EA
16787 ICT SUPPORT CABLE 8259543G3 1 EA
16788 SENSOR UNIT DRILL TEMPLATE 8258681G1 1 EA
16789 EFM DRILL TEMPLATE 8258681G2 1 EA
16790 EU SBC 1553 CABLE 8262900G1 1 EA
16791 CABLE ASSY, 2X37 PIN 8257330G1 1 EA
16792 CABLE ASSY, 2X37 PIN 8257330G1 1 EA
16793 CABLE ASSY, 2X37 PIN 8257330G1 1 EA
16794 CABLE ASSY, 2X37 PIN 8257330G1 1 EA
16795 CABLE ASSY, 30V BYPASS 8262898 1 EA
16796 OM HOLDING FIXTURE 8261930G1 1 EA
16797 FIXTURE, HANDLING 8259860G2 1 EA
16798 FIXTURE, HANDLING 8259860G2 1 EA
16799 FIXTURE, HANDLING 8259860G3 1 EA
16800 FIXTURE, HANDLING-INCOMPLETE 8259860G4 1 EA
16801 SOLAR CAL PORT COVER 8259967G1 1 EA
16802 CABLE, PRI PWR & SURYV, 8262806G1 1 EA
16803 CABLE, SURV & TELEM 8262740G3 1 EA
16804 CABLE ASSEMBLY, MUX 8261351G2 1 EA
16805 CABLE ASSY, 68 SCSI TO 8263764G1 1 EA
16806 TES 1553 CABLE, W108 NNL14AQ00C 1 EA
16807 TES 1553 CABLE, W110 NNL14AQ00C 1 EA
16808 TES 1553 CABLE, W112 NNL14AQ00C 1 EA
16809 TES 1553 CABLE, W114 NNL14AQ00C 1 EA
16810 1553 CABLE W/XFMR COUPLE NH17011 1 EA
16811 1553 CABLE W/XFMR COUPLE NH17011 1 EA
16812 1553 CABLE W/XFMR COUPLE NH17011 1 EA
16813 1553 CABLE W/XFMR COUPLE NH17011 1 EA
16814 CASE 1450 1 EA
16815 EUTTSB BREAKOUT BOX 8260879G1 1 EA
16816 CABLE ASSY, W102 8263338G1 1 EA
16817 CABLE ASSY, W103, PWR 8263339G1 1 EA
16818 CABLE ASSY, W104, PWR 8263340G1 1 EA
16819 BREAKOUT BOX, 78-PIN SE-01030-3 1 EA
16820 BREAKOUT BOX, 78-PIN SE-01030-3 1 EA
16821 BREAKOUT BOX, 78-PIN SE-01030-3 1 EA
16822 TORQUE WRENCH 068257-1 1 EA
16823 CABLE, DE, BOB ADAPTER 8264633G1 1 EA
16824 CABLE, DE, BOB ADAPTER 8264633G1 1 EA
16825 CABLE, DE, BOB ADAPTER 8264633G1 1 EA
16826 CABLE, DE, BOB ADAPTER 8264633G2 1 EA
16827 CABLE, DE, BOB ADAPTER 8264633G3 1 EA
16828 CABLE, DE, BOB ADAPTER 8264633G4 1 EA
16829 CABLE, DE, BOB ADAPTER 8264633G5 1 EA
16830 CABLE, GENDER ADAPTER 8262815G1 1 EA
16831 CABLE, GENDER ADAPTER 8262815G1 1 EA
16832 CABLE, GENDER ADAPTER 8262815G1 1 EA
16833 CABLE, GENDER ADAPTER 8262815G2 1 EA
16834 CABLE, GENDER ADAPTER 8262815G3 1 EA
16835 CABLE, GENDER ADAPTER 8262815G3 1 EA
16836 CABLE, GENDER ADAPTER 8262815G4 1 EA
16837 CABLE, GENDER ADAPTER 8262815G5 1 EA
16838 BREAKOUT BOX SE-01028-3 1 EA
16839 BREAKOUT BOX SE-01028-3 1 EA
16840 HARNESS ASSY FIXTURE 8262690-1 1 EA
16841 CABLE, DE, BOB ADAPTER 8264633G6 1 EA
16842 CABLE, EU TEST CCA TEST 8262899G2 1 EA
16843 DETECTOR ALIGNMENT 8259840G1 1 EA
16844 SPLIT CLAMP REMOVAL TOOL 8261918G1 1 EA
16845 BOB W1 CABLE SE-03042-33 1 EA
16846 BOB W2 CABLE SE-03042-23 1 EA
16847 BOB W3 CABLE SE-03042-13 1 EA
16848 BOB W4 CABLE SE-03042-13 1 EA
16849 DC BLOCKING CAPACITOR 8264662 1 EA
16850 EXTERNAL FILTER CCA TEST 8264783 1 EA
16851 ALIGNMENT MIRROR BRACKET 8259547G1 1 EA
16852 SHIM TOOL KIT 8256193 1 KT
16853 AUDIO ISOLATION 6220-1B 1 EA
16854 FEED-THRU CAPACITOR 6512-106R 1 EA
16855 DE CCA HOLDING FIXTURE 8265627 1 EA

58 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
16856 FIXTURE, LASER DIODE 8259902G1 1 EA
16857 EFM VIBE FIXTURE 8259606G1 1 EA
16858 OPTICAL BREADBOARD M-SA2-04X12 1 EA
16859 OPTICAL BREADBOARD M-SA2-04X12 1 EA
16860 HIGHLOAD LAB JACK 271 1 EA
16861 HIGHLOAD LAB JACK 271 1 EA
16862 FB CCA CSM TO EU TARGET 8260873G1 1 EA
16863 AZ/CAL CCATO EU TARGET 8260869G1 1 EA
16864 VCTE CCATO EU TARGET 8260870G1 1 EA
16865 BOB TO EU TARGET 8260875G1 1 EA
16866 LOW NOISE CURRENT AMP SR570 1 EA
16867 VCTE CCA2 ARMTO 8260871G1 1 EA
16868 FB CCA ARM TO EU TARGET 8260872G2 1 EA
16869 EU BACKPLANE 8260002G3 1 EA
16870 EU TEST MODULE 8260452G1 1 EA
16871 AZCAL MODULE 8260032G1 1 EA
16872 VISCAL MODULE 8260042G1 1 EA
16873 EU FILTER MODULE 8260062G3 1 EA
16874 SINGLE BOARD COMPUTER 8261011G2 1 EA
16875 LOAD CONNECTOR ASSEMBLY 8265781G1 1 EA
16876 LOAD CONNECTOR ASSEMBLY 8265781G2 1 EA
16877 LOAD CONNECTOR ASSEMBLY 8265781G3 1 EA
16878 LOAD CONNECTOR ASSEMBLY 8265781G4 1 EA
16879 LOAD CONNECTOR ASSEMBLY 8265781G5 1 EA
16880 LOAD CONNECTOR ASSEMBLY 8265781G6 1 EA
16881 DIGITAL MICROMETER 350-352-30-C 1 EA
16882 CABLE ASM ADAPTER, CIRC, 8262741G1 1 EA
16883 CABLE ASM ADAPTER, CIRC, 8262741G2 1 EA
16884 CABLE ASM ADAPTER, CIRC, 8262742G1 1 EA
16885 CABLE ADAPTER, TWINAX 8262769G1 1 EA
16886 CABLE ASSY, W101, PRI 8262739G1 1 EA
16887 CABLE ASSY, W103, RED 8262739G3 1 EA
16888 CABLE ASSY, W105, SURV 8262740G1 1 EA
16889 PLATE 8264661-1 1 EA
16890 POWER SUPPLY, DIGITAL 8258367-1 1 EA
16891 CABLE ASSY, W106, SURV 8262740G3 1 EA
16892 CABLE, PRI PWR & SURYV, 8262805G1 1 EA
16893 CABLE ASSY, ADAPTER, 8262742G2 1 EA
16894 NETWORK SWITCH WS-C3560X-24T-S 1 EA
16895 TWISTED PAIR 24 AWG 570526-6 1472 FT
16896 CABLE, TW- AXIAL, SHLD(2), 2 COND, 24 AWG, 77 OHM 400-3976-0 32 FT
16897 WIRE, SPEC 55, WHITE, 24 AWG 570526-1 4161 FT
16898 TWISTED SHIELDED PAIR 24 AWG 570526-3 869 FT
16899 TWISTED PAIR 22 AWG 570526-7 1238 FT
16900 SINGLE 22 AWG 570526-9 4488 FT
16901 TWISTED TRIPLE 26 AWG 570526-20 1821 FT
16902 TWISTED PAIR 26 AWG 570526-22 1161 FT
16903 TAPE, NICKEL-PLATED SILVER FABRIC, COND ADHESIVE 0.50" W 8203015-2 9 RL
16904 CONNECTOR, POSITRONIC SDD15M1000G 2 EA
16905 CONNECTOR, POSITRONIC SDD1551000G 2 EA
16906 CONNECTOR, POSITRONIC SDD26M1000G 1 EA
16907 CONNECTOR, POSITRONIC SDD44M1000G 1 EA
16908 CONNECTOR, POSITRONIC SDD44S1000G 1 EA
16909 CONNECTOR, POSITRONIC SDD62M1000G 2 EA
16910 CONNECTOR, POSITRONIC SND15M1000G 2 EA
16911 CONNECTOR, POSITRONIC SND3751000G 2 EA
16912 CONNECTOR, POSITRONIC SDD62S1000G 2 EA
16913 CONNECTOR, POSITRONIC SND9S1000G 1 EA
16914 PIN 570774-12 2 PK
16915 JACKSCREW 8258751-2 15 EA
16916 JACKSCREW 8258751-1 20 EA
16917 CONNECTOR COVER DCC-04 4 EA
16918 JACKSCREW 828751-3 1 EA
16919 SCREW 570506-9 2 EA
16920 CLAMP 570506-10 5 EA
16921 BAND, CLAMPING 570521-2 3 EA
16922 DSUB SCREWLOCK HARDWARE 570774-12 169 SE
16923 DSUB SCREWLOCK HARDWARE 570774-13 79 SE
16924 Adapter MWDM2L-37 3 EA
16925 Adapter MWDM2L-25 3 EA
16926 Adapter MWDM2L-51 2 EA
16927 s/n 057 405nm laser diode 132-114431 1 EA
16928 s/n 069 445nm laser diode 132-114432 1 EA
16929 Mirror Witness Samples s/n 107, s/n 205 WS8258817 2 EA
16930 Vent Plug COTS 2 EA
16931 Witness Waffer Mirror (4” diameter) 419-203-04 8 EA
16932 Circulator, part of RTM system Accel 250 LC 2 EA
16933 Gold black witness samples Witness Sample 2 EA
16934 Gold black witness samples Witness Sample 2 EA
16935 Gold black witness samples Witness Sample 2 EA
16936 Gold black witness samples Witness Sample 2 EA
16937 sealed SW filter fm RBIN 8258497-2 7 EA
16938 sealed SW filter fm RBIN 8258497-1 2 EA
16939 sealed SW filter fm RBIN 8258497-1 4 EA
16940 Card Reader (s/n 21120712G20438 904875 1 EA
16941 Card Reader (s/n 21120712G20380) 904875 1 EA
16942 Card Reader (s/n 21120712G20437) 904875 1 EA
16943 Card Reader (s/n 211207112405371) 904622 1 EA
16944 Card Reader (s/n 211207112505373) 904622 1 EA
16945 Card Reader (s/n 211207112605375) 904622 1 EA
16946 CONNECTOR, D-SUBMINATURE 570622-15HD 1 EA
16947 CONNECTOR, D-SUBMINATURE 570622-15ND 1 EA
16948 CONNECTOR, D-SUBMINATURE 570622-26HD 1 EA
16949 CONNECTOR, D-SUBMINATURE 570622-37ND 1 EA
16950 CONNECTOR, D-SUBMINATURE 570622-44HD 1 EA
16951 CONNECTOR, D-SUBMINATURE 570622-62HD 1 EA
16952 CONNECTOR, D-SUBMINATURE 570622-9ND 1 EA
16953 CONNECTOR, DUST CAP 570667-12 1 EA
16954 CONNECTOR, DUST CAP 570667-13 1 EA
16955 CONNECTOR, DUST CAP 570667-14 1 EA
16956 CONNECTOR, DUST CAP 570667-15 1 EA
16957 CONNECTOR, DUST CAP 570667-16 1 EA
16958 CONNECTOR, DUST CAP 570667-17 1 EA
16959 CONNECTOR, DUST CAP 570667-2 1 EA
16960 CONNECTOR, DUST CAP 570667-6 1 EA
16961 CONNECTOR, DUST CAP 570667-7 1 EA
16962 JACKSCREW, SPECIAL 570723-3 2 SE
16963 JACKSCREW, SPECIAL 570723-3 2 SE
16964 RESISTOR, 10K OHM M55342E06B10B0S 1 EA
16965 RESISTOR M55342E06B200DS 1 EA
16966 RESISTOR MWM2X-1R00-FT50Q 1 EA
16967 CONNECTOR - RECEPTACLE - PWB 1 8183756-11GT 2 EA
16968 CONNECTOR, RECEPTACLE - PWB 1 8183756-12GT 2 EA
16969 CONNECTOR, RECEPTACLE, 3 ROW 8183757-6GT 2 EA
16970 CONNECTOR, GROUP TEST 8192865-5GT 1 EA
16971 BRACKET, COMPUTER MONITOR NA 1 EA
16972 CABLE, ABACO SYSTEMS, 1-FT CONQPMC-4 1 EA
16973 CABLE, FIBER OPTIC, THORLABS SPOOL-1 FG550LEC-CUSTOM 1 EA

59 of 63



As of 2/28/2019

RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"

Unit of
Barcode Item Description Part Number Quantity [ Measure
16974 CABLE, FIBER OPTIC, THORLABS SPOOL-2 FG550LEC-CUSTOM 1 EA
16975 Cable, NI 1m SHC68-C68-D3 3 EA
16976 CABLE, NATIONAL INSTRUMENTS SH68-8DB9 2 EA
16977 CABLE, YELLOW BRAID, 78-HD-D 107194 1 EA
16978 CABLES, MISC PILE OF LOW-VALUE COMMERCIAL COMPUTER CABLES NA 1 LT
16979 Switching PS spare, Dell CN-OPR21C-17292-62G-09BL-A00 1 EA
16980 CONNECTOR, JAM NUT POL. B TVSO7RF-17-355B(453) TEG 1 EA
16981 CONNECTOR, POWELL ELECTRONICS, BAY. PTB-22-55PS 2 EA
16982 CONNECTOR, POWELL ELECTRONICS, BAY. PTB-22-55PS 4 EA
16983 HANDLES, BLACK ALUMINUM PULLS 519A018 4 EA
16984 KEYBOARD, MICROSOFT 6JH-00001 2 EA
16985 KEYBOARD, MICROSOFT X823093-005 4 EA
16986 MOUSE, COMPUTER NA 8 EA
16987 PAD, CARRIAGE JACK, ALUMINUM PUCK 8258003-1 4 EA
16988 PLATE, CSM MOUNTING FIXTURE, 10" SQ 8258984G1 1 EA
16989 BOARD, COMPUTER FOR SPACE, MAXWELL 107195-C 1 EA
16990 CABLE, CMOS, 3.3VDC, BANANAS CUSTOM 1 EA
16991 Test Jumper Hypertronics K2A110-0002 1 EA
16992 CABLE, ETHERNET +2EA 9-PIN ADAPT, SBC N/A 1 EA
16993 CARD, PXI, AEI AEI-CP1200TX 1 EA
16994 CABLE, TWINAX, MULTISTUB 30' NH17069 1 EA
16995 CABLE, TWINAX, MULTISTUB 30' NH17069 1 EA
16996 CABLE, TWINAX, MULTISTUB 30' NH17069 1 EA
16997 CABLE, TWINAX, MULTISTUB 30' NH17069CP 1 EA
16998 CABLE, TWINAX, MULTISTUB 30' NH17069CP 1 EA
16999 CABLE, TWINAX, MULTISTUB 30' NH17069CP 1 EA
17000 CABLE, PRI PWR & SURV, W104 8262806G1 1 EA
17001 Monitor Stand, Dual 33-322-200 1 EA
17002 Metal spacer 8258762-1WS 1 SE
17003 Metal spacer 8258762-2WS 1 SE
17004 Telescope Alignment Fixture 8261922G3 1 EA
17005 Hub 8261922-2 1 EA
17006 Alignment Tool 8247377-2 1 SE
17007 Washer, Flat NAS620C2 1 SE
17008 Pin TYCG-08-P1 1 PK
17009 Pin 205089-4 1 PK
17010 Accessories, hardware and plate 10074989-Misc 1 SE
17011 Bracket 8261924-1 1 EA
17012 Bracket 8261924-3 2 EA
17013 Accessory packet 8261924 8261924 1 SE
17014 Pin Kit of 8259840 8259840-pins 1 SE
17015 Assembly Parts kit, 8259840 8259840-kit 1 SE
17016 Stanley TES Accessory Box StanleyRollAround 1 EA
17017 Blue BNC Cable CA-2009-180 2 EA
17018 Coupler, 2-STUB 9050202 1 EA
17019 Coupler, 2-STUB 9050202 1 EA
17020 1553 Adapter DBC010805J11J1220 4 EA
17021 1553 Adapter DBC010805J11J1210 5 EA
17022 UL LISTED L6-30P to L6-30R IBX-5803-15 1 EA
17023 ISA Install Breadboard 8248998-2 4 EA
17024 Witness Mirrors WS8258817 9 EA
17025 UL LISTED L6-30P to L6-30R Local Man 1 EA
17026 UL LISTED L5-30P to L5-30R Local Man 1 EA
17027 RBI CSM Module Test, Screws NAO069A080022 4 EA
17028 RBI CSM Module Test, Shoulder Bolts NAS1352C4-28 14 EA
17029 RBI CSM Moodule Test, Washers NAS620C416 14 EA
17030 Fixture, Stiffener Alignment - RBI EU 8259602-1 1 EA
17031 Fixture, Stiffener Alignment - RBI EU 8259602-2 1 EA
17032 Fixture, Stiffener Alignment - RBI EU 8259602-3 1 EA
17033 Fixture, Stiffener Alignment - RBI EU 8259602-4 1 EA
17034 Engineering Thermopile Detector Die (uncoated) no pn 1 EA
17035 OM Coreg Setup AR ltem 8711K93 1 EA
17036 Tooling Ball OD Gage (No Cal) no pn 2 EA
17037 Filter Lens Bonding 8261919-2 1 EA
17038 Filter Lens Bonding 8261919G1 1 EA
17039 Filter Lens Bonding, Dowel Pins DP8XX01508m6-050M1 1 PK
17040 EU Test CCA, Non-Flight Stiffener no pn 1 EA
17041 MOUNTING HARDWARE 10075678000-HARDWARE 1 KT
17042 Rack blank, modified 8261156-in process 2 EA
17043 Board, in-process CCA 8261171-1 6 EA
17044 Board, in-process CCA 8261157 1 EA
17045 Board, in-process CCA 8261158-1 5 EA
17046 Board, in-process CCA 8261150 3 EA
17047 Board, in-process CCA 8261176-1 9 EA
17048 Board, in-process CCA 8261154 9 EA
17049 Board, in-process CCA 8261158 5 EA
17050 Board, in-process CCA 8261170 1 EA
17051 Board, in-process CCA 8261146 3 EA
17052 PLUG 62P 1658673-1 3 EA
17053 Conn saver, Positronic SADD-7850GM0G-1144.34 1 EA
17054 Opened bag of pin contacts 1658670-2 1 PK
17055 Platinum RTD PT-100 Series 1 EA
17056 Mirror, 1/10 Wave eN AL 50 SQ 64020 1 EA
17057 Modified Detector Fixture JPL#10408226 6 EA
17058 Shorting Plug, Micro D 10406513-1 3 EA
17059 Blanket, Roll M019103 AL 102719-2-HAR-RBI 10 FT
17060 Crate, Miscellaneous, Quickcrate 46 x 30 x 23 N/A 2 EA
17061 plate and brackets-parts of Cable Fixture 8258748-minor parts 1 EA
17062 CABLE ASSY, W101 8263337G1 1 EA
17063 OPTICAL SPECTRUM ANALYZER (OSA) OPTICAL SPECTRUM ANALYZER (OSA) 1 EA
17064 Hot Box HotBox 1 EA
17065 TVAC FEEDTHROUGH 8259975G1 1 EA
17066 SHROUD CONDUCTIVE TARGET 8259986G3 1 EA
17067 CABLE ASSY, TVAC RTD; SN 1 8262907 1 EA
17068 CABLE ASSY, TVAC RTD; SN 2 8262907 1 EA
17069 CABLE ASSY, TVAC RTD; SN 3 8262907 1 EA
17070 CABLE ASSY, TVAC RTD; SN 04 8262907 1 EA
17071 CABLE ASSY, TVACRTD; SN 5 8262907 1 EA
17072 CABLE ASSY, TVAC RTD; SN 20 8262907 1 EA
17073 CABLE ASSY, TVAC RTD; SN 6 8262907 1 EA
17074 CABLE ASSY, TVAC RTD; SN 7 8262907 1 EA
17075 CABLE ASSY, TVAC RTD; SN 08 8262907 1 EA
17076 CABLE ASSY, TVACRTD; SN 9 8262907 1 EA
17077 CABLE ASSY, TVAC RTD; SN 10 8262907 1 EA
17078 CABLE ASSY, TVACRTD; SN 11 8262907 1 EA
17079 CABLE ASSY, TVAC RTD; SN 12 8262907 1 EA
17080 CABLE ASSY, TVAC RTD; SN 13 8262907 1 EA
17081 CABLE ASSY, TVAC RTD; SN 14 8262907 1 EA
17082 CABLE ASSY, TVAC RTD; SN 15 8262907 1 EA
17083 CABLE ASSY, TVAC RTD; SN 16 8262907 1 EA
17084 CABLE ASSY, TVACRTD; SN 17 8262907 1 EA
17085 CABLE ASSY, TVAC RTD; SN 18 8262907 1 EA
17086 CABLE ASSY, TVAC RTD; SN19 8262907 1 EA
17087 8 Axis Controller (supports multiple subsystems) SN: BN-11685 DMC-4080-C012-1000-1000 1 EA
17088 LVDT Panel Meter with R$422/485; SN: 11150019 02291330-040 1 EA
17089 HP ZBook Studio G3 Mobile Workstation; name==Quasar; SN: CND6033PVF T6E17UTHABA 1 EA
17090 HP Z440 MT Workstation (Computer Name: RBI1) SN: 2UA6152P6N F1M45UTHABA 1 EA
17091 HP 2640 MT Workstation (Computer name: RBI2) SN: 2UA6141R3G F1M59UTH#HABA 1 EA

60 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
17092 HP 7640 MT Workstation (Computer Name: RBI3) SN: 2UA6141R3H F1IM59UTH#ABA 1 EA
17093 Programmable temperature controller -(supports APC and SRD) SN: 92603 PTC10 1 EA
17094 HP Workstation == rbi4 SN: 2UA63029XT L9K27UTHABA 1 EA
17095 GP Rubber Strips, Maximum ContinuousLength 50, Feet Adhesive Backed, 10 feet .093 x 1.00 10 FT
17096 18-8 SS Button Head Socket Cap Screw2-56 Thread, 1/2" Length, 1-BS-2C-50 100 EA
17097 BANANA PLUG, RED 108-0302-001 2 EA
17098 BANANA PLUG, BLACK 108-0303-001 2 EA
17099 SWITCH, HERM SEALED 11HM1 1 EA
17100 10 B1, Power Cord 17614 2 EA
17101 O-Ring Brown Viton 75 DU RO 2-434V75BR 3 EA
17102 O-RING BROWN VITON 75 DU 2-469V75BR 2 EA
17103 O-RING BROWN VITON 75 DU 2-470V75BR 2 EA
17104 Aramid Braid B29/4X02 No jacket 2129 500 FT
17105 Kevlar 29 Braid B29/8x04 2130 460 FT
17106 Kevlar 20 Braid B29/12x500 8.0PPI Flat Braid 2144 500 FT
17107 Aramid Braid 0.02" B29/12x02 2278 500 FT
17108 PWB 232-0063 27 EA
17109 FT8, Ball Joint Rod End, 1/2"-20 RH Female Shank1/2" Ball ID, 1-1/4" Long thread, 2998K361 2 EA
17110 FTL8, Ball Joint Rod End, 1/2"-20 Left hand FemaleShank, 1/2" Ball ID, 1-1/4" Long thread, 2998K362 2 EA
17111 Mil. Spec. A286 Super Alloy Socket CapScrew, 2-56 Thread, 3/8 in. Length 2C37KCSA 16 EA
17112 Connector, Term Strip, Barrier, Solder turret, 2, 9.53 mm 24-12 AWG 20 A 300 V 38720-3202 1 EA
17113 p21Switching Action: Normally closedOperating Temperature: -17.8C (0 deg F)Differential: 11.1C (20 deg F)Tolerance: +/-2.8C (+/-5 deg F)Plating: Standard Cqpper-Nickel 4344-221-STYLE 11 EA
17114 2m 8-Way Male Molded Plug toUnterminated Black DIN Cable Assembly 463518 1 EA
17115 25.4mm Dia., Aluminum Coated, AluminumSubstrate Mirror 47-113 2 EA
17116 SFW 20X12-FS103, Hardened Precision steel shaft, 1-1/4" Diameter, 12" overall length, 1/2"-13 x 1"deep tap both ends, 6649K24 3 EA
17117 SFW 20X12-FS103, Hardened Precision steel shaft, 1-1/4" Diameter, 12" overall length, 1/2"-13 x 1"deep tap both ends, 6649K24 1 EA
17118 SFW 20X24-FS103, Hardened Precision steel shaft,1-1/4" diameter, 24" overall length, 1/2"-13 x 1",deep tap both ends, 6649K26 2 EA
17119 VCR Butt Weld Gland 6LV-8-VCR-3S-8TB7 12 EA
17120 Connector 70052492 3 EA
17121 Vectran T97 Braid - uncoated 7039-NC 500 FT
17122 7' RJ45 Cable 73-7791-7 3 EA
17123 FERRITE BEAD, SMT 3A 300 OHM @100MHz 742792121 10 EA
17124 Din Rail Mount for DPDT Relay 782-2C-SKT 1 EA
17125 Cargoloc Ratchet Truck Tie Downs,2" x 27' x 10,000 lbs - J Hooks, 82291 1 EA
17126 Mil. Spec. A286 Super Alloy Socket CapScrew, 8-32 Thread, 1 in. Length 8C100KCSA 20 EA
17127 High Resistivity Silicon Wedged Window UNCOATED 9-0756 1 EA
17128 LG #8 304, Type 18-8 SS Oversized FlatWasher, Number 8 Screw Size, 0.188" ID, 1.000"0OD 90313A302 50 EA
17129 CONNECTOR, TH 10 PIN LATCHING DUAL ROW A107470-001 9 EA
17130 DRS-10-WD-24.0-C-GS-LES, Connector A107471-001 8 EA
17131 CONNECTOR, TH 12 PIN ST DUAL ROW RECEPTACLE A107472-001 9 EA
17132 DRS-12-WD-24.0-C-GS-LES, Connector A107473-001 8 EA
17133 Solid State Relay Din RailMounted 10 Amp 3-32 VDC input Control ZeroCrossing AD-SSR810-DC-28Z 3 EA
17134 IC OPAMP Zero-Drift 2.5 MHZ 8MSOP AD8629ARMZ 2 EA
17135 BF Window BF-W-50-2 1 EA
17136 CAPACITOR, SMT MULTILAYER CERAMIC 16V 10% 1.0uF C1608X7R1C105K080AC 10 EA
17137 CAPACITOR, SMT 6.3V 20% CERAMIC X7R 0805 10uF C2012X5R0J106M 10 EA
17138 Resistor SMD 11.3K Ohm 1% 1/16W 0603 CPFO603F11K3C1 5 EA
17139 GASKET, VCR COPPER 1/2" CU-8-VCR-2 20 EA
17140 Copper VCR 1/2" Gasket, Blind CU-8-VCR-2-BL 25 EA
17141 Cinch Hardware D-Sub Male Screw D-20419-40 106 EA
17142 15 Contact D-Sub Backshell, Metal, DA-24658-31 1 EA
17143 SPl uModule Isolator Demoboard (5.0V Supply) DC1748A-B 1 EA
17144 Demo Board, High Speed DeltaSigma ADC DC570A 1 EA
17145 15 Contact D-Sub Backshell, DCH-A-003 1 EA
17146 44 Contact HD D-Sub Backshell, DCH-B-003 13 EA
17147 Backshell 9 Pin D DCH-E-003 2 EA
17148 RESISTOR, SMT 1/10W 1% 0603 1.00 MEG OHM ERJ3EKF1004V 10 EA
17149 GE Window GE-W-50-2 1 EA
17150 Micro Switch Lever Arms JS-254 1 EA
17151 Reali-Slim Open Bearings, KA series, Type X KA040XPO 1 EA
17152 1in x4 in Polymide Film FlexibleHeater KH-104/10 2 EA
17153 1" x 4" Kapton Heater 5W/In"2 KH-104/5 1 EA
17154 2" x 2" Kapton Heater 10 W/In"2 KH-202/10 2 EA
17155 2" x 2" Kapton Heater 10 W/In"2 KH-202/10 4 EA
17156 3" x 4" Kapton Heater 10W/In"2 KH-304/10 1 EA
17157 Kapton (Polyimide Film)Insulated Flexible Heaters KH-406/(5) 1 EA
17158 Kapton Heaters KH-406/5 2 EA
17159 Polyimide Film Flexible Heater KH-408/2 2 EA
17160 Polyimide Low Voltage Heater KHLV-104/10 1 EA
17161 Key Speedy FeedthroughLiquid NW40 1/4" MVCR Single Tube SS KSL-6740MVCR 2 EA
17162 Feedthrough, Liquid w/MVCR fittings LFT-NW-40-1-025-2MVCR 2 EA
17163 RESISTOR, SMT 70mW .1% 0603 4.99K OHM M55342E12B4B99R 10 EA
17164 Front Panel M5800035 1 EA
17165 DataMet M Enclosure M5835109 1 EA
17166 Resistor SMD 18K Ohm 1% 1/8W 0603 MCT06030C1802FP500 5 EA
17167 Fitting, Poly Elbow, Push/connect,1/4" tube to 1/8" NPT ME14-18N 10 EA
17168 Sensor Reed SPST Threaded6MM, MK11/B6-1A66B-500W 1 EA
17169 Sensor Reed SPST Threaded6 MM, MK11/B6-1A66B-500W 17 EA
17170 CONNECTOR, CIR MS27467T23F35P 2 EA
17171 Backshell for 66 ContactCircular Connector MS85049/49-2-18N 2 EA
17172 O-RING,FKM,15.475 in. ID X .275 in.W(ACT),15-1/2 in. ID X 1/4 in. W (NOM),ISO 400 0-V460 1 EA
17173 SMA Female to SMA Female BulkheadAdapter PE91258 8 EA
17174 Tubing Plug, 1/4" PLUG14 20 EA
17175 PRT, Temperature Sensors; SN: p29935 PT102-AL-14L-QL 1 EA
17176 Resistor; Metal Film; Res 2500hms; Pwr-Rtg 0.25 W; Tol 0.05%; Axial Bulk PTF65250R00AYEK 10 EA
17177 Yellow LED 12 Volt, Q19P1BXXY12E 1 EA
17178 Double Claw clamp QF-SDC-AL2 8 EA
17179 1ISO100 FLANGE, SS QF100-BF 3 EA
17180 Centering Ring, QF100, SS Inner, ALOuter, FKM O-ring QF100-SAVR 2 EA
17181 ISO-F Blank Flanges (304L SS) QF200-BF 1 EA
17182 1SO 200 VACUUM FLANGE BLANK, SS QF200-BK 1 EA
17183 CENTERING RING, QF200-SAVR 1 EA
17184 CENTERING RING, QF200-SAVR 2 EA
17185 KF40 BULKHEAD CLAMP QF40-150-BC 12 EA
17186 ALUMINUM CAST CLAMP QF40-150-C 3 EA
17187 KF40 BLANKS QF40-150-SB 8 EA
17188 Centering Ring, SS, QF40, Viton QF40-150-SRV 6 EA
17189 DIODE,SMT TVS ARRAY, SMT 0.3pF SLP1006P2 ULTRA-LOW CAP 1-LINE ESD PROTECTION 2-PIN RClamp0521P.TCT 10 EA
17190 RESISTOR, SMT 0603 100mW 10.0K RK73H1JTTD1002F 24 EA
17191 RESISTOR, SMT 1% 0603 4.99K RK73H1JTTD4991F 25 EA
17192 RESISTOR, SMT 1% 1/10W 0603 49.9 OHM RK73H1JTTD49R9F 21 EA
17193 RESISTOR, SMT 1/16W 0.1% 0603 100 OHM RN731JTTDK1000B25 8 EA
17194 RESISTOR, SMT 0.1% 1/16W 0603 10.0K RN731JTTDK1002B25 7 EA
17195 RESISTOR, SMT 1/16W 0.1% 0603 20.0K OHM RN731JTTDK2002B25 9 EA
17196 Temperature Sensor Diode SN: 1992 S900-A-BB 1 EA
17197 VCR Female Connector SS-4-VCR-7-4 2 EA
17198 NUT, VCR FEMALE 1/2" SS-8-VCR-1 14 EA
17199 VCR Male Connector SS-8-VCR-1-8 4 EA
17200 GLAND, VCR WELD 1/2" SS-8-VCR-3 10 EA
17201 NUT, VCR MALE 1/2" SS-8-VCR-4 14 EA
17202 ELBOW, VCR UNION 1/2" SS-8-VCR-9 6 EA
17203 1/2" VCR Coupling Body SS-8-VCR-CG 7 EA
17204 ZC Window ZC-W-50-2 1 EA
17205 Klixon Thermostat Klixon 4344-221Switching Action: Normally closedOperating Temperature: -17.8C (0 deg F) 4344-221-style 5 EA
17206 KEEPER 8259972-1 1 EA
17207 TAG 8259970-1 1 EA
17208 SCREW, THUMB 8259971-1 1 EA
17209 Cap, Cover 8259969-1 1 EA

61 0of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
17211 Monitor Stand, part of U32E850 DN61-12301A 1 EA
17212 Monitor, SN CN-OH7YCC-64180-63B-OCBL U2715Hc 1 EA
17213 Monitor, SN CN-OH7YCC-64180-65M-OTCL U2715Hc 1 EA
17214 Monitor, SN OMUTHTHH100006 W U32E850R 1 EA
17215 Monitor, SN CN-OH7YCC-64180-63B-043L U2715Hc 1 EA
17216 Wafer W07 - diced dummy dies for wire bonding tests 143047-RTM-WO07 Part 1 466 EA
17217 Wafer W07 - diced dummy dies for wire bonding tests 143047-RTM-WO07 Part 2 23 EA
17218 Wafer W07 - diced dummy dies for wire bonding tests 143047-RTM-WO07 Part 3 25 EA
17219 POWER SUPPLY, RBI DIGITAL, FM, SN 1003 D/C 1814 8258367-1 Rev ) 1 EA
17220 Connector Saver with loose hardware MWDM2L-25USP1 2 EA
17221 Witness wafer 419-203-04 1 EA
17222 Screw 570723-3 1 EA
17223 Shorting plug hardware hw no p/n 1 EA
17224 screw NA0069A020012 3 EA
17224 High Power SMA Cables User Guide booklet no p/n 1 EA
17225 Carrying case - telescope, with shock recorder case no p/n 2 EA
17226 Pelican cases 1520 13 EA
17227 Detector mechanical jig assembly for Gen2 (output stability / NEP setup) 1015718 1 SE
17228 Detector mechanical jig assembly for Gen2 (sun glint setup) 1018336 1 EA
17229 Jig assembly for laser-exposure of gold black witness samples 1018115 1 EA
17230 Jig assembly for laser-exposure of gold black witness samples (retaining clip) 1018116 1 EA
17231 Jig assembly for temperature-exposure of gold black witness samples in oven 1018125 1 EA
17232 Jig assembly for temperature-exposure of gold black witness samples in oven 1018162 1 EA
17233 Variable metal foil (VMF) resistors circuit-card assembly (EGSE) EPLO730A-1 1 SE
17234 Detector pre-amplifier circuit-card assembly OPA827-AD8229 1 EA
17235 Detector pre-amplifier circuit-card assembly (EGSE) AD8629-LCT2057 1 EA
17236 DAC circuit-card assembly (EGSE) EVAL-AD5791SDZ x4 1 EA
17237 PCB-leftover crest circuit ECMO0730A 1 EA
17238 Detector assembly in Gen2 package 143047-01 1 EA
17239 Detector assembly in Gen2 package 143047-02 1 EA
17240 Detector assembly in Gen2 package 143047-03 1 EA
17241 Detector assembly in Gen2 package 143047-04 1 EA
17242 Detector assembly in Gen2 package 143047-05 1 EA
17243 Detector assembly in Gen2 package 143047-06 1 EA
17244 Detector assembly in Gen2 package 143047-07 1 EA
17245 Detector assembly in Gen2 package 143047-08 1 EA
17246 Detector assembly in Gen2 package 143047-09 1 EA
17247 Detector assembly in Gen2 package 143047-10 1 EA
17248 Detector assembly in Gen2 package 143047-11 1 EA
17249 Detector assembly in Gen2 package 143047-12 1 EA
17250 Detector assembly in Gen2 package 143047-13 1 EA
17251 Detector assembly in Gen2 package 143047-14 1 EA
17252 Detector assembly in Gen2 package 143047-15 1 EA
17253 Detector assembly in Gen2 package 143047-16 1 EA
17254 Gen?2 Shipping Box Assembly 1025129 4 EA
17255 Non-heated pick-and-place tool for flip chip bonder PK-614xxx 1 EA
17256 Die placement tool 1015801 1 EA
17257 Die placement tool 1015802 1 EA
17258 Die placement tool 1015803 1 EA
17259 Die placement tool 1015805 1 EA
17260 Mask 1015804 4 EA
17261 TO-8 Cans BK600-035-16-2 28 EA
17262 Spacer for gold black deposition (sample holder assembly) 1015707 1 EA
17263 Mask 1015774 2 EA
17264 Mask 1015705 2 EA
17265 Custom cable for outside vacuum prober 143047 PROBING CABLE OUTSIDE VACUUM 1 EA
17266 Custom cable for probecard (internal to vacuum chamber) 143047 PROBING CABLE IN VACUUM 1 EA
17267 Probe card for vacuum prober PROBE CARD 3X1 S/N 001 1 EA
17268 Probe card for vacuum prober PROBE CARD 3X1 S/N 002 1 EA
17269 Dummy detector dies (blackened) in 2x2 gel-pak GP2-001 6 EA
17270 Dummy detector test structures (blackened) in 2x2 gel-pak GP2-002 6 EA
17271 Detector die (blackened) in 2x2 gel-pak GP2-003 1 EA
17272 Detector die (blackened) in 2x2 gel-pak GP2-004 1 EA
17273 Detector test structure (blackened) in 2x2 gel-pak GP2-005 1 EA
17274 Detector test structures (blackened) in 2x2 gel-pak GP2-006 4 EA
17275 Detector die (blackened) in 2x2 gel-pak GP2-007 1 EA
17276 Detector die (blackened) in 2x2 gel-pak GP2-008 1 EA
17277 Detector test structure (blackened) in 2x2 gel-pak GP2-009 1 EA
17278 Detector test structures (blackened) in 2x2 gel-pak GP2-010 2 EA
17279 Detector test structures (blackened) in 2x2 gel-pak GP2-011 2 EA
17280 Detector die (blackened) in 2x2 gel-pak GP2-012 1 EA
17281 Detector die (blackened) in 2x2 gel-pak GP2-013 1 EA
17282 Detector die (blackened) in 2x2 gel-pak GP2-014 1 EA
17283 Detector die (blackened) in 2x2 gel-pak GP2-015 1 EA
17284 Detector die (blackened) in 2x2 gel-pak GP2-016 1 EA
17285 Detector die (blackened) in 2x2 gel-pak GP2-017 1 EA
17286 Detector test structure (blackened) in 2x2 gel-pak GP2-018 1 EA
17287 Detector test structures (blackened) in 2x2 gel-pak GP2-019 2 EA
17288 Detector test structures (blackened) in 2x2 gel-pak GP2-020 3 EA
17289 Detector die (blackened) in 2x2 gel-pak GP2-021 1 EA
17290 Detector die (blackened) in 2x2 gel-pak GP2-022 1 EA
17291 Detector test structure (blackened) in 2x2 gel-pak GP2-023 1 EA
17292 Detector test structures (blackened) in 2x2 gel-pak GP2-024 3 EA
17293 Detector test structures (blackened) in 2x2 gel-pak GP2-025 2 EA
17294 Detector die (blackened) in 2x2 gel-pak GP2-026 1 EA
17295 Detector die (blackened) in 2x2 gel-pak GP2-027 1 EA
17296 Detector die (blackened) in 2x2 gel-pak GP2-028 1 EA
17297 Detector die (blackened) in 2x2 gel-pak GP2-029 1 EA
17298 Detector die (blackened) in 2x2 gel-pak GP2-030 1 EA
17299 Detector die (blackened) in 2x2 gel-pak GP2-031 1 EA
17300 Detector test structure (blackened) in 2x2 gel-pak GP2-032 1 EA
17301 Detector test structures (blackened) in 2x2 gel-pak GP2-033 2 EA
17302 Detector test structures (blackened) in 2x2 gel-pak GP2-034 3 EA
17303 Detector die (blackened) in 2x2 gel-pak GP2-035 1 EA
17304 Detector die (blackened) in 2x2 gel-pak GP2-036 1 EA
17305 Detector die (blackened) in 2x2 gel-pak GP2-037 1 EA
17306 Detector die (blackened) in 2x2 gel-pak GP2-038 1 EA
17307 Detector die (blackened) in 2x2 gel-pak GP2-039 1 EA
17308 Detector die (blackened) in 2x2 gel-pak GP2-040 1 EA
17309 Detector test structures (blackened) in 2x2 gel-pak GP2-041 3 EA
17310 Detector test structures (blackened) in 2x2 gel-pak GP2-042 3 EA
17311 Detector test structures (blackened) in 2x2 gel-pak GP2-043 3 EA
17312 Detector test structures (blackened) in 2x2 gel-pak GP2-044 3 EA
17313 Detector test structures (blackened) in 2x2 gel-pak GP2-045 2 EA
17314 Rejected detector dies and broken wafer pieces (multiple parts loose in 2x2 Gelpac) REJET RIBEYE 143047 1 SE
17315 Detector dies on TO-8 headers (3 parts in 3.5-in round box) PK3-001 1 SE
17316 Wafer W01 TOP - diced bolometer detector dies and test structures GP6-001 124 EA
17317 Wafer W01 LEFT - diced bolometer detector dies and test structures GP6-002 272 EA
17318 Wafer W01 RIGHT - diced bolometer detector dies and test structures (one part broken) GP6-003 194 EA
17319 Wafer W02 NO CENTRE 1614 - diced bolometer detector dies and test structures GP6-004 158 EA
17320 Wafer W02 NE CENTRE 1515 - diced bolometer detector dies and test structures GP6-005 152 EA
17321 Wafer W02 SO CENTRE 1714 - diced bolometer detector dies and test structures GP6-006 118 EA
17322 Wafer W02 SE CENTRE 1615 - diced bolometer detector dies and test structures GP6-007 120 EA
17323 Wafer W03 TOP - diced bolometer detector dies and test structures GP6-008 333 EA
17324 Wafer W03 BOTTOM - diced bolometer detector dies and test structures GP6-009 260 EA
17325 Wafer W04 NO 1414 CENTRE- diced bolometer detector dies and test structures GP6-010 123 EA
17326 Wafer W04 NE 1415 CENTRE - diced bolometer detector dies and test structures (one part broken) GP6-011 121 EA
17327 Wafer W04 SO 1514 CENTRE - diced bolometer detector dies and test structures GP6-012 135 EA

62 of 63



As of 2/28/2019 RBI Government Furnished Equipment (GFE) List  Disclaimer: "The Government does not warrant the condition of the items or even that the hardware will work"
Unit of
Barcode Item Description Part Number Quantity [ Measure
17328 Wafer W04 SE 1515 CENTRE - diced bolometer detector dies and test structures GP6-013 123 EA
17329 Wafer W05 TOP - diced bolometer detector dies and test structures GP6-014 330 EA
17330 Wafer W05 BOTTOM - diced bolometer detector dies and test structures GP6-015 266 EA
17331 Wafer W06 NO 1414 CENTRE - diced bolometer detector dies and test structures GP6-016 138 EA
17332 Wafer W06 NE 1415 CENTRE - diced bolometer detector dies and test structures GP6-017 141 EA
17333 Wafer W06 SO 1514 CENTRE - diced bolometer detector dies and test structures (two parts broken near line 2100) GP6-018 132 EA
17334 Wafer W06 SE 1515 CENTRE - diced bolometer detector dies and test structures GP6-019 133 EA
17335 Wafer W08 - undiced silicon wafer (partially processed) 143047-RTM-W08 1 EA
17336 Dummy parts (10 test structures + 15 detector dies) GP4-001 1 SE
17337 Photolithography mask (Layer METALS8-V2) 63107 1 EA
17338 Photolithography mask (Layer METAL9) 63356 1 EA
17339 Photolithography mask (Layer METAL3-X2) 85085 1 EA
17340 Photolithography mask (Layer METAL3-X1) 85097 1 EA
17341 Photolithography mask (Layer POLYIMIDE) 85224 1 EA
17342 Photolithography mask (Layer VIA) 85345 1 EA
17343 Photolithography mask (Layer CONTACT-X1) 85405 1 EA
17344 Photolithography mask (Layer CONTACT-X2) 85407 1 EA
17345 Photolithography mask (Layer CONTACT-X1V2) 85496 1 EA
17346 Photolithography mask (Layer CONTACT-X2V2) 85497 1 EA
17347 Photolithography mask (Layer VOX) 107719 1 EA
17348 Photolithography mask (Layer METAL4-X1) 107803 1 EA
17349 Photolithography mask (Layer METAL4-X2) 107804 1 EA
17350 Photolithography mask (Layer NUMBERING) 107808 1 EA
17351 Photolithography mask (Layer PASSIVATION1) 107953 1 EA
17352 Photolithography mask (Layer PASSIVATION2) 107958 1 EA
17353 Photolithography mask (Layer POLYIMIDE2) 107959 1 EA
17354 Photolithography mask (METALS) 108136 1 EA
17355 Gold black (pure gold) witness samples - T1, T2 & T3 samples in 1 box BG138 1 SE
17356 Gold black (pure gold) witness sample BG139-T1 1 EA
17357 Gold black (pure gold) witness sample BG139-T2 1 EA
17358 Gold black (pure gold) witness sample BG139-T3 1 EA
17359 Gold black (pure gold) witness sample BG140-T1 1 EA
17360 Gold black (pure gold) witness sample BG140-T2 1 EA
17361 Gold black (pure gold) witness sample BG140-T3 1 EA
17362 Gold black (pure gold) witness sample BG141-T1 1 EA
17363 Gold black (pure gold) witness sample BG141-T2 1 EA
17364 Gold black (pure gold) witness sample BG141-T3 1 EA
17365 Gold black (pure gold) witness samples - T1, T2 & T3 samples in 1 box BG142 1 SE
17366 Gold black (pure gold) witness samples - T1, T2 & T3 samples in 1 box BG143 1 SE
17367 Gold black (pure gold) witness samples - T1, T2 & T3 samples in 1 box BG147 1 SE
17368 Gold black (pure gold) witness samples - T1, T2 & T3 samples in 1 box BG148 1 SE
17369 Gold black (pure gold) witness samples - T1, T2 & T3 samples in 1 box BG153 1 SE
17370 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG194 1 SE
17371 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG195 1 SE
17372 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG196 1 SE
17373 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG197 1 SE
17374 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG198 1 SE
17375 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG199 1 SE
17376 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG200 1 SE
17377 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG201 1 SE
17378 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG202 1 SE
17379 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG203 1 SE
17380 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG204 1 SE
17381 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG205 1 SE
17382 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG206 1 SE
17383 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG207 1 SE
17384 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG208 1 SE
17385 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG209 1 SE
17386 Gold black (gold-copper alloy) - T2, T3, T4 & T5 samples in 1 box BG210 1 SE
17387 Gold black (gold-copper alloy) - T1, T2, T3, T4 & T5 samples in 1 box BG211 1 SE
17388 Glenair Connector Micro-D M83513/04-C16N 5 EA
17389 Glenair Backshell 500T010M21H07 5 EA
17390 Glenair Backshell 500T010M21H08 5 EA
17391 Glenair Bands 601-025 50 EA
17392 Micro-Cap 11 SPICE simulation software (Nodelock license) USB dongle MICRO-CAP 11 USB 1 EA
17393 Proximity CCA for IRXCAM-INO160 EPLO567B1 1 EA
17394 CONN PIN RCPT .032-.046 SOLDER 1414 4 EA
17395 SMA Connector Jack, Female Socket 50 Ohm Through Hole Solder 142-0701-201 7 EA
17396 J-FET 2N4391 5 EA
17397 J-FET 2N4416A 5 EA
17398 J-FET 2SK01980RL 5 EA
17399 PROTO BOARD ADAPTER FOR SOT-363 33006 10 EA
17400 PROTO BOARD ADAPTER FOR SOT-23-6 33206 18 EA
17401 PROTO BOARD 8PIN SOIC 9081 2 EA
17402 PWB-daughter 9161 4 EA
17403 IC OPAMP INSTR 15MHZ 8SOIC AD8229HRZ 4 EA
17404 IC OPAMP ZERO-DRIFT 2.5MHZ 8SOIC AD8629ARZ-REEL7 4 EA
17405 IC OPAMP GP 10MHZ 8SOIC AD8672ARZ 5 EA
17406 IC OPAMP GP 12MHZ SOT23-5 ADA4004-1ARJZ-R7 16 EA
17407 IC OPAMP JFET 16.3MHZ RRO 8SOIC ADA4610-2ARZ 5 EA
17408 J-FET BF862,215 3 EA
17409 J-FET CD860 9 EA
17410 J-FET CM860 10 EA
17411 CAP CER 0.011F 3.3V SMD CPH3225A 8 EA
17412 Low-voltage op amplifier CS3002-ISZ 2 EA
17413 MOSFET FET Dual Pch -20V -200mA EMT6 EM6J1T2R 9 EA
17414 MOSFET 2N-CH 60V 0.25A EMT6 EM6K31T2R 7 EA
17415 MOSFET 2N-CH 20V 0.2A EMT6 EM6K7T2R 10 EA
17416 RES SMD 0.0 OHM JUMPER 1/8W 0805 ERJ-6GEYOROOV 250 EA
17417 RES SMD 20M OHM 1% 0.06W 0603 HVCB0603FDD20MO 8 EA
17418 JFET IF3601 10 EA
17419 JFET IF4500 10 EA
17420 JFET IF9030 10 EA
17421 J-FET J-FET LSK170A 10 EA
17422 J-FET J-FET LSK489 8 EA
17423 IC VREF SERIES 5V 8DIP LT1021BCN8-5#PBF 10 EA
17424 IC-Op amp LT1028CS8#PBF 16 EA
17425 IC LTC2057HVIS8#PBF 2 EA
17426 IC LTC2057IS8#PBF 1 EA
17427 IC VREF SERIES 5V 8CLCC LTC6655BHLS8-5#PBF 10 EA
17428 IC VREF SERIES 5V 8MSOP LTC6655BHMS8-54#PBF 1 EA
17429 J-FET PMBFJ620,115 5 EA
17430 High-temperautre silicone o-ring, AS568A dash number 031 9396K111 7 EA

63 of 63



